STAFF SUMMARY						
☐ Secretary Approval X MassDOT Board Approval Prepared by:			Prepared by:	Lawrence Cash		
Department: Highway Division	Program Manager: John J. Bechard	email: John.Bechard@dot.state.ma.us		Telephone: 857-368-9325 508-751-1755		
Contract No./Subject:	Date Prepared: 10/27/2025					
	Implications					
X Capital Budget	☐ Operating Budget ☐ Lega	al □ Other				

PURPOSE:

The purpose of this Staff Summary is to request that the Board of Directors authorize and approve the Secretary/CEO, or their designee, to execute MassDOT Contract No. 131997 titled North Andover – Corridor Improvements on Route 114, between Waverly Road and Willow/Mill Street with J H LYNCH & SONS INC, for the amount of \$47,800,373.90 and for a total duration not to exceed 1811 calendar days from Notice to Proceed (NTP).

TOTAL PROGRAM BUDGET:

The Route 114 Contract has a total program budget of \$46,509,805.00 which includes the following:

Bid Amount	\$47,800,373.90
Contingencies (10%)	\$4,783,837.39
Construction Engineering (5%)	\$2,391,918.70
Traffic Police (Federal + State)	\$2,000,000.00
Trainees	\$4,000.00
Utilities (reimbursable)	\$6,117,330.15
Total	\$63,097,460.14

DISCUSSION:

The work for this Route 114 corridor project consists of the construction of a new traffic signal system at one (1) location and the reconstruction of traffic signal systems at eight (8) locations, complete with vehicle detection, emergency vehicle preemption, signal posts, signal heads, mast arm assemblies, span wire/strain poles assembly, controller cabinets, foundations, pull boxes, electric handholes, service connections, and all other equipment, materials and incidental costs necessary to furnish, install and program a complete and functioning traffic control signal system as specified and as shown in the contract documents. The work also includes furnishing and installing a Central Traffic Signal Control System with Adaptive Operation along the Turnpike Street (Route 114) corridor that encompasses the nine (9) signalized intersections. The proposed work includes traffic monitoring and counting capabilities including turning movement counts (TMCs) and wireless broadband radio communications to connect the nine (9) signalized intersections.

The work also consists of excavation; full depth construction; pavement milling; paving; constructing driveways, cement concrete sidewalks, pedestrian curb ramps, and hot mix asphalt shared use path (10-foot wide); removing and resetting existing granite curb and edging; installing new granite curb and edging; reconstruction of drainage systems; extension of existing culverts; construction of concrete box culvert: reconstruction of water lines and services; relocation of sewer force mains; bypassing sewer force mains; relocation of gravity sewers and services; construction of cement concrete retaining walls with and without stone veneer; tree removal; landscaping; providing and spreading loam borrow and seed; installation of traffic signal equipment, traffic signing and pavement markings, traffic control management, and other street improvements.

	STAFF SUMMARY	,			
☐ Secretary Approval	Prepared by:	Lawrence Cash			
Department: Highway Division	Program Manager: John J. Bechard	email: John.Bechard@dot.state.ma.us		Telephone: 857-368-9325 508-751-1755	
Contract No./Subject: 131997 North Andover – Corridor Improvements on Route 114, between Waverly Road and Willow/Mill Street Date Prepared: 10/27/2025					
Implications					
X Capital Budget	☐ Operating Budget ☐ Lega	al □ Other			

PROCUREMENT:

On August 16, 2025, the Highway Division advertised this contract for bids. On October 15, 2025, nine (9) bids

were opened for this contract. J H LYNCH & SONS INC was the lowest responsive and eligible bidder with a bid price of \$47,800,373.90

The bids were reviewed by engineers in the Project Management, Construction, and Construction Contracts Sections.

The Highway Division has accepted the bid submitted by J H LYNCH & SONS INC which at \$47,800,373.90 is 4.35% below the office estimate of \$49,974,111.50.

The following is the list of the bidders with the corresponding bid prices:

\$47,800,373.90
\$48,616,803.66
\$50,522,805.00
\$52,736,761.25
\$52,887,460.70
\$55,175,000.00
\$55,287,706.00
\$56,997,755.00
\$59,893,518.25

FINANCIAL IMPACT/BUDGET SOURCE:

This action is funded through the Federal Aid – HSIP, NHPP/NHS, and STBG. The total cost for this construction contract is funded with 20% State Funds and 80% Federal Funds. All the funding necessary for the construction of this project is provided in the FY26-FY31 (C) MassDOT Capital Investment Plan. There will be no potential projects placed at risk with the approval of this request by the MassDOT Board of Directors.

FUTURE ANTICIPATED AUTHORIZATIONS:

There are no future anticipated authorizations.

RECOMMENDATIONS:

It is recommended that the Board of Directors authorize the Secretary, or their designee, to award and execute MassDOT Contract No. 131997 entitled North Andover – Corridor Improvements on Route 114, between Waverly Road and Willow/Mill Street, with J H LYNCH & SONS INC, in a form approved by the General Counsel, in the amount of / for a sum not to exceed \$47,800,373.90.

	STAFF SUMMARY	,				
□ Secretary Approval X MassDOT Board Approval Prepared by:			Prepared by:	Lawrence Cash		
Department: Highway Division	Program Manager: John J. Bechard	email: John.Bechard@dot.state.ma.us		Telephone: 857-368-9325 508-751-1755		
Contract No./Subject:	between	Date Prepared: 10/27/2025				
Implications						
X Capital Budget	☐ Operating Budget ☐ Lega	al □ Other				

COORDINATION WITH:
Office of Diversity and Civil Rights Engineering and Maintenance Environmental Capital Programs Budget and Finance Legal Department

ATTACHMENTS: Tab A – Vote

RESOURCE/REFERENCE DOCUMENTS:

Bid Average Bid Results **Bid Tabulations** Eligible Bidders Listing Low Bidder by Bid Item with Affidavit





Project #: 608095Bids Open Date : 15 Oct 2025Location: NORTH ANDOVERContract # : 131997

Location : NORTH ANDOVER

District : 4

Item #	Quantity	Units	Description	Office Estimate	Low Bid	Average 2 thru 5
100.71	1.000	LS	MASONRY WORK	\$50,000.00	\$75,000.00	\$143,750.00
100.9	1.000	LS	PRE AND POST CONSTRUCTION SURVEY AND VIBRATION MONITORING	\$75,000.00	\$175,000.00	\$47,500.00
101.	2.500	Α	CLEARING AND GRUBBING	\$50,000.00	\$80,000.00	\$45,750.00
102.2	1.000	LS	TREE TRIMMING	\$20,000.00	\$25,000.00	\$31,000.00
102.3	60.000	HR	HERBICIDE TREATMENT OF INVASIVE PLANTS	\$725.00	\$475.00	\$693.75
102.33	16.000	HR	INVASIVE PLANT MANAGEMENT STRATEGY	\$300.00	\$375.00	\$375.00
102.513	175.000	FT	AIR EXCAVATION AND ROOT PRUNING	\$75.00	\$44.00	\$72.50
102.521	1,500.000	FT	TREE AND PLANT PROTECTION FENCE	\$15.00	\$15.00	\$13.88
102.531	12.000	EA	TREE CARE - PRUNING	\$575.00	\$500.00	\$677.50
102.533	800.000	GAL	TREE CARE - WATERING	\$15.00	\$8.00	\$5.38
102.55	55.000	HR	ARBORIST	\$275.00	\$245.00	\$243.75
103.	110.000	EA	TREE REMOVED - DIAMETER UNDER 24 INCHES	\$2,000.00	\$1,200.00	\$1,850.00
104.	35.000	EA	TREE REMOVED - DIAMETER 24 INCHES AND OVER	\$3,700.00	\$3,800.00	\$3,775.00
105.	20.000	EA	STUMP REMOVED	\$650.00	\$575.00	\$745.00
112.1	1.000	LS	DEMOLITION OF BUILDING NO. 1	\$60,000.00	\$75,000.00	\$137,500.00
112.2	1.000	LS	DEMOLITION OF BUILDING NO. 2	\$70,000.00	\$75,000.00	\$137,500.00
112.3	1.000	LS	DEMOLITION OF BUILDING NO. 3	\$68,000.00	\$75,000.00	\$137,500.00
112.4	1.000	LS	DEMOLITION OF BUILDING NO. 4	\$70,000.00	\$75,000.00	\$137,500.00
119.	1.000	LS	RODENT CONTROL	\$15,000.00	\$6,000.00	\$29,625.00
120.	26,500.000	CY	EARTH EXCAVATION	\$38.00	\$85.00	\$55.25
121.	50.000	CY	CLASS A ROCK EXCAVATION	\$240.00	\$225.00	\$267.50
123.	250.000	CY	MUCK EXCAVATION	\$85.00	\$35.00	\$80.50
127.1	900.000	CY	REINFORCED CONCRETE EXCAVATION	\$200.00	\$495.00	\$136.75
140.	2,270.000	CY	BRIDGE EXCAVATION	\$59.00	\$75.00	\$87.00
141.	800.000	CY	CLASS A TRENCH EXCAVATION	\$75.00	\$60.00	\$70.25
141.1	950.000	CY	TEST PIT FOR EXPLORATION	\$175.00	\$230.00	\$157.50
141.11	40.000	DAY	TEST PIT FOR EXPLORATION - VACUUM EXCAVATION	\$4,000.00	\$5,500.00	\$4,500.00
142.	4,750.000	CY	CLASS B TRENCH EXCAVATION	\$45.00	\$30.00	\$16.25

Project # : 608095 **Bids Open Date :** 15 Oct 2025

Location : NORTH ANDOVER Contract # : 131997

District : 4

Item #	Quantity	Units	Description	Office Estimate	Low Bid	Average 2 thru 5
144.	510.000	CY	CLASS B ROCK EXCAVATION	\$160.00	\$225.00	\$256.25
145.	5.000	EA	DRAINAGE STRUCTURE ABANDONED	\$1,000.00	\$1,400.00	\$1,250.00
146.	150.000	EA	DRAINAGE STRUCTURE REMOVED	\$1,250.00	\$700.00	\$1,283.75
149.2	1.000	LS	PUBLIC OUTREACH	\$60,000.00	\$250,000.00	\$167,500.00
150.	200.000	CY	ORDINARY BORROW	\$50.00	\$30.00	\$54.38
150.1	200.000	CY	SPECIAL BORROW	\$50.00	\$85.00	\$62.50
151.	17,250.000	CY	GRAVEL BORROW	\$45.00	\$25.00	\$48.50
151.1	120.000	CY	GRAVEL BORROW FOR BRIDGE FOUNDATION	\$75.00	\$110.00	\$150.25
151.2	1,355.000	CY	GRAVEL BORROW FOR BACKFILLING STRUCTURES AND PIPES	\$60.00	\$80.00	\$69.75
154.	600.000	CY	SAND BORROW	\$55.00	\$105.00	\$57.50
156.	1,250.000	TON	CRUSHED STONE	\$58.00	\$55.00	\$38.63
156.1	55.000	TON	CRUSHED STONE FOR BRIDGE FOUNDATIONS	\$75.00	\$110.00	\$109.00
156.8	500.000	CY	CRUSHED STONE FOR SUB-BASE	\$65.00	\$67.00	\$81.75
160.2	90.000	CY	CONTROLLED LOW-STRENGTH MATERIAL - MECHANICAL EXCAVATABLE (101-300 PSI)	\$365.00	\$360.00	\$288.75
170.	61,000.000	SY	FINE GRADING AND COMPACTING - SUBGRADE AREA	\$6.50	\$17.00	\$4.18
173.	1,700.000	SY	DECOMPACTION FOR LAWN	\$10.00	\$2.75	\$7.50
180.01	1.000	LS	ENVIRONMENTAL HEALTH AND SAFETY PROGRAM	\$17,000.00	\$5,000.00	\$44,375.00
180.02	40.000	HR	PERSONAL PROTECTION LEVEL C UPGRADE	\$20.00	\$20.00	\$58.25
180.03	40.000	HR	LICENSED SITE PROFESSIONAL SERVICES	\$160.00	\$120.00	\$210.00
181.11	9,600.000	TON	DISPOSAL OF UNREGULATED SOIL	\$45.00	\$54.00	\$39.63
181.12	1,150.000	TON	DISPOSAL OF REGULATED SOIL - IN-STATE FACILITY	\$100.00	\$90.00	\$90.75
181.13	575.000	TON	DISPOSAL OF REGULATED SOIL - OUT-OF-STATE FACILITY	\$155.00	\$145.00	\$128.50
181.14	115.000	TON	DISPOSAL OF HAZARDOUS WASTE	\$500.00	\$325.00	\$493.50
182.1	1.000	LS	INSPECTION AND TESTING FOR ASBESTOS	\$5,500.00	\$42,000.00	\$6,875.00
182.2	300.000	FT	REMOVAL OF ASBESTOS	\$200.00	\$420.00	\$90.88
182.3	1.000	LS	ASBESTOS ABATEMENT FOR BUILDING DEMOLITION	\$230,000.00	\$77,500.00	\$160,000.00
183.1	10,000.000	GAL	TREATMENT OF CONTAMINATED GROUNDWATER	\$10.00	\$6.65	\$3.45
183.2	1,000.000	LB	DISPOSAL OF GRANULAR ACTIVATED CARBON	\$5.00	\$6.00	\$6.85

Project # : 608095 Bids Open Date : 15 Oct 2025

Location : NORTH ANDOVER Contract # : 131997

District : 4

Item #	Quantity	Units	Description	Office Estimate	Low Bid	Average 2 thru 5
184.1	10.000	TON	DISPOSAL OF TREATED WOOD PRODUCTS	\$500.00	\$375.00	\$538.75
188.1	1.000	LS	TESTING OF PCB BALLASTS	\$3,500.00	\$3,500.00	\$4,675.00
188.2	1.000	LS	DISPOSAL OF PCB BALLASTS	\$7,000.00	\$5,500.00	\$9,462.50
188.3	50.000	EA	DISPOSAL OF MERCURY CONTAINING LAMPS	\$50.00	\$55.00	\$402.50
192.6	3.000	EA	MONITORING WELL ADJUSTED	\$1,400.00	\$950.00	\$1,012.50
201.	235.000	EA	CATCH BASIN	\$5,800.00	\$3,900.00	\$5,102.50
201.3	4.000	EA	SPECIAL CATCH BASIN	\$7,500.00	\$5,800.00	\$8,752.50
202.	115.000	EA	MANHOLE	\$7,000.00	\$6,200.00	\$5,702.50
202.05	32.000	EA	MANHOLE 5 FEET ID	\$9,000.00	\$8,300.00	\$8,412.50
202.06	12.000	EA	MANHOLE 6 FEET ID	\$10,500.00	\$10,000.00	\$10,925.00
202.07	2.000	EA	MANHOLE 7 FEET ID	\$16,000.00	\$13,000.00	\$15,950.00
202.2	4.000	EA	MANHOLE (9 TO 14 FOOT DEPTH)	\$17,500.00	\$9,000.00	\$8,787.50
202.205	4.000	EA	MANHOLE (9 TO 14 FOOT DEPTH) 5 FEET ID	\$20,500.00	\$14,000.00	\$10,987.50
202.65	1.000	LS	OUTLET CONTROL STRUCTURE	\$13,800.00	\$14,500.00	\$28,750.00
203.2	1.000	EA	CURB COVER AND FRAME	\$7,000.00	\$2,800.00	\$3,962.50
203.31	6.000	EA	DOGHOUSE MANHOLE	\$10,000.00	\$6,500.00	\$27,675.00
203.35	2.000	EA	DOGHOUSE MANHOLE 5 FEET ID	\$12,000.00	\$8,200.00	\$11,500.00
204.	32.000	EA	GUTTER INLET	\$4,000.00	\$2,700.00	\$2,700.00
209.1	8.000	EA	DROP INLET, TYPE DF	\$5,500.00	\$4,500.00	\$4,487.50
210.1	2.000	EA	SANITARY SEWER MANHOLE MUNICIPAL STANDARD	\$10,000.00	\$12,000.00	\$9,325.00
211.31	2.000	EA	SANITARY SEWER DOGHOUSE MANHOLE	\$18,000.00	\$15,000.00	\$10,525.00
220.	480.000	EA	DRAINAGE STRUCTURE ADJUSTED	\$500.00	\$560.00	\$495.00
220.2	25.000	FT	DRAINAGE STRUCTURE REBUILT	\$529.00	\$575.00	\$701.25
220.3	12.000	EA	DRAINAGE STRUCTURE CHANGE IN TYPE	\$1,200.00	\$625.00	\$1,078.75
220.5	13.000	EA	DRAINAGE STRUCTURE REMODELED	\$1,200.00	\$800.00	\$1,078.75
220.6	25.000	FT	SANITARY STRUCTURE REBUILT	\$450.00	\$575.00	\$696.25
220.7	65.000	EA	SANITARY STRUCTURE ADJUSTED	\$550.00	\$560.00	\$493.75
220.8	9.000	EA	SANITARY STRUCTURE REMODELED	\$1,000.00	\$800.00	\$1,103.75
221.	295.000	EA	FRAME AND COVER	\$1,200.00	\$1,300.00	\$1,200.00

Location : NORTH ANDOVER Contract # : 131997

District : 4

Item #	Quantity	Units	Description	Office Estimate	Low Bid	Average 2 thru 5
221.1	1.000	EA	FRAME AND COVER - SECURED	\$1,500.00	\$1,400.00	\$1,512.50
222.1	220.000	EA	FRAME AND GRATE - MASSDOT CASCADE TYPE	\$1,500.00	\$1,500.00	\$1,325.00
222.2	8.000	EA	FRAME AND GRATE - MASSDOT DROP INLET	\$1,325.00	\$1,300.00	\$1,225.00
222.3	2.000	EA	FRAME AND GRATE (OR COVER) MUNICIPAL STANDARD	\$1,400.00	\$1,500.00	\$1,300.00
223.2	260.000	EA	FRAME AND GRATE (OR COVER) REMOVED AND DISCARDED	\$120.00	\$70.00	\$142.50
224.10	35.000	EA	10 INCH HOOD	\$800.00	\$325.00	\$672.50
224.12	154.000	EA	12 INCH HOOD	\$1,000.00	\$325.00	\$673.75
227.3	200.000	CY	REMOVAL OF DRAINAGE STRUCTURE SEDIMENT	\$350.00	\$275.00	\$277.50
227.31	3,500.000	FT	REMOVAL OF DRAINAGE PIPE SEDIMENT	\$20.00	\$6.00	\$10.55
227.4	110.000	SF	MASONRY PLUG	\$130.00	\$150.00	\$209.25
238.10	720.000	FT	10 INCH DUCTILE IRON PIPE	\$250.00	\$200.00	\$261.25
238.12	750.000	FT	12 INCH DUCTILE IRON PIPE	\$275.00	\$160.00	\$238.75
238.18	410.000	FT	18 INCH DUCTILE IRON PIPE	\$375.00	\$250.00	\$300.00
238.30	35.000	FT	30 INCH DUCTILE IRON PIPE	\$500.00	\$500.00	\$693.75
241.12	6,750.000	FT	12 INCH REINFORCED CONCRETE PIPE	\$140.00	\$135.00	\$173.75
241.15	3,625.000	FT	15 INCH REINFORCED CONCRETE PIPE	\$160.00	\$140.00	\$161.25
241.18	1,100.000	FT	18 INCH REINFORCED CONCRETE PIPE	\$195.00	\$130.00	\$200.00
241.24	3,420.000	FT	24 INCH REINFORCED CONCRETE PIPE	\$210.00	\$170.00	\$205.00
241.30	1,230.000	FT	30 INCH REINFORCED CONCRETE PIPE	\$280.00	\$150.00	\$296.25
241.36	90.000	FT	36 INCH REINFORCED CONCRETE PIPE	\$350.00	\$305.00	\$548.75
242.12	2.000	EA	12 INCH REINFORCED CONCRETE PIPE FLARED END	\$2,000.00	\$1,400.00	\$1,776.25
242.15	1.000	EA	15 INCH REINFORCED CONCRETE PIPE FLARED END	\$2,200.00	\$1,500.00	\$1,848.75
244.12	510.000	FT	12 INCH REINFORCED CONCRETE PIPE CLASS V	\$130.00	\$120.00	\$180.00
244.15	115.000	FT	15 INCH REINFORCED CONCRETE PIPE CLASS V	\$145.00	\$160.00	\$200.00
244.18	190.000	FT	18 INCH REINFORCED CONCRETE PIPE CLASS V	\$160.00	\$170.00	\$206.75
244.24	420.000	FT	24 INCH REINFORCED CONCRETE PIPE CLASS V	\$190.00	\$170.00	\$241.50
244.30	700.000	FT	30 INCH REINFORCED CONCRETE PIPE CLASS V	\$225.00	\$200.00	\$276.75
244.36	10.000	FT	36 INCH REINFORCED CONCRETE PIPE CLASS V	\$275.00	\$460.00	\$382.00
248.001	100.000	FT	SEWER SERVICE RELOCATION	\$325.00	\$270.00	\$253.25

Project # : 608095 Bids Open Date : 15 Oct 2025

Location : NORTH ANDOVER Contract # : 131997

District : 4

Item #	Quantity	Units	Description	Office Estimate	Low Bid	Average 2 thru 5
249.001	1.000	LS	SANITARY SEWER BYPASS PUMPING	\$100,000.00	\$235,000.00	\$113,750.00
250.06	130.000	FT	6 INCH POLYVINYL CHLORIDE SANITARY SEWER PIPE	\$150.00	\$240.00	\$265.88
250.08	70.000	FT	8 INCH POLYVINYL CHLORIDE SANITARY SEWER PIPE	\$210.00	\$350.00	\$318.75
250.506	1,600.000	FT	6 INCH DUCTILE IRON SEWER PIPE	\$200.00	\$235.00	\$182.50
250.510	100.000	FT	10 INCH DUCTILE IRON SEWER PIPE	\$275.00	\$380.00	\$481.25
258.	20.000	SY	STONE FOR PIPE ENDS	\$130.00	\$130.00	\$132.75
269.06	120.000	FT	6 INCH SLOT-PERFORATED CORRUGATED PLASTIC PIPE (SUBDRAIN)	\$75.00	\$75.00	\$73.75
272.12	3,350.000	FT	12 INCH AND UNDER PIPE REMOVED AND DISCARDED	\$50.00	\$30.00	\$34.75
272.15	1,275.000	FT	15 INCH PIPE REMOVED AND DISCARDED	\$65.00	\$50.00	\$38.50
272.18	150.000	FT	18 INCH PIPE REMOVED AND DISCARDED	\$70.00	\$50.00	\$68.75
272.24	1,275.000	FT	24 INCH PIPE REMOVED AND DISCARDED	\$95.00	\$45.00	\$42.75
284.514	640.000	TON	DUMPED STONE DRAINAGE CHANNEL	\$100.00	\$95.00	\$90.00
292.1	25.000	FT	TRENCH DRAIN	\$710.00	\$950.00	\$818.75
295.01	1.000	LS	BIORETENTION AREA	\$55,000.00	\$58,000.00	\$100,000.00
295.02	1.000	LS	INFILTRATION BASIN	\$265,000.00	\$175,000.00	\$225,000.00
302.06	400.000	FT	6 INCH DUCTILE IRON WATER PIPE (RUBBER GASKET)	\$225.00	\$825.00	\$303.75
302.08	30.000	FT	8 INCH DUCTILE IRON WATER PIPE (RUBBER GASKET)	\$265.00	\$1,450.00	\$507.50
302.10	10.000	FT	10 INCH DUCTILE IRON WATER PIPE (RUBBER GASKET)	\$290.00	\$2,300.00	\$653.75
302.12	735.000	FT	12 INCH DUCTILE IRON WATER PIPE (RUBBER GASKET)	\$300.00	\$850.00	\$450.88
309.	29,000.000	LB	DUCTILE IRON FITTINGS FOR WATER PIPE	\$10.00	\$7.80	\$2.25
326.06	10.000	FT	6 INCH STEEL PIPE CASING	\$200.00	\$450.00	\$270.50
326.10	15.000	FT	10 INCH STEEL PIPE CASING	\$300.00	\$350.00	\$307.13
326.12	45.000	FT	12 INCH STEEL PIPE CASING	\$325.00	\$275.00	\$370.25
326.16	75.000	FT	16 INCH STEEL PIPE CASING	\$405.00	\$325.00	\$427.50
326.18	45.000	FT	18 INCH STEEL PIPE CASING	\$580.00	\$290.00	\$453.75
326.20	35.000	FT	20 INCH STEEL PIPE CASING	\$600.00	\$410.00	\$568.75
326.24	5.000	FT	24 INCH STEEL PIPE CASING	\$800.00	\$510.00	\$852.50
326.34	5.000	FT	34 INCH STEEL PIPE CASING	\$1,000.00	\$925.00	\$883.75

Project # : 608095 **Bids Open Date :** 15 Oct 2025

Location : NORTH ANDOVER Contract # : 131997

District : 4

Item #	Quantity	Units	Description	Office Estimate	Low Bid	Average 2 thru 5
347.1	280.000	FT	1 INCH COPPER TUBING TYPE K	\$100.00	\$135.00	\$98.75
347.15	50.000	FT	1-1/2 INCH COPPER TUBING TYPE K	\$115.00	\$150.00	\$142.69
347.2	50.000	FT	2 INCH COPPER TUBING TYPE K	\$130.00	\$160.00	\$167.25
350.06	10.000	EA	6 INCH GATE AND GATE BOX	\$3,600.00	\$2,900.00	\$4,875.00
350.12	2.000	EA	12 INCH GATE AND GATE BOX	\$6,500.00	\$5,800.00	\$6,748.75
357.06	2.000	EA	6 INCH GATE BOX	\$800.00	\$1,000.00	\$636.25
358.	85.000	EA	GATE BOX ADJUSTED	\$300.00	\$375.00	\$312.50
358.1	10.000	EA	GATE BOX REMOVED AND STACKED	\$180.00	\$125.00	\$218.75
363.1	20.000	EA	1 INCH CORPORATION COCK	\$1,600.00	\$525.00	\$530.50
363.15	3.000	EA	1-1/2 INCH CORPORATION COCK	\$1,750.00	\$900.00	\$943.75
363.2	7.000	EA	2 INCH CORPORATION COCK	\$1,900.00	\$900.00	\$1,125.00
367.06	7.000	EA	6 INCH CAST IRON PLUG	\$800.00	\$4,000.00	\$1,902.50
371.06	5.000	EA	6 INCH COUPLING	\$775.00	\$1,425.00	\$1,506.25
375.12	7.000	EA	12 INCH INSERTION VALVE AND BOX	\$25,500.00	\$28,000.00	\$27,350.00
376.	8.000	EA	HYDRANT	\$10,000.00	\$11,000.00	\$7,906.25
376.2	11.000	EA	HYDRANT - REMOVED AND RESET	\$5,000.00	\$4,000.00	\$4,075.00
376.3	6.000	EA	HYDRANT - REMOVED AND STACKED	\$1,600.00	\$2,000.00	\$1,930.00
376.5	3.000	EA	HYDRANT - ADJUSTED	\$2,500.00	\$1,800.00	\$2,450.00
381.	20.000	EA	SERVICE BOX	\$600.00	\$575.00	\$391.25
381.3	10.000	EA	SERVICE BOX ADJUSTED	\$380.00	\$300.00	\$318.75
384.	20.000	EA	CURB STOP	\$1,000.00	\$1,050.00	\$693.75
385.3	1.000	EA	MONITORING WELL TRAFFIC CASTING	\$2,300.00	\$850.00	\$650.00
390.01	75.000	FT	SPRINKLER SYSTEM COMPONENTS - REMOVED AND STACKED	\$35.00	\$25.00	\$43.00
402.	2,580.000	CY	DENSE GRADED CRUSHED STONE FOR SUB-BASE	\$110.00	\$80.00	\$104.75
415.1	91,200.000	SY	PAVEMENT STANDARD MILLING	\$8.50	\$5.75	\$7.46
431.	1,800.000	SY	HIGH EARLY STRENGTH CEMENT CONCRETE BASE COURSE	\$90.00	\$70.00	\$103.08
440.	64,000.000	LB	CALCIUM CHLORIDE FOR ROADWAY DUST CONTROL	\$0.45	\$0.72	\$0.42
443.	125.000	MGL	WATER FOR ROADWAY DUST CONTROL	\$100.00	\$365.00	\$150.00
450.22	850.000	TON	SUPERPAVE SURFACE COURSE – 9.5 (SSC – 9.5)	\$250.00	\$220.00	\$200.50

Location : NORTH ANDOVER Contract # : 131997

District : 4

Item #	Quantity	Units	Description	Office Estimate	Low Bid	Average 2 thru 5
450.23	1,425.000	TON	SUPERPAVE SURFACE COURSE - 12.5 (SSC - 12.5)	\$280.00	\$155.00	\$198.00
450.231	12,625.000	TON	SUPERPAVE SURFACE COURSE - 12.5 POLYMER (SSC - 12.5 - P)	\$170.00	\$140.00	\$177.50
450.32	15,525.000	TON	SUPERPAVE INTERMEDIATE COURSE - 19.0 (SIC - 19.0)	\$155.00	\$120.00	\$172.50
450.42	4,375.000	TON	SUPERPAVE BASE COURSE - 37.5 (SBC - 37.5)	\$150.00	\$140.00	\$170.25
450.53	5,640.000	TON	SUPERPAVE LEVELING COURSE - 12.5 (SLC - 12.5)	\$170.00	\$120.00	\$171.25
451.	2,500.000	TON	HMA FOR PATCHING	\$300.00	\$290.00	\$299.25
452.	19,000.000	GAL	ASPHALT EMULSION FOR TACK COAT	\$10.00	\$9.00	\$5.28
453.	65,500.000	FT	HMA JOINT ADHESIVE	\$1.00	\$0.01	\$1.00
470.2	350.000	FT	HOT MIX ASPHALT BERM, TYPE A - MODIFIED	\$40.00	\$15.00	\$36.97
472.	1,000.000	TON	TEMPORARY ASPHALT PATCHING	\$310.00	\$265.00	\$323.75
476.11	2,600.000	SY	CEMENT CONCRETE PAVEMENT - STAMPED	\$210.00	\$245.00	\$206.25
477.2	1,400.000	FT	MILLED RUMBLE STRIP (TYPE C)	\$7.00	\$18.00	\$10.56
482.3	135.000	FT	SAWCUTTING ASPHALT PAVEMENT	\$7.00	\$5.25	\$4.05
482.5	25,100.000	FT	SAWCUTTING ASPHALT PAVEMENT FOR BOX WIDENING	\$4.00	\$4.00	\$3.04
485.3	10.000	SY	SCORED CEMENT CONCRETE PAVEMENT	\$385.00	\$590.00	\$405.42
503.	250.000	FT	GRANITE CURB TYPE VA3 - STRAIGHT	\$90.00	\$70.00	\$74.13
503.1	75.000	FT	GRANITE CURB TYPE VA3 - CURVED	\$100.00	\$80.00	\$96.50
504.2	20.000	EA	GRANITE CURB TYPE VA4 - SPLAYED END	\$800.00	\$570.00	\$644.00
506.	25,250.000	FT	GRANITE CURB TYPE VB - STRAIGHT	\$62.00	\$52.00	\$60.08
506.1	3,900.000	FT	GRANITE CURB TYPE VB - CURVED	\$85.00	\$70.00	\$80.88
509.	1,250.000	FT	GRANITE TRANSITION CURB FOR PEDESTRIAN CURB RAMPS - STRAIGHT	\$80.00	\$70.00	\$66.50
509.1	1,500.000	FT	GRANITE TRANSITION CURB FOR PEDESTRIAN CURB RAMPS - CURVED	\$100.00	\$78.00	\$82.83
514.	140.000	EA	GRANITE CURB INLET - STRAIGHT	\$700.00	\$550.00	\$725.75
515.	14.000	EA	GRANITE CURB INLET - CURVED	\$900.00	\$650.00	\$546.25
517.01	5.000	EA	GRANITE CURB CORNER - TYPE C	\$600.00	\$450.00	\$556.25
520.	50.000	FT	CONCRETE CURB TYPE VA	\$85.00	\$61.00	\$67.50
570.2	40.000	FT	HOT MIX ASPHALT CURB TYPE 2	\$35.00	\$55.00	\$69.50
580.	7,200.000	FT	CURB REMOVED AND RESET	\$45.00	\$36.00	\$40.75

Project # : 608095 **Bids Open Date :** 15 Oct 2025

Location : NORTH ANDOVER Contract # : 131997

District : 4

Item #	Quantity	Units	Description	Office Estimate	Low Bid	Average 2 thru 5
581.	20.000	EA	CURB INLET REMOVED AND RESET	\$300.00	\$260.00	\$348.75
594.	6,000.000	FT	CURB REMOVED AND DISCARDED	\$10.00	\$11.00	\$7.59
595.	14.000	EA	CURB INLET REMOVED AND DISCARDED	\$100.00	\$85.00	\$53.25
596.	14.000	EA	CURB CORNER REMOVED AND DISCARDED	\$50.00	\$85.00	\$33.00
597.	18,100.000	FT	EDGING REMOVED AND DISCARDED	\$10.00	\$9.00	\$6.94
601.2	50.000	FT	TIMBER GUARDRAIL	\$75.00	\$100.00	\$113.00
620.12	1,375.000	FT	GUARDRAIL, TL-2 (SINGLE FACED)	\$40.00	\$33.00	\$36.80
627.1	9.000	EA	TRAILING ANCHORAGE	\$2,500.00	\$3,100.00	\$2,925.00
627.82	9.000	EA	GUARDRAIL TANGENT END TREATMENT, TL-2	\$6,000.00	\$5,100.00	\$4,225.00
628.304	2.000	EA	TEMPORARY IMPACT ATTENUATOR, NON-REDIRECTIVE, TL-2	\$8,000.00	\$9,800.00	\$8,375.00
628.314	4.000	EA	TEMPORARY IMPACT ATTENUATOR, REDIRECTIVE, TL-2	\$7,400.00	\$11,500.00	\$9,736.25
628.4	8.000	EA	TEMPORARY IMPACT ATTENUATOR, REMOVED AND RESET	\$2,500.00	\$2,400.00	\$4,411.25
630.	15.000	FT	HIGHWAY GUARD REMOVED AND RESET	\$30.00	\$28.00	\$49.49
630.2	2,100.000	FT	HIGHWAY GUARD REMOVED AND DISCARDED	\$6.00	\$8.00	\$6.03
632.	2.000	EA	GUARDRAIL POST - STEEL	\$150.00	\$255.00	\$245.00
634.	1.000	EA	W BEAM GUARD PANEL	\$250.00	\$255.00	\$343.75
645.148	1,400.000	FT	48 INCH CHAIN LINK FENCE (PIPE TOP RAIL) VINYL COATED (LINE POST OPTION)	\$80.00	\$50.00	\$56.63
652.048	12.000	EA	48 INCH CHAIN LINK FENCE END POST	\$450.00	\$235.00	\$392.43
655.01	675.000	FT	TIMBER RAIL FENCE - TWO RAIL	\$135.00	\$96.00	\$94.88
655.21	100.000	FT	HAND RAIL REMOVED AND STACKED	\$10.00	\$30.00	\$22.13
660.1	125.000	FT	METAL PIPE RAIL REMOVED AND STACKED	\$25.00	\$55.00	\$22.13
660.25	15.000	FT	STEEL HANDRAIL	\$900.00	\$475.00	\$335.38
666.	30.000	FT	CHAIN LINK FENCE REMOVED AND RESET	\$65.00	\$22.00	\$78.75
669.	1,300.000	FT	FENCE REMOVED AND STACKED	\$30.00	\$17.00	\$10.50
671.	3.000	EA	FENCE GATE AND GATE POSTS REMOVED AND STACKED	\$1,500.00	\$180.00	\$861.25
685.	190.000	CY	STONE MASONRY WALL IN CEMENT MORTAR	\$1,300.00	\$1,300.00	\$1,900.00
686.1	6,300.000	SF	STONE VENEER FOR CEMENT CONCRETE WALL	\$95.00	\$146.00	\$148.25
690.	15.000	CY	STONE MASONRY WALL REMOVED AND REBUILT IN CEMENT MORTAR	\$1,500.00	\$1,250.00	\$3,170.55

Project # : 608095 **Bids Open Date :** 15 Oct 2025

Location : NORTH ANDOVER Contract # : 131997

District : 4

Item #	Quantity	Units	Description	Office Estimate	Low Bid	Average 2 thru 5
690.2	480.000	CY	STONE MASONRY WALL WITH PARAPET REMOVAL	\$800.00	\$350.00	\$129.50
691.01	150.000	FT	BALANCE STONE WALL REMOVED AND REBUILT DRY	\$500.00	\$325.00	\$300.00
691.1	2,700.000	FT	BALANCE STONE WALL REMOVED AND STACKED	\$70.00	\$33.00	\$21.38
691.2	14.000	EA	LANDSCAPE BOULDER REMOVED AND STACKED	\$700.00	\$190.00	\$442.00
692.1	10.000	CY	GRANITE BLOCK WALL REMOVED AND STACKED	\$1,000.00	\$265.00	\$518.75
693.3	1.000	EA	BRICK PILLAR REMOVED AND REBUILT	\$5,500.00	\$20,000.00	\$33,125.00
693.5	70.000	FT	LANDSCAPE TIE WALLS REMOVED AND STACKED	\$20.00	\$11.00	\$77.13
697.1	240.000	EA	SILT SACK	\$190.00	\$195.00	\$190.06
698.3	1,175.000	SY	GEOTEXTILE FABRIC FOR SEPARATION	\$8.00	\$1.25	\$10.08
698.4	640.000	SY	GEOTEXTILE FABRIC FOR PERMANENT EROSION CONTROL	\$10.00	\$8.50	\$8.03
701.	8,100.000	SY	CEMENT CONCRETE SIDEWALK	\$80.00	\$80.00	\$88.71
701.1	1,200.000	SY	CEMENT CONCRETE SIDEWALK AT DRIVEWAYS	\$115.00	\$130.00	\$107.86
701.2	2,925.000	SY	CEMENT CONCRETE PEDESTRIAN CURB RAMP	\$156.00	\$135.00	\$117.71
702.	2,150.000	TON	HOT MIX ASPHALT SIDEWALK OR DRIVEWAY	\$285.00	\$215.00	\$261.81
705.1	5.000	SY	FLAGSTONE WALK REMOVED AND RESET	\$650.00	\$225.00	\$1,101.88
706.7	750.000	SF	CONCRETE PAVER FOR SEDIMENT FOREBAY	\$80.00	\$30.00	\$42.13
707.21	1.000	EA	TRASH RECEPTACLE REMOVED AND RESET	\$2,500.00	\$750.00	\$2,658.75
710.3	80.000	EA	BOUND - LETTERED GRANITE	\$725.00	\$525.00	\$817.50
710.4	50.000	EA	BOUND - PLAIN GRANITE	\$800.00	\$460.00	\$548.75
711.	15.000	EA	BOUND REMOVED AND RESET	\$675.00	\$580.00	\$575.00
712.	5.000	EA	BOUND REMOVED AND STACKED	\$325.00	\$380.00	\$443.75
715.	35.000	EA	RURAL MAIL BOX REMOVED AND RESET	\$400.00	\$290.00	\$422.50
715.01	4.000	EA	RURAL MAIL BOX REMOVED AND DISCARDED	\$100.00	\$125.00	\$326.75
722.1	1.000	LS	SCHEDULE OF OPERATIONS (TYPE A) - FIXED PRICE \$175,000	\$175,000.00	\$175,000.00	\$175,000.00
740.	60.000	MO	ENGINEERS FIELD OFFICE AND EQUIPMENT (TYPE A)	\$5,200.00	\$4,800.00	\$9,250.00
748.	1.000	LS	MOBILIZATION	\$1,384,196.50	\$1,390,000.00	\$1,425,000.00
751.1	3,750.000	CY	LOAM FOR LAWNS	\$80.00	\$95.00	\$87.56
751.7	190.000	CY	COMPOST BLANKET	\$130.00	\$105.00	\$107.50
755.35	1.000	LS	INLAND WETLAND REPLICATION AREA	\$25,000.00	\$57,000.00	\$127,500.00

Project # : 608095 Bids Open Date : 15 Oct 2025

Location : NORTH ANDOVER Contract # : 131997

District : 4

Item #	Quantity	Units	Description	Office Estimate	Low Bid	Average 2 thru 5
755.45	105.000	SY	WETLAND RESTORATION	\$125.00	\$75.00	\$159.13
755.55	1.000	LS	COMPENSATORY FLOOD STORAGE AREA	\$15,000.00	\$15,000.00	\$50,000.00
755.75	140.000	HR	WETLAND SPECIALIST	\$200.00	\$325.00	\$242.50
755.76	1.000	LS	WETLANDS MONITORING REPORTS	\$11,000.00	\$5,500.00	\$51,250.00
756.	1.000	LS	NPDES STORMWATER POLLUTION PREVENTION PLAN	\$20,000.00	\$165,000.00	\$10,375.00
765.	34,000.000	SY	SEEDING	\$3.25	\$4.25	\$3.73
765.21	27.000	LB	ANNUAL COVER CROP FOR NATIVE SEEDING	\$300.00	\$290.00	\$323.75
765.415	25.000	LB	SEED - NATIVE SHORT GRASSLAND MIX	\$300.00	\$550.00	\$633.75
765.554	12.000	LB	WETLAND SEED - SEASONALLY FLOODED MIX	\$300.00	\$550.00	\$633.25
765.635	5,800.000	SY	NATIVE SEEDING AND ESTABLISHMENT	\$7.00	\$4.50	\$4.41
767.121	5,175.000	FT	SEDIMENT CONTROL BARRIER	\$10.00	\$5.50	\$8.38
767.6	60.000	CY	AGED PINE BARK MULCH	\$100.00	\$95.00	\$118.49
767.9	800.000	SY	JUTE MESH	\$10.00	\$7.15	\$8.24
769.	1,650.000	FT	PAVEMENT MILLING MULCH UNDER GUARD RAIL	\$12.00	\$19.00	\$12.70
774.51	7.000	EA	ELM - 'PRINCETON' 2-2.5 INCH CALIPER	\$900.00	\$900.00	\$941.25
775.147	10.000	EA	LINDEN - LITTLE LEAF 2-2.5 INCH CALIPER	\$900.00	\$900.00	\$941.25
775.437	11.000	EA	LOCUST - HONEY - 'SKYLINE' 2-2.5 INCH CALIPER	\$1,050.00	\$950.00	\$1,020.00
775.51	5.000	EA	MAIDENHAIR TREE - 'PRINCETON SENTRY' 2-2.5 INCH CALIPER	\$1,200.00	\$1,200.00	\$1,250.00
776.557	13.000	EA	MAPLE - RED - 'RED SUNSET' 2-2.5 INCH CALIPER	\$900.00	\$900.00	\$940.00
777.138	13.000	EA	OAK - PIN 2-2.5 INCH CALIPER	\$900.00	\$900.00	\$940.00
777.328	11.000	EA	OAK - WHITE 2-2.5 INCH CALIPER	\$1,200.00	\$1,100.00	\$1,137.50
777.442	7.000	EA	PLANETREE - AMERICAN 2-2.5 INCH CALIPER	\$900.00	\$900.00	\$965.00
777.673	3.000	EA	SWEETGUM - FRUITLESS 2-2.5 INCH CALIPER	\$900.00	\$900.00	\$965.00
778.383	6.000	EA	CHERRY - SARGENT COLUMNAR 1.5-2 INCH CALIPER	\$800.00	\$825.00	\$901.25
781.263	5.000	EA	HAWTHORN - 'WINTER KING' 1.5-2 INCH CALIPER	\$800.00	\$775.00	\$868.75
781.578	10.000	EA	LILAC TREE - JAPANESE IVORY SILK 1.5-2 INCH CALIPER	\$900.00	\$950.00	\$1,017.50
782.541	6.000	EA	REDBUD - EASTERN 1.5-2 INCH CALIPER	\$850.00	\$825.00	\$923.75
790.512	8.000	EA	DOGWOOD - 'GRAY' 2-3 FEET / #3	\$100.00	\$160.00	\$190.00
795.021	5.000	EA	VIBURNUM - 'BLACKHAW' 2-3 FEET / #3	\$100.00	\$160.00	\$192.50

Project # : 608095 **Bids Open Date :** 15 Oct 2025

Location : NORTH ANDOVER Contract #: 131997

District : 4

Item #	Quantity	Units	Description	Office Estimate	Low Bid	Average 2 thru 5
797.01	10.000	EA	TREE - CONTINGENCY 2-2.5 INCH CALIPER	\$1,200.00	\$900.00	\$1,006.25
801.32	80.000	FT	3 INCH ELECTRICAL CONDUIT - TYPE NM (DOUBLE)	\$100.00	\$140.00	\$107.50
802.433	110.000	FT	4 INCH TELEPHONE CONDUIT - TYPE NM (3 BANK)	\$200.00	\$140.00	\$170.00
804.22	10.000	FT	2 INCH ELECTRICAL CONDUIT TYPE NM - PLASTIC (UL) - SPLIT DUCT	\$200.00	\$110.00	\$147.75
804.3	4,850.000	FT	3 INCH ELECTRICAL CONDUIT TYPE NM - PLASTIC -(UL)	\$79.00	\$98.00	\$61.00
804.33	320.000	FT	3 INCH ELECTRICAL CONDUIT - TYPE NM - PLASTIC - (UL) - LIGHTING	\$240.00	\$95.00	\$63.38
804.4	80.000	FT	4 INCH ELECTRICAL CONDUIT TYPE NM - PLASTIC -(UL)	\$90.00	\$95.00	\$74.63
806.4	40.000	FT	4 INCH ELECTRICAL CONDUIT TYPE RM - GALVANIZED STEEL	\$200.00	\$250.00	\$122.75
811.22	45.000	EA	ELECTRIC HANDHOLE - SD2.022	\$2,100.00	\$1,800.00	\$2,187.50
811.24	6.000	EA	ELECTRIC HANDHOLE - SD2.024	\$5,500.00	\$1,900.00	\$2,487.50
811.31	45.000	EA	PULL BOX 12 X 12 INCHES - SD2.031	\$1,400.00	\$1,300.00	\$1,625.00
812.09	3.000	EA	LIGHT STANDARD FOUNDATION PRECAST	\$3,500.00	\$3,200.00	\$3,733.75
814.	1.000	LS	ADAPTIVE TRAFFIC SIGNAL CONTROL	\$120,000.00	\$60,000.00	\$135,000.00
815.07	1.000	LS	TRAFFIC CONTROL SIGNAL LOCATION NO. 7	\$500,000.00	\$350,000.00	\$475,000.00
816.01	1.000	LS	TRAFFIC SIGNAL RECONSTRUCTION LOCATION NO. 1	\$670,000.00	\$440,000.00	\$562,500.00
816.02	1.000	LS	TRAFFIC SIGNAL RECONSTRUCTION LOCATION NO. 2	\$540,000.00	\$275,000.00	\$363,750.00
816.03	1.000	LS	TRAFFIC SIGNAL RECONSTRUCTION LOCATION NO. 3	\$530,000.00	\$350,000.00	\$475,000.00
816.04	1.000	LS	TRAFFIC SIGNAL RECONSTRUCTION LOCATION NO. 4	\$590,000.00	\$390,000.00	\$490,000.00
816.05	1.000	LS	TRAFFIC SIGNAL RECONSTRUCTION LOCATION NO. 5	\$430,000.00	\$270,000.00	\$381,250.00
816.06	1.000	LS	TRAFFIC SIGNAL RECONSTRUCTION LOCATION NO. 6	\$620,000.00	\$435,000.00	\$556,250.00
816.08	1.000	LS	TRAFFIC SIGNAL RECONSTRUCTION LOCATION NO. 8	\$440,000.00	\$270,000.00	\$381,250.00
816.09	1.000	LS	TRAFFIC SIGNAL RECONSTRUCTION LOCATION NO. 9	\$510,000.00	\$340,000.00	\$456,250.00
816.80	1.000	LS	TRAFFIC CONTROL SIGNAL REMOVED AND STACKED	\$80,000.00	\$110,000.00	\$96,250.00
823.70	3.000	EA	HIGHWAY LIGHTING POLE AND LUMINAIRE REMOVED AND RESET	\$2,500.00	\$7,000.00	\$3,550.00
823.71	3.000	EA	HIGHWAY LIGHTING POLE AND LUMINAIRE REMOVED AND STACKED	\$2,000.00	\$1,700.00	\$1,707.50
824.221	1.000	LS	RECTANGULAR RAPID-FLASHING BEACONS SYSTEM (SOLAR)	\$30,000.00	\$23,000.00	\$30,000.00
825.10	1.000	LS	RADAR SPEED DISPLAY SIGN (SOLAR POWERED)	\$10,000.00	\$15,000.00	\$18,375.00

Location : NORTH ANDOVER Contract #: 131997

District : 4

Item #	Quantity	Units	Description	Office Estimate	Low Bid	Average 2 thru 5
826.70	10.000	EA	ELECTRIC SERVICE RISER RELOCATED	\$15,000.00	\$8,000.00	\$5,331.25
831.11	1,275.000	SF	ROADSIDE GUIDE SIGN (MA-D1-XX) ALUMINUM PANEL (TYPE A)	\$35.00	\$60.00	\$46.25
832.	2,550.000	SF	WARNING-REGULATORY AND ROUTE MARKER - ALUMINUM PANEL (TYPE A)	\$15.00	\$26.00	\$19.50
841.11	46.000	EA	SUPPORT FOR GUIDE SIGN (MA-D1-XX) - 5 INCH TUBULAR - STEEL	\$3,000.00	\$3,500.00	\$3,067.50
847.1	308.000	EA	SIGN SUP (N/GUIDE)+RTE MKR W/1 BRKWAY POST ASSEMBLY - STEEL	\$250.00	\$260.00	\$260.00
848.1	24.000	EA	SIGN SUP (N/GUIDE)+RTE MKR W/2 BRKWAY POST ASSEMBLIES- STEEL	\$465.00	\$475.00	\$440.00
850.41	1,450.000	HR	ROADWAY FLAGGER	\$70.00	\$110.00	\$40.25
851.1	1,050.000	DAY	TRAFFIC CONES FOR TRAFFIC MANAGEMENT	\$55.00	\$0.01	\$375.80
852.	1,700.000	SF	SAFETY SIGNING FOR TRAFFIC MANAGEMENT	\$30.00	\$30.00	\$28.38
852.11	2,000.000	FT	TEMPORARY PEDESTRIAN BARRICADE	\$40.00	\$35.00	\$42.38
852.12	20.000	EA	TEMPORARY PEDESTRIAN CURB RAMP	\$3,000.00	\$1,100.00	\$2,537.50
853.1	20.000	EA	PORTABLE BREAKAWAY BARRICADE TYPE III	\$155.00	\$140.00	\$329.35
853.2	400.000	FT	TEMPORARY BARRIER (TL-2)	\$50.00	\$55.00	\$129.38
853.21	1,200.000	FT	TEMPORARY BARRIER REMOVED AND RESET	\$22.00	\$20.00	\$14.53
853.33	300.000	FT	TEMPORARY BARRIER - LIMITED DEFLECTION (TL-3)	\$175.00	\$45.00	\$138.50
853.34	120.000	FT	TEMPORARY BARRIER - LIMITED DEFLECTION (TL-3) REMOVED AND RESET	\$35.00	\$25.00	\$16.60
853.403	120.000	DAY	TRUCK MOUNTED ATTENUATOR	\$200.00	\$1,100.00	\$419.50
853.8	550.000	DAY	TEMPORARY ILLUMINATION FOR WORK ZONE	\$55.00	\$150.00	\$237.75
854.016	106,000.000	FT	TEMPORARY PAVING MARKINGS - 6 INCH (PAINTED)	\$0.40	\$0.35	\$0.56
854.036	9,000.000	FT	TEMPORARY PAVING MARKINGS - 6 INCH (TAPE)	\$2.00	\$1.50	\$2.29
854.1	1,000.000	SF	PAVEMENT MARKING REMOVAL	\$4.00	\$4.75	\$3.75
856.	3,200.000	DAY	ARROW BOARD	\$10.00	\$11.00	\$12.30
856.12	1,700.000	DAY	PORTABLE CHANGEABLE MESSAGE SIGN	\$25.00	\$26.00	\$30.88
859.	83,500.000	DAY	REFLECTORIZED DRUM	\$0.30	\$0.35	\$0.46
859.1	2,100.000	DAY	REFLECTORIZED DRUMS WITH SEQUENTIAL FLASHING WARNING LIGHTS	\$5.00	\$10.00	\$6.76
864.02	800.000	SF	PAVEMENT ARROW AND LEGENDS - TAPE	\$70.00	\$25.00	\$30.50

Project # : 608095 Bids Open Date : 15 Oct 2025

Location : NORTH ANDOVER Contract # : 131997

District : 4

Item #	Quantity	Units	Description	Office Estimate	Low Bid	Average 2 thru 5
864.04	9,050.000	SF	PAVEMENT ARROWS AND LEGENDS REFLECTORIZED WHITE (THERMOPLASTIC)	\$15.00	\$8.00	\$11.80
864.41	1,500.000	SF	GREEN COLORIZED PAVEMENT MARKINGS	\$25.00	\$24.00	\$18.63
866.106	50,000.000	FT	6 INCH REFLECTORIZED WHITE LINE (THERMOPLASTIC)	\$1.75	\$1.60	\$1.95
866.112	26,600.000	FT	12 INCH REFLECTORIZED WHITE LINE (THERMOPLASTIC)	\$7.00	\$6.00	\$4.51
867.106	39,500.000	FT	6 INCH REFLECTORIZED YELLOW LINE (THERMOPLASTIC)	\$1.75	\$1.60	\$1.95
867.112	1,175.000	FT	12 INCH REFLECTORIZED YELLOW LINE (THERMOPLASTIC)	\$7.00	\$6.50	\$4.51
874.	60.000	EA	STREET NAME SIGN	\$115.00	\$160.00	\$451.25
874.2	3.000	EA	TRAFFIC SIGN REMOVED AND RESET	\$200.00	\$110.00	\$158.75
874.41	350.000	EA	TRAFFIC SIGN REMOVED AND DISCARDED	\$55.00	\$55.00	\$51.25
901.	3.000	CY	4000 PSI, 1.5 INCH, 565 CEMENT CONCRETE	\$2,000.00	\$4,000.00	\$3,975.00
903.	350.000	CY	3000 PSI, 1.5 INCH, 470 CEMENT CONCRETE	\$700.00	\$250.00	\$272.00
904.	105.000	CY	4000 PSI, 3/4 INCH, 610 CEMENT CONCRETE	\$1,500.00	\$1,400.00	\$1,163.75
904.3	860.000	CY	5000 PSI, 3/4 INCH, 685 HP CEMENT CONCRETE	\$2,300.00	\$2,100.00	\$1,742.00
905.2	100.000	CY	5000 PSI, 3/8 INCH, 710 HP CEMENT CONCRETE	\$2,500.00	\$4,300.00	\$3,257.50
910.1	40,000.000	LB	STEEL REINFORCEMENT FOR STRUCTURES - EPOXY COATED	\$4.00	\$2.50	\$2.70
912.	2,780.000	EA	DRILLING AND GROUTING DOWELS	\$70.00	\$55.00	\$37.75
952.	380,160.000	LB	STEEL SHEETING	\$2.50	\$3.49	\$3.19
953.01	1.000	LS	PERMANENT SUPPORT OF EXCAVATION - HEADWALL	\$3,180.00	\$120,000.00	\$56,250.00
953.11	1.000	LS	TEMPORARY SUPPORT OF EXCAVATION	\$71,000.00	\$210,000.00	\$368,750.00
953.12	1.000	LS	TEMPORARY SUPPORT OF EXCAVATION FOR WALL A	\$79,000.00	\$75,000.00	\$123,750.00
953.13	1.000	LS	TEMPORARY SUPPORT OF EXCAVATION FOR WALL B	\$25,000.00	\$55,000.00	\$158,750.00
970.	5,710.000	SF	DAMP-PROOFING	\$10.00	\$2.25	\$5.56
975.5	405.000	FT	ALUMINUM HANDRAIL	\$175.00	\$410.00	\$383.10
983.35	280.000	CY	STREAMBED MATERIAL REMOVED AND RELAID	\$100.00	\$140.00	\$203.75
986.2	500.000	CY	MODIFIED ROCKFILL	\$160.00	\$135.00	\$151.75
986.21	260.000	CY	MODIFIED ROCKFILL WITH GRAVEL PACKED VOIDS	\$95.00	\$235.00	\$168.75
991.1	1.000	LS	CONTROL OF WATER - STRUCTURE NO. N-15-021 (CBN)	\$155,000.00	\$250,000.00	\$317,250.00
995.011	1.000	LS	CULVERT STRUCTURE, CULVERT NO. N-15-021 (CBN)	\$495,000.00	\$550,000.00	\$1,018,750.00

Location : NORTH ANDOVER Contract #: 131997

District : 4

Description: NORTH ANDOVER- CORRIDOR IMPROVEMENTS ON ROUTE 114, BETWEEN WAVERLY ROAD AND WILLOW/MILL STREET

Item #	Quantity	Units	Description	Office Estimate	Low Bid	Average 2 thru 5
996.011	1.000	LS	MODULAR BLOCK WALL REMOVED AND REBUILT	\$24,500.00	\$50,000.00	\$138,750.00
996.021	1.000	LS	SOLDIER PILE AND LAGGING	\$845,000.00	\$1,050,000.00	\$1,208,500.00

CMS106 - Report Date: 10/16/2025 8:39 AM Page 14 of 14



BIDS OPENED - Wednesday - October 15, 2025



Bids Unit

NORTH ANDOVER - 608095 - 131997 - FAP# HSI-0034(026)X;NHP(NHS)-0034(026)X;STP-0034(026)X - 61212214 & 61212217 - Corridor Improvements on Route 114, between Waverly Road and Willow/Mill Street

DBE % (goal): 0.00 % MWBE % (goal): SDVOB % (goal):

OFFICE ESTIMATE: \$49,974,111.50

J H LYNCH & SONS INC	50 Lynch Place, Cumberland, RI, 02864	\$47,800,373.90
D W WHITE CONSTRUCTION INC	867 Middle Road, Acushnet, MA, 02743	\$48,616,803.66
P GIOIOSO & SONS INC	50 Sprague Street, Hyde Park, MA, 02136	\$50,522,805.00
ALBANESE D & S,INC.	66 Silva Lane, Dracut, MA, 01826	\$52,736,761.25
MCCOURT CONSTRUCTION CO INC	60 K Street, South Boston, MA, 02127	\$52,887,460.70
BARLETTA HEAVY DIVISION INC	40 Shawmut Road, Suite 200, Canton, MA, 02021	\$55,175,000.00
BALTAZAR CONTRACTORS INC	83 Carmelina's Circle, Ludlow, MA, 01056	\$55,287,706.00
THE MIDDLESEX CORPORATION	One Spectacle Pond Road, Littleton, MA, 01460	\$56,997,755.00
MACKAY CONST SERVICES INC	197 Ballardvale Street, Wilmington, MA, 01887	\$59,893,518.25





: NORTH ANDOVER Contract # : 131997

District : 4

Location

					Office Estimate	J H LYN	ICH & SONS INC
Item #	Quantity	Units	Description	Unit Price	Amount	Unit Price	Amount
100.71	1.000	LS	MASONRY WORK	\$50,000.00	\$50,000.00	\$75,000.00	\$75,000.00
100.9	1.000	LS	PRE AND POST CONSTRUCTION SURVEY AND VIBRATION MONITORING	\$75,000.00	\$75,000.00	\$175,000.00	\$175,000.00
101.	2.500	Α	CLEARING AND GRUBBING	\$50,000.00	\$125,000.00	\$80,000.00	\$200,000.00
102.2	1.000	LS	TREE TRIMMING	\$20,000.00	\$20,000.00	\$25,000.00	\$25,000.00
102.3	60.000	HR	HERBICIDE TREATMENT OF INVASIVE PLANTS	\$725.00	\$43,500.00	\$475.00	\$28,500.00
102.33	16.000	HR	INVASIVE PLANT MANAGEMENT STRATEGY	\$300.00	\$4,800.00	\$375.00	\$6,000.00
102.513	175.000	FT	AIR EXCAVATION AND ROOT PRUNING	\$75.00	\$13,125.00	\$44.00	\$7,700.00
102.521	1,500.000	FT	TREE AND PLANT PROTECTION FENCE	\$15.00	\$22,500.00	\$15.00	\$22,500.00
102.531	12.000	EA	TREE CARE - PRUNING	\$575.00	\$6,900.00	\$500.00	\$6,000.00
102.533	800.000	GAL	TREE CARE - WATERING	\$15.00	\$12,000.00	\$8.00	\$6,400.00
102.55	55.000	HR	ARBORIST	\$275.00	\$15,125.00	\$245.00	\$13,475.00
103.	110.000	EA	TREE REMOVED - DIAMETER UNDER 24 INCHES	\$2,000.00	\$220,000.00	\$1,200.00	\$132,000.00
104.	35.000	EA	TREE REMOVED - DIAMETER 24 INCHES AND OVER	\$3,700.00	\$129,500.00	\$3,800.00	\$133,000.00
105.	20.000	EA	STUMP REMOVED	\$650.00	\$13,000.00	\$575.00	\$11,500.00
112.1	1.000	LS	DEMOLITION OF BUILDING NO. 1	\$60,000.00	\$60,000.00	\$75,000.00	\$75,000.00
112.2	1.000	LS	DEMOLITION OF BUILDING NO. 2	\$70,000.00	\$70,000.00	\$75,000.00	\$75,000.00
112.3	1.000	LS	DEMOLITION OF BUILDING NO. 3	\$68,000.00	\$68,000.00	\$75,000.00	\$75,000.00
112.4	1.000	LS	DEMOLITION OF BUILDING NO. 4	\$70,000.00	\$70,000.00	\$75,000.00	\$75,000.00
119.	1.000	LS	RODENT CONTROL	\$15,000.00	\$15,000.00	\$6,000.00	\$6,000.00
120.	26,500.000	CY	EARTH EXCAVATION	\$38.00	\$1,007,000.00	\$85.00	\$2,252,500.00
121.	50.000	CY	CLASS A ROCK EXCAVATION	\$240.00	\$12,000.00	\$225.00	\$11,250.00
123.	250.000	CY	MUCK EXCAVATION	\$85.00	\$21,250.00	\$35.00	\$8,750.00
127.1	900.000	CY	REINFORCED CONCRETE EXCAVATION	\$200.00	\$180,000.00	\$495.00	\$445,500.00
140.	2,270.000	CY	BRIDGE EXCAVATION	\$59.00	\$133,930.00	\$75.00	\$170,250.00
141.	800.000	CY	CLASS A TRENCH EXCAVATION	\$75.00	\$60,000.00	\$60.00	\$48,000.00
141.1	950.000	CY	TEST PIT FOR EXPLORATION	\$175.00	\$166,250.00	\$230.00	\$218,500.00
141.11	40.000	DAY	TEST PIT FOR EXPLORATION - VACUUM EXCAVATION	\$4,000.00	\$160,000.00	\$5,500.00	\$220,000.00

Project # : 608095

Location : NORTH ANDOVER

District :

Description : NORTH ANDOVER- CORRIDOR IMPROVEMENTS ON ROUTE 114, BETWEEN WAVERLY ROAD AND WILLOW/MILL STREET

					Office Estimate	J H LYN	ICH & SONS INC
Item #	Quantity	Units	Description	Unit Price	Amount	Unit Price	Amount
142.	4,750.000	CY	CLASS B TRENCH EXCAVATION	\$45.00	\$213,750.00	\$30.00	\$142,500.00
144.	510.000	CY	CLASS B ROCK EXCAVATION	\$160.00	\$81,600.00	\$225.00	\$114,750.00
145.	5.000	EA	DRAINAGE STRUCTURE ABANDONED	\$1,000.00	\$5,000.00	\$1,400.00	\$7,000.00
146.	150.000	EA	DRAINAGE STRUCTURE REMOVED	\$1,250.00	\$187,500.00	\$700.00	\$105,000.00
149.2	1.000	LS	PUBLIC OUTREACH	\$60,000.00	\$60,000.00	\$250,000.00	\$250,000.00
150.	200.000	CY	ORDINARY BORROW	\$50.00	\$10,000.00	\$30.00	\$6,000.00
150.1	200.000	CY	SPECIAL BORROW	\$50.00	\$10,000.00	\$85.00	\$17,000.00
151.	17,250.000	CY	GRAVEL BORROW	\$45.00	\$776,250.00	\$25.00	\$431,250.00
151.1	120.000	CY	GRAVEL BORROW FOR BRIDGE FOUNDATION	\$75.00	\$9,000.00	\$110.00	\$13,200.00
151.2	1,355.000	CY	GRAVEL BORROW FOR BACKFILLING STRUCTURES AND PIPES	\$60.00	\$81,300.00	\$80.00	\$108,400.00
154.	600.000	CY	SAND BORROW	\$55.00	\$33,000.00	\$105.00	\$63,000.00
156.	1,250.000	TON	CRUSHED STONE	\$58.00	\$72,500.00	\$55.00	\$68,750.00
156.1	55.000	TON	CRUSHED STONE FOR BRIDGE FOUNDATIONS	\$75.00	\$4,125.00	\$110.00	\$6,050.00
156.8	500.000	CY	CRUSHED STONE FOR SUB-BASE	\$65.00	\$32,500.00	\$67.00	\$33,500.00
160.2	90.000	CY	CONTROLLED LOW-STRENGTH MATERIAL - MECHANICAL EXCAVATABLE (101-300 PSI)	\$365.00	\$32,850.00	\$360.00	\$32,400.00
170.	61,000.000	SY	FINE GRADING AND COMPACTING - SUBGRADE AREA	\$6.50	\$396,500.00	\$17.00	\$1,037,000.00
173.	1,700.000	SY	DECOMPACTION FOR LAWN	\$10.00	\$17,000.00	\$2.75	\$4,675.00
180.01	1.000	LS	ENVIRONMENTAL HEALTH AND SAFETY PROGRAM	\$17,000.00	\$17,000.00	\$5,000.00	\$5,000.00
180.02	40.000	HR	PERSONAL PROTECTION LEVEL C UPGRADE	\$20.00	\$800.00	\$20.00	\$800.00
180.03	40.000	HR	LICENSED SITE PROFESSIONAL SERVICES	\$160.00	\$6,400.00	\$120.00	\$4,800.00
181.11	9,600.000	TON	DISPOSAL OF UNREGULATED SOIL	\$45.00	\$432,000.00	\$54.00	\$518,400.00
181.12	1,150.000	TON	DISPOSAL OF REGULATED SOIL - IN-STATE FACILITY	\$100.00	\$115,000.00	\$90.00	\$103,500.00
181.13	575.000	TON	DISPOSAL OF REGULATED SOIL - OUT-OF-STATE FACILITY	\$155.00	\$89,125.00	\$145.00	\$83,375.00
181.14	115.000	TON	DISPOSAL OF HAZARDOUS WASTE	\$500.00	\$57,500.00	\$325.00	\$37,375.00
182.1	1.000	LS	INSPECTION AND TESTING FOR ASBESTOS	\$5,500.00	\$5,500.00	\$42,000.00	\$42,000.00

Bids Open Date: 15 Oct 2025

Project # : 608095

Location : NORTH ANDOVER

District : 4

Description : NORTH ANDOVER- CORRIDOR IMPROVEMENTS ON ROUTE 114, BETWEEN WAVERLY ROAD AND WILLOW/MILL STREET

					Office Estimate	J H LYN	CH & SONS INC
Item #	Quantity	Units	Description	Unit Price	Amount	Unit Price	Amount
182.2	300.000	FT	REMOVAL OF ASBESTOS	\$200.00	\$60,000.00	\$420.00	\$126,000.00
182.3	1.000	LS	ASBESTOS ABATEMENT FOR BUILDING DEMOLITION	\$230,000.00	\$230,000.00	\$77,500.00	\$77,500.00
183.1	10,000.000	GAL	TREATMENT OF CONTAMINATED GROUNDWATER	\$10.00	\$100,000.00	\$6.65	\$66,500.00
183.2	1,000.000	LB	DISPOSAL OF GRANULAR ACTIVATED CARBON	\$5.00	\$5,000.00	\$6.00	\$6,000.00
184.1	10.000	TON	DISPOSAL OF TREATED WOOD PRODUCTS	\$500.00	\$5,000.00	\$375.00	\$3,750.00
188.1	1.000	LS	TESTING OF PCB BALLASTS	\$3,500.00	\$3,500.00	\$3,500.00	\$3,500.00
188.2	1.000	LS	DISPOSAL OF PCB BALLASTS	\$7,000.00	\$7,000.00	\$5,500.00	\$5,500.00
188.3	50.000	EA	DISPOSAL OF MERCURY CONTAINING LAMPS	\$50.00	\$2,500.00	\$55.00	\$2,750.00
192.6	3.000	EA	MONITORING WELL ADJUSTED	\$1,400.00	\$4,200.00	\$950.00	\$2,850.00
201.	235.000	EA	CATCH BASIN	\$5,800.00	\$1,363,000.00	\$3,900.00	\$916,500.00
201.3	4.000	EA	SPECIAL CATCH BASIN	\$7,500.00	\$30,000.00	\$5,800.00	\$23,200.00
202.	115.000	EA	MANHOLE	\$7,000.00	\$805,000.00	\$6,200.00	\$713,000.00
202.05	32.000	EA	MANHOLE 5 FEET ID	\$9,000.00	\$288,000.00	\$8,300.00	\$265,600.00
202.06	12.000	EA	MANHOLE 6 FEET ID	\$10,500.00	\$126,000.00	\$10,000.00	\$120,000.00
202.07	2.000	EA	MANHOLE 7 FEET ID	\$16,000.00	\$32,000.00	\$13,000.00	\$26,000.00
202.2	4.000	EA	MANHOLE (9 TO 14 FOOT DEPTH)	\$17,500.00	\$70,000.00	\$9,000.00	\$36,000.00
202.205	4.000	EA	MANHOLE (9 TO 14 FOOT DEPTH) 5 FEET ID	\$20,500.00	\$82,000.00	\$14,000.00	\$56,000.00
202.65	1.000	LS	OUTLET CONTROL STRUCTURE	\$13,800.00	\$13,800.00	\$14,500.00	\$14,500.00
203.2	1.000	EA	CURB COVER AND FRAME	\$7,000.00	\$7,000.00	\$2,800.00	\$2,800.00
203.31	6.000	EA	DOGHOUSE MANHOLE	\$10,000.00	\$60,000.00	\$6,500.00	\$39,000.00
203.35	2.000	EA	DOGHOUSE MANHOLE 5 FEET ID	\$12,000.00	\$24,000.00	\$8,200.00	\$16,400.00
204.	32.000	EA	GUTTER INLET	\$4,000.00	\$128,000.00	\$2,700.00	\$86,400.00
209.1	8.000	EA	DROP INLET, TYPE DF	\$5,500.00	\$44,000.00	\$4,500.00	\$36,000.00
210.1	2.000	EA	SANITARY SEWER MANHOLE MUNICIPAL STANDARD	\$10,000.00	\$20,000.00	\$12,000.00	\$24,000.00
211.31	2.000	EA	SANITARY SEWER DOGHOUSE MANHOLE	\$18,000.00	\$36,000.00	\$15,000.00	\$30,000.00
220.	480.000	EA	DRAINAGE STRUCTURE ADJUSTED	\$500.00	\$240,000.00	\$560.00	\$268,800.00
220.2	25.000	FT	DRAINAGE STRUCTURE REBUILT	\$529.00	\$13,225.00	\$575.00	\$14,375.00

Bids Open Date: 15 Oct 2025

Project # : 608095

Location : NORTH ANDOVER

District

Description : NORTH ANDOVER- CORRIDOR IMPROVEMENTS ON ROUTE 114, BETWEEN WAVERLY ROAD AND WILLOW/MILL STREET Office Estimate J H LYNCH & SONS INC Item # Quantity Units Description **Unit Price** Amount **Unit Price** Amount 220.3 12.000 EΑ DRAINAGE STRUCTURE CHANGE IN TYPE \$1,200.00 \$14.400.00 \$625.00 \$7.500.00 220.5 13.000 EΑ DRAINAGE STRUCTURE REMODELED \$1,200.00 \$15,600.00 \$800.00 \$10,400.00 220.6 25.000 FT SANITARY STRUCTURE REBUILT \$450.00 \$11,250.00 \$575.00 \$14,375.00 220.7 65.000 EΑ SANITARY STRUCTURE ADJUSTED \$550.00 \$35.750.00 \$560.00 \$36,400.00 220.8 9.000 EΑ SANITARY STRUCTURE REMODELED \$1.000.00 \$9.000.00 \$800.00 \$7,200.00 221. 295.000 EΑ FRAME AND COVER \$1.200.00 \$354.000.00 \$1.300.00 \$383,500.00 221.1 1.000 EΑ FRAME AND COVER - SECURED \$1,500.00 \$1,500.00 \$1,400.00 \$1,400.00 222.1 220.000 EΑ FRAME AND GRATE - MASSDOT CASCADE TYPE \$1,500.00 \$330,000.00 \$1,500.00 \$330,000.00 222 2 8.000 EΑ FRAME AND GRATE - MASSDOT DROP INLET \$10.400.00 \$1.325.00 \$10.600.00 \$1.300.00 2223 2.000 FΑ FRAME AND GRATE (OR COVER) MUNICIPAL \$1.500.00 \$3.000.00 \$1,400.00 \$2.800.00 **STANDARD** 223.2 260.000 EΑ FRAME AND GRATE (OR COVER) REMOVED AND \$120.00 \$31,200.00 \$70.00 \$18,200.00 DISCARDED 224.10 35.000 EΑ 10 INCH HOOD \$800.00 \$28,000.00 \$325.00 \$11,375.00 224.12 154.000 EΑ 12 INCH HOOD \$1.000.00 \$154.000.00 \$325.00 \$50,050.00 227.3 200.000 CY REMOVAL OF DRAINAGE STRUCTURE SEDIMENT \$350.00 \$70.000.00 \$275.00 \$55.000.00 227.31 REMOVAL OF DRAINAGE PIPE SEDIMENT \$20.00 \$6.00 3,500.000 FT \$70,000.00 \$21,000.00 227.4 110.000 SF MASONRY PLUG \$130.00 \$150.00 \$16,500.00 \$14,300.00 238.10 720.000 FT 10 INCH DUCTILE IRON PIPE \$250.00 \$180,000.00 \$200.00 \$144,000.00 238.12 750.000 FT 12 INCH DUCTILE IRON PIPE \$275.00 \$206.250.00 \$160.00 \$120,000,00 238.18 410.000 FT 18 INCH DUCTILE IRON PIPE \$375.00 \$250.00 \$102.500.00 \$153.750.00 238.30 35.000 FT 30 INCH DUCTILE IRON PIPE \$500.00 \$17,500.00 \$500.00 \$17.500.00 241.12 6.750.000 FT 12 INCH REINFORCED CONCRETE PIPE \$140.00 \$945,000.00 \$135.00 \$911,250.00 241.15 3.625.000 FT 15 INCH REINFORCED CONCRETE PIPE \$160.00 \$580,000,00 \$140.00 \$507,500.00 241 18 1.100.000 FT 18 INCH REINFORCED CONCRETE PIPE \$195.00 \$214.500.00 \$130.00 \$143.000.00 241 24 3.420.000 FT 24 INCH REINFORCED CONCRETE PIPE \$210.00 \$718.200.00 \$170.00 \$581,400.00 241.30 1,230.000 FT 30 INCH REINFORCED CONCRETE PIPE \$280.00 \$344,400.00 \$150.00 \$184,500.00 241.36 90.000 FT 36 INCH REINFORCED CONCRETE PIPE \$350.00 \$31,500.00 \$305.00 \$27,450.00

Bids Open Date: 15 Oct 2025

Office Estimate

Amount

Unit Price

Project # : 608095

Location : NORTH ANDOVER

Quantity

Units

Description

District :

Item #

Description : NORTH ANDOVER- CORRIDOR IMPROVEMENTS ON ROUTE 114, BETWEEN WAVERLY ROAD AND WILLOW/MILL STREET

Bids Open Date: 15 Oct 2025
Contract #: 131997

J H LYNCH & SONS INC
Unit Price Amount
\$1,400.00 \$2,800.00

	•		•				
242.12	2.000	EA	12 INCH REINFORCED CONCRETE PIPE FLARED END	\$2,000.00	\$4,000.00	\$1,400.00	\$2,800.00
242.15	1.000	EA	15 INCH REINFORCED CONCRETE PIPE FLARED END	\$2,200.00	\$2,200.00	\$1,500.00	\$1,500.00
244.12	510.000	FT	12 INCH REINFORCED CONCRETE PIPE CLASS V	\$130.00	\$66,300.00	\$120.00	\$61,200.00
244.15	115.000	FT	15 INCH REINFORCED CONCRETE PIPE CLASS V	\$145.00	\$16,675.00	\$160.00	\$18,400.00
244.18	190.000	FT	18 INCH REINFORCED CONCRETE PIPE CLASS V	\$160.00	\$30,400.00	\$170.00	\$32,300.00
244.24	420.000	FT	24 INCH REINFORCED CONCRETE PIPE CLASS V	\$190.00	\$79,800.00	\$170.00	\$71,400.00
244.30	700.000	FT	30 INCH REINFORCED CONCRETE PIPE CLASS V	\$225.00	\$157,500.00	\$200.00	\$140,000.00
244.36	10.000	FT	36 INCH REINFORCED CONCRETE PIPE CLASS V	\$275.00	\$2,750.00	\$460.00	\$4,600.00
248.001	100.000	FT	SEWER SERVICE RELOCATION	\$325.00	\$32,500.00	\$270.00	\$27,000.00
249.001	1.000	LS	SANITARY SEWER BYPASS PUMPING	\$100,000.00	\$100,000.00	\$235,000.00	\$235,000.00
250.06	130.000	FT	6 INCH POLYVINYL CHLORIDE SANITARY SEWER PIPE	\$150.00	\$19,500.00	\$240.00	\$31,200.00
250.08	70.000	FT	8 INCH POLYVINYL CHLORIDE SANITARY SEWER PIPE	\$210.00	\$14,700.00	\$350.00	\$24,500.00
250.506	1,600.000	FT	6 INCH DUCTILE IRON SEWER PIPE	\$200.00	\$320,000.00	\$235.00	\$376,000.00
250.510	100.000	FT	10 INCH DUCTILE IRON SEWER PIPE	\$275.00	\$27,500.00	\$380.00	\$38,000.00
258.	20.000	SY	STONE FOR PIPE ENDS	\$130.00	\$2,600.00	\$130.00	\$2,600.00
269.06	120.000	FT	6 INCH SLOT-PERFORATED CORRUGATED PLASTIC PIPE (SUBDRAIN)	\$75.00	\$9,000.00	\$75.00	\$9,000.00
272.12	3,350.000	FT	12 INCH AND UNDER PIPE REMOVED AND DISCARDED	\$50.00	\$167,500.00	\$30.00	\$100,500.00
272.15	1,275.000	FT	15 INCH PIPE REMOVED AND DISCARDED	\$65.00	\$82,875.00	\$50.00	\$63,750.00
272.18	150.000	FT	18 INCH PIPE REMOVED AND DISCARDED	\$70.00	\$10,500.00	\$50.00	\$7,500.00
272.24	1,275.000	FT	24 INCH PIPE REMOVED AND DISCARDED	\$95.00	\$121,125.00	\$45.00	\$57,375.00
284.514	640.000	TON	DUMPED STONE DRAINAGE CHANNEL	\$100.00	\$64,000.00	\$95.00	\$60,800.00
292.1	25.000	FT	TRENCH DRAIN	\$710.00	\$17,750.00	\$950.00	\$23,750.00
295.01	1.000	LS	BIORETENTION AREA	\$55,000.00	\$55,000.00	\$58,000.00	\$58,000.00
295.02	1.000	LS	INFILTRATION BASIN	\$265,000.00	\$265,000.00	\$175,000.00	\$175,000.00

Project # : 608095

Location : NORTH ANDOVER

District :

Description : NORTH ANDOVER- CORRIDOR IMPROVEMENTS ON ROUTE 114, BETWEEN WAVERLY ROAD AND WILLOW/MILL STREET

					Office Estimate	J H LYNCH & SONS INC	
Item #	Quantity	Units	Description	Unit Price	Amount	Unit Price	Amount
302.06	400.000	FT	6 INCH DUCTILE IRON WATER PIPE (RUBBER GASKET)	\$225.00	\$90,000.00	\$825.00	\$330,000.00
302.08	30.000	FT	8 INCH DUCTILE IRON WATER PIPE (RUBBER GASKET)	\$265.00	\$7,950.00	\$1,450.00	\$43,500.00
302.10	10.000	FT	10 INCH DUCTILE IRON WATER PIPE (RUBBER GASKET)	\$290.00	\$2,900.00	\$2,300.00	\$23,000.00
302.12	735.000	FT	12 INCH DUCTILE IRON WATER PIPE (RUBBER GASKET)	\$300.00	\$220,500.00	\$850.00	\$624,750.00
309.	29,000.000	LB	DUCTILE IRON FITTINGS FOR WATER PIPE	\$10.00	\$290,000.00	\$7.80	\$226,200.00
326.06	10.000	FT	6 INCH STEEL PIPE CASING	\$200.00	\$2,000.00	\$450.00	\$4,500.00
326.10	15.000	FT	10 INCH STEEL PIPE CASING	\$300.00	\$4,500.00	\$350.00	\$5,250.00
326.12	45.000	FT	12 INCH STEEL PIPE CASING	\$325.00	\$14,625.00	\$275.00	\$12,375.00
326.16	75.000	FT	16 INCH STEEL PIPE CASING	\$405.00	\$30,375.00	\$325.00	\$24,375.00
326.18	45.000	FT	18 INCH STEEL PIPE CASING	\$580.00	\$26,100.00	\$290.00	\$13,050.00
326.20	35.000	FT	20 INCH STEEL PIPE CASING	\$600.00	\$21,000.00	\$410.00	\$14,350.00
326.24	5.000	FT	24 INCH STEEL PIPE CASING	\$800.00	\$4,000.00	\$510.00	\$2,550.00
326.34	5.000	FT	34 INCH STEEL PIPE CASING	\$1,000.00	\$5,000.00	\$925.00	\$4,625.00
347.1	280.000	FT	1 INCH COPPER TUBING TYPE K	\$100.00	\$28,000.00	\$135.00	\$37,800.00
347.15	50.000	FT	1-1/2 INCH COPPER TUBING TYPE K	\$115.00	\$5,750.00	\$150.00	\$7,500.00
347.2	50.000	FT	2 INCH COPPER TUBING TYPE K	\$130.00	\$6,500.00	\$160.00	\$8,000.00
350.06	10.000	EA	6 INCH GATE AND GATE BOX	\$3,600.00	\$36,000.00	\$2,900.00	\$29,000.00
350.12	2.000	EA	12 INCH GATE AND GATE BOX	\$6,500.00	\$13,000.00	\$5,800.00	\$11,600.00
357.06	2.000	EA	6 INCH GATE BOX	\$800.00	\$1,600.00	\$1,000.00	\$2,000.00
358.	85.000	EA	GATE BOX ADJUSTED	\$300.00	\$25,500.00	\$375.00	\$31,875.00
358.1	10.000	EA	GATE BOX REMOVED AND STACKED	\$180.00	\$1,800.00	\$125.00	\$1,250.00
363.1	20.000	EA	1 INCH CORPORATION COCK	\$1,600.00	\$32,000.00	\$525.00	\$10,500.00
363.15	3.000	EA	1-1/2 INCH CORPORATION COCK	\$1,750.00	\$5,250.00	\$900.00	\$2,700.00
363.2	7.000	EA	2 INCH CORPORATION COCK	\$1,900.00	\$13,300.00	\$900.00	\$6,300.00
367.06	7.000	EA	6 INCH CAST IRON PLUG	\$800.00	\$5,600.00	\$4,000.00	\$28,000.00
371.06	5.000	EA	6 INCH COUPLING	\$775.00	\$3,875.00	\$1,425.00	\$7,125.00

Bids Open Date: 15 Oct 2025

Project # : 608095

Location : NORTH ANDOVER

District :

Description : NORTH ANDOVER- CORRIDOR IMPROVEMENTS ON ROUTE 114, BETWEEN WAVERLY ROAD AND WILLOW/MILL STREET

					Office Estimate	J H LYI	NCH & SONS INC
Item #	Quantity	Units	Description	Unit Price	Amount	Unit Price	Amount
375.12	7.000	EA	12 INCH INSERTION VALVE AND BOX	\$25,500.00	\$178,500.00	\$28,000.00	\$196,000.00
376.	8.000	EA	HYDRANT	\$10,000.00	\$80,000.00	\$11,000.00	\$88,000.00
376.2	11.000	EA	HYDRANT - REMOVED AND RESET	\$5,000.00	\$55,000.00	\$4,000.00	\$44,000.00
376.3	6.000	EA	HYDRANT - REMOVED AND STACKED	\$1,600.00	\$9,600.00	\$2,000.00	\$12,000.00
376.5	3.000	EA	HYDRANT - ADJUSTED	\$2,500.00	\$7,500.00	\$1,800.00	\$5,400.00
381.	20.000	EA	SERVICE BOX	\$600.00	\$12,000.00	\$575.00	\$11,500.00
381.3	10.000	EA	SERVICE BOX ADJUSTED	\$380.00	\$3,800.00	\$300.00	\$3,000.00
384.	20.000	EA	CURB STOP	\$1,000.00	\$20,000.00	\$1,050.00	\$21,000.00
385.3	1.000	EA	MONITORING WELL TRAFFIC CASTING	\$2,300.00	\$2,300.00	\$850.00	\$850.00
390.01	75.000	FT	SPRINKLER SYSTEM COMPONENTS - REMOVED AND STACKED	\$35.00	\$2,625.00	\$25.00	\$1,875.00
402.	2,580.000	CY	DENSE GRADED CRUSHED STONE FOR SUB-BASE	\$110.00	\$283,800.00	\$80.00	\$206,400.00
415.1	91,200.000	SY	PAVEMENT STANDARD MILLING	\$8.50	\$775,200.00	\$5.75	\$524,400.00
431.	1,800.000	SY	HIGH EARLY STRENGTH CEMENT CONCRETE BASE COURSE	\$90.00	\$162,000.00	\$70.00	\$126,000.00
440.	64,000.000	LB	CALCIUM CHLORIDE FOR ROADWAY DUST CONTROL	\$0.45	\$28,800.00	\$0.72	\$46,080.00
443.	125.000	MGL	WATER FOR ROADWAY DUST CONTROL	\$100.00	\$12,500.00	\$365.00	\$45,625.00
450.22	850.000	TON	SUPERPAVE SURFACE COURSE – 9.5 (SSC – 9.5)	\$250.00	\$212,500.00	\$220.00	\$187,000.00
450.23	1,425.000	TON	SUPERPAVE SURFACE COURSE - 12.5 (SSC - 12.5)	\$280.00	\$399,000.00	\$155.00	\$220,875.00
450.231	12,625.000	TON	SUPERPAVE SURFACE COURSE - 12.5 POLYMER (SSC - 12.5 - P)	\$170.00	\$2,146,250.00	\$140.00	\$1,767,500.00
450.32	15,525.000	TON	SUPERPAVE INTERMEDIATE COURSE - 19.0 (SIC - 19.0)	\$155.00	\$2,406,375.00	\$120.00	\$1,863,000.00
450.42	4,375.000	TON	SUPERPAVE BASE COURSE - 37.5 (SBC - 37.5)	\$150.00	\$656,250.00	\$140.00	\$612,500.00
450.53	5,640.000	TON	SUPERPAVE LEVELING COURSE - 12.5 (SLC - 12.5)	\$170.00	\$958,800.00	\$120.00	\$676,800.00
451.	2,500.000	TON	HMA FOR PATCHING	\$300.00	\$750,000.00	\$290.00	\$725,000.00
452.	19,000.000	GAL	ASPHALT EMULSION FOR TACK COAT	\$10.00	\$190,000.00	\$9.00	\$171,000.00
453.	65,500.000	FT	HMA JOINT ADHESIVE	\$1.00	\$65,500.00	\$0.01	\$655.00
470.2	350.000	FT	HOT MIX ASPHALT BERM, TYPE A - MODIFIED	\$40.00	\$14,000.00	\$15.00	\$5,250.00

Bids Open Date: 15 Oct 2025

Project # : 608095

Location : NORTH ANDOVER

District

Description : NORTH ANDOVER- CORRIDOR IMPROVEMENTS ON ROUTE 114, BETWEEN WAVERLY ROAD AND WILLOW/MILL STREET Office Estimate J H LYNCH & SONS INC Item # Quantity Units **Unit Price** Amount **Unit Price** Amount Description 472. 1,000.000 TON TEMPORARY ASPHALT PATCHING \$310.00 \$310.000.00 \$265.00 \$265,000,00 476.11 SY **CEMENT CONCRETE PAVEMENT - STAMPED** 2,600.000 \$210.00 \$546,000.00 \$245.00 \$637,000.00 MILLED RUMBLE STRIP (TYPE C) 477.2 1,400.000 FT \$7.00 \$9,800.00 \$18.00 \$25,200.00 482.3 135.000 FT SAWCUTTING ASPHALT PAVEMENT \$7.00 \$945.00 \$5.25 \$708.75 \$100,400.00 482.5 25.100.000 FT SAWCUTTING ASPHALT PAVEMENT FOR BOX \$4.00 \$100.400.00 \$4.00 WIDENING 485.3 10.000 SY SCORED CEMENT CONCRETE PAVEMENT \$385.00 \$3,850.00 \$590.00 \$5,900.00 503. 250.000 FT **GRANITE CURB TYPE VA3 - STRAIGHT** \$90.00 \$22,500.00 \$70.00 \$17,500.00 503.1 75.000 FT **GRANITE CURB TYPE VA3 - CURVED** \$100.00 \$7.500.00 \$80.00 \$6.000.00 504.2 20.000 EΑ GRANITE CURB TYPE VA4 - SPLAYED END \$800.00 \$16.000.00 \$570.00 \$11.400.00 506. 25.250.000 FT **GRANITE CURB TYPE VB - STRAIGHT** \$62.00 \$1.565.500.00 \$52.00 \$1.313.000.00 506.1 3,900.000 FT **GRANITE CURB TYPE VB - CURVED** \$85.00 \$331,500.00 \$70.00 \$273,000.00 509. 1,250.000 FT **GRANITE TRANSITION CURB FOR PEDESTRIAN** \$80.00 \$100,000.00 \$70.00 \$87,500.00 **CURB RAMPS - STRAIGHT** 509.1 1.500.000 FT GRANITE TRANSITION CURB FOR PEDESTRIAN \$100.00 \$150.000.00 \$78.00 \$117,000.00 **CURB RAMPS - CURVED** 514. 140.000 EΑ **GRANITE CURB INLET - STRAIGHT** \$700.00 \$550.00 \$77.000.00 \$98.000.00 515. 14.000 EΑ **GRANITE CURB INLET - CURVED** \$900.00 \$12,600.00 \$650.00 \$9,100.00 GRANITE CURB CORNER - TYPE C 517.01 5.000 EΑ \$600.00 \$3,000.00 \$450.00 \$2,250.00 520. 50.000 FT CONCRETE CURB TYPE VA \$85.00 \$4.250.00 \$61.00 \$3.050.00 570.2 40.000 FT HOT MIX ASPHALT CURB TYPE 2 \$35.00 \$1.400.00 \$55.00 \$2,200.00 580. 7.200.000 FT **CURB REMOVED AND RESET** \$45.00 \$324.000.00 \$36.00 \$259,200,00 581. 20.000 EΑ **CURB INLET REMOVED AND RESET** \$300.00 \$6,000.00 \$260.00 \$5,200.00 594. 6,000.000 FT **CURB REMOVED AND DISCARDED** \$10.00 \$60,000.00 \$11.00 \$66,000.00 595. 14.000 EΑ CURB INLET REMOVED AND DISCARDED \$100.00 \$85.00 \$1.190.00 \$1.400.00 596. 14.000 FΑ CURB CORNER REMOVED AND DISCARDED \$50.00 \$85.00 \$1.190.00 \$700.00 597. 18.100.000 FT EDGING REMOVED AND DISCARDED \$10.00 \$181.000.00 \$9.00 \$162,900.00 601.2 50.000 FT TIMBER GUARDRAIL \$75.00 \$3,750.00 \$100.00 \$5,000.00 620.12 1,375.000 FT GUARDRAIL, TL-2 (SINGLE FACED) \$40.00 \$55,000.00 \$33.00 \$45,375.00

Bids Open Date: 15 Oct 2025

Project # : 608095

Location : NORTH ANDOVER

District :

Description : NORTH ANDOVER- CORRIDOR IMPROVEMENTS ON ROUTE 114, BETWEEN WAVERLY ROAD AND WILLOW/MILL STREET

					Office Estimate	J H LYN	J H LYNCH & SONS INC	
Item #	Quantity	Units	Description	Unit Price	Amount	Unit Price	Amount	
627.1	9.000	EA	TRAILING ANCHORAGE	\$2,500.00	\$22,500.00	\$3,100.00	\$27,900.00	
627.82	9.000	EA	GUARDRAIL TANGENT END TREATMENT, TL-2	\$6,000.00	\$54,000.00	\$5,100.00	\$45,900.00	
628.304	2.000	EA	TEMPORARY IMPACT ATTENUATOR, NON-REDIRECTIVE, TL-2	\$8,000.00	\$16,000.00	\$9,800.00	\$19,600.00	
628.314	4.000	EA	TEMPORARY IMPACT ATTENUATOR, REDIRECTIVE, TL-2	\$7,400.00	\$29,600.00	\$11,500.00	\$46,000.00	
628.4	8.000	EA	TEMPORARY IMPACT ATTENUATOR, REMOVED AND RESET	\$2,500.00	\$20,000.00	\$2,400.00	\$19,200.00	
630.	15.000	FT	HIGHWAY GUARD REMOVED AND RESET	\$30.00	\$450.00	\$28.00	\$420.00	
630.2	2,100.000	FT	HIGHWAY GUARD REMOVED AND DISCARDED	\$6.00	\$12,600.00	\$8.00	\$16,800.00	
632.	2.000	EA	GUARDRAIL POST - STEEL	\$150.00	\$300.00	\$255.00	\$510.00	
634.	1.000	EA	W BEAM GUARD PANEL	\$250.00	\$250.00	\$255.00	\$255.00	
645.148	1,400.000	FT	48 INCH CHAIN LINK FENCE (PIPE TOP RAIL) VINYL COATED (LINE POST OPTION)	\$80.00	\$112,000.00	\$50.00	\$70,000.00	
652.048	12.000	EA	48 INCH CHAIN LINK FENCE END POST	\$450.00	\$5,400.00	\$235.00	\$2,820.00	
655.01	675.000	FT	TIMBER RAIL FENCE - TWO RAIL	\$135.00	\$91,125.00	\$96.00	\$64,800.00	
655.21	100.000	FT	HAND RAIL REMOVED AND STACKED	\$10.00	\$1,000.00	\$30.00	\$3,000.00	
660.1	125.000	FT	METAL PIPE RAIL REMOVED AND STACKED	\$25.00	\$3,125.00	\$55.00	\$6,875.00	
660.25	15.000	FT	STEEL HANDRAIL	\$900.00	\$13,500.00	\$475.00	\$7,125.00	
666.	30.000	FT	CHAIN LINK FENCE REMOVED AND RESET	\$65.00	\$1,950.00	\$22.00	\$660.00	
669.	1,300.000	FT	FENCE REMOVED AND STACKED	\$30.00	\$39,000.00	\$17.00	\$22,100.00	
671.	3.000	EA	FENCE GATE AND GATE POSTS REMOVED AND STACKED	\$1,500.00	\$4,500.00	\$180.00	\$540.00	
685.	190.000	CY	STONE MASONRY WALL IN CEMENT MORTAR	\$1,300.00	\$247,000.00	\$1,300.00	\$247,000.00	
686.1	6,300.000	SF	STONE VENEER FOR CEMENT CONCRETE WALL	\$95.00	\$598,500.00	\$146.00	\$919,800.00	
690.	15.000	CY	STONE MASONRY WALL REMOVED AND REBUILT IN CEMENT MORTAR	\$1,500.00	\$22,500.00	\$1,250.00	\$18,750.00	
690.2	480.000	CY	STONE MASONRY WALL WITH PARAPET REMOVAL	\$800.00	\$384,000.00	\$350.00	\$168,000.00	
691.01	150.000	FT	BALANCE STONE WALL REMOVED AND REBUILT DRY	\$500.00	\$75,000.00	\$325.00	\$48,750.00	
691.1	2,700.000	FT	BALANCE STONE WALL REMOVED AND STACKED	\$70.00	\$189,000.00	\$33.00	\$89,100.00	

Bids Open Date: 15 Oct 2025

Project # : 608095

Location : NORTH ANDOVER

District :

Description : NORTH ANDOVER- CORRIDOR IMPROVEMENTS ON ROUTE 114, BETWEEN WAVERLY ROAD AND WILLOW/MILL STREET

					Office Estimate	JHL	YNCH & SONS INC
Item #	Quantity	Units	Description	Unit Price	Amount	Unit Price	Amount
691.2	14.000	EA	LANDSCAPE BOULDER REMOVED AND STACKED	\$700.00	\$9,800.00	\$190.00	\$2,660.00
692.1	10.000	CY	GRANITE BLOCK WALL REMOVED AND STACKED	\$1,000.00	\$10,000.00	\$265.00	\$2,650.00
693.3	1.000	EA	BRICK PILLAR REMOVED AND REBUILT	\$5,500.00	\$5,500.00	\$20,000.00	\$20,000.00
693.5	70.000	FT	LANDSCAPE TIE WALLS REMOVED AND STACKED	\$20.00	\$1,400.00	\$11.00	\$770.00
697.1	240.000	EA	SILT SACK	\$190.00	\$45,600.00	\$195.00	\$46,800.00
698.3	1,175.000	SY	GEOTEXTILE FABRIC FOR SEPARATION	\$8.00	\$9,400.00	\$1.25	\$1,468.75
698.4	640.000	SY	GEOTEXTILE FABRIC FOR PERMANENT EROSION CONTROL	\$10.00	\$6,400.00	\$8.50	\$5,440.00
701.	8,100.000	SY	CEMENT CONCRETE SIDEWALK	\$80.00	\$648,000.00	\$80.00	\$648,000.00
701.1	1,200.000	SY	CEMENT CONCRETE SIDEWALK AT DRIVEWAYS	\$115.00	\$138,000.00	\$130.00	\$156,000.00
701.2	2,925.000	SY	CEMENT CONCRETE PEDESTRIAN CURB RAMP	\$156.00	\$456,300.00	\$135.00	\$394,875.00
702.	2,150.000	TON	HOT MIX ASPHALT SIDEWALK OR DRIVEWAY	\$285.00	\$612,750.00	\$215.00	\$462,250.00
705.1	5.000	SY	FLAGSTONE WALK REMOVED AND RESET	\$650.00	\$3,250.00	\$225.00	\$1,125.00
706.7	750.000	SF	CONCRETE PAVER FOR SEDIMENT FOREBAY	\$80.00	\$60,000.00	\$30.00	\$22,500.00
707.21	1.000	EA	TRASH RECEPTACLE REMOVED AND RESET	\$2,500.00	\$2,500.00	\$750.00	\$750.00
710.3	80.000	EA	BOUND - LETTERED GRANITE	\$725.00	\$58,000.00	\$525.00	\$42,000.00
710.4	50.000	EA	BOUND - PLAIN GRANITE	\$800.00	\$40,000.00	\$460.00	\$23,000.00
711.	15.000	EA	BOUND REMOVED AND RESET	\$675.00	\$10,125.00	\$580.00	\$8,700.00
712.	5.000	EA	BOUND REMOVED AND STACKED	\$325.00	\$1,625.00	\$380.00	\$1,900.00
715.	35.000	EA	RURAL MAIL BOX REMOVED AND RESET	\$400.00	\$14,000.00	\$290.00	\$10,150.00
715.01	4.000	EA	RURAL MAIL BOX REMOVED AND DISCARDED	\$100.00	\$400.00	\$125.00	\$500.00
722.1	1.000	LS	SCHEDULE OF OPERATIONS (TYPE A) - FIXED PRICE \$175,000	\$175,000.00	\$175,000.00	\$175,000.00	\$175,000.00
740.	60.000	MO	ENGINEERS FIELD OFFICE AND EQUIPMENT (TYPE A)	\$5,200.00	\$312,000.00	\$4,800.00	\$288,000.00
748.	1.000	LS	MOBILIZATION	\$1,384,196.50	\$1,384,196.50	\$1,390,000.00	\$1,390,000.00
751.1	3,750.000	CY	LOAM FOR LAWNS	\$80.00	\$300,000.00	\$95.00	\$356,250.00
751.7	190.000	CY	COMPOST BLANKET	\$130.00	\$24,700.00	\$105.00	\$19,950.00
755.35	1.000	LS	INLAND WETLAND REPLICATION AREA	\$25,000.00	\$25,000.00	\$57,000.00	\$57,000.00

Bids Open Date: 15 Oct 2025

Project # : 608095

Location : NORTH ANDOVER

District :

Description : NORTH ANDOVER- CORRIDOR IMPROVEMENTS ON ROUTE 114, BETWEEN WAVERLY ROAD AND WILLOW/MILL STREET

					Office Estimate	J H LYN	CH & SONS INC
Item #	Quantity	Units	Description	Unit Price	Amount	Unit Price	Amount
755.45	105.000	SY	WETLAND RESTORATION	\$125.00	\$13,125.00	\$75.00	\$7,875.00
755.55	1.000	LS	COMPENSATORY FLOOD STORAGE AREA	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00
755.75	140.000	HR	WETLAND SPECIALIST	\$200.00	\$28,000.00	\$325.00	\$45,500.00
755.76	1.000	LS	WETLANDS MONITORING REPORTS	\$11,000.00	\$11,000.00	\$5,500.00	\$5,500.00
756.	1.000	LS	NPDES STORMWATER POLLUTION PREVENTION PLAN	\$20,000.00	\$20,000.00	\$165,000.00	\$165,000.00
765.	34,000.000	SY	SEEDING	\$3.25	\$110,500.00	\$4.25	\$144,500.00
765.21	27.000	LB	ANNUAL COVER CROP FOR NATIVE SEEDING	\$300.00	\$8,100.00	\$290.00	\$7,830.00
765.415	25.000	LB	SEED - NATIVE SHORT GRASSLAND MIX	\$300.00	\$7,500.00	\$550.00	\$13,750.00
765.554	12.000	LB	WETLAND SEED - SEASONALLY FLOODED MIX	\$300.00	\$3,600.00	\$550.00	\$6,600.00
765.635	5,800.000	SY	NATIVE SEEDING AND ESTABLISHMENT	\$7.00	\$40,600.00	\$4.50	\$26,100.00
767.121	5,175.000	FT	SEDIMENT CONTROL BARRIER	\$10.00	\$51,750.00	\$5.50	\$28,462.50
767.6	60.000	CY	AGED PINE BARK MULCH	\$100.00	\$6,000.00	\$95.00	\$5,700.00
767.9	800.000	SY	JUTE MESH	\$10.00	\$8,000.00	\$7.15	\$5,720.00
769.	1,650.000	FT	PAVEMENT MILLING MULCH UNDER GUARD RAIL	\$12.00	\$19,800.00	\$19.00	\$31,350.00
774.51	7.000	EA	ELM - 'PRINCETON' 2-2.5 INCH CALIPER	\$900.00	\$6,300.00	\$900.00	\$6,300.00
775.147	10.000	EA	LINDEN - LITTLE LEAF 2-2.5 INCH CALIPER	\$900.00	\$9,000.00	\$900.00	\$9,000.00
775.437	11.000	EA	LOCUST - HONEY - 'SKYLINE' 2-2.5 INCH CALIPER	\$1,050.00	\$11,550.00	\$950.00	\$10,450.00
775.51	5.000	EA	MAIDENHAIR TREE - 'PRINCETON SENTRY' 2-2.5 INCH CALIPER	\$1,200.00	\$6,000.00	\$1,200.00	\$6,000.00
776.557	13.000	EA	MAPLE - RED - 'RED SUNSET' 2-2.5 INCH CALIPER	\$900.00	\$11,700.00	\$900.00	\$11,700.00
777.138	13.000	EA	OAK - PIN 2-2.5 INCH CALIPER	\$900.00	\$11,700.00	\$900.00	\$11,700.00
777.328	11.000	EA	OAK - WHITE 2-2.5 INCH CALIPER	\$1,200.00	\$13,200.00	\$1,100.00	\$12,100.00
777.442	7.000	EA	PLANETREE - AMERICAN 2-2.5 INCH CALIPER	\$900.00	\$6,300.00	\$900.00	\$6,300.00
777.673	3.000	EA	SWEETGUM - FRUITLESS 2-2.5 INCH CALIPER	\$900.00	\$2,700.00	\$900.00	\$2,700.00
778.383	6.000	EA	CHERRY - SARGENT COLUMNAR 1.5-2 INCH CALIPER	\$800.00	\$4,800.00	\$825.00	\$4,950.00
781.263	5.000	EA	HAWTHORN - 'WINTER KING' 1.5-2 INCH CALIPER	\$800.00	\$4,000.00	\$775.00	\$3,875.00
781.578	10.000	EA	LILAC TREE - JAPANESE IVORY SILK 1.5-2 INCH CALIPER	\$900.00	\$9,000.00	\$950.00	\$9,500.00

Bids Open Date: 15 Oct 2025

Project # : 608095

Location : NORTH ANDOVER

District :

Description : NORTH ANDOVER- CORRIDOR IMPROVEMENTS ON ROUTE 114, BETWEEN WAVERLY ROAD AND WILLOW/MILL STREET

					Office Estimate	J H LYN	CH & SONS INC
Item #	Quantity	Units	Description	Unit Price	Amount	Unit Price	Amount
782.541	6.000	EA	REDBUD - EASTERN 1.5-2 INCH CALIPER	\$850.00	\$5,100.00	\$825.00	\$4,950.00
790.512	8.000	EA	DOGWOOD - 'GRAY' 2-3 FEET / #3	\$100.00	\$800.00	\$160.00	\$1,280.00
795.021	5.000	EA	VIBURNUM - 'BLACKHAW' 2-3 FEET / #3	\$100.00	\$500.00	\$160.00	\$800.00
797.01	10.000	EA	TREE - CONTINGENCY 2-2.5 INCH CALIPER	\$1,200.00	\$12,000.00	\$900.00	\$9,000.00
801.32	80.000	FT	3 INCH ELECTRICAL CONDUIT - TYPE NM (DOUBLE)	\$100.00	\$8,000.00	\$140.00	\$11,200.00
802.433	110.000	FT	4 INCH TELEPHONE CONDUIT - TYPE NM (3 BANK)	\$200.00	\$22,000.00	\$140.00	\$15,400.00
804.22	10.000	FT	2 INCH ELECTRICAL CONDUIT TYPE NM - PLASTIC (UL) - SPLIT DUCT	\$200.00	\$2,000.00	\$110.00	\$1,100.00
804.3	4,850.000	FT	3 INCH ELECTRICAL CONDUIT TYPE NM - PLASTIC - (UL)	\$79.00	\$383,150.00	\$98.00	\$475,300.00
804.33	320.000	FT	3 INCH ELECTRICAL CONDUIT - TYPE NM - PLASTIC - (UL) - LIGHTING	\$240.00	\$76,800.00	\$95.00	\$30,400.00
804.4	80.000	FT	4 INCH ELECTRICAL CONDUIT TYPE NM - PLASTIC - (UL)	\$90.00	\$7,200.00	\$95.00	\$7,600.00
806.4	40.000	FT	4 INCH ELECTRICAL CONDUIT TYPE RM - GALVANIZED STEEL	\$200.00	\$8,000.00	\$250.00	\$10,000.00
811.22	45.000	EA	ELECTRIC HANDHOLE - SD2.022	\$2,100.00	\$94,500.00	\$1,800.00	\$81,000.00
811.24	6.000	EA	ELECTRIC HANDHOLE - SD2.024	\$5,500.00	\$33,000.00	\$1,900.00	\$11,400.00
811.31	45.000	EA	PULL BOX 12 X 12 INCHES - SD2.031	\$1,400.00	\$63,000.00	\$1,300.00	\$58,500.00
812.09	3.000	EA	LIGHT STANDARD FOUNDATION PRECAST	\$3,500.00	\$10,500.00	\$3,200.00	\$9,600.00
814.	1.000	LS	ADAPTIVE TRAFFIC SIGNAL CONTROL	\$120,000.00	\$120,000.00	\$60,000.00	\$60,000.00
815.07	1.000	LS	TRAFFIC CONTROL SIGNAL LOCATION NO. 7	\$500,000.00	\$500,000.00	\$350,000.00	\$350,000.00
816.01	1.000	LS	TRAFFIC SIGNAL RECONSTRUCTION LOCATION NO.	\$670,000.00	\$670,000.00	\$440,000.00	\$440,000.00
816.02	1.000	LS	TRAFFIC SIGNAL RECONSTRUCTION LOCATION NO. 2	\$540,000.00	\$540,000.00	\$275,000.00	\$275,000.00
816.03	1.000	LS	TRAFFIC SIGNAL RECONSTRUCTION LOCATION NO. 3	\$530,000.00	\$530,000.00	\$350,000.00	\$350,000.00
816.04	1.000	LS	TRAFFIC SIGNAL RECONSTRUCTION LOCATION NO. 4	\$590,000.00	\$590,000.00	\$390,000.00	\$390,000.00
816.05	1.000	LS	TRAFFIC SIGNAL RECONSTRUCTION LOCATION NO. 5	\$430,000.00	\$430,000.00	\$270,000.00	\$270,000.00

Bids Open Date: 15 Oct 2025

Project # : 608095

Location : NORTH ANDOVER

District

Description : NORTH ANDOVER- CORRIDOR IMPROVEMENTS ON ROUTE 114, BETWEEN WAVERLY ROAD AND WILLOW/MILL STREET Office Estimate J H LYNCH & SONS INC Item # Quantity Units Description **Unit Price** Amount **Unit Price** Amount \$620,000.00 \$435,000.00 816.06 1.000 LS TRAFFIC SIGNAL RECONSTRUCTION LOCATION NO. \$620,000,00 \$435,000.00 6 816.08 1.000 LS TRAFFIC SIGNAL RECONSTRUCTION LOCATION NO. \$440,000.00 \$440,000.00 \$270,000.00 \$270,000.00 8 1.000 816.09 LS TRAFFIC SIGNAL RECONSTRUCTION LOCATION NO. \$510.000.00 \$510.000.00 \$340.000.00 \$340.000.00 816.80 1.000 LS TRAFFIC CONTROL SIGNAL REMOVED AND \$80,000.00 \$80,000.00 \$110,000.00 \$110,000.00 STACKED 823.70 3.000 EΑ HIGHWAY LIGHTING POLE AND LUMINAIRE \$2,500.00 \$7,500.00 \$7,000.00 \$21,000.00 REMOVED AND RESET 823.71 3.000 FΑ HIGHWAY LIGHTING POLE AND LUMINAIRE \$2,000.00 \$6.000.00 \$1,700.00 \$5,100.00 REMOVED AND STACKED LS RECTANGULAR RAPID-FLASHING BEACONS 824.221 1.000 \$30,000.00 \$30.000.00 \$23.000.00 \$23,000,00 SYSTEM (SOLAR) 825.10 1.000 LS RADAR SPEED DISPLAY SIGN (SOLAR POWERED) \$10,000.00 \$10,000.00 \$15,000.00 \$15,000.00 826.70 10.000 ELECTRIC SERVICE RISER RELOCATED \$150.000.00 EΑ \$15.000.00 \$8.000.00 \$80.000.00 SF 831.11 1.275.000 ROADSIDE GUIDE SIGN (MA-D1-XX) ALUMINUM \$35.00 \$44.625.00 \$60.00 \$76.500.00 PANEL (TYPE A) 832. 2.550.000 SF WARNING-REGULATORY AND ROUTE MARKER -\$15.00 \$38.250.00 \$26.00 \$66,300.00 ALUMINUM PANEL (TYPE A) 841.11 46.000 EΑ SUPPORT FOR GUIDE SIGN (MA-D1-XX) - 5 INCH \$3,000.00 \$138,000.00 \$3,500.00 \$161,000.00 **TUBULAR - STEEL** 847.1 308.000 FΑ SIGN SUP (N/GUIDE)+RTE MKR W/1 BRKWAY POST \$250.00 \$77.000.00 \$260.00 \$80.080.00 ASSEMBLY - STEEL 848.1 24.000 EΑ SIGN SUP (N/GUIDE)+RTE MKR W/2 BRKWAY POST \$465.00 \$11,160.00 \$475.00 \$11,400.00 ASSEMBLIÈS-STEEL 850.41 1,450.000 HR ROADWAY FLAGGER \$70.00 \$101,500.00 \$110.00 \$159,500.00 851.1 1.050.000 DAY TRAFFIC CONES FOR TRAFFIC MANAGEMENT \$55.00 \$57.750.00 \$0.01 \$10.50 852. \$51.000.00 1.700.000 SF SAFETY SIGNING FOR TRAFFIC MANAGEMENT \$30.00 \$51.000.00 \$30.00 852.11 2.000.000 FT TEMPORARY PEDESTRIAN BARRICADE \$40.00 \$80.000.00 \$35.00 \$70,000,00 852.12 20.000 EΑ TEMPORARY PEDESTRIAN CURB RAMP \$3,000.00 \$60,000.00 \$1,100.00 \$22,000.00 853.1 20.000 EΑ PORTABLE BREAKAWAY BARRICADE TYPE III \$155.00 \$3,100.00 \$140.00 \$2,800.00 853.2 400.000 FT **TEMPORARY BARRIER (TL-2)** \$50.00 \$20.000.00 \$55.00 \$22,000.00

Bids Open Date: 15 Oct 2025

Project # : 608095

Location : NORTH ANDOVER

District :

Description : NORTH ANDOVER- CORRIDOR IMPROVEMENTS ON ROUTE 114, BETWEEN WAVERLY ROAD AND WILLOW/MILL STREET

			•		Office Estimate	J H LYN	CH & SONS INC
Item #	Quantity	Units	Description	Unit Price	Amount	Unit Price	Amount
853.21	1,200.000	FT	TEMPORARY BARRIER REMOVED AND RESET	\$22.00	\$26,400.00	\$20.00	\$24,000.00
853.33	300.000	FT	TEMPORARY BARRIER - LIMITED DEFLECTION (TL-3)	\$175.00	\$52,500.00	\$45.00	\$13,500.00
853.34	120.000	FT	TEMPORARY BARRIER - LIMITED DEFLECTION (TL- 3) REMOVED AND RESET	\$35.00	\$4,200.00	\$25.00	\$3,000.00
853.403	120.000	DAY	TRUCK MOUNTED ATTENUATOR	\$200.00	\$24,000.00	\$1,100.00	\$132,000.00
853.8	550.000	DAY	TEMPORARY ILLUMINATION FOR WORK ZONE	\$55.00	\$30,250.00	\$150.00	\$82,500.00
854.016	106,000.000	FT	TEMPORARY PAVING MARKINGS - 6 INCH (PAINTED)	\$0.40	\$42,400.00	\$0.35	\$37,100.00
854.036	9,000.000	FT	TEMPORARY PAVING MARKINGS - 6 INCH (TAPE)	\$2.00	\$18,000.00	\$1.50	\$13,500.00
854.1	1,000.000	SF	PAVEMENT MARKING REMOVAL	\$4.00	\$4,000.00	\$4.75	\$4,750.00
856.	3,200.000	DAY	ARROW BOARD	\$10.00	\$32,000.00	\$11.00	\$35,200.00
856.12	1,700.000	DAY	PORTABLE CHANGEABLE MESSAGE SIGN	\$25.00	\$42,500.00	\$26.00	\$44,200.00
859.	83,500.000	DAY	REFLECTORIZED DRUM	\$0.30	\$25,050.00	\$0.35	\$29,225.00
859.1	2,100.000	DAY	REFLECTORIZED DRUMS WITH SEQUENTIAL FLASHING WARNING LIGHTS	\$5.00	\$10,500.00	\$10.00	\$21,000.00
864.02	800.000	SF	PAVEMENT ARROW AND LEGENDS - TAPE	\$70.00	\$56,000.00	\$25.00	\$20,000.00
864.04	9,050.000	SF	PAVEMENT ARROWS AND LEGENDS REFLECTORIZED WHITE (THERMOPLASTIC)	\$15.00	\$135,750.00	\$8.00	\$72,400.00
864.41	1,500.000	SF	GREEN COLORIZED PAVEMENT MARKINGS	\$25.00	\$37,500.00	\$24.00	\$36,000.00
866.106	50,000.000	FT	6 INCH REFLECTORIZED WHITE LINE (THERMOPLASTIC)	\$1.75	\$87,500.00	\$1.60	\$80,000.00
866.112	26,600.000	FT	12 INCH REFLECTORIZED WHITE LINE (THERMOPLASTIC)	\$7.00	\$186,200.00	\$6.00	\$159,600.00
867.106	39,500.000	FT	6 INCH REFLECTORIZED YELLOW LINE (THERMOPLASTIC)	\$1.75	\$69,125.00	\$1.60	\$63,200.00
867.112	1,175.000	FT	12 INCH REFLECTORIZED YELLOW LINE (THERMOPLASTIC)	\$7.00	\$8,225.00	\$6.50	\$7,637.50
874.	60.000	EA	STREET NAME SIGN	\$115.00	\$6,900.00	\$160.00	\$9,600.00
874.2	3.000	EA	TRAFFIC SIGN REMOVED AND RESET	\$200.00	\$600.00	\$110.00	\$330.00
874.41	350.000	EA	TRAFFIC SIGN REMOVED AND DISCARDED	\$55.00	\$19,250.00	\$55.00	\$19,250.00
901.	3.000	CY	4000 PSI, 1.5 INCH, 565 CEMENT CONCRETE	\$2,000.00	\$6,000.00	\$4,000.00	\$12,000.00

Bids Open Date: 15 Oct 2025

Project # : 608095

Location : NORTH ANDOVER

District : 4

Description : NORTH ANDOVER- CORRIDOR IMPROVEMENTS ON ROUTE 114, BETWEEN WAVERLY ROAD AND WILLOW/MILL STREET

					Office Estimate	JH	LYNCH & SONS INC
Item #	Quantity	Units	Description	Unit Price	Amount	Unit Price	Amount
903.	350.000	CY	3000 PSI, 1.5 INCH, 470 CEMENT CONCRETE	\$700.00	\$245,000.00	\$250.00	\$87,500.00
904.	105.000	CY	4000 PSI, 3/4 INCH, 610 CEMENT CONCRETE	\$1,500.00	\$157,500.00	\$1,400.00	\$147,000.00
904.3	860.000	CY	5000 PSI, 3/4 INCH, 685 HP CEMENT CONCRETE	\$2,300.00	\$1,978,000.00	\$2,100.00	\$1,806,000.00
905.2	100.000	CY	5000 PSI, 3/8 INCH, 710 HP CEMENT CONCRETE	\$2,500.00	\$250,000.00	\$4,300.00	\$430,000.00
910.1	40,000.000	LB	STEEL REINFORCEMENT FOR STRUCTURES - EPOXY COATED	\$4.00	\$160,000.00	\$2.50	\$100,000.00
912.	2,780.000	EA	DRILLING AND GROUTING DOWELS	\$70.00	\$194,600.00	\$55.00	\$152,900.00
952.	380,160.000	LB	STEEL SHEETING	\$2.50	\$950,400.00	\$3.49	\$1,326,758.40
953.01	1.000	LS	PERMANENT SUPPORT OF EXCAVATION - HEADWALL	\$3,180.00	\$3,180.00	\$120,000.00	\$120,000.00
953.11	1.000	LS	TEMPORARY SUPPORT OF EXCAVATION	\$71,000.00	\$71,000.00	\$210,000.00	\$210,000.00
953.12	1.000	LS	TEMPORARY SUPPORT OF EXCAVATION FOR WALL A	\$79,000.00	\$79,000.00	\$75,000.00	\$75,000.00
953.13	1.000	LS	TEMPORARY SUPPORT OF EXCAVATION FOR WALL B	\$25,000.00	\$25,000.00	\$55,000.00	\$55,000.00
970.	5,710.000	SF	DAMP-PROOFING	\$10.00	\$57,100.00	\$2.25	\$12,847.50
975.5	405.000	FT	ALUMINUM HANDRAIL	\$175.00	\$70,875.00	\$410.00	\$166,050.00
983.35	280.000	CY	STREAMBED MATERIAL REMOVED AND RELAID	\$100.00	\$28,000.00	\$140.00	\$39,200.00
986.2	500.000	CY	MODIFIED ROCKFILL	\$160.00	\$80,000.00	\$135.00	\$67,500.00
986.21	260.000	CY	MODIFIED ROCKFILL WITH GRAVEL PACKED VOIDS	\$95.00	\$24,700.00	\$235.00	\$61,100.00
991.1	1.000	LS	CONTROL OF WATER - STRUCTURE NO. N-15-021 (CBN)	\$155,000.00	\$155,000.00	\$250,000.00	\$250,000.00
995.011	1.000	LS	CULVERT STRUCTURE, CULVERT NO. N-15-021 (CBN)	\$495,000.00	\$495,000.00	\$550,000.00	\$550,000.00
996.011	1.000	LS	MODULAR BLOCK WALL REMOVED AND REBUILT	\$24,500.00	\$24,500.00	\$50,000.00	\$50,000.00
996.021	1.000	LS	SOLDIER PILE AND LAGGING	\$845,000.00	\$845,000.00	\$1,050,000.00	\$1,050,000.00
				Total :	\$49,974,111.50	Total :	\$47,800,373.90

Bids Open Date: 15 Oct 2025

Project # : 608095

Location : NORTH ANDOVER

District

Description	: NORTH ANDOV	ER- CORR	IDOR IMPROVEMENTS ON ROUTE 114, BETWEEN WAVERLY	ROAD AND WILLOW/N	MILL STREET		
				D W WHITE COM	NSTRUCTION INC	P GIO	DIOSO & SONS INC
Item #	Quantity	Units	Description	Unit Price	Amount	Unit Price	Amount
100.71	1.000	LS	MASONRY WORK	\$135,000.00	\$135,000.00	\$200,000.00	\$200,000.00
100.9	1.000	LS	PRE AND POST CONSTRUCTION SURVEY AND VIBRATION MONITORING	\$20,000.00	\$20,000.00	\$50,000.00	\$50,000.00
101.	2.500	Α	CLEARING AND GRUBBING	\$48,000.00	\$120,000.00	\$20,000.00	\$50,000.00
102.2	1.000	LS	TREE TRIMMING	\$19,000.00	\$19,000.00	\$20,000.00	\$20,000.00
102.3	60.000	HR	HERBICIDE TREATMENT OF INVASIVE PLANTS	\$825.00	\$49,500.00	\$500.00	\$30,000.00
102.33	16.000	HR	INVASIVE PLANT MANAGEMENT STRATEGY	\$400.00	\$6,400.00	\$200.00	\$3,200.00
102.513	175.000	FT	AIR EXCAVATION AND ROOT PRUNING	\$55.00	\$9,625.00	\$40.00	\$7,000.00
102.521	1,500.000	FT	TREE AND PLANT PROTECTION FENCE	\$14.00	\$21,000.00	\$10.00	\$15,000.00
102.531	12.000	EA	TREE CARE - PRUNING	\$660.00	\$7,920.00	\$600.00	\$7,200.00
102.533	800.000	GAL	TREE CARE - WATERING	\$5.50	\$4,400.00	\$5.00	\$4,000.00
102.55	55.000	HR	ARBORIST	\$275.00	\$15,125.00	\$250.00	\$13,750.00
103.	110.000	EA	TREE REMOVED - DIAMETER UNDER 24 INCHES	\$1,650.00	\$181,500.00	\$1,800.00	\$198,000.00
104.	35.000	EA	TREE REMOVED - DIAMETER 24 INCHES AND OVER	\$3,500.00	\$122,500.00	\$4,000.00	\$140,000.00
105.	20.000	EA	STUMP REMOVED	\$330.00	\$6,600.00	\$1,200.00	\$24,000.00
112.1	1.000	LS	DEMOLITION OF BUILDING NO. 1	\$225,000.00	\$225,000.00	\$100,000.00	\$100,000.00
112.2	1.000	LS	DEMOLITION OF BUILDING NO. 2	\$225,000.00	\$225,000.00	\$100,000.00	\$100,000.00
112.3	1.000	LS	DEMOLITION OF BUILDING NO. 3	\$225,000.00	\$225,000.00	\$100,000.00	\$100,000.00
112.4	1.000	LS	DEMOLITION OF BUILDING NO. 4	\$225,000.00	\$225,000.00	\$100,000.00	\$100,000.00
119.	1.000	LS	RODENT CONTROL	\$30,000.00	\$30,000.00	\$30,000.00	\$30,000.00
120.	26,500.000	CY	EARTH EXCAVATION	\$66.00	\$1,749,000.00	\$20.00	\$530,000.00
121.	50.000	CY	CLASS A ROCK EXCAVATION	\$345.00	\$17,250.00	\$300.00	\$15,000.00
123.	250.000	CY	MUCK EXCAVATION	\$57.00	\$14,250.00	\$150.00	\$37,500.00
127.1	900.000	CY	REINFORCED CONCRETE EXCAVATION	\$217.00	\$195,300.00	\$100.00	\$90,000.00
140.	2,270.000	CY	BRIDGE EXCAVATION	\$48.00	\$108,960.00	\$100.00	\$227,000.00
141.	800.000	CY	CLASS A TRENCH EXCAVATION	\$51.00	\$40,800.00	\$100.00	\$80,000.00
141.1	950.000	CY	TEST PIT FOR EXPLORATION	\$30.00	\$28,500.00	\$100.00	\$95,000.00
141.11	40.000	DAY	TEST PIT FOR EXPLORATION - VACUUM EXCAVATION	\$2,500.00	\$100,000.00	\$6,000.00	\$240,000.00

Bids Open Date: 15 Oct 2025

Project # : 608095

Location : NORTH ANDOVER

District :

Description : NORTH ANDOVER- CORRIDOR IMPROVEMENTS ON ROUTE 114, BETWEEN WAVERLY ROAD AND WILLOW/MILL STREET

				D W WHITE CON	STRUCTION INC	P GIOI	OSO & SONS INC
Item #	Quantity	Units	Description	Unit Price	Amount	Unit Price	Amount
142.	4,750.000	CY	CLASS B TRENCH EXCAVATION	\$51.25	\$243,437.50	\$10.00	\$47,500.00
144.	510.000	CY	CLASS B ROCK EXCAVATION	\$300.00	\$153,000.00	\$300.00	\$153,000.00
145.	5.000	EA	DRAINAGE STRUCTURE ABANDONED	\$1,050.00	\$5,250.00	\$2,000.00	\$10,000.00
146.	150.000	EA	DRAINAGE STRUCTURE REMOVED	\$885.00	\$132,750.00	\$1,000.00	\$150,000.00
149.2	1.000	LS	PUBLIC OUTREACH	\$275,000.00	\$275,000.00	\$120,000.00	\$120,000.00
150.	200.000	CY	ORDINARY BORROW	\$42.50	\$8,500.00	\$50.00	\$10,000.00
150.1	200.000	CY	SPECIAL BORROW	\$50.00	\$10,000.00	\$75.00	\$15,000.00
151.	17,250.000	CY	GRAVEL BORROW	\$53.00	\$914,250.00	\$1.00	\$17,250.00
151.1	120.000	CY	GRAVEL BORROW FOR BRIDGE FOUNDATION	\$101.00	\$12,120.00	\$200.00	\$24,000.00
151.2	1,355.000	CY	GRAVEL BORROW FOR BACKFILLING STRUCTURES AND PIPES	\$49.00	\$66,395.00	\$100.00	\$135,500.00
154.	600.000	CY	SAND BORROW	\$45.00	\$27,000.00	\$50.00	\$30,000.00
156.	1,250.000	TON	CRUSHED STONE	\$29.50	\$36,875.00	\$50.00	\$62,500.00
156.1	55.000	TON	CRUSHED STONE FOR BRIDGE FOUNDATIONS	\$71.00	\$3,905.00	\$200.00	\$11,000.00
156.8	500.000	CY	CRUSHED STONE FOR SUB-BASE	\$117.00	\$58,500.00	\$100.00	\$50,000.00
160.2	90.000	CY	CONTROLLED LOW-STRENGTH MATERIAL - MECHANICAL EXCAVATABLE (101-300 PSI)	\$245.00	\$22,050.00	\$300.00	\$27,000.00
170.	61,000.000	SY	FINE GRADING AND COMPACTING - SUBGRADE AREA	\$4.20	\$256,200.00	\$5.00	\$305,000.00
173.	1,700.000	SY	DECOMPACTION FOR LAWN	\$11.00	\$18,700.00	\$5.00	\$8,500.00
180.01	1.000	LS	ENVIRONMENTAL HEALTH AND SAFETY PROGRAM	\$12,500.00	\$12,500.00	\$10,000.00	\$10,000.00
180.02	40.000	HR	PERSONAL PROTECTION LEVEL C UPGRADE	\$43.00	\$1,720.00	\$120.00	\$4,800.00
180.03	40.000	HR	LICENSED SITE PROFESSIONAL SERVICES	\$165.00	\$6,600.00	\$200.00	\$8,000.00
181.11	9,600.000	TON	DISPOSAL OF UNREGULATED SOIL	\$28.50	\$273,600.00	\$50.00	\$480,000.00
181.12	1,150.000	TON	DISPOSAL OF REGULATED SOIL - IN-STATE FACILITY	\$63.00	\$72,450.00	\$90.00	\$103,500.00
181.13	575.000	TON	DISPOSAL OF REGULATED SOIL - OUT-OF-STATE FACILITY	\$59.00	\$33,925.00	\$200.00	\$115,000.00
181.14	115.000	TON	DISPOSAL OF HAZARDOUS WASTE	\$484.00	\$55,660.00	\$500.00	\$57,500.00
182.1	1.000	LS	INSPECTION AND TESTING FOR ASBESTOS	\$5,000.00	\$5,000.00	\$10,000.00	\$10,000.00

Bids Open Date: 15 Oct 2025

Project # : 608095

Location : NORTH ANDOVER

District

Description	: NORTH ANDOV	ER- CORR	IDOR IMPROVEMENTS ON ROUTE 114, BETWEEN WAVERLY	Y ROAD AND WILLOW/M	ILL STREET		
				D W WHITE CON	ISTRUCTION INC	P GIOIO	SO & SONS INC
Item #	Quantity	Units	Description	Unit Price	Amount	Unit Price	Amount
182.2	300.000	FT	REMOVAL OF ASBESTOS	\$93.50	\$28,050.00	\$100.00	\$30,000.00
182.3	1.000	LS	ASBESTOS ABATEMENT FOR BUILDING DEMOLITION	\$400,000.00	\$400,000.00	\$80,000.00	\$80,000.00
183.1	10,000.000	GAL	TREATMENT OF CONTAMINATED GROUNDWATER	\$3.30	\$33,000.00	\$2.00	\$20,000.00
183.2	1,000.000	LB	DISPOSAL OF GRANULAR ACTIVATED CARBON	\$4.40	\$4,400.00	\$10.00	\$10,000.00
184.1	10.000	TON	DISPOSAL OF TREATED WOOD PRODUCTS	\$380.00	\$3,800.00	\$900.00	\$9,000.00
188.1	1.000	LS	TESTING OF PCB BALLASTS	\$6,700.00	\$6,700.00	\$3,000.00	\$3,000.00
188.2	1.000	LS	DISPOSAL OF PCB BALLASTS	\$5,350.00	\$5,350.00	\$20,000.00	\$20,000.00
188.3	50.000	EA	DISPOSAL OF MERCURY CONTAINING LAMPS	\$1,375.00	\$68,750.00	\$100.00	\$5,000.00
192.6	3.000	EA	MONITORING WELL ADJUSTED	\$600.00	\$1,800.00	\$200.00	\$600.00
201.	235.000	EA	CATCH BASIN	\$3,750.00	\$881,250.00	\$3,000.00	\$705,000.00
201.3	4.000	EA	SPECIAL CATCH BASIN	\$7,350.00	\$29,400.00	\$7,000.00	\$28,000.00
202.	115.000	EA	MANHOLE	\$5,650.00	\$649,750.00	\$3,000.00	\$345,000.00
202.05	32.000	EA	MANHOLE 5 FEET ID	\$7,650.00	\$244,800.00	\$9,000.00	\$288,000.00
202.06	12.000	EA	MANHOLE 6 FEET ID	\$9,200.00	\$110,400.00	\$12,000.00	\$144,000.00
202.07	2.000	EA	MANHOLE 7 FEET ID	\$13,800.00	\$27,600.00	\$15,000.00	\$30,000.00
202.2	4.000	EA	MANHOLE (9 TO 14 FOOT DEPTH)	\$10,650.00	\$42,600.00	\$5,000.00	\$20,000.00
202.205	4.000	EA	MANHOLE (9 TO 14 FOOT DEPTH) 5 FEET ID	\$12,450.00	\$49,800.00	\$10,000.00	\$40,000.00
202.65	1.000	LS	OUTLET CONTROL STRUCTURE	\$30,000.00	\$30,000.00	\$25,000.00	\$25,000.00
203.2	1.000	EA	CURB COVER AND FRAME	\$2,100.00	\$2,100.00	\$5,000.00	\$5,000.00
203.31	6.000	EA	DOGHOUSE MANHOLE	\$11,200.00	\$67,200.00	\$80,000.00	\$480,000.00
203.35	2.000	EA	DOGHOUSE MANHOLE 5 FEET ID	\$12,500.00	\$25,000.00	\$12,000.00	\$24,000.00
204.	32.000	EA	GUTTER INLET	\$3,200.00	\$102,400.00	\$1,000.00	\$32,000.00
209.1	8.000	EA	DROP INLET, TYPE DF	\$3,300.00	\$26,400.00	\$2,000.00	\$16,000.00
210.1	2.000	EA	SANITARY SEWER MANHOLE MUNICIPAL STANDARD	\$11,400.00	\$22,800.00	\$8,000.00	\$16,000.00
211.31	2.000	EA	SANITARY SEWER DOGHOUSE MANHOLE	\$13,100.00	\$26,200.00	\$8,000.00	\$16,000.00
220.	480.000	EA	DRAINAGE STRUCTURE ADJUSTED	\$480.00	\$230,400.00	\$600.00	\$288,000.00
220.2	25.000	FT	DRAINAGE STRUCTURE REBUILT	\$555.00	\$13,875.00	\$800.00	\$20,000.00

Bids Open Date: 15 Oct 2025

Project # : 608095

Location : NORTH ANDOVER

District : 4

Description : NORTH ANDOVER- CORRIDOR IMPROVEMENTS ON ROUTE 114, BETWEEN WAVERLY ROAD AND WILLOW/MILL STREET

Bids Open Date: 15 Oct 2025

•				D W WHITE CON	STRUCTION INC	P GIOIO	SO & SONS INC
Item #	Quantity	Units	Description	Unit Price	Amount	Unit Price	Amount
220.3	12.000	EA	DRAINAGE STRUCTURE CHANGE IN TYPE	\$900.00	\$10,800.00	\$1,200.00	\$14,400.00
220.5	13.000	EA	DRAINAGE STRUCTURE REMODELED	\$1,100.00	\$14,300.00	\$1,200.00	\$15,600.00
220.6	25.000	FT	SANITARY STRUCTURE REBUILT	\$560.00	\$14,000.00	\$800.00	\$20,000.00
220.7	65.000	EA	SANITARY STRUCTURE ADJUSTED	\$450.00	\$29,250.00	\$600.00	\$39,000.00
220.8	9.000	EA	SANITARY STRUCTURE REMODELED	\$1,200.00	\$10,800.00	\$1,200.00	\$10,800.00
221.	295.000	EA	FRAME AND COVER	\$1,100.00	\$324,500.00	\$1,200.00	\$354,000.00
221.1	1.000	EA	FRAME AND COVER - SECURED	\$1,200.00	\$1,200.00	\$2,200.00	\$2,200.00
222.1	220.000	EA	FRAME AND GRATE - MASSDOT CASCADE TYPE	\$1,250.00	\$275,000.00	\$1,400.00	\$308,000.00
222.2	8.000	EA	FRAME AND GRATE - MASSDOT DROP INLET	\$1,000.00	\$8,000.00	\$1,400.00	\$11,200.00
222.3	2.000	EA	FRAME AND GRATE (OR COVER) MUNICIPAL STANDARD	\$1,100.00	\$2,200.00	\$1,600.00	\$3,200.00
223.2	260.000	EA	FRAME AND GRATE (OR COVER) REMOVED AND DISCARDED	\$110.00	\$28,600.00	\$200.00	\$52,000.00
224.10	35.000	EA	10 INCH HOOD	\$740.00	\$25,900.00	\$800.00	\$28,000.00
224.12	154.000	EA	12 INCH HOOD	\$745.00	\$114,730.00	\$800.00	\$123,200.00
227.3	200.000	CY	REMOVAL OF DRAINAGE STRUCTURE SEDIMENT	\$110.00	\$22,000.00	\$400.00	\$80,000.00
227.31	3,500.000	FT	REMOVAL OF DRAINAGE PIPE SEDIMENT	\$7.70	\$26,950.00	\$20.00	\$70,000.00
227.4	110.000	SF	MASONRY PLUG	\$117.00	\$12,870.00	\$120.00	\$13,200.00
238.10	720.000	FT	10 INCH DUCTILE IRON PIPE	\$170.00	\$122,400.00	\$200.00	\$144,000.00
238.12	750.000	FT	12 INCH DUCTILE IRON PIPE	\$220.00	\$165,000.00	\$200.00	\$150,000.00
238.18	410.000	FT	18 INCH DUCTILE IRON PIPE	\$195.00	\$79,950.00	\$300.00	\$123,000.00
238.30	35.000	FT	30 INCH DUCTILE IRON PIPE	\$625.00	\$21,875.00	\$700.00	\$24,500.00
241.12	6,750.000	FT	12 INCH REINFORCED CONCRETE PIPE	\$160.00	\$1,080,000.00	\$130.00	\$877,500.00
241.15	3,625.000	FT	15 INCH REINFORCED CONCRETE PIPE	\$90.00	\$326,250.00	\$130.00	\$471,250.00
241.18	1,100.000	FT	18 INCH REINFORCED CONCRETE PIPE	\$155.00	\$170,500.00	\$160.00	\$176,000.00
241.24	3,420.000	FT	24 INCH REINFORCED CONCRETE PIPE	\$140.00	\$478,800.00	\$180.00	\$615,600.00
241.30	1,230.000	FT	30 INCH REINFORCED CONCRETE PIPE	\$305.00	\$375,150.00	\$230.00	\$282,900.00
241.36	90.000	FT	36 INCH REINFORCED CONCRETE PIPE	\$405.00	\$36,450.00	\$420.00	\$37,800.00

Project # : 608095

Location : NORTH ANDOVER

District :

Description : NORTH ANDOVER- CORRIDOR IMPROVEMENTS ON ROUTE 114, BETWEEN WAVERLY ROAD AND WILLOW/MILL STREET

				D W WHITE CON	ISTRUCTION INC	P GIOIOS	SO & SONS INC
Item #	Quantity	Units	Description	Unit Price	Amount	Unit Price	Amount
242.12	2.000	EA	12 INCH REINFORCED CONCRETE PIPE FLARED END	\$830.00	\$1,660.00	\$3,000.00	\$6,000.00
242.15	1.000	EA	15 INCH REINFORCED CONCRETE PIPE FLARED END	\$920.00	\$920.00	\$3,000.00	\$3,000.00
244.12	510.000	FT	12 INCH REINFORCED CONCRETE PIPE CLASS V	\$145.00	\$73,950.00	\$160.00	\$81,600.00
244.15	115.000	FT	15 INCH REINFORCED CONCRETE PIPE CLASS V	\$200.00	\$23,000.00	\$160.00	\$18,400.00
244.18	190.000	FT	18 INCH REINFORCED CONCRETE PIPE CLASS V	\$137.00	\$26,030.00	\$200.00	\$38,000.00
244.24	420.000	FT	24 INCH REINFORCED CONCRETE PIPE CLASS V	\$241.00	\$101,220.00	\$220.00	\$92,400.00
244.30	700.000	FT	30 INCH REINFORCED CONCRETE PIPE CLASS V	\$207.00	\$144,900.00	\$250.00	\$175,000.00
244.36	10.000	FT	36 INCH REINFORCED CONCRETE PIPE CLASS V	\$418.00	\$4,180.00	\$380.00	\$3,800.00
248.001	100.000	FT	SEWER SERVICE RELOCATION	\$238.00	\$23,800.00	\$250.00	\$25,000.00
249.001	1.000	LS	SANITARY SEWER BYPASS PUMPING	\$55,000.00	\$55,000.00	\$100,000.00	\$100,000.00
250.06	130.000	FT	6 INCH POLYVINYL CHLORIDE SANITARY SEWER PIPE	\$168.50	\$21,905.00	\$120.00	\$15,600.00
250.08	70.000	FT	8 INCH POLYVINYL CHLORIDE SANITARY SEWER PIPE	\$375.00	\$26,250.00	\$150.00	\$10,500.00
250.506	1,600.000	FT	6 INCH DUCTILE IRON SEWER PIPE	\$90.00	\$144,000.00	\$140.00	\$224,000.00
250.510	100.000	FT	10 INCH DUCTILE IRON SEWER PIPE	\$320.00	\$32,000.00	\$350.00	\$35,000.00
258.	20.000	SY	STONE FOR PIPE ENDS	\$111.00	\$2,220.00	\$200.00	\$4,000.00
269.06	120.000	FT	6 INCH SLOT-PERFORATED CORRUGATED PLASTIC PIPE (SUBDRAIN)	\$50.00	\$6,000.00	\$60.00	\$7,200.00
272.12	3,350.000	FT	12 INCH AND UNDER PIPE REMOVED AND DISCARDED	\$59.00	\$197,650.00	\$20.00	\$67,000.00
272.15	1,275.000	FT	15 INCH PIPE REMOVED AND DISCARDED	\$64.00	\$81,600.00	\$20.00	\$25,500.00
272.18	150.000	FT	18 INCH PIPE REMOVED AND DISCARDED	\$65.00	\$9,750.00	\$40.00	\$6,000.00
272.24	1,275.000	FT	24 INCH PIPE REMOVED AND DISCARDED	\$71.00	\$90,525.00	\$30.00	\$38,250.00
284.514	640.000	TON	DUMPED STONE DRAINAGE CHANNEL	\$90.00	\$57,600.00	\$100.00	\$64,000.00
292.1	25.000	FT	TRENCH DRAIN	\$750.00	\$18,750.00	\$500.00	\$12,500.00
295.01	1.000	LS	BIORETENTION AREA	\$100,000.00	\$100,000.00	\$200,000.00	\$200,000.00
295.02	1.000	LS	INFILTRATION BASIN	\$150,000.00	\$150,000.00	\$400,000.00	\$400,000.00

Bids Open Date: 15 Oct 2025

Project # : 608095

Location : NORTH ANDOVER

District :

Description : NORTH ANDOVER- CORRIDOR IMPROVEMENTS ON ROUTE 114, BETWEEN WAVERLY ROAD AND WILLOW/MILL STREET

				D W WHITE CON	STRUCTION INC	P GIOIO	SO & SONS INC
Item #	Quantity	Units	Description	Unit Price	Amount	Unit Price	Amount
302.06	400.000	FT	6 INCH DUCTILE IRON WATER PIPE (RUBBER GASKET)	\$265.00	\$106,000.00	\$300.00	\$120,000.00
302.08	30.000	FT	8 INCH DUCTILE IRON WATER PIPE (RUBBER GASKET)	\$305.00	\$9,150.00	\$450.00	\$13,500.00
302.10	10.000	FT	10 INCH DUCTILE IRON WATER PIPE (RUBBER GASKET)	\$365.00	\$3,650.00	\$800.00	\$8,000.00
302.12	735.000	FT	12 INCH DUCTILE IRON WATER PIPE (RUBBER GASKET)	\$198.50	\$145,897.50	\$400.00	\$294,000.00
309.	29,000.000	LB	DUCTILE IRON FITTINGS FOR WATER PIPE	\$0.01	\$290.00	\$1.00	\$29,000.00
326.06	10.000	FT	6 INCH STEEL PIPE CASING	\$132.00	\$1,320.00	\$300.00	\$3,000.00
326.10	15.000	FT	10 INCH STEEL PIPE CASING	\$158.50	\$2,377.50	\$300.00	\$4,500.00
326.12	45.000	FT	12 INCH STEEL PIPE CASING	\$506.00	\$22,770.00	\$500.00	\$22,500.00
326.16	75.000	FT	16 INCH STEEL PIPE CASING	\$360.00	\$27,000.00	\$600.00	\$45,000.00
326.18	45.000	FT	18 INCH STEEL PIPE CASING	\$540.00	\$24,300.00	\$600.00	\$27,000.00
326.20	35.000	FT	20 INCH STEEL PIPE CASING	\$575.00	\$20,125.00	\$800.00	\$28,000.00
326.24	5.000	FT	24 INCH STEEL PIPE CASING	\$660.00	\$3,300.00	\$1,200.00	\$6,000.00
326.34	5.000	FT	34 INCH STEEL PIPE CASING	\$435.00	\$2,175.00	\$1,200.00	\$6,000.00
347.1	280.000	FT	1 INCH COPPER TUBING TYPE K	\$70.00	\$19,600.00	\$100.00	\$28,000.00
347.15	50.000	FT	1-1/2 INCH COPPER TUBING TYPE K	\$85.75	\$4,287.50	\$150.00	\$7,500.00
347.2	50.000	FT	2 INCH COPPER TUBING TYPE K	\$124.00	\$6,200.00	\$200.00	\$10,000.00
350.06	10.000	EA	6 INCH GATE AND GATE BOX	\$2,000.00	\$20,000.00	\$3,000.00	\$30,000.00
350.12	2.000	EA	12 INCH GATE AND GATE BOX	\$4,495.00	\$8,990.00	\$6,000.00	\$12,000.00
357.06	2.000	EA	6 INCH GATE BOX	\$445.00	\$890.00	\$300.00	\$600.00
358.	85.000	EA	GATE BOX ADJUSTED	\$175.00	\$14,875.00	\$400.00	\$34,000.00
358.1	10.000	EA	GATE BOX REMOVED AND STACKED	\$175.00	\$1,750.00	\$150.00	\$1,500.00
363.1	20.000	EA	1 INCH CORPORATION COCK	\$522.00	\$10,440.00	\$150.00	\$3,000.00
363.15	3.000	EA	1-1/2 INCH CORPORATION COCK	\$675.00	\$2,025.00	\$700.00	\$2,100.00
363.2	7.000	EA	2 INCH CORPORATION COCK	\$850.00	\$5,950.00	\$1,000.00	\$7,000.00
367.06	7.000	EA	6 INCH CAST IRON PLUG	\$1,110.00	\$7,770.00	\$2,500.00	\$17,500.00
371.06	5.000	EA	6 INCH COUPLING	\$1,200.00	\$6,000.00	\$500.00	\$2,500.00

Bids Open Date: 15 Oct 2025

Project # : 608095

Location : NORTH ANDOVER

District :

Description : NORTH ANDOVER- CORRIDOR IMPROVEMENTS ON ROUTE 114, BETWEEN WAVERLY ROAD AND WILLOW/MILL STREET

				D W WHITE CON	NSTRUCTION INC	P GIO	IOSO & SONS INC
Item #	Quantity	Units	Description	Unit Price	Amount	Unit Price	Amount
375.12	7.000	EA	12 INCH INSERTION VALVE AND BOX	\$21,650.00	\$151,550.00	\$32,000.00	\$224,000.00
376.	8.000	EA	HYDRANT	\$5,125.00	\$41,000.00	\$8,000.00	\$64,000.00
376.2	11.000	EA	HYDRANT - REMOVED AND RESET	\$2,800.00	\$30,800.00	\$6,000.00	\$66,000.00
376.3	6.000	EA	HYDRANT - REMOVED AND STACKED	\$720.00	\$4,320.00	\$2,000.00	\$12,000.00
376.5	3.000	EA	HYDRANT - ADJUSTED	\$2,800.00	\$8,400.00	\$2,000.00	\$6,000.00
381.	20.000	EA	SERVICE BOX	\$365.00	\$7,300.00	\$400.00	\$8,000.00
381.3	10.000	EA	SERVICE BOX ADJUSTED	\$175.00	\$1,750.00	\$400.00	\$4,000.00
384.	20.000	EA	CURB STOP	\$575.00	\$11,500.00	\$700.00	\$14,000.00
385.3	1.000	EA	MONITORING WELL TRAFFIC CASTING	\$550.00	\$550.00	\$600.00	\$600.00
390.01	75.000	FT	SPRINKLER SYSTEM COMPONENTS - REMOVED AND STACKED	\$22.00	\$1,650.00	\$15.00	\$1,125.00
402.	2,580.000	CY	DENSE GRADED CRUSHED STONE FOR SUB-BASE	\$109.00	\$281,220.00	\$100.00	\$258,000.00
415.1	91,200.000	SY	PAVEMENT STANDARD MILLING	\$6.85	\$624,720.00	\$8.00	\$729,600.00
431.	1,800.000	SY	HIGH EARLY STRENGTH CEMENT CONCRETE BASE COURSE	\$82.31	\$148,158.00	\$100.00	\$180,000.00
440.	64,000.000	LB	CALCIUM CHLORIDE FOR ROADWAY DUST CONTROL	\$0.01	\$640.00	\$0.50	\$32,000.00
443.	125.000	MGL	WATER FOR ROADWAY DUST CONTROL	\$150.00	\$18,750.00	\$200.00	\$25,000.00
450.22	850.000	TON	SUPERPAVE SURFACE COURSE – 9.5 (SSC – 9.5)	\$197.00	\$167,450.00	\$160.00	\$136,000.00
450.23	1,425.000	TON	SUPERPAVE SURFACE COURSE - 12.5 (SSC - 12.5)	\$197.00	\$280,725.00	\$150.00	\$213,750.00
450.231	12,625.000	TON	SUPERPAVE SURFACE COURSE - 12.5 POLYMER (SSC - 12.5 - P)	\$175.00	\$2,209,375.00	\$180.00	\$2,272,500.00
450.32	15,525.000	TON	SUPERPAVE INTERMEDIATE COURSE - 19.0 (SIC - 19.0)	\$175.00	\$2,716,875.00	\$160.00	\$2,484,000.00
450.42	4,375.000	TON	SUPERPAVE BASE COURSE - 37.5 (SBC - 37.5)	\$186.00	\$813,750.00	\$120.00	\$525,000.00
450.53	5,640.000	TON	SUPERPAVE LEVELING COURSE - 12.5 (SLC - 12.5)	\$175.00	\$987,000.00	\$150.00	\$846,000.00
451.	2,500.000	TON	HMA FOR PATCHING	\$302.00	\$755,000.00	\$220.00	\$550,000.00
452.	19,000.000	GAL	ASPHALT EMULSION FOR TACK COAT	\$1.10	\$20,900.00	\$10.00	\$190,000.00
453.	65,500.000	FT	HMA JOINT ADHESIVE	\$0.55	\$36,025.00	\$2.00	\$131,000.00
470.2	350.000	FT	HOT MIX ASPHALT BERM, TYPE A - MODIFIED	\$32.88	\$11,508.00	\$50.00	\$17,500.00

Bids Open Date: 15 Oct 2025

Project # : 608095

Location : NORTH ANDOVER

District : 4

Description : NORTH ANDOVER- CORRIDOR IMPROVEMENTS ON ROUTE 114, BETWEEN WAVERLY ROAD AND WILLOW/MILL STREET

				D W WHITE CON	ISTRUCTION INC	P GIOI	OSO & SONS INC
Item #	Quantity	Units	Description	Unit Price	Amount	Unit Price	Amount
472.	1,000.000	TON	TEMPORARY ASPHALT PATCHING	\$220.00	\$220,000.00	\$400.00	\$400,000.00
476.11	2,600.000	SY	CEMENT CONCRETE PAVEMENT - STAMPED	\$195.00	\$507,000.00	\$130.00	\$338,000.00
477.2	1,400.000	FT	MILLED RUMBLE STRIP (TYPE C)	\$19.25	\$26,950.00	\$3.00	\$4,200.00
482.3	135.000	FT	SAWCUTTING ASPHALT PAVEMENT	\$2.20	\$297.00	\$5.00	\$675.00
482.5	25,100.000	FT	SAWCUTTING ASPHALT PAVEMENT FOR BOX WIDENING	\$1.65	\$41,415.00	\$2.00	\$50,200.00
485.3	10.000	SY	SCORED CEMENT CONCRETE PAVEMENT	\$420.00	\$4,200.00	\$130.00	\$1,300.00
503.	250.000	FT	GRANITE CURB TYPE VA3 - STRAIGHT	\$51.50	\$12,875.00	\$100.00	\$25,000.00
503.1	75.000	FT	GRANITE CURB TYPE VA3 - CURVED	\$71.00	\$5,325.00	\$120.00	\$9,000.00
504.2	20.000	EA	GRANITE CURB TYPE VA4 - SPLAYED END	\$501.00	\$10,020.00	\$800.00	\$16,000.00
506.	25,250.000	FT	GRANITE CURB TYPE VB - STRAIGHT	\$44.30	\$1,118,575.00	\$62.00	\$1,565,500.00
506.1	3,900.000	FT	GRANITE CURB TYPE VB - CURVED	\$59.50	\$232,050.00	\$90.00	\$351,000.00
509.	1,250.000	FT	GRANITE TRANSITION CURB FOR PEDESTRIAN CURB RAMPS - STRAIGHT	\$47.00	\$58,750.00	\$90.00	\$112,500.00
509.1	1,500.000	FT	GRANITE TRANSITION CURB FOR PEDESTRIAN CURB RAMPS - CURVED	\$62.30	\$93,450.00	\$120.00	\$180,000.00
514.	140.000	EA	GRANITE CURB INLET - STRAIGHT	\$513.00	\$71,820.00	\$1,100.00	\$154,000.00
515.	14.000	EA	GRANITE CURB INLET - CURVED	\$580.00	\$8,120.00	\$130.00	\$1,820.00
517.01	5.000	EA	GRANITE CURB CORNER - TYPE C	\$450.00	\$2,250.00	\$800.00	\$4,000.00
520.	50.000	FT	CONCRETE CURB TYPE VA	\$45.00	\$2,250.00	\$70.00	\$3,500.00
570.2	40.000	FT	HOT MIX ASPHALT CURB TYPE 2	\$33.00	\$1,320.00	\$120.00	\$4,800.00
580.	7,200.000	FT	CURB REMOVED AND RESET	\$38.00	\$273,600.00	\$45.00	\$324,000.00
581.	20.000	EA	CURB INLET REMOVED AND RESET	\$340.00	\$6,800.00	\$500.00	\$10,000.00
594.	6,000.000	FT	CURB REMOVED AND DISCARDED	\$4.35	\$26,100.00	\$12.00	\$72,000.00
595.	14.000	EA	CURB INLET REMOVED AND DISCARDED	\$43.00	\$602.00	\$80.00	\$1,120.00
596.	14.000	EA	CURB CORNER REMOVED AND DISCARDED	\$6.00	\$84.00	\$70.00	\$980.00
597.	18,100.000	FT	EDGING REMOVED AND DISCARDED	\$4.25	\$76,925.00	\$12.00	\$217,200.00
601.2	50.000	FT	TIMBER GUARDRAIL	\$142.00	\$7,100.00	\$85.00	\$4,250.00
620.12	1,375.000	FT	GUARDRAIL, TL-2 (SINGLE FACED)	\$35.20	\$48,400.00	\$40.00	\$55,000.00

Bids Open Date: 15 Oct 2025

Project # : 608095

Location : NORTH ANDOVER

District :

Description : NORTH ANDOVER- CORRIDOR IMPROVEMENTS ON ROUTE 114, BETWEEN WAVERLY ROAD AND WILLOW/MILL STREET

				D W WHITE CON	STRUCTION INC	P GIO	DIOSO & SONS INC
Item #	Quantity	Units	Description	Unit Price	Amount	Unit Price	Amount
627.1	9.000	EA	TRAILING ANCHORAGE	\$2,500.00	\$22,500.00	\$2,800.00	\$25,200.00
627.82	9.000	EA	GUARDRAIL TANGENT END TREATMENT, TL-2	\$3,500.00	\$31,500.00	\$2,800.00	\$25,200.00
628.304	2.000	EA	TEMPORARY IMPACT ATTENUATOR, NON-REDIRECTIVE, TL-2	\$8,000.00	\$16,000.00	\$9,000.00	\$18,000.00
628.314	4.000	EA	TEMPORARY IMPACT ATTENUATOR, REDIRECTIVE, TL-2	\$10,445.00	\$41,780.00	\$11,000.00	\$44,000.00
628.4	8.000	EA	TEMPORARY IMPACT ATTENUATOR, REMOVED AND RESET	\$8,245.00	\$65,960.00	\$3,000.00	\$24,000.00
630.	15.000	FT	HIGHWAY GUARD REMOVED AND RESET	\$98.95	\$1,484.25	\$50.00	\$750.00
630.2	2,100.000	FT	HIGHWAY GUARD REMOVED AND DISCARDED	\$6.60	\$13,860.00	\$4.00	\$8,400.00
632.	2.000	EA	GUARDRAIL POST - STEEL	\$385.00	\$770.00	\$250.00	\$500.00
634.	1.000	EA	W BEAM GUARD PANEL	\$330.00	\$330.00	\$400.00	\$400.00
645.148	1,400.000	FT	48 INCH CHAIN LINK FENCE (PIPE TOP RAIL) VINYL COATED (LINE POST OPTION)	\$73.50	\$102,900.00	\$60.00	\$84,000.00
652.048	12.000	EA	48 INCH CHAIN LINK FENCE END POST	\$549.70	\$6,596.40	\$500.00	\$6,000.00
655.01	675.000	FT	TIMBER RAIL FENCE - TWO RAIL	\$104.50	\$70,537.50	\$70.00	\$47,250.00
655.21	100.000	FT	HAND RAIL REMOVED AND STACKED	\$16.50	\$1,650.00	\$25.00	\$2,500.00
660.1	125.000	FT	METAL PIPE RAIL REMOVED AND STACKED	\$16.50	\$2,062.50	\$25.00	\$3,125.00
660.25	15.000	FT	STEEL HANDRAIL	\$16.50	\$247.50	\$600.00	\$9,000.00
666.	30.000	FT	CHAIN LINK FENCE REMOVED AND RESET	\$110.00	\$3,300.00	\$100.00	\$3,000.00
669.	1,300.000	FT	FENCE REMOVED AND STACKED	\$11.00	\$14,300.00	\$10.00	\$13,000.00
671.	3.000	EA	FENCE GATE AND GATE POSTS REMOVED AND STACKED	\$715.00	\$2,145.00	\$1,200.00	\$3,600.00
685.	190.000	CY	STONE MASONRY WALL IN CEMENT MORTAR	\$1,400.00	\$266,000.00	\$2,000.00	\$380,000.00
686.1	6,300.000	SF	STONE VENEER FOR CEMENT CONCRETE WALL	\$138.00	\$869,400.00	\$200.00	\$1,260,000.00
690.	15.000	CY	STONE MASONRY WALL REMOVED AND REBUILT IN CEMENT MORTAR	\$1,182.20	\$17,733.00	\$5,000.00	\$75,000.00
690.2	480.000	CY	STONE MASONRY WALL WITH PARAPET REMOVAL	\$158.00	\$75,840.00	\$35.00	\$16,800.00
691.01	150.000	FT	BALANCE STONE WALL REMOVED AND REBUILT DRY	\$275.00	\$41,250.00	\$300.00	\$45,000.00
691.1	2,700.000	FT	BALANCE STONE WALL REMOVED AND STACKED	\$15.50	\$41,850.00	\$25.00	\$67,500.00

Bids Open Date: 15 Oct 2025

Project # : 608095

Location : NORTH ANDOVER

District :

Description : NORTH ANDOVER- CORRIDOR IMPROVEMENTS ON ROUTE 114, BETWEEN WAVERLY ROAD AND WILLOW/MILL STREET

				D W WHITE COM	ISTRUCTION INC	P GI	OIOSO & SONS INC
Item #	Quantity	Units	Description	Unit Price	Amount	Unit Price	Amount
691.2	14.000	EA	LANDSCAPE BOULDER REMOVED AND STACKED	\$268.00	\$3,752.00	\$300.00	\$4,200.00
692.1	10.000	CY	GRANITE BLOCK WALL REMOVED AND STACKED	\$375.00	\$3,750.00	\$450.00	\$4,500.00
693.3	1.000	EA	BRICK PILLAR REMOVED AND REBUILT	\$22,500.00	\$22,500.00	\$35,000.00	\$35,000.00
693.5	70.000	FT	LANDSCAPE TIE WALLS REMOVED AND STACKED	\$53.50	\$3,745.00	\$140.00	\$9,800.00
697.1	240.000	EA	SILT SACK	\$160.25	\$38,460.00	\$200.00	\$48,000.00
698.3	1,175.000	SY	GEOTEXTILE FABRIC FOR SEPARATION	\$8.30	\$9,752.50	\$12.00	\$14,100.00
698.4	640.000	SY	GEOTEXTILE FABRIC FOR PERMANENT EROSION CONTROL	\$9.10	\$5,824.00	\$12.00	\$7,680.00
701.	8,100.000	SY	CEMENT CONCRETE SIDEWALK	\$64.85	\$525,285.00	\$80.00	\$648,000.00
701.1	1,200.000	SY	CEMENT CONCRETE SIDEWALK AT DRIVEWAYS	\$86.44	\$103,728.00	\$95.00	\$114,000.00
701.2	2,925.000	SY	CEMENT CONCRETE PEDESTRIAN CURB RAMP	\$75.82	\$221,773.50	\$110.00	\$321,750.00
702.	2,150.000	TON	HOT MIX ASPHALT SIDEWALK OR DRIVEWAY	\$197.25	\$424,087.50	\$250.00	\$537,500.00
705.1	5.000	SY	FLAGSTONE WALK REMOVED AND RESET	\$357.50	\$1,787.50	\$3,000.00	\$15,000.00
706.7	750.000	SF	CONCRETE PAVER FOR SEDIMENT FOREBAY	\$28.50	\$21,375.00	\$30.00	\$22,500.00
707.21	1.000	EA	TRASH RECEPTACLE REMOVED AND RESET	\$885.00	\$885.00	\$2,000.00	\$2,000.00
710.3	80.000	EA	BOUND - LETTERED GRANITE	\$745.00	\$59,600.00	\$850.00	\$68,000.00
710.4	50.000	EA	BOUND - PLAIN GRANITE	\$595.00	\$29,750.00	\$600.00	\$30,000.00
711.	15.000	EA	BOUND REMOVED AND RESET	\$700.00	\$10,500.00	\$500.00	\$7,500.00
712.	5.000	EA	BOUND REMOVED AND STACKED	\$700.00	\$3,500.00	\$500.00	\$2,500.00
715.	35.000	EA	RURAL MAIL BOX REMOVED AND RESET	\$165.00	\$5,775.00	\$800.00	\$28,000.00
715.01	4.000	EA	RURAL MAIL BOX REMOVED AND DISCARDED	\$82.00	\$328.00	\$800.00	\$3,200.00
722.1	1.000	LS	SCHEDULE OF OPERATIONS (TYPE A) - FIXED PRICE \$175,000	\$175,000.00	\$175,000.00	\$175,000.00	\$175,000.00
740.	60.000	MO	ENGINEERS FIELD OFFICE AND EQUIPMENT (TYPE A)	\$6,500.00	\$390,000.00	\$20,000.00	\$1,200,000.00
748.	1.000	LS	MOBILIZATION	\$1,400,000.00	\$1,400,000.00	\$1,400,000.00	\$1,400,000.00
751.1	3,750.000	CY	LOAM FOR LAWNS	\$90.25	\$338,437.50	\$80.00	\$300,000.00
751.7	190.000	CY	COMPOST BLANKET	\$105.00	\$19,950.00	\$120.00	\$22,800.00
755.35	1.000	LS	INLAND WETLAND REPLICATION AREA	\$225,000.00	\$225,000.00	\$200,000.00	\$200,000.00

Bids Open Date: 15 Oct 2025

Project # : 608095

Location : NORTH ANDOVER

District :

Description : NORTH ANDOVER- CORRIDOR IMPROVEMENTS ON ROUTE 114, BETWEEN WAVERLY ROAD AND WILLOW/MILL STREET

				D W WHITE CON	STRUCTION INC	P GIOIO	SO & SONS INC
Item #	Quantity	Units	Description	Unit Price	Amount	Unit Price	Amount
755.45	105.000	SY	WETLAND RESTORATION	\$75.50	\$7,927.50	\$500.00	\$52,500.00
755.55	1.000	LS	COMPENSATORY FLOOD STORAGE AREA	\$35,000.00	\$35,000.00	\$100,000.00	\$100,000.00
755.75	140.000	HR	WETLAND SPECIALIST	\$325.00	\$45,500.00	\$220.00	\$30,800.00
755.76	1.000	LS	WETLANDS MONITORING REPORTS	\$150,000.00	\$150,000.00	\$25,000.00	\$25,000.00
756.	1.000	LS	NPDES STORMWATER POLLUTION PREVENTION PLAN	\$9,000.00	\$9,000.00	\$10,000.00	\$10,000.00
765.	34,000.000	SY	SEEDING	\$4.40	\$149,600.00	\$4.00	\$136,000.00
765.21	27.000	LB	ANNUAL COVER CROP FOR NATIVE SEEDING	\$330.00	\$8,910.00	\$300.00	\$8,100.00
765.415	25.000	LB	SEED - NATIVE SHORT GRASSLAND MIX	\$620.00	\$15,500.00	\$700.00	\$17,500.00
765.554	12.000	LB	WETLAND SEED - SEASONALLY FLOODED MIX	\$618.00	\$7,416.00	\$700.00	\$8,400.00
765.635	5,800.000	SY	NATIVE SEEDING AND ESTABLISHMENT	\$4.65	\$26,970.00	\$5.00	\$29,000.00
767.121	5,175.000	FT	SEDIMENT CONTROL BARRIER	\$5.50	\$28,462.50	\$16.00	\$82,800.00
767.6	60.000	CY	AGED PINE BARK MULCH	\$98.95	\$5,937.00	\$150.00	\$9,000.00
767.9	800.000	SY	JUTE MESH	\$7.70	\$6,160.00	\$10.00	\$8,000.00
769.	1,650.000	FT	PAVEMENT MILLING MULCH UNDER GUARD RAIL	\$9.30	\$15,345.00	\$14.00	\$23,100.00
774.51	7.000	EA	ELM - 'PRINCETON' 2-2.5 INCH CALIPER	\$965.00	\$6,755.00	\$900.00	\$6,300.00
775.147	10.000	EA	LINDEN - LITTLE LEAF 2-2.5 INCH CALIPER	\$965.00	\$9,650.00	\$900.00	\$9,000.00
775.437	11.000	EA	LOCUST - HONEY - 'SKYLINE' 2-2.5 INCH CALIPER	\$1,030.00	\$11,330.00	\$1,000.00	\$11,000.00
775.51	5.000	EA	MAIDENHAIR TREE - 'PRINCETON SENTRY' 2-2.5 INCH CALIPER	\$1,300.00	\$6,500.00	\$1,200.00	\$6,000.00
776.557	13.000	EA	MAPLE - RED - 'RED SUNSET' 2-2.5 INCH CALIPER	\$960.00	\$12,480.00	\$900.00	\$11,700.00
777.138	13.000	EA	OAK - PIN 2-2.5 INCH CALIPER	\$960.00	\$12,480.00	\$900.00	\$11,700.00
777.328	11.000	EA	OAK - WHITE 2-2.5 INCH CALIPER	\$1,150.00	\$12,650.00	\$1,100.00	\$12,100.00
777.442	7.000	EA	PLANETREE - AMERICAN 2-2.5 INCH CALIPER	\$960.00	\$6,720.00	\$1,000.00	\$7,000.00
777.673	3.000	EA	SWEETGUM - FRUITLESS 2-2.5 INCH CALIPER	\$960.00	\$2,880.00	\$1,000.00	\$3,000.00
778.383	6.000	EA	CHERRY - SARGENT COLUMNAR 1.5-2 INCH CALIPER	\$880.00	\$5,280.00	\$1,000.00	\$6,000.00
781.263	5.000	EA	HAWTHORN - 'WINTER KING' 1.5-2 INCH CALIPER	\$825.00	\$4,125.00	\$1,000.00	\$5,000.00
781.578	10.000	EA	LILAC TREE - JAPANESE IVORY SILK 1.5-2 INCH CALIPER	\$1,020.00	\$10,200.00	\$1,000.00	\$10,000.00

Bids Open Date: 15 Oct 2025

Project # : 608095

Location : NORTH ANDOVER

District : 4

Description : NORTH ANDOVER- CORRIDOR IMPROVEMENTS ON ROUTE 114, BETWEEN WAVERLY ROAD AND WILLOW/MILL STREET

				D W WHITE CON	STRUCTION INC	P GIOIO	SO & SONS INC
Item #	Quantity	Units	Description	Unit Price	Amount	Unit Price	Amount
782.541	6.000	EA	REDBUD - EASTERN 1.5-2 INCH CALIPER	\$895.00	\$5,370.00	\$1,000.00	\$6,000.00
790.512	8.000	EA	DOGWOOD - 'GRAY' 2-3 FEET / #3	\$165.00	\$1,320.00	\$250.00	\$2,000.00
795.021	5.000	EA	VIBURNUM - 'BLACKHAW' 2-3 FEET / #3	\$170.00	\$850.00	\$250.00	\$1,250.00
797.01	10.000	EA	TREE - CONTINGENCY 2-2.5 INCH CALIPER	\$975.00	\$9,750.00	\$1,100.00	\$11,000.00
801.32	80.000	FT	3 INCH ELECTRICAL CONDUIT - TYPE NM (DOUBLE)	\$130.00	\$10,400.00	\$80.00	\$6,400.00
802.433	110.000	FT	4 INCH TELEPHONE CONDUIT - TYPE NM (3 BANK)	\$170.00	\$18,700.00	\$120.00	\$13,200.00
804.22	10.000	FT	2 INCH ELECTRICAL CONDUIT TYPE NM - PLASTIC (UL) - SPLIT DUCT	\$141.00	\$1,410.00	\$200.00	\$2,000.00
804.3	4,850.000	FT	3 INCH ELECTRICAL CONDUIT TYPE NM - PLASTIC - (UL)	\$74.00	\$358,900.00	\$45.00	\$218,250.00
804.33	320.000	FT	3 INCH ELECTRICAL CONDUIT - TYPE NM - PLASTIC - (UL) - LIGHTING	\$43.50	\$13,920.00	\$65.00	\$20,800.00
804.4	80.000	FT	4 INCH ELECTRICAL CONDUIT TYPE NM - PLASTIC - (UL)	\$28.50	\$2,280.00	\$80.00	\$6,400.00
806.4	40.000	FT	4 INCH ELECTRICAL CONDUIT TYPE RM - GALVANIZED STEEL	\$156.00	\$6,240.00	\$150.00	\$6,000.00
811.22	45.000	EA	ELECTRIC HANDHOLE - SD2.022	\$1,700.00	\$76,500.00	\$3,000.00	\$135,000.00
811.24	6.000	EA	ELECTRIC HANDHOLE - SD2.024	\$1,800.00	\$10,800.00	\$3,500.00	\$21,000.00
811.31	45.000	EA	PULL BOX 12 X 12 INCHES - SD2.031	\$1,150.00	\$51,750.00	\$2,500.00	\$112,500.00
812.09	3.000	EA	LIGHT STANDARD FOUNDATION PRECAST	\$1,685.00	\$5,055.00	\$6,000.00	\$18,000.00
814.	1.000	LS	ADAPTIVE TRAFFIC SIGNAL CONTROL	\$145,000.00	\$145,000.00	\$150,000.00	\$150,000.00
815.07	1.000	LS	TRAFFIC CONTROL SIGNAL LOCATION NO. 7	\$600,000.00	\$600,000.00	\$500,000.00	\$500,000.00
816.01	1.000	LS	TRAFFIC SIGNAL RECONSTRUCTION LOCATION NO.	\$600,000.00	\$600,000.00	\$600,000.00	\$600,000.00
816.02	1.000	LS	TRAFFIC SIGNAL RECONSTRUCTION LOCATION NO. 2	\$380,000.00	\$380,000.00	\$400,000.00	\$400,000.00
816.03	1.000	LS	TRAFFIC SIGNAL RECONSTRUCTION LOCATION NO. 3	\$540,000.00	\$540,000.00	\$450,000.00	\$450,000.00
816.04	1.000	LS	TRAFFIC SIGNAL RECONSTRUCTION LOCATION NO. 4	\$500,000.00	\$500,000.00	\$600,000.00	\$600,000.00
816.05	1.000	LS	TRAFFIC SIGNAL RECONSTRUCTION LOCATION NO. 5	\$380,000.00	\$380,000.00	\$450,000.00	\$450,000.00

Bids Open Date: 15 Oct 2025

Project # : 608095

Location : NORTH ANDOVER

District :

Description : NORTH ANDOVER- CORRIDOR IMPROVEMENTS ON ROUTE 114, BETWEEN WAVERLY ROAD AND WILLOW/MILL STREET

				D W WHITE CON	STRUCTION INC	P GIOIO	SO & SONS INC
Item #	Quantity	Units	Description	Unit Price	Amount	Unit Price	Amount
816.06	1.000	LS	TRAFFIC SIGNAL RECONSTRUCTION LOCATION NO. 6	\$600,000.00	\$600,000.00	\$600,000.00	\$600,000.00
816.08	1.000	LS	TRAFFIC SIGNAL RECONSTRUCTION LOCATION NO. 8	\$450,000.00	\$450,000.00	\$400,000.00	\$400,000.00
816.09	1.000	LS	TRAFFIC SIGNAL RECONSTRUCTION LOCATION NO. 9	\$500,000.00	\$500,000.00	\$500,000.00	\$500,000.00
816.80	1.000	LS	TRAFFIC CONTROL SIGNAL REMOVED AND STACKED	\$25,000.00	\$25,000.00	\$300,000.00	\$300,000.00
823.70	3.000	EA	HIGHWAY LIGHTING POLE AND LUMINAIRE REMOVED AND RESET	\$1,300.00	\$3,900.00	\$9,000.00	\$27,000.00
823.71	3.000	EA	HIGHWAY LIGHTING POLE AND LUMINAIRE REMOVED AND STACKED	\$555.00	\$1,665.00	\$2,000.00	\$6,000.00
824.221	1.000	LS	RECTANGULAR RAPID-FLASHING BEACONS SYSTEM (SOLAR)	\$25,000.00	\$25,000.00	\$40,000.00	\$40,000.00
825.10	1.000	LS	RADAR SPEED DISPLAY SIGN (SOLAR POWERED)	\$16,500.00	\$16,500.00	\$25,000.00	\$25,000.00
826.70	10.000	EA	ELECTRIC SERVICE RISER RELOCATED	\$4,200.00	\$42,000.00	\$9,000.00	\$90,000.00
831.11	1,275.000	SF	ROADSIDE GUIDE SIGN (MA-D1-XX) ALUMINUM PANEL (TYPE A)	\$45.00	\$57,375.00	\$50.00	\$63,750.00
832.	2,550.000	SF	WARNING-REGULATORY AND ROUTE MARKER - ALUMINUM PANEL (TYPE A)	\$20.00	\$51,000.00	\$20.00	\$51,000.00
841.11	46.000	EA	SUPPORT FOR GUIDE SIGN (MA-D1-XX) - 5 INCH TUBULAR - STEEL	\$2,770.00	\$127,420.00	\$3,500.00	\$161,000.00
847.1	308.000	EA	SIGN SUP (N/GUIDE)+RTE MKR W/1 BRKWAY POST ASSEMBLY - STEEL	\$240.00	\$73,920.00	\$300.00	\$92,400.00
848.1	24.000	EA	SIGN SUP (N/GUIDE)+RTE MKR W/2 BRKWAY POST ASSEMBLIES-STEEL	\$410.00	\$9,840.00	\$500.00	\$12,000.00
850.41	1,450.000	HR	ROADWAY FLAGGER	\$0.01	\$14.50	\$60.00	\$87,000.00
851.1	1,050.000	DAY	TRAFFIC CONES FOR TRAFFIC MANAGEMENT	\$2.20	\$2,310.00	\$400.00	\$420,000.00
852.	1,700.000	SF	SAFETY SIGNING FOR TRAFFIC MANAGEMENT	\$28.50	\$48,450.00	\$30.00	\$51,000.00
852.11	2,000.000	FT	TEMPORARY PEDESTRIAN BARRICADE	\$84.50	\$169,000.00	\$30.00	\$60,000.00
852.12	20.000	EA	TEMPORARY PEDESTRIAN CURB RAMP	\$4,650.00	\$93,000.00	\$2,000.00	\$40,000.00
853.1	20.000	EA	PORTABLE BREAKAWAY BARRICADE TYPE III	\$192.40	\$3,848.00	\$700.00	\$14,000.00
853.2	400.000	FT	TEMPORARY BARRIER (TL-2)	\$129.50	\$51,800.00	\$220.00	\$88,000.00

Bids Open Date: 15 Oct 2025

Project # : 608095

Location : NORTH ANDOVER

District

Description : NORTH ANDOVER- CORRIDOR IMPROVEMENTS ON ROUTE 114, BETWEEN WAVERLY ROAD AND WILLOW/MILL STREET D W WHITE CONSTRUCTION INC P GIOIOSO & SONS INC Item # Quantity Units Description **Unit Price** Amount **Unit Price** Amount 853.21 1.200.000 FT TEMPORARY BARRIER REMOVED AND RESET \$20.10 \$24.120.00 \$7.00 \$8.400.00 853.33 300.000 FT TEMPORARY BARRIER - LIMITED DEFLECTION (TL-\$84.00 \$250.00 \$75,000.00 \$25,200.00 853.34 120.000 FT TEMPORARY BARRIER - LIMITED DEFLECTION (TL-\$19.40 \$2.328.00 \$7.00 \$840.00 3) REMOVED AND RESET 853.403 120.000 DAY TRUCK MOUNTED ATTENUATOR \$203.00 \$120,000.00 \$24.360.00 \$1.000.00 853.8 550.000 DAY TEMPORARY ILLUMINATION FOR WORK ZONE \$300.00 \$165,000.00 \$250.00 \$137,500.00 854.016 106,000.000 FT TEMPORARY PAVING MARKINGS - 6 INCH \$0.35 \$37,100.00 \$1.00 \$106,000.00 (PAINTED) 854.036 9.000.000 TEMPORARY PAVING MARKINGS - 6 INCH (TAPE) \$2.50 \$22,500.00 FT \$1.90 \$17.100.00 854.1 1.000.000 SF PAVEMENT MARKING REMOVAL \$3.30 \$6.00 \$6.000.00 \$3.300.00 856. 3.200.000 DAY ARROW BOARD \$13.20 \$42.240.00 \$12.00 \$38,400.00 856.12 1,700.000 DAY PORTABLE CHANGEABLE MESSAGE SIGN \$27.50 \$46,750.00 \$50.00 \$85,000.00 859. 83,500.000 DAY REFLECTORIZED DRUM \$0.30 \$25,050.00 \$1.00 \$83,500.00 859.1 2.100.000 DAY REFLECTORIZED DRUMS WITH SEQUENTIAL \$0.80 \$1.680.00 \$20.00 \$42,000.00 FLASHING WARNING LIGHTS SF PAVEMENT ARROW AND LEGENDS - TAPE 800.000 \$22.00 \$20,000.00 864.02 \$17.600.00 \$25.00 864.04 9,050.000 SF PAVEMENT ARROWS AND LEGENDS \$13.20 \$119,460.00 \$10.00 \$90,500.00 REFLECTORIZED WHITE (THERMOPLASTIC) 864.41 SF **GREEN COLORIZED PAVEMENT MARKINGS** \$16.50 \$25.00 1,500.000 \$24,750.00 \$37,500.00 866.106 50.000.000 6 INCH REFLECTORIZED WHITE LINE \$3.00 FT \$1.50 \$75.000.00 \$150,000,00 (THERMOPLASTIC) 866.112 26.600.000 FT 12 INCH REFLECTORIZED WHITE LINE \$3.30 \$6.00 \$159.600.00 \$87.780.00 (THERMOPLASTIC) 867.106 39,500.000 FT 6 INCH REFLECTORIZED YELLOW LINE \$1.50 \$59,250.00 \$3.00 \$118,500.00 (THERMOPLASTIC) 867.112 1.175.000 FT 12 INCH REFLECTORIZED YELLOW LINE \$3.30 \$3.877.50 \$6.00 \$7.050.00 (THERMOPLASTIC) EΑ \$60,000.00 874. 60.000 STREET NAME SIGN \$175.00 \$10.500.00 \$1.000.00 874.2 3.000 EΑ TRAFFIC SIGN REMOVED AND RESET \$135.00 \$405.00 \$200.00 \$600.00 874.41 350.000 EΑ TRAFFIC SIGN REMOVED AND DISCARDED \$55.00 \$19,250.00 \$30.00 \$10,500.00 3.000 CY \$2,100.00 \$6.300.00 \$4.000.00 901. 4000 PSI, 1.5 INCH, 565 CEMENT CONCRETE \$12,000.00

Bids Open Date: 15 Oct 2025

Project # : 608095

Location : NORTH ANDOVER

District : 4

Description : NORTH ANDOVER- CORRIDOR IMPROVEMENTS ON ROUTE 114, BETWEEN WAVERLY ROAD AND WILLOW/MILL STREET

				D W WHITE CO	INSTRUCTION INC	P G	IOIOSO & SONS INC
Item #	Quantity	Units	Description	Unit Price	Amount	Unit Price	Amount
903.	350.000	CY	3000 PSI, 1.5 INCH, 470 CEMENT CONCRETE	\$437.00	\$152,950.00	\$1.00	\$350.00
904.	105.000	CY	4000 PSI, 3/4 INCH, 610 CEMENT CONCRETE	\$405.00	\$42,525.00	\$2,000.00	\$210,000.00
904.3	860.000	CY	5000 PSI, 3/4 INCH, 685 HP CEMENT CONCRETE	\$1,568.00	\$1,348,480.00	\$2,500.00	\$2,150,000.00
905.2	100.000	CY	5000 PSI, 3/8 INCH, 710 HP CEMENT CONCRETE	\$2,730.00	\$273,000.00	\$2,000.00	\$200,000.00
910.1	40,000.000	LB	STEEL REINFORCEMENT FOR STRUCTURES - EPOXY COATED	\$2.05	\$82,000.00	\$3.00	\$120,000.00
912.	2,780.000	EA	DRILLING AND GROUTING DOWELS	\$46.00	\$127,880.00	\$10.00	\$27,800.00
952.	380,160.000	LB	STEEL SHEETING	\$4.25	\$1,615,680.00	\$2.00	\$760,320.00
953.01	1.000	LS	PERMANENT SUPPORT OF EXCAVATION - HEADWALL	\$0.01	\$0.01	\$100,000.00	\$100,000.00
953.11	1.000	LS	TEMPORARY SUPPORT OF EXCAVATION	\$200,000.00	\$200,000.00	\$300,000.00	\$300,000.00
953.12	1.000	LS	TEMPORARY SUPPORT OF EXCAVATION FOR WALL A	\$250,000.00	\$250,000.00	\$50,000.00	\$50,000.00
953.13	1.000	LS	TEMPORARY SUPPORT OF EXCAVATION FOR WALL B	\$150,000.00	\$150,000.00	\$350,000.00	\$350,000.00
970.	5,710.000	SF	DAMP-PROOFING	\$5.50	\$31,405.00	\$2.00	\$11,420.00
975.5	405.000	FT	ALUMINUM HANDRAIL	\$192.40	\$77,922.00	\$600.00	\$243,000.00
983.35	280.000	CY	STREAMBED MATERIAL REMOVED AND RELAID	\$450.00	\$126,000.00	\$120.00	\$33,600.00
986.2	500.000	CY	MODIFIED ROCKFILL	\$132.00	\$66,000.00	\$200.00	\$100,000.00
986.21	260.000	CY	MODIFIED ROCKFILL WITH GRAVEL PACKED VOIDS	\$140.00	\$36,400.00	\$250.00	\$65,000.00
991.1	1.000	LS	CONTROL OF WATER - STRUCTURE NO. N-15-021 (CBN)	\$400,000.00	\$400,000.00	\$400,000.00	\$400,000.00
995.011	1.000	LS	CULVERT STRUCTURE, CULVERT NO. N-15-021 (CBN)	\$1,150,000.00	\$1,150,000.00	\$1,100,000.00	\$1,100,000.00
996.011	1.000	LS	MODULAR BLOCK WALL REMOVED AND REBUILT	\$100,000.00	\$100,000.00	\$300,000.00	\$300,000.00
996.021	1.000	LS	SOLDIER PILE AND LAGGING	\$1,534,000.00	\$1,534,000.00	\$1,200,000.00	\$1,200,000.00
				Total :	\$48,616,803.66	Total :	\$50,522,805.00

Bids Open Date: 15 Oct 2025

Project # : 608095

Location : NORTH ANDOVER

District :

Description : NORTH ANDOVER- CORRIDOR IMPROVEMENTS ON ROUTE 114, BETWEEN WAVERLY ROAD AND WILLOW/MILL STREET

				ALBA	NESE D & S,INC.	MCCOURT CONSTR	RUCTION CO INC
Item #	Quantity	Units	Description	Unit Price	Amount	Unit Price	Amount
100.71	1.000	LS	MASONRY WORK	\$175,000.00	\$175,000.00	\$65,000.00	\$65,000.00
100.9	1.000	LS	PRE AND POST CONSTRUCTION SURVEY AND VIBRATION MONITORING	\$50,000.00	\$50,000.00	\$70,000.00	\$70,000.00
101.	2.500	Α	CLEARING AND GRUBBING	\$60,000.00	\$150,000.00	\$55,000.00	\$137,500.00
102.2	1.000	LS	TREE TRIMMING	\$50,000.00	\$50,000.00	\$35,000.00	\$35,000.00
102.3	60.000	HR	HERBICIDE TREATMENT OF INVASIVE PLANTS	\$700.00	\$42,000.00	\$750.00	\$45,000.00
102.33	16.000	HR	INVASIVE PLANT MANAGEMENT STRATEGY	\$500.00	\$8,000.00	\$400.00	\$6,400.00
102.513	175.000	FT	AIR EXCAVATION AND ROOT PRUNING	\$100.00	\$17,500.00	\$95.00	\$16,625.00
102.521	1,500.000	FT	TREE AND PLANT PROTECTION FENCE	\$14.00	\$21,000.00	\$17.50	\$26,250.00
102.531	12.000	EA	TREE CARE - PRUNING	\$700.00	\$8,400.00	\$750.00	\$9,000.00
102.533	800.000	GAL	TREE CARE - WATERING	\$6.00	\$4,800.00	\$5.00	\$4,000.00
102.55	55.000	HR	ARBORIST	\$280.00	\$15,400.00	\$170.00	\$9,350.00
103.	110.000	EA	TREE REMOVED - DIAMETER UNDER 24 INCHES	\$1,700.00	\$187,000.00	\$2,250.00	\$247,500.00
104.	35.000	EA	TREE REMOVED - DIAMETER 24 INCHES AND OVER	\$3,600.00	\$126,000.00	\$4,000.00	\$140,000.00
105.	20.000	EA	STUMP REMOVED	\$800.00	\$16,000.00	\$650.00	\$13,000.00
112.1	1.000	LS	DEMOLITION OF BUILDING NO. 1	\$75,000.00	\$75,000.00	\$150,000.00	\$150,000.00
112.2	1.000	LS	DEMOLITION OF BUILDING NO. 2	\$75,000.00	\$75,000.00	\$150,000.00	\$150,000.00
112.3	1.000	LS	DEMOLITION OF BUILDING NO. 3	\$75,000.00	\$75,000.00	\$150,000.00	\$150,000.00
112.4	1.000	LS	DEMOLITION OF BUILDING NO. 4	\$75,000.00	\$75,000.00	\$150,000.00	\$150,000.00
119.	1.000	LS	RODENT CONTROL	\$50,000.00	\$50,000.00	\$8,500.00	\$8,500.00
120.	26,500.000	CY	EARTH EXCAVATION	\$40.00	\$1,060,000.00	\$95.00	\$2,517,500.00
121.	50.000	CY	CLASS A ROCK EXCAVATION	\$150.00	\$7,500.00	\$275.00	\$13,750.00
123.	250.000	CY	MUCK EXCAVATION	\$75.00	\$18,750.00	\$40.00	\$10,000.00
127.1	900.000	CY	REINFORCED CONCRETE EXCAVATION	\$125.00	\$112,500.00	\$105.00	\$94,500.00
140.	2,270.000	CY	BRIDGE EXCAVATION	\$75.00	\$170,250.00	\$125.00	\$283,750.00
141.	800.000	CY	CLASS A TRENCH EXCAVATION	\$75.00	\$60,000.00	\$55.00	\$44,000.00
141.1	950.000	CY	TEST PIT FOR EXPLORATION	\$150.00	\$142,500.00	\$350.00	\$332,500.00
141.11	40.000	DAY	TEST PIT FOR EXPLORATION - VACUUM EXCAVATION	\$4,000.00	\$160,000.00	\$5,500.00	\$220,000.00

Bids Open Date: 15 Oct 2025

Project # : 608095

Location : NORTH ANDOVER

District :

Description : NORTH ANDOVER- CORRIDOR IMPROVEMENTS ON ROUTE 114, BETWEEN WAVERLY ROAD AND WILLOW/MILL STREET

			-	ALBAI	NESE D & S,INC.	MCCOURT CONSTI	MCCOURT CONSTRUCTION CO INC	
Item #	Quantity	Units	Description	Unit Price	Amount	Unit Price	Amount	
142.	4,750.000	CY	CLASS B TRENCH EXCAVATION	\$1.00	\$4,750.00	\$2.75	\$13,062.50	
144.	510.000	CY	CLASS B ROCK EXCAVATION	\$150.00	\$76,500.00	\$275.00	\$140,250.00	
145.	5.000	EA	DRAINAGE STRUCTURE ABANDONED	\$1,500.00	\$7,500.00	\$450.00	\$2,250.00	
146.	150.000	EA	DRAINAGE STRUCTURE REMOVED	\$1,500.00	\$225,000.00	\$1,750.00	\$262,500.00	
149.2	1.000	LS	PUBLIC OUTREACH	\$75,000.00	\$75,000.00	\$200,000.00	\$200,000.00	
150.	200.000	CY	ORDINARY BORROW	\$50.00	\$10,000.00	\$75.00	\$15,000.00	
150.1	200.000	CY	SPECIAL BORROW	\$50.00	\$10,000.00	\$75.00	\$15,000.00	
151.	17,250.000	CY	GRAVEL BORROW	\$50.00	\$862,500.00	\$90.00	\$1,552,500.00	
151.1	120.000	CY	GRAVEL BORROW FOR BRIDGE FOUNDATION	\$50.00	\$6,000.00	\$250.00	\$30,000.00	
151.2	1,355.000	CY	GRAVEL BORROW FOR BACKFILLING STRUCTURES AND PIPES	\$50.00	\$67,750.00	\$80.00	\$108,400.00	
154.	600.000	CY	SAND BORROW	\$50.00	\$30,000.00	\$85.00	\$51,000.00	
156.	1,250.000	TON	CRUSHED STONE	\$40.00	\$50,000.00	\$35.00	\$43,750.00	
156.1	55.000	TON	CRUSHED STONE FOR BRIDGE FOUNDATIONS	\$40.00	\$2,200.00	\$125.00	\$6,875.00	
156.8	500.000	CY	CRUSHED STONE FOR SUB-BASE	\$50.00	\$25,000.00	\$60.00	\$30,000.00	
160.2	90.000	CY	CONTROLLED LOW-STRENGTH MATERIAL - MECHANICAL EXCAVATABLE (101-300 PSI)	\$260.00	\$23,400.00	\$350.00	\$31,500.00	
170.	61,000.000	SY	FINE GRADING AND COMPACTING - SUBGRADE AREA	\$5.00	\$305,000.00	\$2.50	\$152,500.00	
173.	1,700.000	SY	DECOMPACTION FOR LAWN	\$10.00	\$17,000.00	\$4.00	\$6,800.00	
180.01	1.000	LS	ENVIRONMENTAL HEALTH AND SAFETY PROGRAM	\$150,000.00	\$150,000.00	\$5,000.00	\$5,000.00	
180.02	40.000	HR	PERSONAL PROTECTION LEVEL C UPGRADE	\$50.00	\$2,000.00	\$20.00	\$800.00	
180.03	40.000	HR	LICENSED SITE PROFESSIONAL SERVICES	\$225.00	\$9,000.00	\$250.00	\$10,000.00	
181.11	9,600.000	TON	DISPOSAL OF UNREGULATED SOIL	\$45.00	\$432,000.00	\$35.00	\$336,000.00	
181.12	1,150.000	TON	DISPOSAL OF REGULATED SOIL - IN-STATE FACILITY	\$115.00	\$132,250.00	\$95.00	\$109,250.00	
181.13	575.000	TON	DISPOSAL OF REGULATED SOIL - OUT-OF-STATE FACILITY	\$140.00	\$80,500.00	\$115.00	\$66,125.00	
181.14	115.000	TON	DISPOSAL OF HAZARDOUS WASTE	\$540.00	\$62,100.00	\$450.00	\$51,750.00	
182.1	1.000	LS	INSPECTION AND TESTING FOR ASBESTOS	\$5,000.00	\$5,000.00	\$7,500.00	\$7,500.00	

Bids Open Date: 15 Oct 2025

Project # : 608095

Location : NORTH ANDOVER

District :

Description : NORTH ANDOVER- CORRIDOR IMPROVEMENTS ON ROUTE 114, BETWEEN WAVERLY ROAD AND WILLOW/MILL STREET

				ALBA	NESE D & S,INC.	MCCOURT CONSTR	RUCTION CO INC
Item #	Quantity	Units	Description	Unit Price	Amount	Unit Price	Amount
182.2	300.000	FT	REMOVAL OF ASBESTOS	\$125.00	\$37,500.00	\$45.00	\$13,500.00
182.3	1.000	LS	ASBESTOS ABATEMENT FOR BUILDING DEMOLITION	\$90,000.00	\$90,000.00	\$70,000.00	\$70,000.00
183.1	10,000.000	GAL	TREATMENT OF CONTAMINATED GROUNDWATER	\$5.00	\$50,000.00	\$3.50	\$35,000.00
183.2	1,000.000	LB	DISPOSAL OF GRANULAR ACTIVATED CARBON	\$10.00	\$10,000.00	\$3.00	\$3,000.00
184.1	10.000	TON	DISPOSAL OF TREATED WOOD PRODUCTS	\$450.00	\$4,500.00	\$425.00	\$4,250.00
188.1	1.000	LS	TESTING OF PCB BALLASTS	\$5,000.00	\$5,000.00	\$4,000.00	\$4,000.00
188.2	1.000	LS	DISPOSAL OF PCB BALLASTS	\$7,500.00	\$7,500.00	\$5,000.00	\$5,000.00
188.3	50.000	EA	DISPOSAL OF MERCURY CONTAINING LAMPS	\$60.00	\$3,000.00	\$75.00	\$3,750.00
192.6	3.000	EA	MONITORING WELL ADJUSTED	\$750.00	\$2,250.00	\$2,500.00	\$7,500.00
201.	235.000	EA	CATCH BASIN	\$8,160.00	\$1,917,600.00	\$5,500.00	\$1,292,500.00
201.3	4.000	EA	SPECIAL CATCH BASIN	\$8,160.00	\$32,640.00	\$12,500.00	\$50,000.00
202.	115.000	EA	MANHOLE	\$8,160.00	\$938,400.00	\$6,000.00	\$690,000.00
202.05	32.000	EA	MANHOLE 5 FEET ID	\$10,000.00	\$320,000.00	\$7,000.00	\$224,000.00
202.06	12.000	EA	MANHOLE 6 FEET ID	\$13,000.00	\$156,000.00	\$9,500.00	\$114,000.00
202.07	2.000	EA	MANHOLE 7 FEET ID	\$20,000.00	\$40,000.00	\$15,000.00	\$30,000.00
202.2	4.000	EA	MANHOLE (9 TO 14 FOOT DEPTH)	\$8,500.00	\$34,000.00	\$11,000.00	\$44,000.00
202.205	4.000	EA	MANHOLE (9 TO 14 FOOT DEPTH) 5 FEET ID	\$10,500.00	\$42,000.00	\$11,000.00	\$44,000.00
202.65	1.000	LS	OUTLET CONTROL STRUCTURE	\$25,000.00	\$25,000.00	\$35,000.00	\$35,000.00
203.2	1.000	EA	CURB COVER AND FRAME	\$6,000.00	\$6,000.00	\$2,750.00	\$2,750.00
203.31	6.000	EA	DOGHOUSE MANHOLE	\$8,500.00	\$51,000.00	\$11,000.00	\$66,000.00
203.35	2.000	EA	DOGHOUSE MANHOLE 5 FEET ID	\$10,000.00	\$20,000.00	\$11,500.00	\$23,000.00
204.	32.000	EA	GUTTER INLET	\$3,800.00	\$121,600.00	\$2,800.00	\$89,600.00
209.1	8.000	EA	DROP INLET, TYPE DF	\$7,500.00	\$60,000.00	\$5,150.00	\$41,200.00
210.1	2.000	EA	SANITARY SEWER MANHOLE MUNICIPAL STANDARD	\$10,000.00	\$20,000.00	\$7,900.00	\$15,800.00
211.31	2.000	EA	SANITARY SEWER DOGHOUSE MANHOLE	\$10,000.00	\$20,000.00	\$11,000.00	\$22,000.00
220.	480.000	EA	DRAINAGE STRUCTURE ADJUSTED	\$550.00	\$264,000.00	\$350.00	\$168,000.00
220.2	25.000	FT	DRAINAGE STRUCTURE REBUILT	\$500.00	\$12,500.00	\$950.00	\$23,750.00

Bids Open Date: 15 Oct 2025

Project # : 608095

Location : NORTH ANDOVER

District : 4

Description : NORTH ANDOVER- CORRIDOR IMPROVEMENTS ON ROUTE 114, BETWEEN WAVERLY ROAD AND WILLOW/MILL STREET

				ALBA	NESE D & S,INC.	MCCOURT CONSTR	RUCTION CO INC
Item #	Quantity	Units	Description	Unit Price	Amount	Unit Price	Amoun
220.3	12.000	EA	DRAINAGE STRUCTURE CHANGE IN TYPE	\$1,400.00	\$16,800.00	\$815.00	\$9,780.00
220.5	13.000	EA	DRAINAGE STRUCTURE REMODELED	\$1,200.00	\$15,600.00	\$815.00	\$10,595.00
220.6	25.000	FT	SANITARY STRUCTURE REBUILT	\$500.00	\$12,500.00	\$925.00	\$23,125.00
220.7	65.000	EA	SANITARY STRUCTURE ADJUSTED	\$550.00	\$35,750.00	\$375.00	\$24,375.00
220.8	9.000	EA	SANITARY STRUCTURE REMODELED	\$1,200.00	\$10,800.00	\$815.00	\$7,335.00
221.	295.000	EA	FRAME AND COVER	\$1,300.00	\$383,500.00	\$1,200.00	\$354,000.00
221.1	1.000	EA	FRAME AND COVER - SECURED	\$1,450.00	\$1,450.00	\$1,200.00	\$1,200.00
222.1	220.000	EA	FRAME AND GRATE - MASSDOT CASCADE TYPE	\$1,450.00	\$319,000.00	\$1,200.00	\$264,000.00
222.2	8.000	EA	FRAME AND GRATE - MASSDOT DROP INLET	\$1,300.00	\$10,400.00	\$1,200.00	\$9,600.00
222.3	2.000	EA	FRAME AND GRATE (OR COVER) MUNICIPAL STANDARD	\$1,300.00	\$2,600.00	\$1,200.00	\$2,400.00
223.2	260.000	EA	FRAME AND GRATE (OR COVER) REMOVED AND DISCARDED	\$175.00	\$45,500.00	\$85.00	\$22,100.00
224.10	35.000	EA	10 INCH HOOD	\$750.00	\$26,250.00	\$400.00	\$14,000.00
224.12	154.000	EA	12 INCH HOOD	\$750.00	\$115,500.00	\$400.00	\$61,600.00
227.3	200.000	CY	REMOVAL OF DRAINAGE STRUCTURE SEDIMENT	\$375.00	\$75,000.00	\$225.00	\$45,000.00
227.31	3,500.000	FT	REMOVAL OF DRAINAGE PIPE SEDIMENT	\$6.00	\$21,000.00	\$8.50	\$29,750.00
227.4	110.000	SF	MASONRY PLUG	\$150.00	\$16,500.00	\$450.00	\$49,500.00
238.10	720.000	FT	10 INCH DUCTILE IRON PIPE	\$350.00	\$252,000.00	\$325.00	\$234,000.00
238.12	750.000	FT	12 INCH DUCTILE IRON PIPE	\$350.00	\$262,500.00	\$185.00	\$138,750.00
238.18	410.000	FT	18 INCH DUCTILE IRON PIPE	\$375.00	\$153,750.00	\$330.00	\$135,300.00
238.30	35.000	FT	30 INCH DUCTILE IRON PIPE	\$750.00	\$26,250.00	\$700.00	\$24,500.00
241.12	6,750.000	FT	12 INCH REINFORCED CONCRETE PIPE	\$250.00	\$1,687,500.00	\$155.00	\$1,046,250.00
241.15	3,625.000	FT	15 INCH REINFORCED CONCRETE PIPE	\$250.00	\$906,250.00	\$175.00	\$634,375.00
241.18	1,100.000	FT	18 INCH REINFORCED CONCRETE PIPE	\$260.00	\$286,000.00	\$225.00	\$247,500.00
241.24	3,420.000	FT	24 INCH REINFORCED CONCRETE PIPE	\$275.00	\$940,500.00	\$225.00	\$769,500.00
241.30	1,230.000	FT	30 INCH REINFORCED CONCRETE PIPE	\$375.00	\$461,250.00	\$275.00	\$338,250.00
241.36	90.000	FT	36 INCH REINFORCED CONCRETE PIPE	\$500.00	\$45,000.00	\$870.00	\$78,300.00

Bids Open Date: 15 Oct 2025

Project # : 608095

Location : NORTH ANDOVER

District : 4

Description : NORTH ANDOVER- CORRIDOR IMPROVEMENTS ON ROUTE 114, BETWEEN WAVERLY ROAD AND WILLOW/MILL STREET

				ALBA	NESE D & S,INC.	MCCOURT CONSTR	UCTION CO INC
Item #	Quantity	Units	Description	Unit Price	Amount	Unit Price	Amount
242.12	2.000	EA	12 INCH REINFORCED CONCRETE PIPE FLARED END	\$2,000.00	\$4,000.00	\$1,275.00	\$2,550.00
242.15	1.000	EA	15 INCH REINFORCED CONCRETE PIPE FLARED END	\$2,100.00	\$2,100.00	\$1,375.00	\$1,375.00
244.12	510.000	FT	12 INCH REINFORCED CONCRETE PIPE CLASS V	\$250.00	\$127,500.00	\$165.00	\$84,150.00
244.15	115.000	FT	15 INCH REINFORCED CONCRETE PIPE CLASS V	\$250.00	\$28,750.00	\$190.00	\$21,850.00
244.18	190.000	FT	18 INCH REINFORCED CONCRETE PIPE CLASS V	\$260.00	\$49,400.00	\$230.00	\$43,700.00
244.24	420.000	FT	24 INCH REINFORCED CONCRETE PIPE CLASS V	\$275.00	\$115,500.00	\$230.00	\$96,600.00
244.30	700.000	FT	30 INCH REINFORCED CONCRETE PIPE CLASS V	\$375.00	\$262,500.00	\$275.00	\$192,500.00
244.36	10.000	FT	36 INCH REINFORCED CONCRETE PIPE CLASS V	\$500.00	\$5,000.00	\$230.00	\$2,300.00
248.001	100.000	FT	SEWER SERVICE RELOCATION	\$200.00	\$20,000.00	\$325.00	\$32,500.00
249.001	1.000	LS	SANITARY SEWER BYPASS PUMPING	\$100,000.00	\$100,000.00	\$200,000.00	\$200,000.00
250.06	130.000	FT	6 INCH POLYVINYL CHLORIDE SANITARY SEWER PIPE	\$250.00	\$32,500.00	\$525.00	\$68,250.00
250.08	70.000	FT	8 INCH POLYVINYL CHLORIDE SANITARY SEWER PIPE	\$300.00	\$21,000.00	\$450.00	\$31,500.00
250.506	1,600.000	FT	6 INCH DUCTILE IRON SEWER PIPE	\$250.00	\$400,000.00	\$250.00	\$400,000.00
250.510	100.000	FT	10 INCH DUCTILE IRON SEWER PIPE	\$400.00	\$40,000.00	\$855.00	\$85,500.00
258.	20.000	SY	STONE FOR PIPE ENDS	\$125.00	\$2,500.00	\$95.00	\$1,900.00
269.06	120.000	FT	6 INCH SLOT-PERFORATED CORRUGATED PLASTIC PIPE (SUBDRAIN)	\$100.00	\$12,000.00	\$85.00	\$10,200.00
272.12	3,350.000	FT	12 INCH AND UNDER PIPE REMOVED AND DISCARDED	\$10.00	\$33,500.00	\$50.00	\$167,500.00
272.15	1,275.000	FT	15 INCH PIPE REMOVED AND DISCARDED	\$10.00	\$12,750.00	\$60.00	\$76,500.00
272.18	150.000	FT	18 INCH PIPE REMOVED AND DISCARDED	\$10.00	\$1,500.00	\$160.00	\$24,000.00
272.24	1,275.000	FT	24 INCH PIPE REMOVED AND DISCARDED	\$10.00	\$12,750.00	\$60.00	\$76,500.00
284.514	640.000	TON	DUMPED STONE DRAINAGE CHANNEL	\$100.00	\$64,000.00	\$70.00	\$44,800.00
292.1	25.000	FT	TRENCH DRAIN	\$700.00	\$17,500.00	\$1,325.00	\$33,125.00
295.01	1.000	LS	BIORETENTION AREA	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00
295.02	1.000	LS	INFILTRATION BASIN	\$200,000.00	\$200,000.00	\$150,000.00	\$150,000.00

Bids Open Date: 15 Oct 2025

Project # : 608095

Location : NORTH ANDOVER

District :

Description : NORTH ANDOVER- CORRIDOR IMPROVEMENTS ON ROUTE 114, BETWEEN WAVERLY ROAD AND WILLOW/MILL STREET

				ALBAN	NESE D & S,INC.	MCCOURT CONSTR	UCTION CO INC
Item #	Quantity	Units	Description	Unit Price	Amount	Unit Price	Amount
302.06	400.000	FT	6 INCH DUCTILE IRON WATER PIPE (RUBBER GASKET)	\$400.00	\$160,000.00	\$250.00	\$100,000.00
302.08	30.000	FT	8 INCH DUCTILE IRON WATER PIPE (RUBBER GASKET)	\$750.00	\$22,500.00	\$525.00	\$15,750.00
302.10	10.000	FT	10 INCH DUCTILE IRON WATER PIPE (RUBBER GASKET)	\$750.00	\$7,500.00	\$700.00	\$7,000.00
302.12	735.000	FT	12 INCH DUCTILE IRON WATER PIPE (RUBBER GASKET)	\$750.00	\$551,250.00	\$455.00	\$334,425.00
309.	29,000.000	LB	DUCTILE IRON FITTINGS FOR WATER PIPE	\$1.00	\$29,000.00	\$7.00	\$203,000.00
326.06	10.000	FT	6 INCH STEEL PIPE CASING	\$300.00	\$3,000.00	\$350.00	\$3,500.00
326.10	15.000	FT	10 INCH STEEL PIPE CASING	\$350.00	\$5,250.00	\$420.00	\$6,300.00
326.12	45.000	FT	12 INCH STEEL PIPE CASING	\$350.00	\$15,750.00	\$125.00	\$5,625.00
326.16	75.000	FT	16 INCH STEEL PIPE CASING	\$400.00	\$30,000.00	\$350.00	\$26,250.00
326.18	45.000	FT	18 INCH STEEL PIPE CASING	\$450.00	\$20,250.00	\$225.00	\$10,125.00
326.20	35.000	FT	20 INCH STEEL PIPE CASING	\$500.00	\$17,500.00	\$400.00	\$14,000.00
326.24	5.000	FT	24 INCH STEEL PIPE CASING	\$600.00	\$3,000.00	\$950.00	\$4,750.00
326.34	5.000	FT	34 INCH STEEL PIPE CASING	\$750.00	\$3,750.00	\$1,150.00	\$5,750.00
347.1	280.000	FT	1 INCH COPPER TUBING TYPE K	\$150.00	\$42,000.00	\$75.00	\$21,000.00
347.15	50.000	FT	1-1/2 INCH COPPER TUBING TYPE K	\$150.00	\$7,500.00	\$185.00	\$9,250.00
347.2	50.000	FT	2 INCH COPPER TUBING TYPE K	\$150.00	\$7,500.00	\$195.00	\$9,750.00
350.06	10.000	EA	6 INCH GATE AND GATE BOX	\$3,000.00	\$30,000.00	\$11,500.00	\$115,000.00
350.12	2.000	EA	12 INCH GATE AND GATE BOX	\$6,000.00	\$12,000.00	\$10,500.00	\$21,000.00
357.06	2.000	EA	6 INCH GATE BOX	\$650.00	\$1,300.00	\$1,150.00	\$2,300.00
358.	85.000	EA	GATE BOX ADJUSTED	\$350.00	\$29,750.00	\$325.00	\$27,625.00
358.1	10.000	EA	GATE BOX REMOVED AND STACKED	\$175.00	\$1,750.00	\$375.00	\$3,750.00
363.1	20.000	EA	1 INCH CORPORATION COCK	\$1,000.00	\$20,000.00	\$450.00	\$9,000.00
363.15	3.000	EA	1-1/2 INCH CORPORATION COCK	\$1,900.00	\$5,700.00	\$500.00	\$1,500.00
363.2	7.000	EA	2 INCH CORPORATION COCK	\$2,000.00	\$14,000.00	\$650.00	\$4,550.00
367.06	7.000	EA	6 INCH CAST IRON PLUG	\$1,000.00	\$7,000.00	\$3,000.00	\$21,000.00
371.06	5.000	EA	6 INCH COUPLING	\$4,000.00	\$20,000.00	\$325.00	\$1,625.00

Bids Open Date: 15 Oct 2025

Project # : 608095

Location : NORTH ANDOVER

District :

Description : NORTH ANDOVER- CORRIDOR IMPROVEMENTS ON ROUTE 114, BETWEEN WAVERLY ROAD AND WILLOW/MILL STREET

				ALBA	ANESE D & S,INC.	MCCOURT CONS	MCCOURT CONSTRUCTION CO INC	
Item #	Quantity	Units	Description	Unit Price	Amount	Unit Price	Amount	
375.12	7.000	EA	12 INCH INSERTION VALVE AND BOX	\$25,000.00	\$175,000.00	\$30,750.00	\$215,250.00	
376.	8.000	EA	HYDRANT	\$10,000.00	\$80,000.00	\$8,500.00	\$68,000.00	
376.2	11.000	EA	HYDRANT - REMOVED AND RESET	\$5,000.00	\$55,000.00	\$2,500.00	\$27,500.00	
376.3	6.000	EA	HYDRANT - REMOVED AND STACKED	\$2,500.00	\$15,000.00	\$2,500.00	\$15,000.00	
376.5	3.000	EA	HYDRANT - ADJUSTED	\$2,500.00	\$7,500.00	\$2,500.00	\$7,500.00	
381.	20.000	EA	SERVICE BOX	\$400.00	\$8,000.00	\$400.00	\$8,000.00	
381.3	10.000	EA	SERVICE BOX ADJUSTED	\$350.00	\$3,500.00	\$350.00	\$3,500.00	
384.	20.000	EA	CURB STOP	\$1,000.00	\$20,000.00	\$500.00	\$10,000.00	
385.3	1.000	EA	MONITORING WELL TRAFFIC CASTING	\$750.00	\$750.00	\$700.00	\$700.00	
390.01	75.000	FT	SPRINKLER SYSTEM COMPONENTS - REMOVED AND STACKED	\$75.00	\$5,625.00	\$60.00	\$4,500.00	
402.	2,580.000	CY	DENSE GRADED CRUSHED STONE FOR SUB-BASE	\$75.00	\$193,500.00	\$135.00	\$348,300.00	
415.1	91,200.000	SY	PAVEMENT STANDARD MILLING	\$8.50	\$775,200.00	\$6.50	\$592,800.00	
431.	1,800.000	SY	HIGH EARLY STRENGTH CEMENT CONCRETE BASE COURSE	\$125.00	\$225,000.00	\$105.00	\$189,000.00	
440.	64,000.000	LB	CALCIUM CHLORIDE FOR ROADWAY DUST CONTROL	\$0.40	\$25,600.00	\$0.75	\$48,000.00	
443.	125.000	MGL	WATER FOR ROADWAY DUST CONTROL	\$100.00	\$12,500.00	\$150.00	\$18,750.00	
450.22	850.000	TON	SUPERPAVE SURFACE COURSE – 9.5 (SSC – 9.5)	\$225.00	\$191,250.00	\$220.00	\$187,000.00	
450.23	1,425.000	TON	SUPERPAVE SURFACE COURSE - 12.5 (SSC - 12.5)	\$225.00	\$320,625.00	\$220.00	\$313,500.00	
450.231	12,625.000	TON	SUPERPAVE SURFACE COURSE - 12.5 POLYMER (SSC - 12.5 - P)	\$165.00	\$2,083,125.00	\$190.00	\$2,398,750.00	
450.32	15,525.000	TON	SUPERPAVE INTERMEDIATE COURSE - 19.0 (SIC - 19.0)	\$160.00	\$2,484,000.00	\$195.00	\$3,027,375.00	
450.42	4,375.000	TON	SUPERPAVE BASE COURSE - 37.5 (SBC - 37.5)	\$160.00	\$700,000.00	\$215.00	\$940,625.00	
450.53	5,640.000	TON	SUPERPAVE LEVELING COURSE - 12.5 (SLC - 12.5)	\$160.00	\$902,400.00	\$200.00	\$1,128,000.00	
451.	2,500.000	TON	HMA FOR PATCHING	\$325.00	\$812,500.00	\$350.00	\$875,000.00	
452.	19,000.000	GAL	ASPHALT EMULSION FOR TACK COAT	\$9.00	\$171,000.00	\$1.00	\$19,000.00	
453.	65,500.000	FT	HMA JOINT ADHESIVE	\$0.80	\$52,400.00	\$0.65	\$42,575.00	
470.2	350.000	FT	HOT MIX ASPHALT BERM, TYPE A - MODIFIED	\$25.00	\$8,750.00	\$40.00	\$14,000.00	

Bids Open Date: 15 Oct 2025

Project # : 608095

Location : NORTH ANDOVER

District : 4

Description : NORTH ANDOVER- CORRIDOR IMPROVEMENTS ON ROUTE 114, BETWEEN WAVERLY ROAD AND WILLOW/MILL STREET

				ALBA	ANESE D & S,INC.	MCCOURT CONSTR	RUCTION CO INC
Item #	Quantity	Units	Description	Unit Price	Amount	Unit Price	Amount
472.	1,000.000	TON	TEMPORARY ASPHALT PATCHING	\$325.00	\$325,000.00	\$350.00	\$350,000.00
476.11	2,600.000	SY	CEMENT CONCRETE PAVEMENT - STAMPED	\$250.00	\$650,000.00	\$250.00	\$650,000.00
477.2	1,400.000	FT	MILLED RUMBLE STRIP (TYPE C)	\$18.00	\$25,200.00	\$2.00	\$2,800.00
482.3	135.000	FT	SAWCUTTING ASPHALT PAVEMENT	\$2.00	\$270.00	\$7.00	\$945.00
482.5	25,100.000	FT	SAWCUTTING ASPHALT PAVEMENT FOR BOX WIDENING	\$2.00	\$50,200.00	\$6.50	\$163,150.00
485.3	10.000	SY	SCORED CEMENT CONCRETE PAVEMENT	\$400.00	\$4,000.00	\$671.67	\$6,716.70
503.	250.000	FT	GRANITE CURB TYPE VA3 - STRAIGHT	\$80.00	\$20,000.00	\$65.00	\$16,250.00
503.1	75.000	FT	GRANITE CURB TYPE VA3 - CURVED	\$100.00	\$7,500.00	\$95.00	\$7,125.00
504.2	20.000	EA	GRANITE CURB TYPE VA4 - SPLAYED END	\$700.00	\$14,000.00	\$575.00	\$11,500.00
506.	25,250.000	FT	GRANITE CURB TYPE VB - STRAIGHT	\$74.00	\$1,868,500.00	\$60.00	\$1,515,000.00
506.1	3,900.000	FT	GRANITE CURB TYPE VB - CURVED	\$94.00	\$366,600.00	\$80.00	\$312,000.00
509.	1,250.000	FT	GRANITE TRANSITION CURB FOR PEDESTRIAN CURB RAMPS - STRAIGHT	\$74.00	\$92,500.00	\$55.00	\$68,750.00
509.1	1,500.000	FT	GRANITE TRANSITION CURB FOR PEDESTRIAN CURB RAMPS - CURVED	\$94.00	\$141,000.00	\$55.00	\$82,500.00
514.	140.000	EA	GRANITE CURB INLET - STRAIGHT	\$750.00	\$105,000.00	\$540.00	\$75,600.00
515.	14.000	EA	GRANITE CURB INLET - CURVED	\$850.00	\$11,900.00	\$625.00	\$8,750.00
517.01	5.000	EA	GRANITE CURB CORNER - TYPE C	\$550.00	\$2,750.00	\$425.00	\$2,125.00
520.	50.000	FT	CONCRETE CURB TYPE VA	\$75.00	\$3,750.00	\$80.00	\$4,000.00
570.2	40.000	FT	HOT MIX ASPHALT CURB TYPE 2	\$85.00	\$3,400.00	\$40.00	\$1,600.00
580.	7,200.000	FT	CURB REMOVED AND RESET	\$50.00	\$360,000.00	\$30.00	\$216,000.00
581.	20.000	EA	CURB INLET REMOVED AND RESET	\$350.00	\$7,000.00	\$205.00	\$4,100.00
594.	6,000.000	FT	CURB REMOVED AND DISCARDED	\$11.00	\$66,000.00	\$3.00	\$18,000.00
595.	14.000	EA	CURB INLET REMOVED AND DISCARDED	\$75.00	\$1,050.00	\$15.00	\$210.00
596.	14.000	EA	CURB CORNER REMOVED AND DISCARDED	\$50.00	\$700.00	\$6.00	\$84.00
597.	18,100.000	FT	EDGING REMOVED AND DISCARDED	\$10.00	\$181,000.00	\$1.50	\$27,150.00
601.2	50.000	FT	TIMBER GUARDRAIL	\$110.00	\$5,500.00	\$115.00	\$5,750.00
620.12	1,375.000	FT	GUARDRAIL, TL-2 (SINGLE FACED)	\$37.00	\$50,875.00	\$35.00	\$48,125.00

Bids Open Date: 15 Oct 2025

Project # : 608095

Location : NORTH ANDOVER

District :

Description : NORTH ANDOVER- CORRIDOR IMPROVEMENTS ON ROUTE 114, BETWEEN WAVERLY ROAD AND WILLOW/MILL STREET

				ALBA	NESE D & S,INC.	MCCOURT CONSTRI	MCCOURT CONSTRUCTION CO INC	
Item #	Quantity	Units	Description	Unit Price	Amount	Unit Price	Amount	
627.1	9.000	EA	TRAILING ANCHORAGE	\$3,400.00	\$30,600.00	\$3,000.00	\$27,000.00	
627.82	9.000	EA	GUARDRAIL TANGENT END TREATMENT, TL-2	\$5,600.00	\$50,400.00	\$5,000.00	\$45,000.00	
628.304	2.000	EA	TEMPORARY IMPACT ATTENUATOR, NON-REDIRECTIVE, TL-2	\$8,000.00	\$16,000.00	\$8,500.00	\$17,000.00	
628.314	4.000	EA	TEMPORARY IMPACT ATTENUATOR, REDIRECTIVE, TL-2	\$8,000.00	\$32,000.00	\$9,500.00	\$38,000.00	
628.4	8.000	EA	TEMPORARY IMPACT ATTENUATOR, REMOVED AND RESET	\$2,900.00	\$23,200.00	\$3,500.00	\$28,000.00	
630.	15.000	FT	HIGHWAY GUARD REMOVED AND RESET	\$24.00	\$360.00	\$25.00	\$375.00	
630.2	2,100.000	FT	HIGHWAY GUARD REMOVED AND DISCARDED	\$7.00	\$14,700.00	\$6.50	\$13,650.00	
632.	2.000	EA	GUARDRAIL POST - STEEL	\$170.00	\$340.00	\$175.00	\$350.00	
634.	1.000	EA	W BEAM GUARD PANEL	\$320.00	\$320.00	\$325.00	\$325.00	
645.148	1,400.000	FT	48 INCH CHAIN LINK FENCE (PIPE TOP RAIL) VINYL COATED (LINE POST OPTION)	\$48.00	\$67,200.00	\$45.00	\$63,000.00	
652.048	12.000	EA	48 INCH CHAIN LINK FENCE END POST	\$270.00	\$3,240.00	\$250.00	\$3,000.00	
655.01	675.000	FT	TIMBER RAIL FENCE - TWO RAIL	\$110.00	\$74,250.00	\$95.00	\$64,125.00	
655.21	100.000	FT	HAND RAIL REMOVED AND STACKED	\$25.00	\$2,500.00	\$22.00	\$2,200.00	
660.1	125.000	FT	METAL PIPE RAIL REMOVED AND STACKED	\$25.00	\$3,125.00	\$22.00	\$2,750.00	
660.25	15.000	FT	STEEL HANDRAIL	\$500.00	\$7,500.00	\$225.00	\$3,375.00	
666.	30.000	FT	CHAIN LINK FENCE REMOVED AND RESET	\$55.00	\$1,650.00	\$50.00	\$1,500.00	
669.	1,300.000	FT	FENCE REMOVED AND STACKED	\$10.00	\$13,000.00	\$11.00	\$14,300.00	
671.	3.000	EA	FENCE GATE AND GATE POSTS REMOVED AND STACKED	\$780.00	\$2,340.00	\$750.00	\$2,250.00	
685.	190.000	CY	STONE MASONRY WALL IN CEMENT MORTAR	\$2,200.00	\$418,000.00	\$2,000.00	\$380,000.00	
686.1	6,300.000	SF	STONE VENEER FOR CEMENT CONCRETE WALL	\$155.00	\$976,500.00	\$100.00	\$630,000.00	
690.	15.000	CY	STONE MASONRY WALL REMOVED AND REBUILT IN CEMENT MORTAR	\$4,000.00	\$60,000.00	\$2,500.00	\$37,500.00	
690.2	480.000	CY	STONE MASONRY WALL WITH PARAPET REMOVAL	\$230.00	\$110,400.00	\$95.00	\$45,600.00	
691.01	150.000	FT	BALANCE STONE WALL REMOVED AND REBUILT DRY	\$250.00	\$37,500.00	\$375.00	\$56,250.00	
691.1	2,700.000	FT	BALANCE STONE WALL REMOVED AND STACKED	\$23.00	\$62,100.00	\$22.00	\$59,400.00	

Bids Open Date: 15 Oct 2025

Project # : 608095

Location : NORTH ANDOVER

District :

Description : NORTH ANDOVER- CORRIDOR IMPROVEMENTS ON ROUTE 114, BETWEEN WAVERLY ROAD AND WILLOW/MILL STREET

				ALBA	NESE D & S,INC.	MCCOURT CON	STRUCTION CO INC
Item #	Quantity	Units	Description	Unit Price	Amount	Unit Price	Amount
691.2	14.000	EA	LANDSCAPE BOULDER REMOVED AND STACKED	\$500.00	\$7,000.00	\$700.00	\$9,800.00
692.1	10.000	CY	GRANITE BLOCK WALL REMOVED AND STACKED	\$950.00	\$9,500.00	\$300.00	\$3,000.00
693.3	1.000	EA	BRICK PILLAR REMOVED AND REBUILT	\$40,000.00	\$40,000.00	\$35,000.00	\$35,000.00
693.5	70.000	FT	LANDSCAPE TIE WALLS REMOVED AND STACKED	\$80.00	\$5,600.00	\$35.00	\$2,450.00
697.1	240.000	EA	SILT SACK	\$175.00	\$42,000.00	\$225.00	\$54,000.00
698.3	1,175.000	SY	GEOTEXTILE FABRIC FOR SEPARATION	\$15.00	\$17,625.00	\$5.00	\$5,875.00
698.4	640.000	SY	GEOTEXTILE FABRIC FOR PERMANENT EROSION CONTROL	\$9.00	\$5,760.00	\$2.00	\$1,280.00
701.	8,100.000	SY	CEMENT CONCRETE SIDEWALK	\$115.00	\$931,500.00	\$95.00	\$769,500.00
701.1	1,200.000	SY	CEMENT CONCRETE SIDEWALK AT DRIVEWAYS	\$145.00	\$174,000.00	\$105.00	\$126,000.00
701.2	2,925.000	SY	CEMENT CONCRETE PEDESTRIAN CURB RAMP	\$160.00	\$468,000.00	\$125.00	\$365,625.00
702.	2,150.000	TON	HOT MIX ASPHALT SIDEWALK OR DRIVEWAY	\$350.00	\$752,500.00	\$250.00	\$537,500.00
705.1	5.000	SY	FLAGSTONE WALK REMOVED AND RESET	\$550.00	\$2,750.00	\$500.00	\$2,500.00
706.7	750.000	SF	CONCRETE PAVER FOR SEDIMENT FOREBAY	\$80.00	\$60,000.00	\$30.00	\$22,500.00
707.21	1.000	EA	TRASH RECEPTACLE REMOVED AND RESET	\$1,250.00	\$1,250.00	\$6,500.00	\$6,500.00
710.3	80.000	EA	BOUND - LETTERED GRANITE	\$675.00	\$54,000.00	\$1,000.00	\$80,000.00
710.4	50.000	EA	BOUND - PLAIN GRANITE	\$650.00	\$32,500.00	\$350.00	\$17,500.00
711.	15.000	EA	BOUND REMOVED AND RESET	\$850.00	\$12,750.00	\$250.00	\$3,750.00
712.	5.000	EA	BOUND REMOVED AND STACKED	\$325.00	\$1,625.00	\$250.00	\$1,250.00
715.	35.000	EA	RURAL MAIL BOX REMOVED AND RESET	\$350.00	\$12,250.00	\$375.00	\$13,125.00
715.01	4.000	EA	RURAL MAIL BOX REMOVED AND DISCARDED	\$75.00	\$300.00	\$350.00	\$1,400.00
722.1	1.000	LS	SCHEDULE OF OPERATIONS (TYPE A) - FIXED PRICE \$175,000	\$175,000.00	\$175,000.00	\$175,000.00	\$175,000.00
740.	60.000	МО	ENGINEERS FIELD OFFICE AND EQUIPMENT (TYPE A)	\$5,000.00	\$300,000.00	\$5,500.00	\$330,000.00
748.	1.000	LS	MOBILIZATION	\$1,500,000.00	\$1,500,000.00	\$1,400,000.00	\$1,400,000.00
751.1	3,750.000	CY	LOAM FOR LAWNS	\$90.00	\$337,500.00	\$90.00	\$337,500.00
751.7	190.000	CY	COMPOST BLANKET	\$110.00	\$20,900.00	\$95.00	\$18,050.00
755.35	1.000	LS	INLAND WETLAND REPLICATION AREA	\$50,000.00	\$50,000.00	\$35,000.00	\$35,000.00

Bids Open Date: 15 Oct 2025

Project # : 608095

Location : NORTH ANDOVER

District :

Description : NORTH ANDOVER- CORRIDOR IMPROVEMENTS ON ROUTE 114, BETWEEN WAVERLY ROAD AND WILLOW/MILL STREET

				ALBAN	NESE D & S,INC.	MCCOURT CONSTR	UCTION CO INC
Item #	Quantity	Units	Description	Unit Price	Amount	Unit Price	Amount
755.45	105.000	SY	WETLAND RESTORATION	\$50.00	\$5,250.00	\$11.00	\$1,155.00
755.55	1.000	LS	COMPENSATORY FLOOD STORAGE AREA	\$25,000.00	\$25,000.00	\$40,000.00	\$40,000.00
755.75	140.000	HR	WETLAND SPECIALIST	\$225.00	\$31,500.00	\$200.00	\$28,000.00
755.76	1.000	LS	WETLANDS MONITORING REPORTS	\$10,000.00	\$10,000.00	\$20,000.00	\$20,000.00
756.	1.000	LS	NPDES STORMWATER POLLUTION PREVENTION PLAN	\$15,000.00	\$15,000.00	\$7,500.00	\$7,500.00
765.	34,000.000	SY	SEEDING	\$2.25	\$76,500.00	\$4.25	\$144,500.00
765.21	27.000	LB	ANNUAL COVER CROP FOR NATIVE SEEDING	\$340.00	\$9,180.00	\$325.00	\$8,775.00
765.415	25.000	LB	SEED - NATIVE SHORT GRASSLAND MIX	\$640.00	\$16,000.00	\$575.00	\$14,375.00
765.554	12.000	LB	WETLAND SEED - SEASONALLY FLOODED MIX	\$640.00	\$7,680.00	\$575.00	\$6,900.00
765.635	5,800.000	SY	NATIVE SEEDING AND ESTABLISHMENT	\$3.00	\$17,400.00	\$5.00	\$29,000.00
767.121	5,175.000	FT	SEDIMENT CONTROL BARRIER	\$6.00	\$31,050.00	\$6.00	\$31,050.00
767.6	60.000	CY	AGED PINE BARK MULCH	\$130.00	\$7,800.00	\$95.00	\$5,700.00
767.9	800.000	SY	JUTE MESH	\$8.00	\$6,400.00	\$7.25	\$5,800.00
769.	1,650.000	FT	PAVEMENT MILLING MULCH UNDER GUARD RAIL	\$15.00	\$24,750.00	\$12.50	\$20,625.00
774.51	7.000	EA	ELM - 'PRINCETON' 2-2.5 INCH CALIPER	\$1,000.00	\$7,000.00	\$900.00	\$6,300.00
775.147	10.000	EA	LINDEN - LITTLE LEAF 2-2.5 INCH CALIPER	\$1,000.00	\$10,000.00	\$900.00	\$9,000.00
775.437	11.000	EA	LOCUST - HONEY - 'SKYLINE' 2-2.5 INCH CALIPER	\$1,100.00	\$12,100.00	\$950.00	\$10,450.00
775.51	5.000	EA	MAIDENHAIR TREE - 'PRINCETON SENTRY' 2-2.5 INCH CALIPER	\$1,300.00	\$6,500.00	\$1,200.00	\$6,000.00
776.557	13.000	EA	MAPLE - RED - 'RED SUNSET' 2-2.5 INCH CALIPER	\$1,000.00	\$13,000.00	\$900.00	\$11,700.00
777.138	13.000	EA	OAK - PIN 2-2.5 INCH CALIPER	\$1,000.00	\$13,000.00	\$900.00	\$11,700.00
777.328	11.000	EA	OAK - WHITE 2-2.5 INCH CALIPER	\$1,200.00	\$13,200.00	\$1,100.00	\$12,100.00
777.442	7.000	EA	PLANETREE - AMERICAN 2-2.5 INCH CALIPER	\$1,000.00	\$7,000.00	\$900.00	\$6,300.00
777.673	3.000	EA	SWEETGUM - FRUITLESS 2-2.5 INCH CALIPER	\$1,000.00	\$3,000.00	\$900.00	\$2,700.00
778.383	6.000	EA	CHERRY - SARGENT COLUMNAR 1.5-2 INCH CALIPER	\$900.00	\$5,400.00	\$825.00	\$4,950.00
781.263	5.000	EA	HAWTHORN - 'WINTER KING' 1.5-2 INCH CALIPER	\$850.00	\$4,250.00	\$800.00	\$4,000.00
781.578	10.000	EA	LILAC TREE - JAPANESE IVORY SILK 1.5-2 INCH CALIPER	\$1,100.00	\$11,000.00	\$950.00	\$9,500.00

Bids Open Date: 15 Oct 2025

Project # : 608095

Location : NORTH ANDOVER

District :

Description : NORTH ANDOVER- CORRIDOR IMPROVEMENTS ON ROUTE 114, BETWEEN WAVERLY ROAD AND WILLOW/MILL STREET

				ALBA	NESE D & S,INC.	MCCOURT CONSTRUCTION CO INC	
Item #	Quantity	Units	Description	Unit Price	Amount	Unit Price	Amount
782.541	6.000	EA	REDBUD - EASTERN 1.5-2 INCH CALIPER	\$950.00	\$5,700.00	\$850.00	\$5,100.00
790.512	8.000	EA	DOGWOOD - 'GRAY' 2-3 FEET / #3	\$170.00	\$1,360.00	\$175.00	\$1,400.00
795.021	5.000	EA	VIBURNUM - 'BLACKHAW' 2-3 FEET / #3	\$175.00	\$875.00	\$175.00	\$875.00
797.01	10.000	EA	TREE - CONTINGENCY 2-2.5 INCH CALIPER	\$1,000.00	\$10,000.00	\$950.00	\$9,500.00
801.32	80.000	FT	3 INCH ELECTRICAL CONDUIT - TYPE NM (DOUBLE)	\$125.00	\$10,000.00	\$95.00	\$7,600.00
802.433	110.000	FT	4 INCH TELEPHONE CONDUIT - TYPE NM (3 BANK)	\$175.00	\$19,250.00	\$215.00	\$23,650.00
804.22	10.000	FT	2 INCH ELECTRICAL CONDUIT TYPE NM - PLASTIC (UL) - SPLIT DUCT	\$100.00	\$1,000.00	\$150.00	\$1,500.00
804.3	4,850.000	FT	3 INCH ELECTRICAL CONDUIT TYPE NM - PLASTIC - (UL)	\$75.00	\$363,750.00	\$50.00	\$242,500.00
804.33	320.000	FT	3 INCH ELECTRICAL CONDUIT - TYPE NM - PLASTIC - (UL) - LIGHTING	\$75.00	\$24,000.00	\$70.00	\$22,400.00
804.4	80.000	FT	4 INCH ELECTRICAL CONDUIT TYPE NM - PLASTIC - (UL)	\$85.00	\$6,800.00	\$105.00	\$8,400.00
806.4	40.000	FT	4 INCH ELECTRICAL CONDUIT TYPE RM - GALVANIZED STEEL	\$150.00	\$6,000.00	\$35.00	\$1,400.00
811.22	45.000	EA	ELECTRIC HANDHOLE - SD2.022	\$2,000.00	\$90,000.00	\$2,050.00	\$92,250.00
811.24	6.000	EA	ELECTRIC HANDHOLE - SD2.024	\$2,400.00	\$14,400.00	\$2,250.00	\$13,500.00
811.31	45.000	EA	PULL BOX 12 X 12 INCHES - SD2.031	\$1,600.00	\$72,000.00	\$1,250.00	\$56,250.00
812.09	3.000	EA	LIGHT STANDARD FOUNDATION PRECAST	\$3,000.00	\$9,000.00	\$4,250.00	\$12,750.00
814.	1.000	LS	ADAPTIVE TRAFFIC SIGNAL CONTROL	\$150,000.00	\$150,000.00	\$95,000.00	\$95,000.00
815.07	1.000	LS	TRAFFIC CONTROL SIGNAL LOCATION NO. 7	\$375,000.00	\$375,000.00	\$425,000.00	\$425,000.00
816.01	1.000	LS	TRAFFIC SIGNAL RECONSTRUCTION LOCATION NO.	\$450,000.00	\$450,000.00	\$600,000.00	\$600,000.00
816.02	1.000	LS	TRAFFIC SIGNAL RECONSTRUCTION LOCATION NO. 2	\$325,000.00	\$325,000.00	\$350,000.00	\$350,000.00
816.03	1.000	LS	TRAFFIC SIGNAL RECONSTRUCTION LOCATION NO. 3	\$430,000.00	\$430,000.00	\$480,000.00	\$480,000.00
816.04	1.000	LS	TRAFFIC SIGNAL RECONSTRUCTION LOCATION NO. 4	\$410,000.00	\$410,000.00	\$450,000.00	\$450,000.00
816.05	1.000	LS	TRAFFIC SIGNAL RECONSTRUCTION LOCATION NO. 5	\$330,000.00	\$330,000.00	\$365,000.00	\$365,000.00

Bids Open Date: 15 Oct 2025

Project # : 608095

Location : NORTH ANDOVER

District : 4

Description : NORTH ANDOVER- CORRIDOR IMPROVEMENTS ON ROUTE 114, BETWEEN WAVERLY ROAD AND WILLOW/MILL STREET ALBANESE D & S.INC. MCCOURT CONSTRUCTION CO INC Item # Quantity Units Description **Unit Price** Amount **Unit Price** Amount 816.06 1.000 LS TRAFFIC SIGNAL RECONSTRUCTION LOCATION NO. \$475.000.00 \$475.000.00 \$550.000.00 \$550,000,00 6 816.08 1.000 LS TRAFFIC SIGNAL RECONSTRUCTION LOCATION NO. \$350,000,00 \$350,000.00 \$325,000.00 \$325,000.00 8 1.000 816.09 LS TRAFFIC SIGNAL RECONSTRUCTION LOCATION NO. \$400.000.00 \$400.000.00 \$425.000.00 \$425,000.00 816.80 1.000 LS TRAFFIC CONTROL SIGNAL REMOVED AND \$25,000.00 \$25,000.00 \$35,000.00 \$35,000.00 STACKED 823.70 3.000 EΑ HIGHWAY LIGHTING POLE AND LUMINAIRE \$3,300.00 \$9,900.00 \$600.00 \$1,800.00 REMOVED AND RESET 823.71 3.000 FΑ HIGHWAY LIGHTING POLE AND LUMINAIRE \$2.500.00 \$7.500.00 \$1.775.00 \$5,325.00 REMOVED AND STACKED LS RECTANGULAR RAPID-FLASHING BEACONS 824.221 1.000 \$20,000.00 \$20.000.00 \$35.000.00 \$35,000,00 SYSTEM (SOLAR) 825.10 1.000 LS RADAR SPEED DISPLAY SIGN (SOLAR POWERED) \$12,000.00 \$12,000.00 \$20,000.00 \$20,000.00 826.70 10.000 ELECTRIC SERVICE RISER RELOCATED \$41.250.00 EΑ \$4.000.00 \$40.000.00 \$4.125.00 SF 831.11 1.275.000 ROADSIDE GUIDE SIGN (MA-D1-XX) ALUMINUM \$45.00 \$57.375.00 \$45.00 \$57.375.00 PANEL (TYPE A) 832. 2.550.000 SF WARNING-REGULATORY AND ROUTE MARKER -\$18.00 \$45.900.00 \$20.00 \$51,000.00 ALUMINUM PANEL (TYPE A) 841.11 46.000 EΑ SUPPORT FOR GUIDE SIGN (MA-D1-XX) - 5 INCH \$3,000.00 \$138,000.00 \$3,000.00 \$138,000.00 **TUBULAR - STEEL** 847.1 308.000 FΑ SIGN SUP (N/GUIDE)+RTE MKR W/1 BRKWAY POST \$250.00 \$77.000.00 \$250.00 \$77,000.00 ASSEMBLY - STEEL 848.1 24.000 EΑ SIGN SUP (N/GUIDE)+RTE MKR W/2 BRKWAY POST \$450.00 \$10,800.00 \$400.00 \$9,600.00 ASSEMBLIÈS-STEEL 850.41 1,450.000 HR ROADWAY FLAGGER \$100.00 \$145,000.00 \$1.00 \$1,450.00 851.1 1.050.000 DAY TRAFFIC CONES FOR TRAFFIC MANAGEMENT \$1.00 \$1.050.00 \$1.100.00 \$1.155.000.00 852. \$34.000.00 1.700.000 SF SAFETY SIGNING FOR TRAFFIC MANAGEMENT \$35.00 \$59.500.00 \$20.00 852.11 2.000.000 FT TEMPORARY PEDESTRIAN BARRICADE \$40.00 \$80,000.00 \$15.00 \$30.000.00 852.12 20.000 EΑ TEMPORARY PEDESTRIAN CURB RAMP \$1,000.00 \$20,000.00 \$2,500.00 \$50,000.00 853.1 20.000 EΑ PORTABLE BREAKAWAY BARRICADE TYPE III \$200.00 \$4,000.00 \$225.00 \$4,500.00 853.2 400.000 FT TEMPORARY BARRIER (TL-2) \$100.00 \$40,000.00 \$68.00 \$27,200.00

Bids Open Date: 15 Oct 2025

Project # : 608095

Location : NORTH ANDOVER

District :

Description : NORTH ANDOVER- CORRIDOR IMPROVEMENTS ON ROUTE 114, BETWEEN WAVERLY ROAD AND WILLOW/MILL STREET

			•	ALBAI	NESE D & S,INC.	MCCOURT CONSTRUCTION CO INC	
Item #	Quantity	Units	Description	Unit Price	Amount	Unit Price	Amount
853.21	1,200.000	FT	TEMPORARY BARRIER REMOVED AND RESET	\$15.00	\$18,000.00	\$16.00	\$19,200.00
853.33	300.000	FT	TEMPORARY BARRIER - LIMITED DEFLECTION (TL-3)	\$100.00	\$30,000.00	\$120.00	\$36,000.00
853.34	120.000	FT	TEMPORARY BARRIER - LIMITED DEFLECTION (TL- 3) REMOVED AND RESET	\$15.00	\$1,800.00	\$25.00	\$3,000.00
853.403	120.000	DAY	TRUCK MOUNTED ATTENUATOR	\$225.00	\$27,000.00	\$250.00	\$30,000.00
853.8	550.000	DAY	TEMPORARY ILLUMINATION FOR WORK ZONE	\$400.00	\$220,000.00	\$1.00	\$550.00
854.016	106,000.000	FT	TEMPORARY PAVING MARKINGS - 6 INCH (PAINTED)	\$0.50	\$53,000.00	\$0.40	\$42,400.00
854.036	9,000.000	FT	TEMPORARY PAVING MARKINGS - 6 INCH (TAPE)	\$1.75	\$15,750.00	\$3.00	\$27,000.00
854.1	1,000.000	SF	PAVEMENT MARKING REMOVAL	\$3.70	\$3,700.00	\$2.00	\$2,000.00
856.	3,200.000	DAY	ARROW BOARD	\$14.00	\$44,800.00	\$10.00	\$32,000.00
856.12	1,700.000	DAY	PORTABLE CHANGEABLE MESSAGE SIGN	\$28.00	\$47,600.00	\$18.00	\$30,600.00
859.	83,500.000	DAY	REFLECTORIZED DRUM	\$0.30	\$25,050.00	\$0.25	\$20,875.00
859.1	2,100.000	DAY	REFLECTORIZED DRUMS WITH SEQUENTIAL FLASHING WARNING LIGHTS	\$5.00	\$10,500.00	\$1.25	\$2,625.00
864.02	800.000	SF	PAVEMENT ARROW AND LEGENDS - TAPE	\$25.00	\$20,000.00	\$50.00	\$40,000.00
864.04	9,050.000	SF	PAVEMENT ARROWS AND LEGENDS REFLECTORIZED WHITE (THERMOPLASTIC)	\$14.00	\$126,700.00	\$10.00	\$90,500.00
864.41	1,500.000	SF	GREEN COLORIZED PAVEMENT MARKINGS	\$20.00	\$30,000.00	\$13.00	\$19,500.00
866.106	50,000.000	FT	6 INCH REFLECTORIZED WHITE LINE (THERMOPLASTIC)	\$1.80	\$90,000.00	\$1.50	\$75,000.00
866.112	26,600.000	FT	12 INCH REFLECTORIZED WHITE LINE (THERMOPLASTIC)	\$3.75	\$99,750.00	\$5.00	\$133,000.00
867.106	39,500.000	FT	6 INCH REFLECTORIZED YELLOW LINE (THERMOPLASTIC)	\$1.80	\$71,100.00	\$1.50	\$59,250.00
867.112	1,175.000	FT	12 INCH REFLECTORIZED YELLOW LINE (THERMOPLASTIC)	\$3.75	\$4,406.25	\$5.00	\$5,875.00
874.	60.000	EA	STREET NAME SIGN	\$180.00	\$10,800.00	\$450.00	\$27,000.00
874.2	3.000	EA	TRAFFIC SIGN REMOVED AND RESET	\$150.00	\$450.00	\$150.00	\$450.00
874.41	350.000	EA	TRAFFIC SIGN REMOVED AND DISCARDED	\$55.00	\$19,250.00	\$65.00	\$22,750.00
901.	3.000	CY	4000 PSI, 1.5 INCH, 565 CEMENT CONCRETE	\$6,800.00	\$20,400.00	\$3,000.00	\$9,000.00

Bids Open Date: 15 Oct 2025

Project # : 608095

Location : NORTH ANDOVER

District : 4

Description : NORTH ANDOVER- CORRIDOR IMPROVEMENTS ON ROUTE 114, BETWEEN WAVERLY ROAD AND WILLOW/MILL STREET

				ALB	ANESE D & S,INC.	MCCOURT CON	STRUCTION CO INC
Item #	Quantity	Quantity Units Description	Unit Price	Amount	Unit Price	Amount	
903.	350.000	CY	3000 PSI, 1.5 INCH, 470 CEMENT CONCRETE	\$250.00	\$87,500.00	\$400.00	\$140,000.00
904.	105.000	CY	4000 PSI, 3/4 INCH, 610 CEMENT CONCRETE	\$1,400.00	\$147,000.00	\$850.00	\$89,250.00
904.3	860.000	CY	5000 PSI, 3/4 INCH, 685 HP CEMENT CONCRETE	\$1,400.00	\$1,204,000.00	\$1,500.00	\$1,290,000.00
905.2	100.000	CY	5000 PSI, 3/8 INCH, 710 HP CEMENT CONCRETE	\$4,300.00	\$430,000.00	\$4,000.00	\$400,000.00
910.1	40,000.000	LB	STEEL REINFORCEMENT FOR STRUCTURES - EPOXY COATED	\$3.25	\$130,000.00	\$2.50	\$100,000.00
912.	2,780.000	EA	DRILLING AND GROUTING DOWELS	\$40.00	\$111,200.00	\$55.00	\$152,900.00
952.	380,160.000	LB	STEEL SHEETING	\$3.25	\$1,235,520.00	\$3.25	\$1,235,520.00
953.01	1.000	LS	PERMANENT SUPPORT OF EXCAVATION - HEADWALL	\$100,000.00	\$100,000.00	\$25,000.00	\$25,000.00
953.11	1.000	LS	TEMPORARY SUPPORT OF EXCAVATION	\$350,000.00	\$350,000.00	\$625,000.00	\$625,000.00
953.12	1.000	LS	TEMPORARY SUPPORT OF EXCAVATION FOR WALL A	\$100,000.00	\$100,000.00	\$95,000.00	\$95,000.00
953.13	1.000	LS	TEMPORARY SUPPORT OF EXCAVATION FOR WALL B	\$100,000.00	\$100,000.00	\$35,000.00	\$35,000.00
970.	5,710.000	SF	DAMP-PROOFING	\$12.00	\$68,520.00	\$2.75	\$15,702.50
975.5	405.000	FT	ALUMINUM HANDRAIL	\$340.00	\$137,700.00	\$400.00	\$162,000.00
983.35	280.000	CY	STREAMBED MATERIAL REMOVED AND RELAID	\$150.00	\$42,000.00	\$95.00	\$26,600.00
986.2	500.000	CY	MODIFIED ROCKFILL	\$125.00	\$62,500.00	\$150.00	\$75,000.00
986.21	260.000	CY	MODIFIED ROCKFILL WITH GRAVEL PACKED VOIDS	\$125.00	\$32,500.00	\$160.00	\$41,600.00
991.1	1.000	LS	CONTROL OF WATER - STRUCTURE NO. N-15-021 (CBN)	\$249,000.00	\$249,000.00	\$220,000.00	\$220,000.00
995.011	1.000	LS	CULVERT STRUCTURE, CULVERT NO. N-15-021 (CBN)	\$1,350,000.00	\$1,350,000.00	\$475,000.00	\$475,000.00
996.011	1.000	LS	MODULAR BLOCK WALL REMOVED AND REBUILT	\$60,000.00	\$60,000.00	\$95,000.00	\$95,000.00
996.021	1.000	LS	SOLDIER PILE AND LAGGING	\$800,000.00	\$800,000.00	\$1,300,000.00	\$1,300,000.00
				Total :	\$52,736,761.25	Total :	\$52,887,460.70

Bids Open Date: 15 Oct 2025

Project # : 608095

Location : NORTH ANDOVER

District : 4

Description : NORTH ANDOVER- CORRIDOR IMPROVEMENTS ON ROUTE 114, BETWEEN WAVERLY ROAD AND WILLOW/MILL STREET

				BARLETTA HEA	VY DIVISION INC	BALTAZAR CO	BALTAZAR CONTRACTORS INC	
Item #	Quantity	Units	Description	Unit Price	Amount	Unit Price	Amount	
100.71	1.000	LS	MASONRY WORK	\$90,000.00	\$90,000.00	\$320,000.00	\$320,000.00	
100.9	1.000	LS	PRE AND POST CONSTRUCTION SURVEY AND VIBRATION MONITORING	\$60,000.00	\$60,000.00	\$150,000.00	\$150,000.00	
101.	2.500	Α	CLEARING AND GRUBBING	\$70,000.00	\$175,000.00	\$58,000.00	\$145,000.00	
102.2	1.000	LS	TREE TRIMMING	\$45,000.00	\$45,000.00	\$21,000.00	\$21,000.00	
102.3	60.000	HR	HERBICIDE TREATMENT OF INVASIVE PLANTS	\$750.00	\$45,000.00	\$825.00	\$49,500.00	
102.33	16.000	HR	INVASIVE PLANT MANAGEMENT STRATEGY	\$375.00	\$6,000.00	\$420.00	\$6,720.00	
102.513	175.000	FT	AIR EXCAVATION AND ROOT PRUNING	\$52.00	\$9,100.00	\$120.00	\$21,000.00	
102.521	1,500.000	FT	TREE AND PLANT PROTECTION FENCE	\$16.00	\$24,000.00	\$10.00	\$15,000.00	
102.531	12.000	EA	TREE CARE - PRUNING	\$510.00	\$6,120.00	\$750.00	\$9,000.00	
102.533	800.000	GAL	TREE CARE - WATERING	\$6.00	\$4,800.00	\$6.00	\$4,800.00	
102.55	55.000	HR	ARBORIST	\$260.00	\$14,300.00	\$180.00	\$9,900.00	
103.	110.000	EA	TREE REMOVED - DIAMETER UNDER 24 INCHES	\$3,100.00	\$341,000.00	\$2,200.00	\$242,000.00	
104.	35.000	EA	TREE REMOVED - DIAMETER 24 INCHES AND OVER	\$5,000.00	\$175,000.00	\$4,400.00	\$154,000.00	
105.	20.000	EA	STUMP REMOVED	\$300.00	\$6,000.00	\$700.00	\$14,000.00	
112.1	1.000	LS	DEMOLITION OF BUILDING NO. 1	\$90,000.00	\$90,000.00	\$60,000.00	\$60,000.00	
112.2	1.000	LS	DEMOLITION OF BUILDING NO. 2	\$95,000.00	\$95,000.00	\$60,000.00	\$60,000.00	
112.3	1.000	LS	DEMOLITION OF BUILDING NO. 3	\$85,000.00	\$85,000.00	\$60,000.00	\$60,000.00	
112.4	1.000	LS	DEMOLITION OF BUILDING NO. 4	\$50,000.00	\$50,000.00	\$70,000.00	\$70,000.00	
119.	1.000	LS	RODENT CONTROL	\$12,000.00	\$12,000.00	\$20,000.00	\$20,000.00	
120.	26,500.000	CY	EARTH EXCAVATION	\$80.00	\$2,120,000.00	\$60.00	\$1,590,000.00	
121.	50.000	CY	CLASS A ROCK EXCAVATION	\$200.00	\$10,000.00	\$150.00	\$7,500.00	
123.	250.000	CY	MUCK EXCAVATION	\$65.00	\$16,250.00	\$80.00	\$20,000.00	
127.1	900.000	CY	REINFORCED CONCRETE EXCAVATION	\$220.00	\$198,000.00	\$300.00	\$270,000.00	
140.	2,270.000	CY	BRIDGE EXCAVATION	\$95.00	\$215,650.00	\$65.00	\$147,550.00	
141.	800.000	CY	CLASS A TRENCH EXCAVATION	\$55.00	\$44,000.00	\$80.00	\$64,000.00	
141.1	950.000	CY	TEST PIT FOR EXPLORATION	\$250.00	\$237,500.00	\$150.00	\$142,500.00	
141.11	40.000	DAY	TEST PIT FOR EXPLORATION - VACUUM EXCAVATION	\$5,000.00	\$200,000.00	\$3,500.00	\$140,000.00	

Bids Open Date: 15 Oct 2025

Project # : 608095

Location : NORTH ANDOVER

District :

Description : NORTH ANDOVER- CORRIDOR IMPROVEMENTS ON ROUTE 114, BETWEEN WAVERLY ROAD AND WILLOW/MILL STREET

				BARLETTA HEA	VY DIVISION INC	BALTAZAR C	BALTAZAR CONTRACTORS INC	
Item #	Quantity	Units	Description	Unit Price	Amount	Unit Price	Amount	
142.	4,750.000	CY	CLASS B TRENCH EXCAVATION	\$40.00	\$190,000.00	\$20.00	\$95,000.00	
144.	510.000	CY	CLASS B ROCK EXCAVATION	\$160.00	\$81,600.00	\$220.00	\$112,200.00	
145.	5.000	EA	DRAINAGE STRUCTURE ABANDONED	\$1,500.00	\$7,500.00	\$1,000.00	\$5,000.00	
146.	150.000	EA	DRAINAGE STRUCTURE REMOVED	\$2,000.00	\$300,000.00	\$800.00	\$120,000.00	
149.2	1.000	LS	PUBLIC OUTREACH	\$12,500.00	\$12,500.00	\$150,000.00	\$150,000.00	
150.	200.000	CY	ORDINARY BORROW	\$30.00	\$6,000.00	\$70.00	\$14,000.00	
150.1	200.000	CY	SPECIAL BORROW	\$72.00	\$14,400.00	\$80.00	\$16,000.00	
151.	17,250.000	CY	GRAVEL BORROW	\$85.00	\$1,466,250.00	\$70.00	\$1,207,500.00	
151.1	120.000	CY	GRAVEL BORROW FOR BRIDGE FOUNDATION	\$130.00	\$15,600.00	\$100.00	\$12,000.00	
151.2	1,355.000	CY	GRAVEL BORROW FOR BACKFILLING STRUCTURES AND PIPES	\$88.00	\$119,240.00	\$80.00	\$108,400.00	
154.	600.000	CY	SAND BORROW	\$60.00	\$36,000.00	\$65.00	\$39,000.00	
156.	1,250.000	TON	CRUSHED STONE	\$67.00	\$83,750.00	\$60.00	\$75,000.00	
156.1	55.000	TON	CRUSHED STONE FOR BRIDGE FOUNDATIONS	\$64.00	\$3,520.00	\$80.00	\$4,400.00	
156.8	500.000	CY	CRUSHED STONE FOR SUB-BASE	\$62.00	\$31,000.00	\$80.00	\$40,000.00	
160.2	90.000	CY	CONTROLLED LOW-STRENGTH MATERIAL - MECHANICAL EXCAVATABLE (101-300 PSI)	\$200.00	\$18,000.00	\$275.00	\$24,750.00	
170.	61,000.000	SY	FINE GRADING AND COMPACTING - SUBGRADE AREA	\$5.00	\$305,000.00	\$8.00	\$488,000.00	
173.	1,700.000	SY	DECOMPACTION FOR LAWN	\$3.00	\$5,100.00	\$15.00	\$25,500.00	
180.01	1.000	LS	ENVIRONMENTAL HEALTH AND SAFETY PROGRAM	\$6,500.00	\$6,500.00	\$50,000.00	\$50,000.00	
180.02	40.000	HR	PERSONAL PROTECTION LEVEL C UPGRADE	\$50.00	\$2,000.00	\$1.00	\$40.00	
180.03	40.000	HR	LICENSED SITE PROFESSIONAL SERVICES	\$125.00	\$5,000.00	\$125.00	\$5,000.00	
181.11	9,600.000	TON	DISPOSAL OF UNREGULATED SOIL	\$30.00	\$288,000.00	\$33.00	\$316,800.00	
181.12	1,150.000	TON	DISPOSAL OF REGULATED SOIL - IN-STATE FACILITY	\$104.00	\$119,600.00	\$88.00	\$101,200.00	
181.13	575.000	TON	DISPOSAL OF REGULATED SOIL - OUT-OF-STATE FACILITY	\$125.00	\$71,875.00	\$126.00	\$72,450.00	
181.14	115.000	TON	DISPOSAL OF HAZARDOUS WASTE	\$612.00	\$70,380.00	\$490.00	\$56,350.00	
182.1	1.000	LS	INSPECTION AND TESTING FOR ASBESTOS	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	

Bids Open Date: 15 Oct 2025

Project # : 608095

Location : NORTH ANDOVER

District :

Description : NORTH ANDOVER- CORRIDOR IMPROVEMENTS ON ROUTE 114, BETWEEN WAVERLY ROAD AND WILLOW/MILL STREET

				BARLETTA HEA	VY DIVISION INC	BALTAZAR CON	TRACTORS INC
Item #	Quantity	Units	Description	Unit Price	Amount	Unit Price	Amount
182.2	300.000	FT	REMOVAL OF ASBESTOS	\$88.00	\$26,400.00	\$100.00	\$30,000.00
182.3	1.000	LS	ASBESTOS ABATEMENT FOR BUILDING DEMOLITION	\$95,000.00	\$95,000.00	\$100,000.00	\$100,000.00
183.1	10,000.000	GAL	TREATMENT OF CONTAMINATED GROUNDWATER	\$4.00	\$40,000.00	\$5.00	\$50,000.00
183.2	1,000.000	LB	DISPOSAL OF GRANULAR ACTIVATED CARBON	\$5.00	\$5,000.00	\$5.00	\$5,000.00
184.1	10.000	TON	DISPOSAL OF TREATED WOOD PRODUCTS	\$450.00	\$4,500.00	\$450.00	\$4,500.00
188.1	1.000	LS	TESTING OF PCB BALLASTS	\$1,000.00	\$1,000.00	\$4,000.00	\$4,000.00
188.2	1.000	LS	DISPOSAL OF PCB BALLASTS	\$6,000.00	\$6,000.00	\$6,000.00	\$6,000.00
188.3	50.000	EA	DISPOSAL OF MERCURY CONTAINING LAMPS	\$8.00	\$400.00	\$60.00	\$3,000.00
192.6	3.000	EA	MONITORING WELL ADJUSTED	\$500.00	\$1,500.00	\$750.00	\$2,250.00
201.	235.000	EA	CATCH BASIN	\$8,500.00	\$1,997,500.00	\$5,400.00	\$1,269,000.00
201.3	4.000	EA	SPECIAL CATCH BASIN	\$10,500.00	\$42,000.00	\$8,500.00	\$34,000.00
202.	115.000	EA	MANHOLE	\$7,500.00	\$862,500.00	\$5,300.00	\$609,500.00
202.05	32.000	EA	MANHOLE 5 FEET ID	\$8,500.00	\$272,000.00	\$7,025.00	\$224,800.00
202.06	12.000	EA	MANHOLE 6 FEET ID	\$17,000.00	\$204,000.00	\$8,500.00	\$102,000.00
202.07	2.000	EA	MANHOLE 7 FEET ID	\$20,000.00	\$40,000.00	\$15,000.00	\$30,000.00
202.2	4.000	EA	MANHOLE (9 TO 14 FOOT DEPTH)	\$14,000.00	\$56,000.00	\$8,000.00	\$32,000.00
202.205	4.000	EA	MANHOLE (9 TO 14 FOOT DEPTH) 5 FEET ID	\$14,000.00	\$56,000.00	\$9,300.00	\$37,200.00
202.65	1.000	LS	OUTLET CONTROL STRUCTURE	\$21,000.00	\$21,000.00	\$30,000.00	\$30,000.00
203.2	1.000	EA	CURB COVER AND FRAME	\$6,000.00	\$6,000.00	\$15,000.00	\$15,000.00
203.31	6.000	EA	DOGHOUSE MANHOLE	\$10,000.00	\$60,000.00	\$8,000.00	\$48,000.00
203.35	2.000	EA	DOGHOUSE MANHOLE 5 FEET ID	\$15,000.00	\$30,000.00	\$9,300.00	\$18,600.00
204.	32.000	EA	GUTTER INLET	\$3,900.00	\$124,800.00	\$2,800.00	\$89,600.00
209.1	8.000	EA	DROP INLET, TYPE DF	\$15,000.00	\$120,000.00	\$7,000.00	\$56,000.00
210.1	2.000	EA	SANITARY SEWER MANHOLE MUNICIPAL STANDARD	\$11,000.00	\$22,000.00	\$7,300.00	\$14,600.00
211.31	2.000	EA	SANITARY SEWER DOGHOUSE MANHOLE	\$10,000.00	\$20,000.00	\$8,400.00	\$16,800.00
220.	480.000	EA	DRAINAGE STRUCTURE ADJUSTED	\$750.00	\$360,000.00	\$640.00	\$307,200.00
220.2	25.000	FT	DRAINAGE STRUCTURE REBUILT	\$800.00	\$20,000.00	\$800.00	\$20,000.00

Bids Open Date: 15 Oct 2025

Project # : 608095

Location : NORTH ANDOVER

District :

Description : NORTH ANDOVER- CORRIDOR IMPROVEMENTS ON ROUTE 114, BETWEEN WAVERLY ROAD AND WILLOW/MILL STREET

				BARLETTA HEA	VY DIVISION INC	BALTAZAR CON	TRACTORS INC
Item #	Quantity	Units	Description	Unit Price	Amount	Unit Price	Amount
220.3	12.000	EA	DRAINAGE STRUCTURE CHANGE IN TYPE	\$2,500.00	\$30,000.00	\$1,500.00	\$18,000.00
220.5	13.000	EA	DRAINAGE STRUCTURE REMODELED	\$1,200.00	\$15,600.00	\$1,000.00	\$13,000.00
220.6	25.000	FT	SANITARY STRUCTURE REBUILT	\$1,000.00	\$25,000.00	\$800.00	\$20,000.00
220.7	65.000	EA	SANITARY STRUCTURE ADJUSTED	\$620.00	\$40,300.00	\$640.00	\$41,600.00
220.8	9.000	EA	SANITARY STRUCTURE REMODELED	\$1,000.00	\$9,000.00	\$1,000.00	\$9,000.00
221.	295.000	EA	FRAME AND COVER	\$2,200.00	\$649,000.00	\$1,200.00	\$354,000.00
221.1	1.000	EA	FRAME AND COVER - SECURED	\$2,400.00	\$2,400.00	\$1,500.00	\$1,500.00
222.1	220.000	EA	FRAME AND GRATE - MASSDOT CASCADE TYPE	\$2,250.00	\$495,000.00	\$1,350.00	\$297,000.00
222.2	8.000	EA	FRAME AND GRATE - MASSDOT DROP INLET	\$2,100.00	\$16,800.00	\$1,200.00	\$9,600.00
222.3	2.000	EA	FRAME AND GRATE (OR COVER) MUNICIPAL STANDARD	\$2,100.00	\$4,200.00	\$1,200.00	\$2,400.00
223.2	260.000	EA	FRAME AND GRATE (OR COVER) REMOVED AND DISCARDED	\$190.00	\$49,400.00	\$100.00	\$26,000.00
224.10	35.000	EA	10 INCH HOOD	\$450.00	\$15,750.00	\$660.00	\$23,100.00
224.12	154.000	EA	12 INCH HOOD	\$500.00	\$77,000.00	\$660.00	\$101,640.00
227.3	200.000	CY	REMOVAL OF DRAINAGE STRUCTURE SEDIMENT	\$300.00	\$60,000.00	\$350.00	\$70,000.00
227.31	3,500.000	FT	REMOVAL OF DRAINAGE PIPE SEDIMENT	\$9.00	\$31,500.00	\$10.00	\$35,000.00
227.4	110.000	SF	MASONRY PLUG	\$125.00	\$13,750.00	\$100.00	\$11,000.00
238.10	720.000	FT	10 INCH DUCTILE IRON PIPE	\$325.00	\$234,000.00	\$146.00	\$105,120.00
238.12	750.000	FT	12 INCH DUCTILE IRON PIPE	\$200.00	\$150,000.00	\$161.00	\$120,750.00
238.18	410.000	FT	18 INCH DUCTILE IRON PIPE	\$360.00	\$147,600.00	\$217.00	\$88,970.00
238.30	35.000	FT	30 INCH DUCTILE IRON PIPE	\$900.00	\$31,500.00	\$400.00	\$14,000.00
241.12	6,750.000	FT	12 INCH REINFORCED CONCRETE PIPE	\$285.00	\$1,923,750.00	\$105.00	\$708,750.00
241.15	3,625.000	FT	15 INCH REINFORCED CONCRETE PIPE	\$295.00	\$1,069,375.00	\$110.00	\$398,750.00
241.18	1,100.000	FT	18 INCH REINFORCED CONCRETE PIPE	\$300.00	\$330,000.00	\$122.00	\$134,200.00
241.24	3,420.000	FT	24 INCH REINFORCED CONCRETE PIPE	\$400.00	\$1,368,000.00	\$145.00	\$495,900.00
241.30	1,230.000	FT	30 INCH REINFORCED CONCRETE PIPE	\$402.00	\$494,460.00	\$175.00	\$215,250.00
241.36	90.000	FT	36 INCH REINFORCED CONCRETE PIPE	\$525.00	\$47,250.00	\$210.00	\$18,900.00

Bids Open Date: 15 Oct 2025

Project # : 608095

Location : NORTH ANDOVER

District :

Description : NORTH ANDOVER- CORRIDOR IMPROVEMENTS ON ROUTE 114, BETWEEN WAVERLY ROAD AND WILLOW/MILL STREET

				BARLETTA HEA	VY DIVISION INC	BALTAZAR CON	TRACTORS INC
Item #	Quantity	Units	Description	Unit Price	Amount	Unit Price	Amount
242.12	2.000	EA	12 INCH REINFORCED CONCRETE PIPE FLARED END	\$1,100.00	\$2,200.00	\$1,600.00	\$3,200.00
242.15	1.000	EA	15 INCH REINFORCED CONCRETE PIPE FLARED END	\$1,200.00	\$1,200.00	\$1,800.00	\$1,800.00
244.12	510.000	FT	12 INCH REINFORCED CONCRETE PIPE CLASS V	\$325.00	\$165,750.00	\$106.00	\$54,060.00
244.15	115.000	FT	15 INCH REINFORCED CONCRETE PIPE CLASS V	\$330.00	\$37,950.00	\$110.00	\$12,650.00
244.18	190.000	FT	18 INCH REINFORCED CONCRETE PIPE CLASS V	\$335.00	\$63,650.00	\$125.00	\$23,750.00
244.24	420.000	FT	24 INCH REINFORCED CONCRETE PIPE CLASS V	\$425.00	\$178,500.00	\$147.00	\$61,740.00
244.30	700.000	FT	30 INCH REINFORCED CONCRETE PIPE CLASS V	\$432.00	\$302,400.00	\$182.00	\$127,400.00
244.36	10.000	FT	36 INCH REINFORCED CONCRETE PIPE CLASS V	\$720.00	\$7,200.00	\$226.00	\$2,260.00
248.001	100.000	FT	SEWER SERVICE RELOCATION	\$500.00	\$50,000.00	\$250.00	\$25,000.00
249.001	1.000	LS	SANITARY SEWER BYPASS PUMPING	\$425,000.00	\$425,000.00	\$500,000.00	\$500,000.00
250.06	130.000	FT	6 INCH POLYVINYL CHLORIDE SANITARY SEWER PIPE	\$250.00	\$32,500.00	\$360.00	\$46,800.00
250.08	70.000	FT	8 INCH POLYVINYL CHLORIDE SANITARY SEWER PIPE	\$255.00	\$17,850.00	\$220.00	\$15,400.00
250.506	1,600.000	FT	6 INCH DUCTILE IRON SEWER PIPE	\$295.00	\$472,000.00	\$158.00	\$252,800.00
250.510	100.000	FT	10 INCH DUCTILE IRON SEWER PIPE	\$385.00	\$38,500.00	\$200.00	\$20,000.00
258.	20.000	SY	STONE FOR PIPE ENDS	\$115.00	\$2,300.00	\$100.00	\$2,000.00
269.06	120.000	FT	6 INCH SLOT-PERFORATED CORRUGATED PLASTIC PIPE (SUBDRAIN)	\$20.00	\$2,400.00	\$100.00	\$12,000.00
272.12	3,350.000	FT	12 INCH AND UNDER PIPE REMOVED AND DISCARDED	\$24.00	\$80,400.00	\$120.00	\$402,000.00
272.15	1,275.000	FT	15 INCH PIPE REMOVED AND DISCARDED	\$25.00	\$31,875.00	\$120.00	\$153,000.00
272.18	150.000	FT	18 INCH PIPE REMOVED AND DISCARDED	\$30.00	\$4,500.00	\$120.00	\$18,000.00
272.24	1,275.000	FT	24 INCH PIPE REMOVED AND DISCARDED	\$32.00	\$40,800.00	\$120.00	\$153,000.00
284.514	640.000	TON	DUMPED STONE DRAINAGE CHANNEL	\$100.00	\$64,000.00	\$110.00	\$70,400.00
292.1	25.000	FT	TRENCH DRAIN	\$1,000.00	\$25,000.00	\$1,500.00	\$37,500.00
295.01	1.000	LS	BIORETENTION AREA	\$125,000.00	\$125,000.00	\$150,000.00	\$150,000.00
295.02	1.000	LS	INFILTRATION BASIN	\$325,000.00	\$325,000.00	\$250,000.00	\$250,000.00

Bids Open Date: 15 Oct 2025

Project # : 608095

Location : NORTH ANDOVER

District : 4

Description : NORTH ANDOVER- CORRIDOR IMPROVEMENTS ON ROUTE 114, BETWEEN WAVERLY ROAD AND WILLOW/MILL STREET

				BARLETTA HEAVY DIVISION INC		BALTAZAR CONTRACTORS INC	
Item #	Quantity	Units	Description	Unit Price	Amount	Unit Price	Amount
302.06	400.000	FT	6 INCH DUCTILE IRON WATER PIPE (RUBBER GASKET)	\$500.00	\$200,000.00	\$215.00	\$86,000.00
302.08	30.000	FT	8 INCH DUCTILE IRON WATER PIPE (RUBBER GASKET)	\$525.00	\$15,750.00	\$335.00	\$10,050.00
302.10	10.000	FT	10 INCH DUCTILE IRON WATER PIPE (RUBBER GASKET)	\$550.00	\$5,500.00	\$350.00	\$3,500.00
302.12	735.000	FT	12 INCH DUCTILE IRON WATER PIPE (RUBBER GASKET)	\$600.00	\$441,000.00	\$500.00	\$367,500.00
309.	29,000.000	LB	DUCTILE IRON FITTINGS FOR WATER PIPE	\$6.00	\$174,000.00	\$1.00	\$29,000.00
326.06	10.000	FT	6 INCH STEEL PIPE CASING	\$250.00	\$2,500.00	\$500.00	\$5,000.00
326.10	15.000	FT	10 INCH STEEL PIPE CASING	\$250.00	\$3,750.00	\$500.00	\$7,500.00
326.12	45.000	FT	12 INCH STEEL PIPE CASING	\$250.00	\$11,250.00	\$550.00	\$24,750.00
326.16	75.000	FT	16 INCH STEEL PIPE CASING	\$275.00	\$20,625.00	\$600.00	\$45,000.00
326.18	45.000	FT	18 INCH STEEL PIPE CASING	\$300.00	\$13,500.00	\$650.00	\$29,250.00
326.20	35.000	FT	20 INCH STEEL PIPE CASING	\$450.00	\$15,750.00	\$650.00	\$22,750.00
326.24	5.000	FT	24 INCH STEEL PIPE CASING	\$495.00	\$2,475.00	\$750.00	\$3,750.00
326.34	5.000	FT	34 INCH STEEL PIPE CASING	\$995.00	\$4,975.00	\$1,000.00	\$5,000.00
347.1	280.000	FT	1 INCH COPPER TUBING TYPE K	\$205.00	\$57,400.00	\$143.00	\$40,040.00
347.15	50.000	FT	1-1/2 INCH COPPER TUBING TYPE K	\$208.00	\$10,400.00	\$155.00	\$7,750.00
347.2	50.000	FT	2 INCH COPPER TUBING TYPE K	\$210.00	\$10,500.00	\$170.00	\$8,500.00
350.06	10.000	EA	6 INCH GATE AND GATE BOX	\$2,000.00	\$20,000.00	\$2,300.00	\$23,000.00
350.12	2.000	EA	12 INCH GATE AND GATE BOX	\$5,000.00	\$10,000.00	\$5,200.00	\$10,400.00
357.06	2.000	EA	6 INCH GATE BOX	\$400.00	\$800.00	\$650.00	\$1,300.00
358.	85.000	EA	GATE BOX ADJUSTED	\$130.00	\$11,050.00	\$385.00	\$32,725.00
358.1	10.000	EA	GATE BOX REMOVED AND STACKED	\$150.00	\$1,500.00	\$400.00	\$4,000.00
363.1	20.000	EA	1 INCH CORPORATION COCK	\$225.00	\$4,500.00	\$510.00	\$10,200.00
363.15	3.000	EA	1-1/2 INCH CORPORATION COCK	\$375.00	\$1,125.00	\$650.00	\$1,950.00
363.2	7.000	EA	2 INCH CORPORATION COCK	\$500.00	\$3,500.00	\$800.00	\$5,600.00
367.06	7.000	EA	6 INCH CAST IRON PLUG	\$350.00	\$2,450.00	\$800.00	\$5,600.00
371.06	5.000	EA	6 INCH COUPLING	\$500.00	\$2,500.00	\$650.00	\$3,250.00

Bids Open Date: 15 Oct 2025

Project # : 608095

Location : NORTH ANDOVER

District : 4

Description : NORTH ANDOVER- CORRIDOR IMPROVEMENTS ON ROUTE 114, BETWEEN WAVERLY ROAD AND WILLOW/MILL STREET

				BARLETTA HEA	VY DIVISION INC	BALTAZAR C	BALTAZAR CONTRACTORS INC	
Item #	Quantity	Units	Description	Unit Price	Amount	Unit Price	Amount	
375.12	7.000	EA	12 INCH INSERTION VALVE AND BOX	\$17,000.00	\$119,000.00	\$27,000.00	\$189,000.00	
376.	8.000	EA	HYDRANT	\$7,500.00	\$60,000.00	\$6,500.00	\$52,000.00	
376.2	11.000	EA	HYDRANT - REMOVED AND RESET	\$2,500.00	\$27,500.00	\$6,000.00	\$66,000.00	
376.3	6.000	EA	HYDRANT - REMOVED AND STACKED	\$750.00	\$4,500.00	\$3,000.00	\$18,000.00	
376.5	3.000	EA	HYDRANT - ADJUSTED	\$1,350.00	\$4,050.00	\$3,000.00	\$9,000.00	
381.	20.000	EA	SERVICE BOX	\$325.00	\$6,500.00	\$500.00	\$10,000.00	
381.3	10.000	EA	SERVICE BOX ADJUSTED	\$100.00	\$1,000.00	\$500.00	\$5,000.00	
384.	20.000	EA	CURB STOP	\$425.00	\$8,500.00	\$625.00	\$12,500.00	
385.3	1.000	EA	MONITORING WELL TRAFFIC CASTING	\$1,250.00	\$1,250.00	\$3,000.00	\$3,000.00	
390.01	75.000	FT	SPRINKLER SYSTEM COMPONENTS - REMOVED AND STACKED	\$30.00	\$2,250.00	\$60.00	\$4,500.00	
402.	2,580.000	CY	DENSE GRADED CRUSHED STONE FOR SUB-BASE	\$101.00	\$260,580.00	\$110.00	\$283,800.00	
415.1	91,200.000	SY	PAVEMENT STANDARD MILLING	\$8.00	\$729,600.00	\$10.00	\$912,000.00	
431.	1,800.000	SY	HIGH EARLY STRENGTH CEMENT CONCRETE BASE COURSE	\$90.00	\$162,000.00	\$85.00	\$153,000.00	
440.	64,000.000	LB	CALCIUM CHLORIDE FOR ROADWAY DUST CONTROL	\$0.75	\$48,000.00	\$0.50	\$32,000.00	
443.	125.000	MGL	WATER FOR ROADWAY DUST CONTROL	\$425.00	\$53,125.00	\$100.00	\$12,500.00	
450.22	850.000	TON	SUPERPAVE SURFACE COURSE – 9.5 (SSC – 9.5)	\$210.00	\$178,500.00	\$235.00	\$199,750.00	
450.23	1,425.000	TON	SUPERPAVE SURFACE COURSE - 12.5 (SSC - 12.5)	\$212.00	\$302,100.00	\$235.00	\$334,875.00	
450.231	12,625.000	TON	SUPERPAVE SURFACE COURSE - 12.5 POLYMER (SSC - 12.5 - P)	\$165.00	\$2,083,125.00	\$178.00	\$2,247,250.00	
450.32	15,525.000	TON	SUPERPAVE INTERMEDIATE COURSE - 19.0 (SIC - 19.0)	\$165.00	\$2,561,625.00	\$158.00	\$2,452,950.00	
450.42	4,375.000	TON	SUPERPAVE BASE COURSE - 37.5 (SBC - 37.5)	\$175.00	\$765,625.00	\$198.00	\$866,250.00	
450.53	5,640.000	TON	SUPERPAVE LEVELING COURSE - 12.5 (SLC - 12.5)	\$165.00	\$930,600.00	\$259.00	\$1,460,760.00	
451.	2,500.000	TON	HMA FOR PATCHING	\$275.00	\$687,500.00	\$250.00	\$625,000.00	
452.	19,000.000	GAL	ASPHALT EMULSION FOR TACK COAT	\$12.00	\$228,000.00	\$13.50	\$256,500.00	
453.	65,500.000	FT	HMA JOINT ADHESIVE	\$2.50	\$163,750.00	\$3.00	\$196,500.00	
470.2	350.000	FT	HOT MIX ASPHALT BERM, TYPE A - MODIFIED	\$52.00	\$18,200.00	\$40.00	\$14,000.00	

Bids Open Date: 15 Oct 2025

Project # : 608095

Location : NORTH ANDOVER

District :

Description : NORTH ANDOVER- CORRIDOR IMPROVEMENTS ON ROUTE 114, BETWEEN WAVERLY ROAD AND WILLOW/MILL STREET

				BARLETTA HEA	AVY DIVISION INC	BALTAZAR C	ONTRACTORS INC
Item #	Quantity	Units	Description	Unit Price	Amount	Unit Price	Amount
472.	1,000.000	TON	TEMPORARY ASPHALT PATCHING	\$285.00	\$285,000.00	\$250.00	\$250,000.00
476.11	2,600.000	SY	CEMENT CONCRETE PAVEMENT - STAMPED	\$205.00	\$533,000.00	\$285.00	\$741,000.00
477.2	1,400.000	FT	MILLED RUMBLE STRIP (TYPE C)	\$4.00	\$5,600.00	\$15.00	\$21,000.00
482.3	135.000	FT	SAWCUTTING ASPHALT PAVEMENT	\$5.00	\$675.00	\$10.00	\$1,350.00
482.5	25,100.000	FT	SAWCUTTING ASPHALT PAVEMENT FOR BOX WIDENING	\$3.00	\$75,300.00	\$2.50	\$62,750.00
485.3	10.000	SY	SCORED CEMENT CONCRETE PAVEMENT	\$148.00	\$1,480.00	\$300.00	\$3,000.00
503.	250.000	FT	GRANITE CURB TYPE VA3 - STRAIGHT	\$53.00	\$13,250.00	\$58.00	\$14,500.00
503.1	75.000	FT	GRANITE CURB TYPE VA3 - CURVED	\$62.00	\$4,650.00	\$70.00	\$5,250.00
504.2	20.000	EA	GRANITE CURB TYPE VA4 - SPLAYED END	\$335.00	\$6,700.00	\$500.00	\$10,000.00
506.	25,250.000	FT	GRANITE CURB TYPE VB - STRAIGHT	\$50.00	\$1,262,500.00	\$49.00	\$1,237,250.00
506.1	3,900.000	FT	GRANITE CURB TYPE VB - CURVED	\$54.00	\$210,600.00	\$59.00	\$230,100.00
509.	1,250.000	FT	GRANITE TRANSITION CURB FOR PEDESTRIAN CURB RAMPS - STRAIGHT	\$54.00	\$67,500.00	\$59.00	\$73,750.00
509.1	1,500.000	FT	GRANITE TRANSITION CURB FOR PEDESTRIAN CURB RAMPS - CURVED	\$59.00	\$88,500.00	\$63.00	\$94,500.00
514.	140.000	EA	GRANITE CURB INLET - STRAIGHT	\$452.00	\$63,280.00	\$465.00	\$65,100.00
515.	14.000	EA	GRANITE CURB INLET - CURVED	\$549.00	\$7,686.00	\$600.00	\$8,400.00
517.01	5.000	EA	GRANITE CURB CORNER - TYPE C	\$367.00	\$1,835.00	\$400.00	\$2,000.00
520.	50.000	FT	CONCRETE CURB TYPE VA	\$52.00	\$2,600.00	\$60.00	\$3,000.00
570.2	40.000	FT	HOT MIX ASPHALT CURB TYPE 2	\$51.00	\$2,040.00	\$65.00	\$2,600.00
580.	7,200.000	FT	CURB REMOVED AND RESET	\$40.00	\$288,000.00	\$40.00	\$288,000.00
581.	20.000	EA	CURB INLET REMOVED AND RESET	\$208.00	\$4,160.00	\$500.00	\$10,000.00
594.	6,000.000	FT	CURB REMOVED AND DISCARDED	\$3.00	\$18,000.00	\$4.00	\$24,000.00
595.	14.000	EA	CURB INLET REMOVED AND DISCARDED	\$50.00	\$700.00	\$100.00	\$1,400.00
596.	14.000	EA	CURB CORNER REMOVED AND DISCARDED	\$40.00	\$560.00	\$100.00	\$1,400.00
597.	18,100.000	FT	EDGING REMOVED AND DISCARDED	\$2.00	\$36,200.00	\$4.00	\$72,400.00
601.2	50.000	FT	TIMBER GUARDRAIL	\$95.00	\$4,750.00	\$115.00	\$5,750.00
620.12	1,375.000	FT	GUARDRAIL, TL-2 (SINGLE FACED)	\$32.00	\$44,000.00	\$39.00	\$53,625.00

Bids Open Date: 15 Oct 2025

Project # : 608095

Location : NORTH ANDOVER

District :

Description : NORTH ANDOVER- CORRIDOR IMPROVEMENTS ON ROUTE 114, BETWEEN WAVERLY ROAD AND WILLOW/MILL STREET

				BARLETTA HEA	VY DIVISION INC	BALTAZAR (CONTRACTORS INC
Item #	Quantity	Units	Description	Unit Price	Amount	Unit Price	Amount
627.1	9.000	EA	TRAILING ANCHORAGE	\$3,000.00	\$27,000.00	\$4,000.00	\$36,000.00
627.82	9.000	EA	GUARDRAIL TANGENT END TREATMENT, TL-2	\$4,900.00	\$44,100.00	\$6,000.00	\$54,000.00
628.304	2.000	EA	TEMPORARY IMPACT ATTENUATOR, NON- REDIRECTIVE, TL-2	\$7,000.00	\$14,000.00	\$11,000.00	\$22,000.00
628.314	4.000	EA	TEMPORARY IMPACT ATTENUATOR, REDIRECTIVE, TL-2	\$6,500.00	\$26,000.00	\$13,500.00	\$54,000.00
628.4	8.000	EA	TEMPORARY IMPACT ATTENUATOR, REMOVED AND RESET	\$2,000.00	\$16,000.00	\$3,000.00	\$24,000.00
630.	15.000	FT	HIGHWAY GUARD REMOVED AND RESET	\$22.00	\$330.00	\$60.00	\$900.00
630.2	2,100.000	FT	HIGHWAY GUARD REMOVED AND DISCARDED	\$7.00	\$14,700.00	\$7.00	\$14,700.00
632.	2.000	EA	GUARDRAIL POST - STEEL	\$150.00	\$300.00	\$180.00	\$360.00
634.	1.000	EA	W BEAM GUARD PANEL	\$280.00	\$280.00	\$350.00	\$350.00
645.148	1,400.000	FT	48 INCH CHAIN LINK FENCE (PIPE TOP RAIL) VINYL COATED (LINE POST OPTION)	\$42.00	\$58,800.00	\$51.00	\$71,400.00
652.048	12.000	EA	48 INCH CHAIN LINK FENCE END POST	\$235.00	\$2,820.00	\$285.00	\$3,420.00
655.01	675.000	FT	TIMBER RAIL FENCE - TWO RAIL	\$95.00	\$64,125.00	\$113.00	\$76,275.00
655.21	100.000	FT	HAND RAIL REMOVED AND STACKED	\$20.00	\$2,000.00	\$30.00	\$3,000.00
660.1	125.000	FT	METAL PIPE RAIL REMOVED AND STACKED	\$22.00	\$2,750.00	\$30.00	\$3,750.00
660.25	15.000	FT	STEEL HANDRAIL	\$150.00	\$2,250.00	\$500.00	\$7,500.00
666.	30.000	FT	CHAIN LINK FENCE REMOVED AND RESET	\$46.00	\$1,380.00	\$57.00	\$1,710.00
669.	1,300.000	FT	FENCE REMOVED AND STACKED	\$10.00	\$13,000.00	\$12.00	\$15,600.00
671.	3.000	EA	FENCE GATE AND GATE POSTS REMOVED AND STACKED	\$690.00	\$2,070.00	\$800.00	\$2,400.00
685.	190.000	CY	STONE MASONRY WALL IN CEMENT MORTAR	\$1,400.00	\$266,000.00	\$1,800.00	\$342,000.00
686.1	6,300.000	SF	STONE VENEER FOR CEMENT CONCRETE WALL	\$102.00	\$642,600.00	\$80.00	\$504,000.00
690.	15.000	CY	STONE MASONRY WALL REMOVED AND REBUILT IN CEMENT MORTAR	\$1,325.00	\$19,875.00	\$2,500.00	\$37,500.00
690.2	480.000	CY	STONE MASONRY WALL WITH PARAPET REMOVAL	\$75.00	\$36,000.00	\$2,300.00	\$1,104,000.00
691.01	150.000	FT	BALANCE STONE WALL REMOVED AND REBUILT DRY	\$225.00	\$33,750.00	\$300.00	\$45,000.00
691.1	2,700.000	FT	BALANCE STONE WALL REMOVED AND STACKED	\$6.00	\$16,200.00	\$60.00	\$162,000.00

Bids Open Date: 15 Oct 2025

Project # : 608095

Location : NORTH ANDOVER

District :

Description : NORTH ANDOVER- CORRIDOR IMPROVEMENTS ON ROUTE 114, BETWEEN WAVERLY ROAD AND WILLOW/MILL STREET

				BARLETTA HEA	AVY DIVISION INC	BALTAZAR (CONTRACTORS INC
Item #	Quantity	Units	Description	Unit Price	Amount	Unit Price	Amount
691.2	14.000	EA	LANDSCAPE BOULDER REMOVED AND STACKED	\$300.00	\$4,200.00	\$600.00	\$8,400.00
692.1	10.000	CY	GRANITE BLOCK WALL REMOVED AND STACKED	\$350.00	\$3,500.00	\$500.00	\$5,000.00
693.3	1.000	EA	BRICK PILLAR REMOVED AND REBUILT	\$25,000.00	\$25,000.00	\$30,000.00	\$30,000.00
693.5	70.000	FT	LANDSCAPE TIE WALLS REMOVED AND STACKED	\$15.00	\$1,050.00	\$50.00	\$3,500.00
697.1	240.000	EA	SILT SACK	\$205.00	\$49,200.00	\$180.00	\$43,200.00
698.3	1,175.000	SY	GEOTEXTILE FABRIC FOR SEPARATION	\$6.00	\$7,050.00	\$10.00	\$11,750.00
698.4	640.000	SY	GEOTEXTILE FABRIC FOR PERMANENT EROSION CONTROL	\$7.00	\$4,480.00	\$10.00	\$6,400.00
701.	8,100.000	SY	CEMENT CONCRETE SIDEWALK	\$65.00	\$526,500.00	\$76.00	\$615,600.00
701.1	1,200.000	SY	CEMENT CONCRETE SIDEWALK AT DRIVEWAYS	\$76.00	\$91,200.00	\$96.00	\$115,200.00
701.2	2,925.000	SY	CEMENT CONCRETE PEDESTRIAN CURB RAMP	\$110.00	\$321,750.00	\$133.00	\$389,025.00
702.	2,150.000	TON	HOT MIX ASPHALT SIDEWALK OR DRIVEWAY	\$295.00	\$634,250.00	\$320.00	\$688,000.00
705.1	5.000	SY	FLAGSTONE WALK REMOVED AND RESET	\$435.00	\$2,175.00	\$600.00	\$3,000.00
706.7	750.000	SF	CONCRETE PAVER FOR SEDIMENT FOREBAY	\$55.00	\$41,250.00	\$50.00	\$37,500.00
707.21	1.000	EA	TRASH RECEPTACLE REMOVED AND RESET	\$500.00	\$500.00	\$2,000.00	\$2,000.00
710.3	80.000	EA	BOUND - LETTERED GRANITE	\$1,350.00	\$108,000.00	\$700.00	\$56,000.00
710.4	50.000	EA	BOUND - PLAIN GRANITE	\$900.00	\$45,000.00	\$650.00	\$32,500.00
711.	15.000	EA	BOUND REMOVED AND RESET	\$895.00	\$13,425.00	\$900.00	\$13,500.00
712.	5.000	EA	BOUND REMOVED AND STACKED	\$125.00	\$625.00	\$400.00	\$2,000.00
715.	35.000	EA	RURAL MAIL BOX REMOVED AND RESET	\$325.00	\$11,375.00	\$300.00	\$10,500.00
715.01	4.000	EA	RURAL MAIL BOX REMOVED AND DISCARDED	\$100.00	\$400.00	\$250.00	\$1,000.00
722.1	1.000	LS	SCHEDULE OF OPERATIONS (TYPE A) - FIXED PRICE \$175,000	\$175,000.00	\$175,000.00	\$175,000.00	\$175,000.00
740.	60.000	МО	ENGINEERS FIELD OFFICE AND EQUIPMENT (TYPE A)	\$5,500.00	\$330,000.00	\$5,000.00	\$300,000.00
748.	1.000	LS	MOBILIZATION	\$1,650,000.00	\$1,650,000.00	\$1,600,000.00	\$1,600,000.00
751.1	3,750.000	CY	LOAM FOR LAWNS	\$90.00	\$337,500.00	\$80.00	\$300,000.00
751.7	190.000	CY	COMPOST BLANKET	\$97.00	\$18,430.00	\$240.00	\$45,600.00
755.35	1.000	LS	INLAND WETLAND REPLICATION AREA	\$150,000.00	\$150,000.00	\$100,000.00	\$100,000.00

Bids Open Date: 15 Oct 2025

Project # : 608095

Location : NORTH ANDOVER

District :

Description : NORTH ANDOVER- CORRIDOR IMPROVEMENTS ON ROUTE 114, BETWEEN WAVERLY ROAD AND WILLOW/MILL STREET

				BARLETTA HEAV	/Y DIVISION INC	BALTAZAR CONTRACTORS INC	
Item #	Quantity	Units	Description	Unit Price	Amount	Unit Price	Amount
755.45	105.000	SY	WETLAND RESTORATION	\$200.00	\$21,000.00	\$150.00	\$15,750.00
755.55	1.000	LS	COMPENSATORY FLOOD STORAGE AREA	\$15,000.00	\$15,000.00	\$30,000.00	\$30,000.00
755.75	140.000	HR	WETLAND SPECIALIST	\$200.00	\$28,000.00	\$220.00	\$30,800.00
755.76	1.000	LS	WETLANDS MONITORING REPORTS	\$20,000.00	\$20,000.00	\$10,000.00	\$10,000.00
756.	1.000	LS	NPDES STORMWATER POLLUTION PREVENTION PLAN	\$8,000.00	\$8,000.00	\$100,000.00	\$100,000.00
765.	34,000.000	SY	SEEDING	\$4.00	\$136,000.00	\$2.80	\$95,200.00
765.21	27.000	LB	ANNUAL COVER CROP FOR NATIVE SEEDING	\$307.00	\$8,289.00	\$250.00	\$6,750.00
765.415	25.000	LB	SEED - NATIVE SHORT GRASSLAND MIX	\$575.00	\$14,375.00	\$230.00	\$5,750.00
765.554	12.000	LB	WETLAND SEED - SEASONALLY FLOODED MIX	\$575.00	\$6,900.00	\$300.00	\$3,600.00
765.635	5,800.000	SY	NATIVE SEEDING AND ESTABLISHMENT	\$4.50	\$26,100.00	\$3.00	\$17,400.00
767.121	5,175.000	FT	SEDIMENT CONTROL BARRIER	\$11.00	\$56,925.00	\$6.00	\$31,050.00
767.6	60.000	CY	AGED PINE BARK MULCH	\$92.00	\$5,520.00	\$200.00	\$12,000.00
767.9	800.000	SY	JUTE MESH	\$8.00	\$6,400.00	\$9.00	\$7,200.00
769.	1,650.000	FT	PAVEMENT MILLING MULCH UNDER GUARD RAIL	\$11.00	\$18,150.00	\$14.00	\$23,100.00
774.51	7.000	EA	ELM - 'PRINCETON' 2-2.5 INCH CALIPER	\$895.00	\$6,265.00	\$1,210.00	\$8,470.00
775.147	10.000	EA	LINDEN - LITTLE LEAF 2-2.5 INCH CALIPER	\$895.00	\$8,950.00	\$1,400.00	\$14,000.00
775.437	11.000	EA	LOCUST - HONEY - 'SKYLINE' 2-2.5 INCH CALIPER	\$975.00	\$10,725.00	\$1,210.00	\$13,310.00
775.51	5.000	EA	MAIDENHAIR TREE - 'PRINCETON SENTRY' 2-2.5 INCH CALIPER	\$1,200.00	\$6,000.00	\$2,150.00	\$10,750.00
776.557	13.000	EA	MAPLE - RED - 'RED SUNSET' 2-2.5 INCH CALIPER	\$895.00	\$11,635.00	\$1,340.00	\$17,420.00
777.138	13.000	EA	OAK - PIN 2-2.5 INCH CALIPER	\$895.00	\$11,635.00	\$1,340.00	\$17,420.00
777.328	11.000	EA	OAK - WHITE 2-2.5 INCH CALIPER	\$1,100.00	\$12,100.00	\$1,340.00	\$14,740.00
777.442	7.000	EA	PLANETREE - AMERICAN 2-2.5 INCH CALIPER	\$895.00	\$6,265.00	\$1,450.00	\$10,150.00
777.673	3.000	EA	SWEETGUM - FRUITLESS 2-2.5 INCH CALIPER	\$895.00	\$2,685.00	\$1,850.00	\$5,550.00
778.383	6.000	EA	CHERRY - SARGENT COLUMNAR 1.5-2 INCH CALIPER	\$825.00	\$4,950.00	\$2,000.00	\$12,000.00
781.263	5.000	EA	HAWTHORN - 'WINTER KING' 1.5-2 INCH CALIPER	\$775.00	\$3,875.00	\$1,630.00	\$8,150.00
781.578	10.000	EA	LILAC TREE - JAPANESE IVORY SILK 1.5-2 INCH CALIPER	\$950.00	\$9,500.00	\$1,630.00	\$16,300.00

Bids Open Date: 15 Oct 2025

Project # : 608095

Location : NORTH ANDOVER

District :

Description : NORTH ANDOVER- CORRIDOR IMPROVEMENTS ON ROUTE 114, BETWEEN WAVERLY ROAD AND WILLOW/MILL STREET

				BARLETTA HEAV	/Y DIVISION INC	BALTAZAR CON	TRACTORS INC
Item #	Quantity	Units	Description	Unit Price	Amount	Unit Price	Amount
782.541	6.000	EA	REDBUD - EASTERN 1.5-2 INCH CALIPER	\$840.00	\$5,040.00	\$1,630.00	\$9,780.00
790.512	8.000	EA	DOGWOOD - 'GRAY' 2-3 FEET / #3	\$160.00	\$1,280.00	\$270.00	\$2,160.00
795.021	5.000	EA	VIBURNUM - 'BLACKHAW' 2-3 FEET / #3	\$160.00	\$800.00	\$270.00	\$1,350.00
797.01	10.000	EA	TREE - CONTINGENCY 2-2.5 INCH CALIPER	\$910.00	\$9,100.00	\$1,750.00	\$17,500.00
801.32	80.000	FT	3 INCH ELECTRICAL CONDUIT - TYPE NM (DOUBLE)	\$125.00	\$10,000.00	\$85.00	\$6,800.00
802.433	110.000	FT	4 INCH TELEPHONE CONDUIT - TYPE NM (3 BANK)	\$120.00	\$13,200.00	\$147.00	\$16,170.00
804.22	10.000	FT	2 INCH ELECTRICAL CONDUIT TYPE NM - PLASTIC (UL) - SPLIT DUCT	\$15.00	\$150.00	\$200.00	\$2,000.00
804.3	4,850.000	FT	3 INCH ELECTRICAL CONDUIT TYPE NM - PLASTIC - (UL)	\$40.00	\$194,000.00	\$75.00	\$363,750.00
804.33	320.000	FT	3 INCH ELECTRICAL CONDUIT - TYPE NM - PLASTIC - (UL) - LIGHTING	\$65.00	\$20,800.00	\$100.00	\$32,000.00
804.4	80.000	FT	4 INCH ELECTRICAL CONDUIT TYPE NM - PLASTIC - (UL)	\$25.00	\$2,000.00	\$100.00	\$8,000.00
806.4	40.000	FT	4 INCH ELECTRICAL CONDUIT TYPE RM - GALVANIZED STEEL	\$100.00	\$4,000.00	\$150.00	\$6,000.00
811.22	45.000	EA	ELECTRIC HANDHOLE - SD2.022	\$2,100.00	\$94,500.00	\$2,100.00	\$94,500.00
811.24	6.000	EA	ELECTRIC HANDHOLE - SD2.024	\$2,700.00	\$16,200.00	\$2,500.00	\$15,000.00
811.31	45.000	EA	PULL BOX 12 X 12 INCHES - SD2.031	\$1,400.00	\$63,000.00	\$2,000.00	\$90,000.00
812.09	3.000	EA	LIGHT STANDARD FOUNDATION PRECAST	\$2,200.00	\$6,600.00	\$6,000.00	\$18,000.00
814.	1.000	LS	ADAPTIVE TRAFFIC SIGNAL CONTROL	\$175,000.00	\$175,000.00	\$200,000.00	\$200,000.00
815.07	1.000	LS	TRAFFIC CONTROL SIGNAL LOCATION NO. 7	\$350,000.00	\$350,000.00	\$400,000.00	\$400,000.00
816.01	1.000	LS	TRAFFIC SIGNAL RECONSTRUCTION LOCATION NO.	\$500,000.00	\$500,000.00	\$600,000.00	\$600,000.00
816.02	1.000	LS	TRAFFIC SIGNAL RECONSTRUCTION LOCATION NO. 2	\$300,000.00	\$300,000.00	\$400,000.00	\$400,000.00
816.03	1.000	LS	TRAFFIC SIGNAL RECONSTRUCTION LOCATION NO. 3	\$400,000.00	\$400,000.00	\$500,000.00	\$500,000.00
816.04	1.000	LS	TRAFFIC SIGNAL RECONSTRUCTION LOCATION NO. 4	\$395,000.00	\$395,000.00	\$500,000.00	\$500,000.00
816.05	1.000	LS	TRAFFIC SIGNAL RECONSTRUCTION LOCATION NO. 5	\$310,000.00	\$310,000.00	\$400,000.00	\$400,000.00

Bids Open Date: 15 Oct 2025

Project # : 608095

Location : NORTH ANDOVER

District :

Description : NORTH ANDOVER- CORRIDOR IMPROVEMENTS ON ROUTE 114, BETWEEN WAVERLY ROAD AND WILLOW/MILL STREET

				BARLETTA HEA	VY DIVISION INC	BALTAZAR CONTRACTORS INC	
Item #	Quantity	Units	Description	Unit Price	Amount	Unit Price	Amount
816.06	1.000	LS	TRAFFIC SIGNAL RECONSTRUCTION LOCATION NO. 6	\$500,000.00	\$500,000.00	\$500,000.00	\$500,000.00
816.08	1.000	LS	TRAFFIC SIGNAL RECONSTRUCTION LOCATION NO. 8	\$332,000.00	\$332,000.00	\$400,000.00	\$400,000.00
816.09	1.000	LS	TRAFFIC SIGNAL RECONSTRUCTION LOCATION NO. 9	\$400,000.00	\$400,000.00	\$400,000.00	\$400,000.00
816.80	1.000	LS	TRAFFIC CONTROL SIGNAL REMOVED AND STACKED	\$24,000.00	\$24,000.00	\$25,000.00	\$25,000.00
823.70	3.000	EA	HIGHWAY LIGHTING POLE AND LUMINAIRE REMOVED AND RESET	\$1,350.00	\$4,050.00	\$7,000.00	\$21,000.00
823.71	3.000	EA	HIGHWAY LIGHTING POLE AND LUMINAIRE REMOVED AND STACKED	\$500.00	\$1,500.00	\$6,000.00	\$18,000.00
824.221	1.000	LS	RECTANGULAR RAPID-FLASHING BEACONS SYSTEM (SOLAR)	\$15,500.00	\$15,500.00	\$23,000.00	\$23,000.00
825.10	1.000	LS	RADAR SPEED DISPLAY SIGN (SOLAR POWERED)	\$8,350.00	\$8,350.00	\$15,000.00	\$15,000.00
826.70	10.000	EA	ELECTRIC SERVICE RISER RELOCATED	\$4,000.00	\$40,000.00	\$11,000.00	\$110,000.00
831.11	1,275.000	SF	ROADSIDE GUIDE SIGN (MA-D1-XX) ALUMINUM PANEL (TYPE A)	\$32.00	\$40,800.00	\$48.00	\$61,200.00
832.	2,550.000	SF	WARNING-REGULATORY AND ROUTE MARKER - ALUMINUM PANEL (TYPE A)	\$13.00	\$33,150.00	\$52.00	\$132,600.00
841.11	46.000	EA	SUPPORT FOR GUIDE SIGN (MA-D1-XX) - 5 INCH TUBULAR - STEEL	\$3,000.00	\$138,000.00	\$3,100.00	\$142,600.00
847.1	308.000	EA	SIGN SUP (N/GUIDE)+RTE MKR W/1 BRKWAY POST ASSEMBLY - STEEL	\$235.00	\$72,380.00	\$270.00	\$83,160.00
848.1	24.000	EA	SIGN SUP (N/GUIDE)+RTE MKR W/2 BRKWAY POST ASSEMBLIES-STEEL	\$440.00	\$10,560.00	\$450.00	\$10,800.00
850.41	1,450.000	HR	ROADWAY FLAGGER	\$1.00	\$1,450.00	\$75.00	\$108,750.00
851.1	1,050.000	DAY	TRAFFIC CONES FOR TRAFFIC MANAGEMENT	\$325.00	\$341,250.00	\$1.00	\$1,050.00
852.	1,700.000	SF	SAFETY SIGNING FOR TRAFFIC MANAGEMENT	\$35.00	\$59,500.00	\$30.00	\$51,000.00
852.11	2,000.000	FT	TEMPORARY PEDESTRIAN BARRICADE	\$30.00	\$60,000.00	\$30.00	\$60,000.00
852.12	20.000	EA	TEMPORARY PEDESTRIAN CURB RAMP	\$850.00	\$17,000.00	\$300.00	\$6,000.00
853.1	20.000	EA	PORTABLE BREAKAWAY BARRICADE TYPE III	\$180.00	\$3,600.00	\$225.00	\$4,500.00
853.2	400.000	FT	TEMPORARY BARRIER (TL-2)	\$45.00	\$18,000.00	\$60.00	\$24,000.00

Bids Open Date: 15 Oct 2025

Project # : 608095

Location : NORTH ANDOVER

District

Description : NORTH ANDOVER- CORRIDOR IMPROVEMENTS ON ROUTE 114, BETWEEN WAVERLY ROAD AND WILLOW/MILL STREET **BARLETTA HEAVY DIVISION INC** BALTAZAR CONTRACTORS INC Item # Quantity Units Description **Unit Price** Amount **Unit Price** Amount 853.21 1.200.000 FT TEMPORARY BARRIER REMOVED AND RESET \$25.00 \$30,000.00 \$20.00 \$24.000.00 853.33 300.000 FT TEMPORARY BARRIER - LIMITED DEFLECTION (TL-\$100.00 \$30,000.00 \$100.00 \$30,000.00 853.34 120.000 FT TEMPORARY BARRIER - LIMITED DEFLECTION (TL-\$25.00 \$3.000.00 \$50.00 \$6.000.00 3) REMOVED AND RESET 853.403 120.000 DAY TRUCK MOUNTED ATTENUATOR \$400.00 \$225.00 \$27,000.00 \$48.000.00 853.8 550.000 DAY TEMPORARY ILLUMINATION FOR WORK ZONE \$225.00 \$123,750.00 \$150.00 \$82,500.00 854.016 106,000.000 FT TEMPORARY PAVING MARKINGS - 6 INCH \$0.40 \$42,400.00 \$0.40 \$42,400.00 (PAINTED) 854.036 9.000.000 TEMPORARY PAVING MARKINGS - 6 INCH (TAPE) \$2.25 \$27,000.00 FT \$20.250.00 \$3.00 854.1 1.000.000 SF PAVEMENT MARKING REMOVAL \$3.00 \$4.00 \$4.000.00 \$3.000.00 856. 3.200.000 DAY \$48,000.00 ARROW BOARD \$17.00 \$54.400.00 \$15.00 856.12 1,700.000 DAY PORTABLE CHANGEABLE MESSAGE SIGN \$30.00 \$51,000.00 \$35.00 \$59,500.00 859. 83,500.000 DAY REFLECTORIZED DRUM \$0.30 \$25,050.00 \$0.50 \$41,750.00 859.1 2.100.000 DAY REFLECTORIZED DRUMS WITH SEQUENTIAL \$18.00 \$37.800.00 \$10.00 \$21,000.00 FLASHING WARNING LIGHTS SF 800.000 PAVEMENT ARROW AND LEGENDS - TAPE \$54.00 \$57,600.00 864.02 \$43.200.00 \$72.00 864.04 9,050.000 SF PAVEMENT ARROWS AND LEGENDS \$8.00 \$72,400.00 \$10.00 \$90,500.00 REFLECTORIZED WHITE (THERMOPLASTIC) 864.41 SF \$12.00 1,500.000 GREEN COLORIZED PAVEMENT MARKINGS \$18,000.00 \$26.00 \$39,000.00 866.106 50.000.000 6 INCH REFLECTORIZED WHITE LINE \$1.70 \$85,000.00 FT \$1.40 \$70.000.00 (THERMOPLASTIC) 866.112 26.600.000 FT 12 INCH REFLECTORIZED WHITE LINE \$5.00 \$7.50 \$199.500.00 \$133.000.00 (THERMOPLASTIC) 867.106 39,500.000 FT 6 INCH REFLECTORIZED YELLOW LINE \$1.40 \$55,300.00 \$1.70 \$67,150.00 (THERMOPLASTIC) 867.112 1.175.000 FT 12 INCH REFLECTORIZED YELLOW LINE \$5.00 \$5.875.00 \$8.00 \$9.400.00 (THERMOPLASTIC) \$11.520.00 874. 60.000 EΑ STREET NAME SIGN \$200.00 \$12,000.00 \$192.00 874.2 3.000 EΑ TRAFFIC SIGN REMOVED AND RESET \$210.00 \$630.00 \$150.00 \$450.00 874.41 350.000 EΑ TRAFFIC SIGN REMOVED AND DISCARDED \$50.00 \$17,500.00 \$60.00 \$21,000.00 3.000 CY \$5.000.00 901. 4000 PSI, 1.5 INCH, 565 CEMENT CONCRETE \$2,400.00 \$7.200.00 \$15,000.00

Bids Open Date: 15 Oct 2025

Project # : 608095

Location : NORTH ANDOVER

District :

Description : NORTH ANDOVER- CORRIDOR IMPROVEMENTS ON ROUTE 114, BETWEEN WAVERLY ROAD AND WILLOW/MILL STREET

				BARLETTA HE	AVY DIVISION INC	BALTAZAR	CONTRACTORS INC
Item #	Quantity	Units	Description	Unit Price	Amount	Unit Price	Amount
903.	350.000	CY	3000 PSI, 1.5 INCH, 470 CEMENT CONCRETE	\$325.00	\$113,750.00	\$250.00	\$87,500.00
904.	105.000	CY	4000 PSI, 3/4 INCH, 610 CEMENT CONCRETE	\$850.00	\$89,250.00	\$2,000.00	\$210,000.00
904.3	860.000	CY	5000 PSI, 3/4 INCH, 685 HP CEMENT CONCRETE	\$1,825.00	\$1,569,500.00	\$2,000.00	\$1,720,000.00
905.2	100.000	CY	5000 PSI, 3/8 INCH, 710 HP CEMENT CONCRETE	\$3,000.00	\$300,000.00	\$3,500.00	\$350,000.00
910.1	40,000.000	LB	STEEL REINFORCEMENT FOR STRUCTURES - EPOXY COATED	\$2.50	\$100,000.00	\$8.00	\$320,000.00
912.	2,780.000	EA	DRILLING AND GROUTING DOWELS	\$40.00	\$111,200.00	\$80.00	\$222,400.00
952.	380,160.000	LB	STEEL SHEETING	\$2.30	\$874,368.00	\$3.85	\$1,463,616.00
953.01	1.000	LS	PERMANENT SUPPORT OF EXCAVATION - HEADWALL	\$15,000.00	\$15,000.00	\$120,000.00	\$120,000.00
953.11	1.000	LS	TEMPORARY SUPPORT OF EXCAVATION	\$550,000.00	\$550,000.00	\$1,000,000.00	\$1,000,000.00
953.12	1.000	LS	TEMPORARY SUPPORT OF EXCAVATION FOR WALL A	\$70,000.00	\$70,000.00	\$80,000.00	\$80,000.00
953.13	1.000	LS	TEMPORARY SUPPORT OF EXCAVATION FOR WALL B	\$55,000.00	\$55,000.00	\$40,000.00	\$40,000.00
970.	5,710.000	SF	DAMP-PROOFING	\$4.00	\$22,840.00	\$10.00	\$57,100.00
975.5	405.000	FT	ALUMINUM HANDRAIL	\$380.00	\$153,900.00	\$365.00	\$147,825.00
983.35	280.000	CY	STREAMBED MATERIAL REMOVED AND RELAID	\$300.00	\$84,000.00	\$400.00	\$112,000.00
986.2	500.000	CY	MODIFIED ROCKFILL	\$150.00	\$75,000.00	\$120.00	\$60,000.00
986.21	260.000	CY	MODIFIED ROCKFILL WITH GRAVEL PACKED VOIDS	\$250.00	\$65,000.00	\$150.00	\$39,000.00
991.1	1.000	LS	CONTROL OF WATER - STRUCTURE NO. N-15-021 (CBN)	\$375,000.00	\$375,000.00	\$100,000.00	\$100,000.00
995.011	1.000	LS	CULVERT STRUCTURE, CULVERT NO. N-15-021 (CBN)	\$1,301,252.00	\$1,301,252.00	\$1,300,000.00	\$1,300,000.00
996.011	1.000	LS	MODULAR BLOCK WALL REMOVED AND REBUILT	\$25,000.00	\$25,000.00	\$300,000.00	\$300,000.00
996.021	1.000	LS	SOLDIER PILE AND LAGGING	\$1,550,000.00	\$1,550,000.00	\$2,600,000.00	\$2,600,000.00
				Total :	\$55,175,000.00	Total :	\$55,287,706.00

Bids Open Date: 15 Oct 2025

Project # : 608095

Location : NORTH ANDOVER

District :

Description : NORTH ANDOVER- CORRIDOR IMPROVEMENTS ON ROUTE 114, BETWEEN WAVERLY ROAD AND WILLOW/MILL STREET

				THE MIDDLESE	CORPORATION	MACKAY CONS	T SERVICES INC
Item #	Quantity	Units	Description	Unit Price	Amount	Unit Price	Amount
100.71	1.000	LS	MASONRY WORK	\$80,000.00	\$80,000.00	\$95,800.00	\$95,800.00
100.9	1.000	LS	PRE AND POST CONSTRUCTION SURVEY AND VIBRATION MONITORING	\$50,000.00	\$50,000.00	\$25,950.00	\$25,950.00
101.	2.500	Α	CLEARING AND GRUBBING	\$60,000.00	\$150,000.00	\$46,500.00	\$116,250.00
102.2	1.000	LS	TREE TRIMMING	\$50,000.00	\$50,000.00	\$33,600.00	\$33,600.00
102.3	60.000	HR	HERBICIDE TREATMENT OF INVASIVE PLANTS	\$850.00	\$51,000.00	\$950.00	\$57,000.00
102.33	16.000	HR	INVASIVE PLANT MANAGEMENT STRATEGY	\$450.00	\$7,200.00	\$550.00	\$8,800.00
102.513	175.000	FT	AIR EXCAVATION AND ROOT PRUNING	\$180.00	\$31,500.00	\$55.00	\$9,625.00
102.521	1,500.000	FT	TREE AND PLANT PROTECTION FENCE	\$10.00	\$15,000.00	\$25.00	\$37,500.00
102.531	12.000	EA	TREE CARE - PRUNING	\$650.00	\$7,800.00	\$720.00	\$8,640.00
102.533	800.000	GAL	TREE CARE - WATERING	\$11.00	\$8,800.00	\$15.00	\$12,000.00
102.55	55.000	HR	ARBORIST	\$300.00	\$16,500.00	\$325.00	\$17,875.00
103.	110.000	EA	TREE REMOVED - DIAMETER UNDER 24 INCHES	\$1,100.00	\$121,000.00	\$1,285.00	\$141,350.00
104.	35.000	EA	TREE REMOVED - DIAMETER 24 INCHES AND OVER	\$3,800.00	\$133,000.00	\$650.00	\$22,750.00
105.	20.000	EA	STUMP REMOVED	\$700.00	\$14,000.00	\$1,500.00	\$30,000.00
112.1	1.000	LS	DEMOLITION OF BUILDING NO. 1	\$108,067.00	\$108,067.00	\$94,500.00	\$94,500.00
112.2	1.000	LS	DEMOLITION OF BUILDING NO. 2	\$97,937.00	\$97,937.00	\$95,500.00	\$95,500.00
112.3	1.000	LS	DEMOLITION OF BUILDING NO. 3	\$80,875.00	\$80,875.00	\$93,500.00	\$93,500.00
112.4	1.000	LS	DEMOLITION OF BUILDING NO. 4	\$140,000.00	\$140,000.00	\$93,500.00	\$93,500.00
119.	1.000	LS	RODENT CONTROL	\$19,000.00	\$19,000.00	\$25,000.00	\$25,000.00
120.	26,500.000	CY	EARTH EXCAVATION	\$40.00	\$1,060,000.00	\$65.00	\$1,722,500.00
121.	50.000	CY	CLASS A ROCK EXCAVATION	\$450.00	\$22,500.00	\$185.00	\$9,250.00
123.	250.000	CY	MUCK EXCAVATION	\$60.00	\$15,000.00	\$125.00	\$31,250.00
127.1	900.000	CY	REINFORCED CONCRETE EXCAVATION	\$400.00	\$360,000.00	\$500.00	\$450,000.00
140.	2,270.000	CY	BRIDGE EXCAVATION	\$50.00	\$113,500.00	\$125.00	\$283,750.00
141.	800.000	CY	CLASS A TRENCH EXCAVATION	\$80.00	\$64,000.00	\$95.00	\$76,000.00
141.1	950.000	CY	TEST PIT FOR EXPLORATION	\$170.00	\$161,500.00	\$225.00	\$213,750.00
141.11	40.000	DAY	TEST PIT FOR EXPLORATION - VACUUM EXCAVATION	\$5,300.00	\$212,000.00	\$5,785.00	\$231,400.00

Bids Open Date: 15 Oct 2025

Project # : 608095

Location : NORTH ANDOVER

District : 4

Description : NORTH ANDOVER- CORRIDOR IMPROVEMENTS ON ROUTE 114, BETWEEN WAVERLY ROAD AND WILLOW/MILL STREET

				THE MIDDLESEX	CORPORATION	MACKAY CONST	SERVICES INC
Item #	Quantity	Units	Description	Unit Price	Amount	Unit Price	Amount
142.	4,750.000	CY	CLASS B TRENCH EXCAVATION	\$25.00	\$118,750.00	\$95.00	\$451,250.00
144.	510.000	CY	CLASS B ROCK EXCAVATION	\$400.00	\$204,000.00	\$185.00	\$94,350.00
145.	5.000	EA	DRAINAGE STRUCTURE ABANDONED	\$1,400.00	\$7,000.00	\$1,500.00	\$7,500.00
146.	150.000	EA	DRAINAGE STRUCTURE REMOVED	\$1,400.00	\$210,000.00	\$1,450.00	\$217,500.00
149.2	1.000	LS	PUBLIC OUTREACH	\$25,000.00	\$25,000.00	\$350,000.00	\$350,000.00
150.	200.000	CY	ORDINARY BORROW	\$60.00	\$12,000.00	\$95.00	\$19,000.00
150.1	200.000	CY	SPECIAL BORROW	\$60.00	\$12,000.00	\$95.00	\$19,000.00
151.	17,250.000	CY	GRAVEL BORROW	\$55.00	\$948,750.00	\$48.00	\$828,000.00
151.1	120.000	CY	GRAVEL BORROW FOR BRIDGE FOUNDATION	\$135.00	\$16,200.00	\$95.00	\$11,400.00
151.2	1,355.000	CY	GRAVEL BORROW FOR BACKFILLING STRUCTURES AND PIPES	\$114.00	\$154,470.00	\$115.00	\$155,825.00
154.	600.000	CY	SAND BORROW	\$102.00	\$61,200.00	\$95.00	\$57,000.00
156.	1,250.000	TON	CRUSHED STONE	\$125.00	\$156,250.00	\$75.00	\$93,750.00
156.1	55.000	TON	CRUSHED STONE FOR BRIDGE FOUNDATIONS	\$125.00	\$6,875.00	\$195.00	\$10,725.00
156.8	500.000	CY	CRUSHED STONE FOR SUB-BASE	\$144.00	\$72,000.00	\$95.00	\$47,500.00
160.2	90.000	CY	CONTROLLED LOW-STRENGTH MATERIAL - MECHANICAL EXCAVATABLE (101-300 PSI)	\$500.00	\$45,000.00	\$395.00	\$35,550.00
170.	61,000.000	SY	FINE GRADING AND COMPACTING - SUBGRADE AREA	\$5.00	\$305,000.00	\$9.00	\$549,000.00
173.	1,700.000	SY	DECOMPACTION FOR LAWN	\$7.00	\$11,900.00	\$25.00	\$42,500.00
180.01	1.000	LS	ENVIRONMENTAL HEALTH AND SAFETY PROGRAM	\$4,375.00	\$4,375.00	\$25,500.00	\$25,500.00
180.02	40.000	HR	PERSONAL PROTECTION LEVEL C UPGRADE	\$10.00	\$400.00	\$1.00	\$40.00
180.03	40.000	HR	LICENSED SITE PROFESSIONAL SERVICES	\$142.00	\$5,680.00	\$325.00	\$13,000.00
181.11	9,600.000	TON	DISPOSAL OF UNREGULATED SOIL	\$33.00	\$316,800.00	\$35.00	\$336,000.00
181.12	1,150.000	TON	DISPOSAL OF REGULATED SOIL - IN-STATE FACILITY	\$105.00	\$120,750.00	\$89.00	\$102,350.00
181.13	575.000	TON	DISPOSAL OF REGULATED SOIL - OUT-OF-STATE FACILITY	\$79.00	\$45,425.00	\$135.00	\$77,625.00
181.14	115.000	TON	DISPOSAL OF HAZARDOUS WASTE	\$628.00	\$72,220.00	\$625.00	\$71,875.00
182.1	1.000	LS	INSPECTION AND TESTING FOR ASBESTOS	\$20,000.00	\$20,000.00	\$9,500.00	\$9,500.00

Bids Open Date: 15 Oct 2025

Project # : 608095

Location : NORTH ANDOVER

District :

Description : NORTH ANDOVER- CORRIDOR IMPROVEMENTS ON ROUTE 114, BETWEEN WAVERLY ROAD AND WILLOW/MILL STREET

				THE MIDDLESEX	CORPORATION	MACKAY CONS	T SERVICES INC
Item #	Quantity	Units	Description	Unit Price	Amount	Unit Price	Amount
182.2	300.000	FT	REMOVAL OF ASBESTOS	\$184.00	\$55,200.00	\$125.00	\$37,500.00
182.3	1.000	LS	ASBESTOS ABATEMENT FOR BUILDING DEMOLITION	\$90,000.00	\$90,000.00	\$82,500.00	\$82,500.00
183.1	10,000.000	GAL	TREATMENT OF CONTAMINATED GROUNDWATER	\$6.00	\$60,000.00	\$3.00	\$30,000.00
183.2	1,000.000	LB	DISPOSAL OF GRANULAR ACTIVATED CARBON	\$12.00	\$12,000.00	\$12.00	\$12,000.00
184.1	10.000	TON	DISPOSAL OF TREATED WOOD PRODUCTS	\$450.00	\$4,500.00	\$550.00	\$5,500.00
188.1	1.000	LS	TESTING OF PCB BALLASTS	\$20,000.00	\$20,000.00	\$5,000.00	\$5,000.00
188.2	1.000	LS	DISPOSAL OF PCB BALLASTS	\$20,000.00	\$20,000.00	\$8,500.00	\$8,500.00
188.3	50.000	EA	DISPOSAL OF MERCURY CONTAINING LAMPS	\$97.00	\$4,850.00	\$15.00	\$750.00
192.6	3.000	EA	MONITORING WELL ADJUSTED	\$1,235.00	\$3,705.00	\$550.00	\$1,650.00
201.	235.000	EA	CATCH BASIN	\$6,000.00	\$1,410,000.00	\$8,580.00	\$2,016,300.00
201.3	4.000	EA	SPECIAL CATCH BASIN	\$5,905.00	\$23,620.00	\$10,880.00	\$43,520.00
202.	115.000	EA	MANHOLE	\$7,806.00	\$897,690.00	\$7,880.00	\$906,200.00
202.05	32.000	EA	MANHOLE 5 FEET ID	\$8,763.00	\$280,416.00	\$9,880.00	\$316,160.00
202.06	12.000	EA	MANHOLE 6 FEET ID	\$10,236.00	\$122,832.00	\$19,555.00	\$234,660.00
202.07	2.000	EA	MANHOLE 7 FEET ID	\$17,150.00	\$34,300.00	\$35,000.00	\$70,000.00
202.2	4.000	EA	MANHOLE (9 TO 14 FOOT DEPTH)	\$10,290.00	\$41,160.00	\$19,880.00	\$79,520.00
202.205	4.000	EA	MANHOLE (9 TO 14 FOOT DEPTH) 5 FEET ID	\$10,290.00	\$41,160.00	\$23,500.00	\$94,000.00
202.65	1.000	LS	OUTLET CONTROL STRUCTURE	\$20,000.00	\$20,000.00	\$25,000.00	\$25,000.00
203.2	1.000	EA	CURB COVER AND FRAME	\$1,530.00	\$1,530.00	\$5,500.00	\$5,500.00
203.31	6.000	EA	DOGHOUSE MANHOLE	\$9,340.00	\$56,040.00	\$10,880.00	\$65,280.00
203.35	2.000	EA	DOGHOUSE MANHOLE 5 FEET ID	\$10,092.00	\$20,184.00	\$12,880.00	\$25,760.00
204.	32.000	EA	GUTTER INLET	\$3,960.00	\$126,720.00	\$3,850.00	\$123,200.00
209.1	8.000	EA	DROP INLET, TYPE DF	\$5,690.00	\$45,520.00	\$6,580.00	\$52,640.00
210.1	2.000	EA	SANITARY SEWER MANHOLE MUNICIPAL STANDARD	\$10,955.00	\$21,910.00	\$13,500.00	\$27,000.00
211.31	2.000	EA	SANITARY SEWER DOGHOUSE MANHOLE	\$8,777.00	\$17,554.00	\$19,500.00	\$39,000.00
220.	480.000	EA	DRAINAGE STRUCTURE ADJUSTED	\$430.00	\$206,400.00	\$595.00	\$285,600.00
220.2	25.000	FT	DRAINAGE STRUCTURE REBUILT	\$675.00	\$16,875.00	\$980.00	\$24,500.00

Bids Open Date: 15 Oct 2025

Project # : 608095

Location : NORTH ANDOVER

District :

Description : NORTH ANDOVER- CORRIDOR IMPROVEMENTS ON ROUTE 114, BETWEEN WAVERLY ROAD AND WILLOW/MILL STREET

				THE MIDDLESEX	CORPORATION	MACKAY CONS	MACKAY CONST SERVICES INC	
Item #	Quantity	Units	Description	Unit Price	Amount	Unit Price	Amount	
220.3	12.000	EA	DRAINAGE STRUCTURE CHANGE IN TYPE	\$1,015.00	\$12,180.00	\$1,950.00	\$23,400.00	
220.5	13.000	EA	DRAINAGE STRUCTURE REMODELED	\$950.00	\$12,350.00	\$2,350.00	\$30,550.00	
220.6	25.000	FT	SANITARY STRUCTURE REBUILT	\$830.00	\$20,750.00	\$980.00	\$24,500.00	
220.7	65.000	EA	SANITARY STRUCTURE ADJUSTED	\$540.00	\$35,100.00	\$595.00	\$38,675.00	
220.8	9.000	EA	SANITARY STRUCTURE REMODELED	\$700.00	\$6,300.00	\$3,950.00	\$35,550.00	
221.	295.000	EA	FRAME AND COVER	\$1,115.00	\$328,925.00	\$1,450.00	\$427,750.00	
221.1	1.000	EA	FRAME AND COVER - SECURED	\$1,470.00	\$1,470.00	\$1,550.00	\$1,550.00	
222.1	220.000	EA	FRAME AND GRATE - MASSDOT CASCADE TYPE	\$1,120.00	\$246,400.00	\$1,450.00	\$319,000.00	
222.2	8.000	EA	FRAME AND GRATE - MASSDOT DROP INLET	\$1,040.00	\$8,320.00	\$1,450.00	\$11,600.00	
222.3	2.000	EA	FRAME AND GRATE (OR COVER) MUNICIPAL STANDARD	\$755.00	\$1,510.00	\$1,450.00	\$2,900.00	
223.2	260.000	EA	FRAME AND GRATE (OR COVER) REMOVED AND DISCARDED	\$172.00	\$44,720.00	\$250.00	\$65,000.00	
224.10	35.000	EA	10 INCH HOOD	\$670.00	\$23,450.00	\$385.00	\$13,475.00	
224.12	154.000	EA	12 INCH HOOD	\$720.00	\$110,880.00	\$385.00	\$59,290.00	
227.3	200.000	CY	REMOVAL OF DRAINAGE STRUCTURE SEDIMENT	\$600.00	\$120,000.00	\$485.00	\$97,000.00	
227.31	3,500.000	FT	REMOVAL OF DRAINAGE PIPE SEDIMENT	\$15.00	\$52,500.00	\$19.50	\$68,250.00	
227.4	110.000	SF	MASONRY PLUG	\$400.00	\$44,000.00	\$550.00	\$60,500.00	
238.10	720.000	FT	10 INCH DUCTILE IRON PIPE	\$395.00	\$284,400.00	\$285.00	\$205,200.00	
238.12	750.000	FT	12 INCH DUCTILE IRON PIPE	\$220.00	\$165,000.00	\$325.00	\$243,750.00	
238.18	410.000	FT	18 INCH DUCTILE IRON PIPE	\$260.00	\$106,600.00	\$347.00	\$142,270.00	
238.30	35.000	FT	30 INCH DUCTILE IRON PIPE	\$550.00	\$19,250.00	\$2,500.00	\$87,500.00	
241.12	6,750.000	FT	12 INCH REINFORCED CONCRETE PIPE	\$175.00	\$1,181,250.00	\$217.00	\$1,464,750.00	
241.15	3,625.000	FT	15 INCH REINFORCED CONCRETE PIPE	\$190.00	\$688,750.00	\$225.00	\$815,625.00	
241.18	1,100.000	FT	18 INCH REINFORCED CONCRETE PIPE	\$216.00	\$237,600.00	\$265.00	\$291,500.00	
241.24	3,420.000	FT	24 INCH REINFORCED CONCRETE PIPE	\$250.00	\$855,000.00	\$346.00	\$1,183,320.00	
241.30	1,230.000	FT	30 INCH REINFORCED CONCRETE PIPE	\$360.00	\$442,800.00	\$386.00	\$474,780.00	
241.36	90.000	FT	36 INCH REINFORCED CONCRETE PIPE	\$390.00	\$35,100.00	\$398.00	\$35,820.00	

Bids Open Date: 15 Oct 2025

Project # : 608095

Location : NORTH ANDOVER

District :

Description : NORTH ANDOVER- CORRIDOR IMPROVEMENTS ON ROUTE 114, BETWEEN WAVERLY ROAD AND WILLOW/MILL STREET

				THE MIDDLESEX	CORPORATION	MACKAY CONST	SERVICES INC
Item #	Quantity	Units	Description	Unit Price	Amount	Unit Price	Amount
242.12	2.000	EA	12 INCH REINFORCED CONCRETE PIPE FLARED END	\$1,500.00	\$3,000.00	\$1,950.00	\$3,900.00
242.15	1.000	EA	15 INCH REINFORCED CONCRETE PIPE FLARED END	\$1,610.00	\$1,610.00	\$2,250.00	\$2,250.00
244.12	510.000	FT	12 INCH REINFORCED CONCRETE PIPE CLASS V	\$175.00	\$89,250.00	\$230.00	\$117,300.00
244.15	115.000	FT	15 INCH REINFORCED CONCRETE PIPE CLASS V	\$200.00	\$23,000.00	\$250.00	\$28,750.00
244.18	190.000	FT	18 INCH REINFORCED CONCRETE PIPE CLASS V	\$190.00	\$36,100.00	\$285.00	\$54,150.00
244.24	420.000	FT	24 INCH REINFORCED CONCRETE PIPE CLASS V	\$215.00	\$90,300.00	\$364.00	\$152,880.00
244.30	700.000	FT	30 INCH REINFORCED CONCRETE PIPE CLASS V	\$350.00	\$245,000.00	\$386.00	\$270,200.00
244.36	10.000	FT	36 INCH REINFORCED CONCRETE PIPE CLASS V	\$540.00	\$5,400.00	\$550.00	\$5,500.00
248.001	100.000	FT	SEWER SERVICE RELOCATION	\$240.00	\$24,000.00	\$350.00	\$35,000.00
249.001	1.000	LS	SANITARY SEWER BYPASS PUMPING	\$300,000.00	\$300,000.00	\$78,500.00	\$78,500.00
250.06	130.000	FT	6 INCH POLYVINYL CHLORIDE SANITARY SEWER PIPE	\$160.00	\$20,800.00	\$265.00	\$34,450.00
250.08	70.000	FT	8 INCH POLYVINYL CHLORIDE SANITARY SEWER PIPE	\$170.00	\$11,900.00	\$295.00	\$20,650.00
250.506	1,600.000	FT	6 INCH DUCTILE IRON SEWER PIPE	\$180.00	\$288,000.00	\$335.00	\$536,000.00
250.510	100.000	FT	10 INCH DUCTILE IRON SEWER PIPE	\$240.00	\$24,000.00	\$395.00	\$39,500.00
258.	20.000	SY	STONE FOR PIPE ENDS	\$130.00	\$2,600.00	\$175.00	\$3,500.00
269.06	120.000	FT	6 INCH SLOT-PERFORATED CORRUGATED PLASTIC PIPE (SUBDRAIN)	\$50.00	\$6,000.00	\$235.00	\$28,200.00
272.12	3,350.000	FT	12 INCH AND UNDER PIPE REMOVED AND DISCARDED	\$40.00	\$134,000.00	\$30.00	\$100,500.00
272.15	1,275.000	FT	15 INCH PIPE REMOVED AND DISCARDED	\$40.00	\$51,000.00	\$35.00	\$44,625.00
272.18	150.000	FT	18 INCH PIPE REMOVED AND DISCARDED	\$45.00	\$6,750.00	\$55.00	\$8,250.00
272.24	1,275.000	FT	24 INCH PIPE REMOVED AND DISCARDED	\$50.00	\$63,750.00	\$55.00	\$70,125.00
284.514	640.000	TON	DUMPED STONE DRAINAGE CHANNEL	\$65.00	\$41,600.00	\$55.00	\$35,200.00
292.1	25.000	FT	TRENCH DRAIN	\$800.00	\$20,000.00	\$150.00	\$3,750.00
295.01	1.000	LS	BIORETENTION AREA	\$100,000.00	\$100,000.00	\$95,000.00	\$95,000.00
295.02	1.000	LS	INFILTRATION BASIN	\$200,000.00	\$200,000.00	\$125,000.00	\$125,000.00

Bids Open Date: 15 Oct 2025

Project # : 608095

Location : NORTH ANDOVER

District :

Description : NORTH ANDOVER- CORRIDOR IMPROVEMENTS ON ROUTE 114, BETWEEN WAVERLY ROAD AND WILLOW/MILL STREET

				THE MIDDLESEX	CORPORATION	MACKAY CONST	SERVICES INC
Item #	Quantity	Units	Description	Unit Price	Amount	Unit Price	Amount
302.06	400.000	FT	6 INCH DUCTILE IRON WATER PIPE (RUBBER GASKET)	\$210.00	\$84,000.00	\$235.00	\$94,000.00
302.08	30.000	FT	8 INCH DUCTILE IRON WATER PIPE (RUBBER GASKET)	\$250.00	\$7,500.00	\$295.00	\$8,850.00
302.10	10.000	FT	10 INCH DUCTILE IRON WATER PIPE (RUBBER GASKET)	\$345.00	\$3,450.00	\$595.00	\$5,950.00
302.12	735.000	FT	12 INCH DUCTILE IRON WATER PIPE (RUBBER GASKET)	\$250.00	\$183,750.00	\$285.00	\$209,475.00
309.	29,000.000	LB	DUCTILE IRON FITTINGS FOR WATER PIPE	\$8.63	\$250,270.00	\$11.00	\$319,000.00
326.06	10.000	FT	6 INCH STEEL PIPE CASING	\$240.00	\$2,400.00	\$100.00	\$1,000.00
326.10	15.000	FT	10 INCH STEEL PIPE CASING	\$310.00	\$4,650.00	\$150.00	\$2,250.00
326.12	45.000	FT	12 INCH STEEL PIPE CASING	\$270.00	\$12,150.00	\$250.00	\$11,250.00
326.16	75.000	FT	16 INCH STEEL PIPE CASING	\$290.00	\$21,750.00	\$300.00	\$22,500.00
326.18	45.000	FT	18 INCH STEEL PIPE CASING	\$320.00	\$14,400.00	\$350.00	\$15,750.00
326.20	35.000	FT	20 INCH STEEL PIPE CASING	\$340.00	\$11,900.00	\$450.00	\$15,750.00
326.24	5.000	FT	24 INCH STEEL PIPE CASING	\$825.00	\$4,125.00	\$650.00	\$3,250.00
326.34	5.000	FT	34 INCH STEEL PIPE CASING	\$775.00	\$3,875.00	\$750.00	\$3,750.00
347.1	280.000	FT	1 INCH COPPER TUBING TYPE K	\$155.00	\$43,400.00	\$110.00	\$30,800.00
347.15	50.000	FT	1-1/2 INCH COPPER TUBING TYPE K	\$185.00	\$9,250.00	\$135.00	\$6,750.00
347.2	50.000	FT	2 INCH COPPER TUBING TYPE K	\$250.00	\$12,500.00	\$145.00	\$7,250.00
350.06	10.000	EA	6 INCH GATE AND GATE BOX	\$3,115.00	\$31,150.00	\$3,850.00	\$38,500.00
350.12	2.000	EA	12 INCH GATE AND GATE BOX	\$6,510.00	\$13,020.00	\$7,569.00	\$15,138.00
357.06	2.000	EA	6 INCH GATE BOX	\$1,055.00	\$2,110.00	\$450.00	\$900.00
358.	85.000	EA	GATE BOX ADJUSTED	\$260.00	\$22,100.00	\$350.00	\$29,750.00
358.1	10.000	EA	GATE BOX REMOVED AND STACKED	\$330.00	\$3,300.00	\$150.00	\$1,500.00
363.1	20.000	EA	1 INCH CORPORATION COCK	\$1,890.00	\$37,800.00	\$1,650.00	\$33,000.00
363.15	3.000	EA	1-1/2 INCH CORPORATION COCK	\$2,410.00	\$7,230.00	\$1,950.00	\$5,850.00
363.2	7.000	EA	2 INCH CORPORATION COCK	\$2,625.00	\$18,375.00	\$2,350.00	\$16,450.00
367.06	7.000	EA	6 INCH CAST IRON PLUG	\$512.00	\$3,584.00	\$1,143.00	\$8,001.00
371.06	5.000	EA	6 INCH COUPLING	\$960.00	\$4,800.00	\$1,250.00	\$6,250.00

Bids Open Date: 15 Oct 2025

Project # : 608095

Location : NORTH ANDOVER

District :

Description : NORTH ANDOVER- CORRIDOR IMPROVEMENTS ON ROUTE 114, BETWEEN WAVERLY ROAD AND WILLOW/MILL STREET

				THE MIDDLESE	X CORPORATION	MACKAY CONS	T SERVICES INC
Item #	Quantity	Units	Description	Unit Price	Amount	Unit Price	Amount
375.12	7.000	EA	12 INCH INSERTION VALVE AND BOX	\$17,510.00	\$122,570.00	\$27,618.00	\$193,326.00
376.	8.000	EA	HYDRANT	\$12,410.00	\$99,280.00	\$11,085.00	\$88,680.00
376.2	11.000	EA	HYDRANT - REMOVED AND RESET	\$7,710.00	\$84,810.00	\$6,558.00	\$72,138.00
376.3	6.000	EA	HYDRANT - REMOVED AND STACKED	\$1,630.00	\$9,780.00	\$3,500.00	\$21,000.00
376.5	3.000	EA	HYDRANT - ADJUSTED	\$3,250.00	\$9,750.00	\$2,950.00	\$8,850.00
381.	20.000	EA	SERVICE BOX	\$810.00	\$16,200.00	\$550.00	\$11,000.00
381.3	10.000	EA	SERVICE BOX ADJUSTED	\$260.00	\$2,600.00	\$350.00	\$3,500.00
384.	20.000	EA	CURB STOP	\$980.00	\$19,600.00	\$1,195.00	\$23,900.00
385.3	1.000	EA	MONITORING WELL TRAFFIC CASTING	\$4,410.00	\$4,410.00	\$650.00	\$650.00
390.01	75.000	FT	SPRINKLER SYSTEM COMPONENTS - REMOVED AND STACKED	\$35.00	\$2,625.00	\$25.00	\$1,875.00
402.	2,580.000	CY	DENSE GRADED CRUSHED STONE FOR SUB-BASE	\$95.00	\$245,100.00	\$95.00	\$245,100.00
415.1	91,200.000	SY	PAVEMENT STANDARD MILLING	\$8.00	\$729,600.00	\$8.25	\$752,400.00
431.	1,800.000	SY	HIGH EARLY STRENGTH CEMENT CONCRETE BASE COURSE	\$85.00	\$153,000.00	\$135.00	\$243,000.00
440.	64,000.000	LB	CALCIUM CHLORIDE FOR ROADWAY DUST CONTROL	\$0.90	\$57,600.00	\$0.20	\$12,800.00
443.	125.000	MGL	WATER FOR ROADWAY DUST CONTROL	\$150.00	\$18,750.00	\$185.00	\$23,125.00
450.22	850.000	TON	SUPERPAVE SURFACE COURSE - 9.5 (SSC - 9.5)	\$237.00	\$201,450.00	\$230.00	\$195,500.00
450.23	1,425.000	TON	SUPERPAVE SURFACE COURSE - 12.5 (SSC - 12.5)	\$236.00	\$336,300.00	\$230.00	\$327,750.00
450.231	12,625.000	TON	SUPERPAVE SURFACE COURSE - 12.5 POLYMER (SSC - 12.5 - P)	\$183.00	\$2,310,375.00	\$161.00	\$2,032,625.00
450.32	15,525.000	TON	SUPERPAVE INTERMEDIATE COURSE - 19.0 (SIC - 19.0)	\$163.00	\$2,530,575.00	\$175.00	\$2,716,875.00
450.42	4,375.000	TON	SUPERPAVE BASE COURSE - 37.5 (SBC - 37.5)	\$205.00	\$896,875.00	\$144.00	\$630,000.00
450.53	5,640.000	TON	SUPERPAVE LEVELING COURSE - 12.5 (SLC - 12.5)	\$265.00	\$1,494,600.00	\$150.00	\$846,000.00
451.	2,500.000	TON	HMA FOR PATCHING	\$440.00	\$1,100,000.00	\$375.00	\$937,500.00
452.	19,000.000	GAL	ASPHALT EMULSION FOR TACK COAT	\$15.00	\$285,000.00	\$4.00	\$76,000.00
453.	65,500.000	FT	HMA JOINT ADHESIVE	\$2.50	\$163,750.00	\$1.00	\$65,500.00
470.2	350.000	FT	HOT MIX ASPHALT BERM, TYPE A - MODIFIED	\$36.00	\$12,600.00	\$35.00	\$12,250.00

Bids Open Date: 15 Oct 2025

Project # : 608095

Location : NORTH ANDOVER

District : 4

Description : NORTH ANDOVER- CORRIDOR IMPROVEMENTS ON ROUTE 114, BETWEEN WAVERLY ROAD AND WILLOW/MILL STREET

				THE MIDDLESE	CORPORATION	MACKAY CONS	T SERVICES INC
Item #	Quantity	Units	Description	Unit Price	Amount	Unit Price	Amount
472.	1,000.000	TON	TEMPORARY ASPHALT PATCHING	\$360.00	\$360,000.00	\$375.00	\$375,000.00
476.11	2,600.000	SY	CEMENT CONCRETE PAVEMENT - STAMPED	\$300.00	\$780,000.00	\$235.00	\$611,000.00
477.2	1,400.000	FT	MILLED RUMBLE STRIP (TYPE C)	\$20.00	\$28,000.00	\$25.00	\$35,000.00
482.3	135.000	FT	SAWCUTTING ASPHALT PAVEMENT	\$5.00	\$675.00	\$19.00	\$2,565.00
482.5	25,100.000	FT	SAWCUTTING ASPHALT PAVEMENT FOR BOX WIDENING	\$1.10	\$27,610.00	\$6.00	\$150,600.00
485.3	10.000	SY	SCORED CEMENT CONCRETE PAVEMENT	\$698.00	\$6,980.00	\$950.00	\$9,500.00
503.	250.000	FT	GRANITE CURB TYPE VA3 - STRAIGHT	\$62.00	\$15,500.00	\$85.00	\$21,250.00
503.1	75.000	FT	GRANITE CURB TYPE VA3 - CURVED	\$75.00	\$5,625.00	\$96.00	\$7,200.00
504.2	20.000	EA	GRANITE CURB TYPE VA4 - SPLAYED END	\$530.00	\$10,600.00	\$500.00	\$10,000.00
506.	25,250.000	FT	GRANITE CURB TYPE VB - STRAIGHT	\$48.00	\$1,212,000.00	\$74.00	\$1,868,500.00
506.1	3,900.000	FT	GRANITE CURB TYPE VB - CURVED	\$62.00	\$241,800.00	\$98.00	\$382,200.00
509.	1,250.000	FT	GRANITE TRANSITION CURB FOR PEDESTRIAN CURB RAMPS - STRAIGHT	\$66.00	\$82,500.00	\$98.00	\$122,500.00
509.1	1,500.000	FT	GRANITE TRANSITION CURB FOR PEDESTRIAN CURB RAMPS - CURVED	\$75.00	\$112,500.00	\$108.00	\$162,000.00
514.	140.000	EA	GRANITE CURB INLET - STRAIGHT	\$620.00	\$86,800.00	\$738.00	\$103,320.00
515.	14.000	EA	GRANITE CURB INLET - CURVED	\$745.00	\$10,430.00	\$838.00	\$11,732.00
517.01	5.000	EA	GRANITE CURB CORNER - TYPE C	\$560.00	\$2,800.00	\$950.00	\$4,750.00
520.	50.000	FT	CONCRETE CURB TYPE VA	\$300.00	\$15,000.00	\$95.00	\$4,750.00
570.2	40.000	FT	HOT MIX ASPHALT CURB TYPE 2	\$55.00	\$2,200.00	\$35.00	\$1,400.00
580.	7,200.000	FT	CURB REMOVED AND RESET	\$40.00	\$288,000.00	\$72.00	\$518,400.00
581.	20.000	EA	CURB INLET REMOVED AND RESET	\$410.00	\$8,200.00	\$450.00	\$9,000.00
594.	6,000.000	FT	CURB REMOVED AND DISCARDED	\$4.00	\$24,000.00	\$10.00	\$60,000.00
595.	14.000	EA	CURB INLET REMOVED AND DISCARDED	\$20.00	\$280.00	\$250.00	\$3,500.00
596.	14.000	EA	CURB CORNER REMOVED AND DISCARDED	\$13.00	\$182.00	\$250.00	\$3,500.00
597.	18,100.000	FT	EDGING REMOVED AND DISCARDED	\$2.00	\$36,200.00	\$5.00	\$90,500.00
601.2	50.000	FT	TIMBER GUARDRAIL	\$106.00	\$5,300.00	\$98.00	\$4,900.00
620.12	1,375.000	FT	GUARDRAIL, TL-2 (SINGLE FACED)	\$38.00	\$52,250.00	\$36.50	\$50,187.50

Bids Open Date: 15 Oct 2025

Project # : 608095

Location : NORTH ANDOVER

District :

Description : NORTH ANDOVER- CORRIDOR IMPROVEMENTS ON ROUTE 114, BETWEEN WAVERLY ROAD AND WILLOW/MILL STREET

				THE MIDDLESEX	CORPORATION	MACKAY CONS	MACKAY CONST SERVICES INC		
Item #	Quantity	Units	Description	Unit Price	Amount	Unit Price	Amount		
627.1	9.000	EA	TRAILING ANCHORAGE	\$2,556.00	\$23,004.00	\$2,350.00	\$21,150.00		
627.82	9.000	EA	GUARDRAIL TANGENT END TREATMENT, TL-2	\$5,311.00	\$47,799.00	\$4,900.00	\$44,100.00		
628.304	2.000	EA	TEMPORARY IMPACT ATTENUATOR, NON- REDIRECTIVE, TL-2	\$9,335.00	\$18,670.00	\$9,425.00	\$18,850.00		
628.314	4.000	EA	TEMPORARY IMPACT ATTENUATOR, REDIRECTIVE, TL-2	\$12,232.00	\$48,928.00	\$12,350.00	\$49,400.00		
628.4	8.000	EA	TEMPORARY IMPACT ATTENUATOR, REMOVED AND RESET	\$3,541.00	\$28,328.00	\$3,560.00	\$28,480.00		
630.	15.000	FT	HIGHWAY GUARD REMOVED AND RESET	\$60.00	\$900.00	\$57.00	\$855.00		
630.2	2,100.000	FT	HIGHWAY GUARD REMOVED AND DISCARDED	\$3.00	\$6,300.00	\$3.00	\$6,300.00		
632.	2.000	EA	GUARDRAIL POST - STEEL	\$220.00	\$440.00	\$495.00	\$990.00		
634.	1.000	EA	W BEAM GUARD PANEL	\$322.00	\$322.00	\$750.00	\$750.00		
645.148	1,400.000	FT	48 INCH CHAIN LINK FENCE (PIPE TOP RAIL) VINYL COATED (LINE POST OPTION)	\$96.00	\$134,400.00	\$96.00	\$134,400.00		
652.048	12.000	EA	48 INCH CHAIN LINK FENCE END POST	\$550.00	\$6,600.00	\$525.00	\$6,300.00		
655.01	675.000	FT	TIMBER RAIL FENCE - TWO RAIL	\$85.00	\$57,375.00	\$78.00	\$52,650.00		
655.21	100.000	FT	HAND RAIL REMOVED AND STACKED	\$85.00	\$8,500.00	\$25.00	\$2,500.00		
660.1	125.000	FT	METAL PIPE RAIL REMOVED AND STACKED	\$10.00	\$1,250.00	\$25.00	\$3,125.00		
660.25	15.000	FT	STEEL HANDRAIL	\$155.00	\$2,325.00	\$195.00	\$2,925.00		
666.	30.000	FT	CHAIN LINK FENCE REMOVED AND RESET	\$75.00	\$2,250.00	\$75.00	\$2,250.00		
669.	1,300.000	FT	FENCE REMOVED AND STACKED	\$50.00	\$65,000.00	\$45.00	\$58,500.00		
671.	3.000	EA	FENCE GATE AND GATE POSTS REMOVED AND STACKED	\$1,610.00	\$4,830.00	\$1,500.00	\$4,500.00		
685.	190.000	CY	STONE MASONRY WALL IN CEMENT MORTAR	\$2,140.00	\$406,600.00	\$1,950.00	\$370,500.00		
686.1	6,300.000	SF	STONE VENEER FOR CEMENT CONCRETE WALL	\$170.00	\$1,071,000.00	\$95.00	\$598,500.00		
690.	15.000	CY	STONE MASONRY WALL REMOVED AND REBUILT IN CEMENT MORTAR	\$1,350.00	\$20,250.00	\$2,950.00	\$44,250.00		
690.2	480.000	CY	STONE MASONRY WALL WITH PARAPET REMOVAL	\$55.00	\$26,400.00	\$1,950.00	\$936,000.00		
691.01	150.000	FT	BALANCE STONE WALL REMOVED AND REBUILT DRY	\$360.00	\$54,000.00	\$1,100.00	\$165,000.00		
691.1	2,700.000	FT	BALANCE STONE WALL REMOVED AND STACKED	\$26.00	\$70,200.00	\$95.00	\$256,500.00		

Bids Open Date: 15 Oct 2025

Project # : 608095

Location : NORTH ANDOVER

District :

Description : NORTH ANDOVER- CORRIDOR IMPROVEMENTS ON ROUTE 114, BETWEEN WAVERLY ROAD AND WILLOW/MILL STREET

				THE MIDDLESE	K CORPORATION	MACKAY CO	NST SERVICES INC
Item #	Quantity	Units	Description	Unit Price	Amount	Unit Price	Amount
691.2	14.000	EA	LANDSCAPE BOULDER REMOVED AND STACKED	\$420.00	\$5,880.00	\$585.00	\$8,190.00
692.1	10.000	CY	GRANITE BLOCK WALL REMOVED AND STACKED	\$1,250.00	\$12,500.00	\$950.00	\$9,500.00
693.3	1.000	EA	BRICK PILLAR REMOVED AND REBUILT	\$24,775.00	\$24,775.00	\$8,500.00	\$8,500.00
693.5	70.000	FT	LANDSCAPE TIE WALLS REMOVED AND STACKED	\$70.00	\$4,900.00	\$585.00	\$40,950.00
697.1	240.000	EA	SILT SACK	\$325.00	\$78,000.00	\$298.00	\$71,520.00
698.3	1,175.000	SY	GEOTEXTILE FABRIC FOR SEPARATION	\$10.00	\$11,750.00	\$28.00	\$32,900.00
698.4	640.000	SY	GEOTEXTILE FABRIC FOR PERMANENT EROSION CONTROL	\$10.00	\$6,400.00	\$19.00	\$12,160.00
701.	8,100.000	SY	CEMENT CONCRETE SIDEWALK	\$100.00	\$810,000.00	\$175.00	\$1,417,500.00
701.1	1,200.000	SY	CEMENT CONCRETE SIDEWALK AT DRIVEWAYS	\$100.00	\$120,000.00	\$195.00	\$234,000.00
701.2	2,925.000	SY	CEMENT CONCRETE PEDESTRIAN CURB RAMP	\$205.00	\$599,625.00	\$235.00	\$687,375.00
702.	2,150.000	TON	HOT MIX ASPHALT SIDEWALK OR DRIVEWAY	\$335.00	\$720,250.00	\$235.00	\$505,250.00
705.1	5.000	SY	FLAGSTONE WALK REMOVED AND RESET	\$770.00	\$3,850.00	\$950.00	\$4,750.00
706.7	750.000	SF	CONCRETE PAVER FOR SEDIMENT FOREBAY	\$80.00	\$60,000.00	\$45.00	\$33,750.00
707.21	1.000	EA	TRASH RECEPTACLE REMOVED AND RESET	\$3,571.00	\$3,571.00	\$1,500.00	\$1,500.00
710.3	80.000	EA	BOUND - LETTERED GRANITE	\$1,610.00	\$128,800.00	\$2,600.00	\$208,000.00
710.4	50.000	EA	BOUND - PLAIN GRANITE	\$1,580.00	\$79,000.00	\$650.00	\$32,500.00
711.	15.000	EA	BOUND REMOVED AND RESET	\$905.00	\$13,575.00	\$650.00	\$9,750.00
712.	5.000	EA	BOUND REMOVED AND STACKED	\$33.00	\$165.00	\$250.00	\$1,250.00
715.	35.000	EA	RURAL MAIL BOX REMOVED AND RESET	\$800.00	\$28,000.00	\$450.00	\$15,750.00
715.01	4.000	EA	RURAL MAIL BOX REMOVED AND DISCARDED	\$370.00	\$1,480.00	\$150.00	\$600.00
722.1	1.000	LS	SCHEDULE OF OPERATIONS (TYPE A) - FIXED PRICE \$175,000	\$175,000.00	\$175,000.00	\$175,000.00	\$175,000.00
740.	60.000	МО	ENGINEERS FIELD OFFICE AND EQUIPMENT (TYPE A)	\$8,510.00	\$510,600.00	\$4,850.00	\$291,000.00
748.	1.000	LS	MOBILIZATION	\$1,700,000.00	\$1,700,000.00	\$1,500,000.00	\$1,500,000.00
751.1	3,750.000	CY	LOAM FOR LAWNS	\$103.00	\$386,250.00	\$95.00	\$356,250.00
751.7	190.000	CY	COMPOST BLANKET	\$125.30	\$23,807.00	\$115.00	\$21,850.00
755.35	1.000	LS	INLAND WETLAND REPLICATION AREA	\$100,000.00	\$100,000.00	\$95,000.00	\$95,000.00

Bids Open Date: 15 Oct 2025

Project # : 608095

Location : NORTH ANDOVER

District :

Description : NORTH ANDOVER- CORRIDOR IMPROVEMENTS ON ROUTE 114, BETWEEN WAVERLY ROAD AND WILLOW/MILL STREET

				THE MIDDLESEX	CORPORATION	MACKAY CONST	SERVICES INC
Item #	Quantity	Units	Description	Unit Price	Amount	Unit Price	Amount
755.45	105.000	SY	WETLAND RESTORATION	\$33.00	\$3,465.00	\$25.00	\$2,625.00
755.55	1.000	LS	COMPENSATORY FLOOD STORAGE AREA	\$80,000.00	\$80,000.00	\$195,000.00	\$195,000.00
755.75	140.000	HR	WETLAND SPECIALIST	\$233.00	\$32,620.00	\$250.00	\$35,000.00
755.76	1.000	LS	WETLANDS MONITORING REPORTS	\$30,000.00	\$30,000.00	\$2,500.00	\$2,500.00
756.	1.000	LS	NPDES STORMWATER POLLUTION PREVENTION PLAN	\$10,000.00	\$10,000.00	\$35,000.00	\$35,000.00
765.	34,000.000	SY	SEEDING	\$5.60	\$190,400.00	\$5.00	\$170,000.00
765.21	27.000	LB	ANNUAL COVER CROP FOR NATIVE SEEDING	\$387.00	\$10,449.00	\$500.00	\$13,500.00
765.415	25.000	LB	SEED - NATIVE SHORT GRASSLAND MIX	\$725.00	\$18,125.00	\$750.00	\$18,750.00
765.554	12.000	LB	WETLAND SEED - SEASONALLY FLOODED MIX	\$725.00	\$8,700.00	\$750.00	\$9,000.00
765.635	5,800.000	SY	NATIVE SEEDING AND ESTABLISHMENT	\$2.00	\$11,600.00	\$6.00	\$34,800.00
767.121	5,175.000	FT	SEDIMENT CONTROL BARRIER	\$17.00	\$87,975.00	\$15.00	\$77,625.00
767.6	60.000	CY	AGED PINE BARK MULCH	\$116.00	\$6,960.00	\$105.00	\$6,300.00
767.9	800.000	SY	JUTE MESH	\$10.00	\$8,000.00	\$9.00	\$7,200.00
769.	1,650.000	FT	PAVEMENT MILLING MULCH UNDER GUARD RAIL	\$20.00	\$33,000.00	\$14.60	\$24,090.00
774.51	7.000	EA	ELM - 'PRINCETON' 2-2.5 INCH CALIPER	\$1,130.00	\$7,910.00	\$1,050.00	\$7,350.00
775.147	10.000	EA	LINDEN - LITTLE LEAF 2-2.5 INCH CALIPER	\$1,130.00	\$11,300.00	\$1,050.00	\$10,500.00
775.437	11.000	EA	LOCUST - HONEY - 'SKYLINE' 2-2.5 INCH CALIPER	\$1,210.00	\$13,310.00	\$1,100.00	\$12,100.00
775.51	5.000	EA	MAIDENHAIR TREE - 'PRINCETON SENTRY' 2-2.5 INCH CALIPER	\$1,515.00	\$7,575.00	\$1,500.00	\$7,500.00
776.557	13.000	EA	MAPLE - RED - 'RED SUNSET' 2-2.5 INCH CALIPER	\$1,130.00	\$14,690.00	\$1,050.00	\$13,650.00
777.138	13.000	EA	OAK - PIN 2-2.5 INCH CALIPER	\$1,130.00	\$14,690.00	\$1,050.00	\$13,650.00
777.328	11.000	EA	OAK - WHITE 2-2.5 INCH CALIPER	\$1,350.00	\$14,850.00	\$1,400.00	\$15,400.00
777.442	7.000	EA	PLANETREE - AMERICAN 2-2.5 INCH CALIPER	\$1,130.00	\$7,910.00	\$1,050.00	\$7,350.00
777.673	3.000	EA	SWEETGUM - FRUITLESS 2-2.5 INCH CALIPER	\$1,130.00	\$3,390.00	\$1,050.00	\$3,150.00
778.383	6.000	EA	CHERRY - SARGENT COLUMNAR 1.5-2 INCH CALIPER	\$1,030.00	\$6,180.00	\$1,050.00	\$6,300.00
781.263	5.000	EA	HAWTHORN - 'WINTER KING' 1.5-2 INCH CALIPER	\$970.00	\$4,850.00	\$1,100.00	\$5,500.00
781.578	10.000	EA	LILAC TREE - JAPANESE IVORY SILK 1.5-2 INCH CALIPER	\$1,200.00	\$12,000.00	\$1,100.00	\$11,000.00

Bids Open Date: 15 Oct 2025

Project # : 608095

Location : NORTH ANDOVER

District :

Description : NORTH ANDOVER- CORRIDOR IMPROVEMENTS ON ROUTE 114, BETWEEN WAVERLY ROAD AND WILLOW/MILL STREET

				THE MIDDLESEX	CORPORATION	MACKAY CONST	SERVICES INC
Item #	Quantity	Units	Description	Unit Price	Amount	Unit Price	Amount
782.541	6.000	EA	REDBUD - EASTERN 1.5-2 INCH CALIPER	\$1,050.00	\$6,300.00	\$1,050.00	\$6,300.00
790.512	8.000	EA	DOGWOOD - 'GRAY' 2-3 FEET / #3	\$195.00	\$1,560.00	\$350.00	\$2,800.00
795.021	5.000	EA	VIBURNUM - 'BLACKHAW' 2-3 FEET / #3	\$200.00	\$1,000.00	\$350.00	\$1,750.00
797.01	10.000	EA	TREE - CONTINGENCY 2-2.5 INCH CALIPER	\$1,145.00	\$11,450.00	\$1,100.00	\$11,000.00
801.32	80.000	FT	3 INCH ELECTRICAL CONDUIT - TYPE NM (DOUBLE)	\$100.00	\$8,000.00	\$115.00	\$9,200.00
802.433	110.000	FT	4 INCH TELEPHONE CONDUIT - TYPE NM (3 BANK)	\$250.00	\$27,500.00	\$195.00	\$21,450.00
804.22	10.000	FT	2 INCH ELECTRICAL CONDUIT TYPE NM - PLASTIC (UL) - SPLIT DUCT	\$100.00	\$1,000.00	\$250.00	\$2,500.00
804.3	4,850.000	FT	3 INCH ELECTRICAL CONDUIT TYPE NM - PLASTIC - (UL)	\$85.00	\$412,250.00	\$95.00	\$460,750.00
804.33	320.000	FT	3 INCH ELECTRICAL CONDUIT - TYPE NM - PLASTIC - (UL) - LIGHTING	\$120.00	\$38,400.00	\$95.00	\$30,400.00
804.4	80.000	FT	4 INCH ELECTRICAL CONDUIT TYPE NM - PLASTIC - (UL)	\$180.00	\$14,400.00	\$105.00	\$8,400.00
806.4	40.000	FT	4 INCH ELECTRICAL CONDUIT TYPE RM - GALVANIZED STEEL	\$300.00	\$12,000.00	\$250.00	\$10,000.00
811.22	45.000	EA	ELECTRIC HANDHOLE - SD2.022	\$2,200.00	\$99,000.00	\$1,500.00	\$67,500.00
811.24	6.000	EA	ELECTRIC HANDHOLE - SD2.024	\$1,760.00	\$10,560.00	\$2,600.00	\$15,600.00
811.31	45.000	EA	PULL BOX 12 X 12 INCHES - SD2.031	\$900.00	\$40,500.00	\$1,400.00	\$63,000.00
812.09	3.000	EA	LIGHT STANDARD FOUNDATION PRECAST	\$4,470.00	\$13,410.00	\$3,500.00	\$10,500.00
814.	1.000	LS	ADAPTIVE TRAFFIC SIGNAL CONTROL	\$300,000.00	\$300,000.00	\$151,800.00	\$151,800.00
815.07	1.000	LS	TRAFFIC CONTROL SIGNAL LOCATION NO. 7	\$400,000.00	\$400,000.00	\$324,415.00	\$324,415.00
816.01	1.000	LS	TRAFFIC SIGNAL RECONSTRUCTION LOCATION NO.	\$650,000.00	\$650,000.00	\$430,675.00	\$430,675.00
816.02	1.000	LS	TRAFFIC SIGNAL RECONSTRUCTION LOCATION NO. 2	\$415,000.00	\$415,000.00	\$279,900.00	\$279,900.00
816.03	1.000	LS	TRAFFIC SIGNAL RECONSTRUCTION LOCATION NO. 3	\$600,000.00	\$600,000.00	\$389,500.00	\$389,500.00
816.04	1.000	LS	TRAFFIC SIGNAL RECONSTRUCTION LOCATION NO. 4	\$550,000.00	\$550,000.00	\$352,000.00	\$352,000.00
816.05	1.000	LS	TRAFFIC SIGNAL RECONSTRUCTION LOCATION NO. 5	\$540,000.00	\$540,000.00	\$277,500.00	\$277,500.00

Bids Open Date: 15 Oct 2025

Project # : 608095

Location : NORTH ANDOVER

District :

Description : NORTH ANDOVER- CORRIDOR IMPROVEMENTS ON ROUTE 114, BETWEEN WAVERLY ROAD AND WILLOW/MILL STREET

				THE MIDDLESEX	CORPORATION	MACKAY CONST	SERVICES INC
Item #	Quantity	Units	Description	Unit Price	Amount	Unit Price	Amount
816.06	1.000	LS	TRAFFIC SIGNAL RECONSTRUCTION LOCATION NO. 6	\$620,000.00	\$620,000.00	\$420,500.00	\$420,500.00
816.08	1.000	LS	TRAFFIC SIGNAL RECONSTRUCTION LOCATION NO. 8	\$500,000.00	\$500,000.00	\$324,500.00	\$324,500.00
816.09	1.000	LS	TRAFFIC SIGNAL RECONSTRUCTION LOCATION NO. 9	\$550,000.00	\$550,000.00	\$360,500.00	\$360,500.00
816.80	1.000	LS	TRAFFIC CONTROL SIGNAL REMOVED AND STACKED	\$70,000.00	\$70,000.00	\$25,000.00	\$25,000.00
823.70	3.000	EA	HIGHWAY LIGHTING POLE AND LUMINAIRE REMOVED AND RESET	\$2,524.00	\$7,572.00	\$1,950.00	\$5,850.00
823.71	3.000	EA	HIGHWAY LIGHTING POLE AND LUMINAIRE REMOVED AND STACKED	\$650.00	\$1,950.00	\$1,050.00	\$3,150.00
824.221	1.000	LS	RECTANGULAR RAPID-FLASHING BEACONS SYSTEM (SOLAR)	\$29,400.00	\$29,400.00	\$19,850.00	\$19,850.00
825.10	1.000	LS	RADAR SPEED DISPLAY SIGN (SOLAR POWERED)	\$17,555.00	\$17,555.00	\$15,500.00	\$15,500.00
826.70	10.000	EA	ELECTRIC SERVICE RISER RELOCATED	\$5,125.00	\$51,250.00	\$9,850.00	\$98,500.00
831.11	1,275.000	SF	ROADSIDE GUIDE SIGN (MA-D1-XX) ALUMINUM PANEL (TYPE A)	\$55.00	\$70,125.00	\$39.00	\$49,725.00
832.	2,550.000	SF	WARNING-REGULATORY AND ROUTE MARKER - ALUMINUM PANEL (TYPE A)	\$21.00	\$53,550.00	\$20.00	\$51,000.00
841.11	46.000	EA	SUPPORT FOR GUIDE SIGN (MA-D1-XX) - 5 INCH TUBULAR - STEEL	\$3,380.00	\$155,480.00	\$3,500.00	\$161,000.00
847.1	308.000	EA	SIGN SUP (N/GUIDE)+RTE MKR W/1 BRKWAY POST ASSEMBLY - STEEL	\$300.00	\$92,400.00	\$265.00	\$81,620.00
848.1	24.000	EA	SIGN SUP (N/GUIDE)+RTE MKR W/2 BRKWAY POST ASSEMBLIES-STEEL	\$505.00	\$12,120.00	\$488.00	\$11,712.00
850.41	1,450.000	HR	ROADWAY FLAGGER	\$90.00	\$130,500.00	\$65.00	\$94,250.00
851.1	1,050.000	DAY	TRAFFIC CONES FOR TRAFFIC MANAGEMENT	\$7.00	\$7,350.00	\$450.00	\$472,500.00
852.	1,700.000	SF	SAFETY SIGNING FOR TRAFFIC MANAGEMENT	\$40.00	\$68,000.00	\$28.00	\$47,600.00
852.11	2,000.000	FT	TEMPORARY PEDESTRIAN BARRICADE	\$35.00	\$70,000.00	\$25.00	\$50,000.00
852.12	20.000	EA	TEMPORARY PEDESTRIAN CURB RAMP	\$3,700.00	\$74,000.00	\$350.00	\$7,000.00
853.1	20.000	EA	PORTABLE BREAKAWAY BARRICADE TYPE III	\$230.00	\$4,600.00	\$250.00	\$5,000.00
853.2	400.000	FT	TEMPORARY BARRIER (TL-2)	\$60.00	\$24,000.00	\$125.00	\$50,000.00

Bids Open Date: 15 Oct 2025

Project # : 608095

Location : NORTH ANDOVER

District :

Description : NORTH ANDOVER- CORRIDOR IMPROVEMENTS ON ROUTE 114, BETWEEN WAVERLY ROAD AND WILLOW/MILL STREET

		_		THE MIDDLESEX	CORPORATION	MACKAY CONST	CONST SERVICES INC	
Item #	Quantity	Units	Description	Unit Price	Amount	Unit Price	Amount	
853.21	1,200.000	FT	TEMPORARY BARRIER REMOVED AND RESET	\$25.00	\$30,000.00	\$35.00	\$42,000.00	
853.33	300.000	FT	TEMPORARY BARRIER - LIMITED DEFLECTION (TL-3)	\$90.00	\$27,000.00	\$165.00	\$49,500.00	
853.34	120.000	FT	TEMPORARY BARRIER - LIMITED DEFLECTION (TL- 3) REMOVED AND RESET	\$25.00	\$3,000.00	\$85.00	\$10,200.00	
853.403	120.000	DAY	TRUCK MOUNTED ATTENUATOR	\$240.00	\$28,800.00	\$350.00	\$42,000.00	
853.8	550.000	DAY	TEMPORARY ILLUMINATION FOR WORK ZONE	\$460.00	\$253,000.00	\$485.00	\$266,750.00	
854.016	106,000.000	FT	TEMPORARY PAVING MARKINGS - 6 INCH (PAINTED)	\$0.45	\$47,700.00	\$1.00	\$106,000.00	
854.036	9,000.000	FT	TEMPORARY PAVING MARKINGS - 6 INCH (TAPE)	\$4.00	\$36,000.00	\$3.00	\$27,000.00	
854.1	1,000.000	SF	PAVEMENT MARKING REMOVAL	\$4.00	\$4,000.00	\$3.10	\$3,100.00	
856.	3,200.000	DAY	ARROW BOARD	\$16.00	\$51,200.00	\$25.00	\$80,000.00	
856.12	1,700.000	DAY	PORTABLE CHANGEABLE MESSAGE SIGN	\$35.00	\$59,500.00	\$35.00	\$59,500.00	
859.	83,500.000	DAY	REFLECTORIZED DRUM	\$0.40	\$33,400.00	\$0.30	\$25,050.00	
859.1	2,100.000	DAY	REFLECTORIZED DRUMS WITH SEQUENTIAL FLASHING WARNING LIGHTS	\$3.00	\$6,300.00	\$15.00	\$31,500.00	
864.02	800.000	SF	PAVEMENT ARROW AND LEGENDS - TAPE	\$26.00	\$20,800.00	\$68.00	\$54,400.00	
864.04	9,050.000	SF	PAVEMENT ARROWS AND LEGENDS REFLECTORIZED WHITE (THERMOPLASTIC)	\$16.00	\$144,800.00	\$9.15	\$82,807.50	
864.41	1,500.000	SF	GREEN COLORIZED PAVEMENT MARKINGS	\$20.00	\$30,000.00	\$23.00	\$34,500.00	
866.106	50,000.000	FT	6 INCH REFLECTORIZED WHITE LINE (THERMOPLASTIC)	\$2.00	\$100,000.00	\$1.56	\$78,000.00	
866.112	26,600.000	FT	12 INCH REFLECTORIZED WHITE LINE (THERMOPLASTIC)	\$4.00	\$106,400.00	\$7.75	\$206,150.00	
867.106	39,500.000	FT	6 INCH REFLECTORIZED YELLOW LINE (THERMOPLASTIC)	\$2.00	\$79,000.00	\$1.56	\$61,620.00	
867.112	1,175.000	FT	12 INCH REFLECTORIZED YELLOW LINE (THERMOPLASTIC)	\$4.00	\$4,700.00	\$7.75	\$9,106.25	
874.	60.000	EA	STREET NAME SIGN	\$206.00	\$12,360.00	\$350.00	\$21,000.00	
874.2	3.000	EA	TRAFFIC SIGN REMOVED AND RESET	\$165.00	\$495.00	\$150.00	\$450.00	
874.41	350.000	EA	TRAFFIC SIGN REMOVED AND DISCARDED	\$65.00	\$22,750.00	\$20.00	\$7,000.00	
901.	3.000	CY	4000 PSI, 1.5 INCH, 565 CEMENT CONCRETE	\$5,080.00	\$15,240.00	\$5,500.00	\$16,500.00	

Bids Open Date: 15 Oct 2025

Project # : 608095

Location : NORTH ANDOVER

District :

Description : NORTH ANDOVER- CORRIDOR IMPROVEMENTS ON ROUTE 114, BETWEEN WAVERLY ROAD AND WILLOW/MILL STREET

				THE MIDDLESE	K CORPORATION	MACKAY CO	ONST SERVICES INC
Item #	Quantity	Units	Description	Unit Price	Amount	Unit Price	Amoun
903.	350.000	CY	3000 PSI, 1.5 INCH, 470 CEMENT CONCRETE	\$625.00	\$218,750.00	\$350.00	\$122,500.00
904.	105.000	CY	4000 PSI, 3/4 INCH, 610 CEMENT CONCRETE	\$1,270.00	\$133,350.00	\$2,950.00	\$309,750.00
904.3	860.000	CY	5000 PSI, 3/4 INCH, 685 HP CEMENT CONCRETE	\$3,200.00	\$2,752,000.00	\$1,980.00	\$1,702,800.00
905.2	100.000	CY	5000 PSI, 3/8 INCH, 710 HP CEMENT CONCRETE	\$4,300.00	\$430,000.00	\$1,985.00	\$198,500.00
910.1	40,000.000	LB	STEEL REINFORCEMENT FOR STRUCTURES - EPOXY COATED	\$3.00	\$120,000.00	\$2.55	\$102,000.00
912.	2,780.000	EA	DRILLING AND GROUTING DOWELS	\$77.00	\$214,060.00	\$85.00	\$236,300.00
952.	380,160.000	LB	STEEL SHEETING	\$2.80	\$1,064,448.00	\$2.00	\$760,320.00
953.01	1.000	LS	PERMANENT SUPPORT OF EXCAVATION - HEADWALL	\$40,000.00	\$40,000.00	\$95,000.00	\$95,000.00
953.11	1.000	LS	TEMPORARY SUPPORT OF EXCAVATION	\$70,000.00	\$70,000.00	\$165,000.00	\$165,000.00
953.12	1.000	LS	TEMPORARY SUPPORT OF EXCAVATION FOR WALL A	\$75,000.00	\$75,000.00	\$95,000.00	\$95,000.00
953.13	1.000	LS	TEMPORARY SUPPORT OF EXCAVATION FOR WALL B	\$50,000.00	\$50,000.00	\$65,000.00	\$65,000.00
970.	5,710.000	SF	DAMP-PROOFING	\$5.00	\$28,550.00	\$16.50	\$94,215.00
975.5	405.000	FT	ALUMINUM HANDRAIL	\$760.00	\$307,800.00	\$195.00	\$78,975.00
983.35	280.000	CY	STREAMBED MATERIAL REMOVED AND RELAID	\$105.00	\$29,400.00	\$285.00	\$79,800.00
986.2	500.000	CY	MODIFIED ROCKFILL	\$95.00	\$47,500.00	\$195.00	\$97,500.00
986.21	260.000	CY	MODIFIED ROCKFILL WITH GRAVEL PACKED VOIDS	\$95.00	\$24,700.00	\$285.00	\$74,100.00
991.1	1.000	LS	CONTROL OF WATER - STRUCTURE NO. N-15-021 (CBN)	\$300,000.00	\$300,000.00	\$180,000.00	\$180,000.00
995.011	1.000	LS	CULVERT STRUCTURE, CULVERT NO. N-15-021 (CBN)	\$1,325,246.00	\$1,325,246.00	\$2,950,000.00	\$2,950,000.00
996.011	1.000	LS	MODULAR BLOCK WALL REMOVED AND REBUILT	\$120,000.00	\$120,000.00	\$139,800.00	\$139,800.00
996.021	1.000	LS	SOLDIER PILE AND LAGGING	\$1,600,000.00	\$1,600,000.00	\$948,500.00	\$948,500.00
				Total :	\$56,997,755.00	Total :	\$59,893,518.25

Bids Open Date: 15 Oct 2025



Eligible Bidders Posting Opened Contracts



Bids Unit

Corridor Improvements on Route 114, between Waverly Road and Willow/Mill Street

Contract #: 131997

Project #: 608095 **Bid Opening Date:** 10/15/2025

City: NORTH ANDOVER Office Estimate: \$49,974,111.50

District: 4 No. of Addendums: 6

Class Of Work: Highway - Construction DBE % (goal): 0.00 %

MWBE % (goal): SDVOB % (goal):

Contractor(s)	JV	Approval Date	Official / Waiver	Bid Amount
ALBANESE D & S,INC.	No	09/03/2025	Waiver	\$52,736,761.25
BALTAZAR CONTRACTORS INC	No	08/27/2025	Waiver	\$55,287,706.00
BARLETTA HEAVY DIVISION INC	No	08/19/2025	Official	\$55,175,000.00
D W WHITE CONSTRUCTION INC	No	09/15/2025	Official	\$48,616,803.66
ET&LCORP	No	08/18/2025	Official	No Bid
J H LYNCH & SONS INC	No	08/17/2025	Official	\$47,800,373.90
MACKAY CONST SERVICES INC	No	09/17/2025	Waiver	\$59,893,518.25
MCCOURT CONSTRUCTION CO INC	No	08/18/2025	Official	\$52,887,460.70
NEWPORT CONSTRUCTION CORP	No	08/27/2025	Waiver	No Bid
P GIOIOSO & SONS INC	No	09/08/2025	Official	\$50,522,805.00
SPS NEW ENGLAND INC	No	08/25/2025	Official	No Bid
THE DOW CO INC	No	09/03/2025	Waiver	No Bid
THE MIDDLESEX CORPORATION	No	08/22/2025	Official	\$56,997,755.00

Total # of Bidders: 13



DOCUMENT B00420

PROPOSAL

NORTH ANDOVER

For: Corridor Improvements on Route 114, between Waverley Road and Willow / Mill Street

COMMONWEALTH OF MASSACHUSETTS

LOCATION

The work referred to herein is in the Town of NORTH ANDOVER in Essex County, in the Commonwealth of Massachusetts, and is shown by the locus map (Document 00331) in the Proposal Pamphlet, the work locations extend as follows:

Route 114 Beginning – Station 13+00.00

Ending -Station 130+10.00

Waverley Road Limit of Work – Station 12+60.00

Limit of Work - Station 22+55.00

Andover Street Limit of Work – Station 9+00.00

Limit of Work – Station 17+90.00

Peters Street Limit of Work – Station 17+40.00

Limit of Work - Station 27+10.00

Andover Bypass Street Limit of Work – Station 21+00.00

Willow Street Limit of Work – Station 23+10.00

Royal Crest Drive Limit of Work – Station 12+30.00

Hillside Road Limit of Work – Station 10+20.00

Mill Road

Limit of Work – Station 12+75.00

Bridge No. N-15-021

The contract prices shall include the furnishing of all materials (except as otherwise herein specified), the performing of all the labor requisite or proper, the providing of all necessary machinery, tools, apparatus and other means of construction, the doing of all the abovementioned work in the manner set forth, described and shown in the specifications and on the drawings for the work, and in the form of contract, and the completion thereof within **1811 CALENDAR DAYS** upon receipt of a Notice to Proceed, except that if the completion date falls

1811 CALENDAR DAYS upon receipt of a Notice to Proceed, except that if the completion date falls between December 1 and March 15 then the same number of days beyond December 1st will be extended after March 15th.

The Work of this project is described by the following Items and quantities.





Project # : 608095

District

Contractor : J H LYNCH & SONS INC Contract # : 131997

Project Manager LAWRENCE CASH

Location : NORTH ANDOVER

Description: Corridor Improvements on Route 114, between Waverly Road and Willow/Mill Street

	Item #	Quantity	Unit	Item Description	Unit Price	Total
*	100.71	1.000	LS	MASONRY WORK	\$75,000.00	\$75,000.00
*	100.9	1.000	LS	PRE AND POST CONSTRUCTION SURVEY AND VIBRATION MONITORING	\$175,000.00	\$175,000.00
	101.	2.500	Α	CLEARING AND GRUBBING	\$80,000.00	\$200,000.00
*	102.2	1.000	LS	TREE TRIMMING	\$25,000.00	\$25,000.00
*	102.3	60.000	HR	HERBICIDE TREATMENT OF INVASIVE PLANTS	\$475.00	\$28,500.00
*	102.33	16.000	HR	INVASIVE PLANT MANAGEMENT STRATEGY	\$375.00	\$6,000.00
*	102.513	175.000	FT	AIR EXCAVATION AND ROOT PRUNING	\$44.00	\$7,700.00
*	102.521	1,500.000	FT	TREE AND PLANT PROTECTION FENCE	\$15.00	\$22,500.00
*	102.531	12.000	EA	TREE CARE - PRUNING	\$500.00	\$6,000.00
*	102.533	800.000	GAL	TREE CARE - WATERING	\$8.00	\$6,400.00
*	102.55	55.000	HR	ARBORIST	\$245.00	\$13,475.00
	103.	110.000	EA	TREE REMOVED - DIAMETER UNDER 24 INCHES	\$1,200.00	\$132,000.00
	104.	35.000	EA	TREE REMOVED - DIAMETER 24 INCHES AND OVER	\$3,800.00	\$133,000.00
	105.	20.000	EA	STUMP REMOVED	\$575.00	\$11,500.00
	112.1	1.000	LS	DEMOLITION OF BUILDING NO. 1	\$75,000.00	\$75,000.00
	112.2	1.000	LS	DEMOLITION OF BUILDING NO. 2	\$75,000.00	\$75,000.00
	112.3	1.000	LS	DEMOLITION OF BUILDING NO. 3	\$75,000.00	\$75,000.00
*	112.4	1.000	LS	DEMOLITION OF BUILDING NO. 4	\$75,000.00	\$75,000.00
	119.	1.000	LS	RODENT CONTROL	\$6,000.00	\$6,000.00
	120.	26,500.000	CY	EARTH EXCAVATION	\$85.00	\$2,252,500.00
	121.	50.000	CY	CLASS A ROCK EXCAVATION	\$225.00	\$11,250.00
	123.	250.000	CY	MUCK EXCAVATION	\$35.00	\$8,750.00
*	127.1	900.000	CY	REINFORCED CONCRETE EXCAVATION	\$495.00	\$445,500.00
	140.	2,270.000	CY	BRIDGE EXCAVATION	\$75.00	\$170,250.00
	141.	800.000	CY	CLASS A TRENCH EXCAVATION	\$60.00	\$48,000.00
	141.1	950.000	CY	TEST PIT FOR EXPLORATION	\$230.00	\$218,500.00
*	141.11	40.000	DAY	TEST PIT FOR EXPLORATION - VACUUM EXCAVATION	\$5,500.00	\$220,000.00
	142.	4,750.000	CY	CLASS B TRENCH EXCAVATION	\$30.00	\$142,500.00
	144.	510.000	CY	CLASS B ROCK EXCAVATION	\$225.00	\$114,750.00
	145.	5.000	EA	DRAINAGE STRUCTURE ABANDONED	\$1,400.00	\$7,000.00
	146.	150.000	EA	DRAINAGE STRUCTURE REMOVED	\$700.00	\$105,000.00
*	149.2	1.000	LS	PUBLIC OUTREACH	\$250,000.00	\$250,000.00
	150.	200.000	CY	ORDINARY BORROW	\$30.00	\$6,000.00
	150.1	200.000	CY	SPECIAL BORROW	\$85.00	\$17,000.00
	151.	17,250.000	CY	GRAVEL BORROW	\$25.00	\$431,250.00
	151.1	120.000	CY	GRAVEL BORROW FOR BRIDGE FOUNDATION	\$110.00	\$13,200.00
	151.2	1,355.000	CY	GRAVEL BORROW FOR BACKFILLING STRUCTURES AND PIPES	\$80.00	\$108,400.00

^{*} Non-Standard Item

Project # : 608095

Contractor : J H LYNCH & SONS INC Contract # : 131997

District : 4 Project Manager LAWRENCE CASH

Location : NORTH ANDOVER

	Item #	Quantity	Unit	Item Description	Unit Price	Total
	154.	600.000	CY	SAND BORROW	\$105.00	\$63,000.00
	156.	1,250.000	TON	CRUSHED STONE	\$55.00	\$68,750.00
	156.1	55.000	TON	CRUSHED STONE FOR BRIDGE FOUNDATIONS	\$110.00	\$6,050.00
*	156.8	500.000	CY	CRUSHED STONE FOR SUB-BASE	\$67.00	\$33,500.00
	160.2	90.000	CY	CONTROLLED LOW-STRENGTH MATERIAL - MECHANICAL EXCAVATABLE (101-300 PSI)	\$360.00	\$32,400.00
	170.	61,000.000	SY	FINE GRADING AND COMPACTING - SUBGRADE AREA	\$17.00	\$1,037,000.00
*	173.	1,700.000	SY	DECOMPACTION FOR LAWN	\$2.75	\$4,675.00
*	180.01	1.000	LS	ENVIRONMENTAL HEALTH AND SAFETY PROGRAM	\$5,000.00	\$5,000.00
*	180.02	40.000	HR	PERSONAL PROTECTION LEVEL C UPGRADE	\$20.00	\$800.00
*	180.03	40.000	HR	LICENSED SITE PROFESSIONAL SERVICES	\$120.00	\$4,800.00
*	181.11	9,600.000	TON	DISPOSAL OF UNREGULATED SOIL	\$54.00	\$518,400.00
*	181.12	1,150.000	TON	DISPOSAL OF REGULATED SOIL - IN-STATE FACILITY	\$90.00	\$103,500.00
*	181.13	575.000	TON	DISPOSAL OF REGULATED SOIL - OUT-OF-STATE FACILITY	\$145.00	\$83,375.00
*	181.14	115.000	TON	DISPOSAL OF HAZARDOUS WASTE	\$325.00	\$37,375.00
*	182.1	1.000	LS	INSPECTION AND TESTING FOR ASBESTOS	\$42,000.00	\$42,000.00
*	182.2	300.000	FT	REMOVAL OF ASBESTOS	\$420.00	\$126,000.00
*	182.3	1.000	LS	ASBESTOS ABATEMENT FOR BUILDING DEMOLITION	\$77,500.00	\$77,500.00
*	183.1	10,000.000	GAL	TREATMENT OF CONTAMINATED GROUNDWATER	\$6.65	\$66,500.00
*	183.2	1,000.000	LB	DISPOSAL OF GRANULAR ACTIVATED CARBON	\$6.00	\$6,000.00
*	184.1	10.000	TON	DISPOSAL OF TREATED WOOD PRODUCTS	\$375.00	\$3,750.00
*	188.1	1.000	LS	TESTING OF PCB BALLASTS	\$3,500.00	\$3,500.00
*	188.2	1.000	LS	DISPOSAL OF PCB BALLASTS	\$5,500.00	\$5,500.00
*	188.3	50.000	EA	DISPOSAL OF MERCURY CONTAINING LAMPS	\$55.00	\$2,750.00
*	192.6	3.000	EA	MONITORING WELL ADJUSTED	\$950.00	\$2,850.00
	201.	235.000	EA	CATCH BASIN	\$3,900.00	\$916,500.00
*	201.3	4.000	EA	SPECIAL CATCH BASIN	\$5,800.00	\$23,200.00
	202.	115.000	EA	MANHOLE	\$6,200.00	\$713,000.00
*	202.05	32.000	EA	MANHOLE 5 FEET ID	\$8,300.00	\$265,600.00
*	202.06	12.000	EA	MANHOLE 6 FEET ID	\$10,000.00	\$120,000.00
*	202.07	2.000	EA	MANHOLE 7 FEET ID	\$13,000.00	\$26,000.00
	202.2	4.000	EA	MANHOLE (9 TO 14 FOOT DEPTH)	\$9,000.00	\$36,000.00
*	202.205	4.000	EA	MANHOLE (9 TO 14 FOOT DEPTH) 5 FEET ID	\$14,000.00	\$56,000.00
*	202.65	1.000	LS	OUTLET CONTROL STRUCTURE	\$14,500.00	\$14,500.00
*	203.2	1.000	EA	CURB COVER AND FRAME	\$2,800.00	\$2,800.00
*	203.31	6.000	EA	DOGHOUSE MANHOLE	\$6,500.00	\$39,000.00
*	203.35	2.000	EA	DOGHOUSE MANHOLE 5 FEET ID	\$8,200.00	\$16,400.00
	204.	32.000	EA	GUTTER INLET	\$2,700.00	\$86,400.00
	209.1	8.000	EA	DROP INLET, TYPE DF	\$4,500.00	\$36,000.00

^{*} Non-Standard Item

Project # : 608095

Contractor : J H LYNCH & SONS INC Contract # : 131997

District : 4 Project Manager LAWRENCE CASH

Location : NORTH ANDOVER

	Item #	Quantity	Unit	Item Description	Unit Price	Total
*	210.1	2.000	EA	SANITARY SEWER MANHOLE MUNICIPAL STANDARD	\$12,000.00	\$24,000.00
*	211.31	2.000	EA	SANITARY SEWER DOGHOUSE MANHOLE	\$15,000.00	\$30,000.00
	220.	480.000	EA	DRAINAGE STRUCTURE ADJUSTED	\$560.00	\$268,800.00
	220.2	25.000	FT	DRAINAGE STRUCTURE REBUILT	\$575.00	\$14,375.00
	220.3	12.000	EA	DRAINAGE STRUCTURE CHANGE IN TYPE	\$625.00	\$7,500.00
	220.5	13.000	EA	DRAINAGE STRUCTURE REMODELED	\$800.00	\$10,400.00
*	220.6	25.000	FT	SANITARY STRUCTURE REBUILT	\$575.00	\$14,375.00
	220.7	65.000	EA	SANITARY STRUCTURE ADJUSTED	\$560.00	\$36,400.00
*	220.8	9.000	EA	SANITARY STRUCTURE REMODELED	\$800.00	\$7,200.00
	221.	295.000	EA	FRAME AND COVER	\$1,300.00	\$383,500.00
*	221.1	1.000	EA	FRAME AND COVER - SECURED	\$1,400.00	\$1,400.00
	222.1	220.000	EA	FRAME AND GRATE - MASSDOT CASCADE TYPE	\$1,500.00	\$330,000.00
	222.2	8.000	EA	FRAME AND GRATE - MASSDOT DROP INLET	\$1,300.00	\$10,400.00
*	222.3	2.000	EA	FRAME AND GRATE (OR COVER) MUNICIPAL STANDARD	\$1,500.00	\$3,000.00
	223.2	260.000	EA	FRAME AND GRATE (OR COVER) REMOVED AND DISCARDED	\$70.00	\$18,200.00
	224.10	35.000	EA	10 INCH HOOD	\$325.00	\$11,375.00
	224.12	154.000	EA	12 INCH HOOD	\$325.00	\$50,050.00
	227.3	200.000	CY	REMOVAL OF DRAINAGE STRUCTURE SEDIMENT	\$275.00	\$55,000.00
	227.31	3,500.000	FT	REMOVAL OF DRAINAGE PIPE SEDIMENT	\$6.00	\$21,000.00
	227.4	110.000	SF	MASONRY PLUG	\$150.00	\$16,500.00
	238.10	720.000	FT	10 INCH DUCTILE IRON PIPE	\$200.00	\$144,000.00
	238.12	750.000	FT	12 INCH DUCTILE IRON PIPE	\$160.00	\$120,000.00
	238.18	410.000	FT	18 INCH DUCTILE IRON PIPE	\$250.00	\$102,500.00
*	238.30	35.000	FT	30 INCH DUCTILE IRON PIPE	\$500.00	\$17,500.00
	241.12	6,750.000	FT	12 INCH REINFORCED CONCRETE PIPE	\$135.00	\$911,250.00
	241.15	3,625.000	FT	15 INCH REINFORCED CONCRETE PIPE	\$140.00	\$507,500.00
	241.18	1,100.000	FT	18 INCH REINFORCED CONCRETE PIPE	\$130.00	\$143,000.00
	241.24	3,420.000	FT	24 INCH REINFORCED CONCRETE PIPE	\$170.00	\$581,400.00
	241.30	1,230.000	FT	30 INCH REINFORCED CONCRETE PIPE	\$150.00	\$184,500.00
	241.36	90.000	FT	36 INCH REINFORCED CONCRETE PIPE	\$305.00	\$27,450.00
	242.12	2.000	EA	12 INCH REINFORCED CONCRETE PIPE FLARED END	\$1,400.00	\$2,800.00
	242.15	1.000	EA	15 INCH REINFORCED CONCRETE PIPE FLARED END	\$1,500.00	\$1,500.00
	244.12	510.000	FT	12 INCH REINFORCED CONCRETE PIPE CLASS V	\$120.00	\$61,200.00
	244.15	115.000	FT	15 INCH REINFORCED CONCRETE PIPE CLASS V	\$160.00	\$18,400.00
	244.18	190.000	FT	18 INCH REINFORCED CONCRETE PIPE CLASS V	\$170.00	\$32,300.00
	244.24	420.000	FT	24 INCH REINFORCED CONCRETE PIPE CLASS V	\$170.00	\$71,400.00
	244.30	700.000	FT	30 INCH REINFORCED CONCRETE PIPE CLASS V	\$200.00	\$140,000.00
	244.36	10.000	FT	36 INCH REINFORCED CONCRETE PIPE CLASS V	\$460.00	\$4,600.00

^{*} Non-Standard Item

Project # : 608095

Contractor : J H LYNCH & SONS INC Contract # : 131997

District : 4 Project Manager LAWRENCE CASH

Location : NORTH ANDOVER

Total	Unit Price	Item Description	Unit	Quantity	Item #
\$27,000.00	\$270.00	SEWER SERVICE RELOCATION	FT	100.000	248.001
\$235,000.00	\$235,000.00	SANITARY SEWER BYPASS PUMPING	LS	1.000	249.001
\$31,200.00	\$240.00	6 INCH POLYVINYL CHLORIDE SANITARY SEWER PIPE	FT	130.000	250.06
\$24,500.00	\$350.00	8 INCH POLYVINYL CHLORIDE SANITARY SEWER PIPE	FT	70.000	250.08
\$376,000.00	\$235.00	6 INCH DUCTILE IRON SEWER PIPE	FT	1,600.000	250.506
\$38,000.00	\$380.00	10 INCH DUCTILE IRON SEWER PIPE	FT	100.000	250.510
\$2,600.00	\$130.00	STONE FOR PIPE ENDS	SY	20.000	258.
\$9,000.00	\$75.00	6 INCH SLOT-PERFORATED CORRUGATED PLASTIC PIPE (SUBDRAIN)	FT	120.000	269.06
\$100,500.00	\$30.00	12 INCH AND UNDER PIPE REMOVED AND DISCARDED	FT	3,350.000	272.12
\$63,750.00	\$50.00	15 INCH PIPE REMOVED AND DISCARDED	FT	1,275.000	272.15
\$7,500.00	\$50.00	18 INCH PIPE REMOVED AND DISCARDED	FT	150.000	272.18
\$57,375.00	\$45.00	24 INCH PIPE REMOVED AND DISCARDED	FT	1,275.000	272.24
\$60,800.00	\$95.00	DUMPED STONE DRAINAGE CHANNEL	TON	640.000	284.514
\$23,750.00	\$950.00	TRENCH DRAIN	FT	25.000	292.1
\$58,000.00	\$58,000.00	BIORETENTION AREA	LS	1.000	295.01
\$175,000.00	\$175,000.00	INFILTRATION BASIN	LS	1.000	295.02
\$330,000.00	\$825.00	6 INCH DUCTILE IRON WATER PIPE (RUBBER GASKET)	FT	400.000	302.06
\$43,500.00	\$1,450.00	8 INCH DUCTILE IRON WATER PIPE (RUBBER GASKET)	FT	30.000	302.08
\$23,000.00	\$2,300.00	10 INCH DUCTILE IRON WATER PIPE (RUBBER GASKET)	FT	10.000	302.10
\$624,750.00	\$850.00	12 INCH DUCTILE IRON WATER PIPE (RUBBER GASKET)	FT	735.000	302.12
\$226,200.00	\$7.80	DUCTILE IRON FITTINGS FOR WATER PIPE	LB	29,000.000	309.
\$4,500.00	\$450.00	6 INCH STEEL PIPE CASING	FT	10.000	326.06
\$5,250.00	\$350.00	10 INCH STEEL PIPE CASING	FT	15.000	326.10
\$12,375.00	\$275.00	12 INCH STEEL PIPE CASING	FT	45.000	326.12
\$24,375.00	\$325.00	16 INCH STEEL PIPE CASING	FT	75.000	326.16
\$13,050.00	\$290.00	18 INCH STEEL PIPE CASING	FT	45.000	326.18
\$14,350.00	\$410.00	20 INCH STEEL PIPE CASING	FT	35.000	326.20
\$2,550.00	\$510.00	24 INCH STEEL PIPE CASING	FT	5.000	326.24
\$4,625.00	\$925.00	34 INCH STEEL PIPE CASING	FT	5.000	326.34
\$37,800.00	\$135.00	1 INCH COPPER TUBING TYPE K	FT	280.000	347.1
\$7,500.00	\$150.00	1-1/2 INCH COPPER TUBING TYPE K	FT	50.000	347.15
\$8,000.00	\$160.00	2 INCH COPPER TUBING TYPE K	FT	50.000	347.2
\$29,000.00	\$2,900.00	6 INCH GATE AND GATE BOX	EA	10.000	350.06
\$11,600.00	\$5,800.00	12 INCH GATE AND GATE BOX	EA	2.000	350.12
\$2,000.00	\$1,000.00	6 INCH GATE BOX	EA	2.000	357.06
\$31,875.00	\$375.00	GATE BOX ADJUSTED	EA	85.000	358.
\$1,250.00	\$125.00	GATE BOX REMOVED AND STACKED	EA	10.000	358.1
\$10,500.00	\$525.00	1 INCH CORPORATION COCK	EA	20.000	363.1

^{*} Non-Standard Item

Project # : 608095

Contractor : J H LYNCH & SONS INC Contract # : 131997

District : 4 Project Manager LAWRENCE CASH

Location : NORTH ANDOVER

Total	Unit Price	Item Description	Unit	Quantity	Item #
\$2,700.00	\$900.00	1-1/2 INCH CORPORATION COCK	EA	3.000	363.15
\$6,300.00	\$900.00	2 INCH CORPORATION COCK	EA	7.000	363.2
\$28,000.00	\$4,000.00	6 INCH CAST IRON PLUG	EA	7.000	367.06
\$7,125.00	\$1,425.00	6 INCH COUPLING	EA	5.000	371.06
\$196,000.00	\$28,000.00	12 INCH INSERTION VALVE AND BOX	EA	7.000	375.12
\$88,000.00	\$11,000.00	HYDRANT	EA	8.000	376.
\$44,000.00	\$4,000.00	HYDRANT - REMOVED AND RESET	EA	11.000	376.2
\$12,000.00	\$2,000.00	HYDRANT - REMOVED AND STACKED	EA	6.000	376.3
\$5,400.00	\$1,800.00	HYDRANT - ADJUSTED	EA	3.000	376.5
\$11,500.00	\$575.00	SERVICE BOX	EA	20.000	381.
\$3,000.00	\$300.00	SERVICE BOX ADJUSTED	EA	10.000	381.3
\$21,000.00	\$1,050.00	CURB STOP	EA	20.000	384.
\$850.00	\$850.00	MONITORING WELL TRAFFIC CASTING	EA	1.000	385.3
\$1,875.00	\$25.00	SPRINKLER SYSTEM COMPONENTS - REMOVED AND STACKED	FT	75.000	390.01
\$206,400.00	\$80.00	DENSE GRADED CRUSHED STONE FOR SUB-BASE	CY	2,580.000	402.
\$524,400.00	\$5.75	PAVEMENT STANDARD MILLING	SY	91,200.000	415.1
\$126,000.00	\$70.00	HIGH EARLY STRENGTH CEMENT CONCRETE BASE COURSE	SY	1,800.000	431.
\$46,080.00	\$0.72	CALCIUM CHLORIDE FOR ROADWAY DUST CONTROL	LB	64,000.000	440.
\$45,625.00	\$365.00	WATER FOR ROADWAY DUST CONTROL	MGL	125.000	443.
\$187,000.00	\$220.00	SUPERPAVE SURFACE COURSE – 9.5 (SSC – 9.5)	TON	850.000	450.22
\$220,875.00	\$155.00	SUPERPAVE SURFACE COURSE - 12.5 (SSC - 12.5)	TON	1,425.000	450.23
\$1,767,500.00	\$140.00	SUPERPAVE SURFACE COURSE - 12.5 POLYMER (SSC - 12.5 - P)	TON	12,625.000	450.231
\$1,863,000.00	\$120.00	SUPERPAVE INTERMEDIATE COURSE - 19.0 (SIC - 19.0)	TON	15,525.000	450.32
\$612,500.00	\$140.00	SUPERPAVE BASE COURSE - 37.5 (SBC - 37.5)	TON	4,375.000	450.42
\$676,800.00	\$120.00	SUPERPAVE LEVELING COURSE - 12.5 (SLC - 12.5)	TON	5,640.000	450.53
\$725,000.00	\$290.00	HMA FOR PATCHING	TON	2,500.000	451.
\$171,000.00	\$9.00	ASPHALT EMULSION FOR TACK COAT	GAL	19,000.000	452.
\$655.00	\$0.01	HMA JOINT ADHESIVE	FT	65,500.000	453.
\$5,250.00	\$15.00	HOT MIX ASPHALT BERM, TYPE A - MODIFIED	FT	350.000	470.2
\$265,000.00	\$265.00	TEMPORARY ASPHALT PATCHING	TON	1,000.000	472.
\$637,000.00	\$245.00	CEMENT CONCRETE PAVEMENT - STAMPED	SY	2,600.000	476.11
\$25,200.00	\$18.00	MILLED RUMBLE STRIP (TYPE C)	FT	1,400.000	477.2
\$708.75	\$5.25	SAWCUTTING ASPHALT PAVEMENT	FT	135.000	482.3
\$100,400.00	\$4.00	SAWCUTTING ASPHALT PAVEMENT FOR BOX WIDENING	FT	25,100.000	482.5
\$5,900.00	\$590.00	SCORED CEMENT CONCRETE PAVEMENT	SY	10.000	485.3
\$17,500.00	\$70.00	GRANITE CURB TYPE VA3 - STRAIGHT	FT	250.000	503.
\$6,000.00	\$80.00	GRANITE CURB TYPE VA3 - CURVED	FT	75.000	503.1

^{*} Non-Standard Item

Project # : 608095

Contractor : J H LYNCH & SONS INC Contract # : 131997

District : 4 Project Manager LAWRENCE CASH

Location : NORTH ANDOVER

Description: Corridor Improvements on Route 114, between Waverly Road and Willow/Mill Street

Total	Unit Price	Item Description	Unit	Quantity	Item #
\$11,400.00	\$570.00	GRANITE CURB TYPE VA4 - SPLAYED END	EA	20.000	504.2
\$1,313,000.00	\$52.00	GRANITE CURB TYPE VB - STRAIGHT	FT	25,250.000	506.
\$273,000.00	\$70.00	GRANITE CURB TYPE VB - CURVED	FT	3,900.000	506.1
\$87,500.00	\$70.00	GRANITE TRANSITION CURB FOR PEDESTRIAN CURB RAMPS - STRAIGHT	FT	1,250.000	509.
\$117,000.00	\$78.00	GRANITE TRANSITION CURB FOR PEDESTRIAN CURB RAMPS - CURVED	FT	1,500.000	509.1
\$77,000.00	\$550.00	GRANITE CURB INLET - STRAIGHT	EA	140.000	514.
\$9,100.00	\$650.00	GRANITE CURB INLET - CURVED	EA	14.000	515.
\$2,250.00	\$450.00	GRANITE CURB CORNER - TYPE C	EA	5.000	517.01
\$3,050.00	\$61.00	CONCRETE CURB TYPE VA	FT	50.000	520.
\$2,200.00	\$55.00	HOT MIX ASPHALT CURB TYPE 2	FT	40.000	570.2
\$259,200.00	\$36.00	CURB REMOVED AND RESET	FT	7,200.000	580.
\$5,200.00	\$260.00	CURB INLET REMOVED AND RESET	EA	20.000	581.
\$66,000.00	\$11.00	CURB REMOVED AND DISCARDED	FT	6,000.000	594.
\$1,190.00	\$85.00	CURB INLET REMOVED AND DISCARDED	EA	14.000	595.
\$1,190.00	\$85.00	CURB CORNER REMOVED AND DISCARDED	EA	14.000	596.
\$162,900.00	\$9.00	EDGING REMOVED AND DISCARDED	FT	18,100.000	597.
\$5,000.00	\$100.00	TIMBER GUARDRAIL	FT	50.000	601.2
\$45,375.00	\$33.00	GUARDRAIL, TL-2 (SINGLE FACED)	FT	1,375.000	620.12
\$27,900.00	\$3,100.00	TRAILING ANCHORAGE	EA	9.000	627.1
\$45,900.00	\$5,100.00	GUARDRAIL TANGENT END TREATMENT, TL-2	EA	9.000	627.82
\$19,600.00	\$9,800.00	TEMPORARY IMPACT ATTENUATOR, NON-REDIRECTIVE, TL-2	EA	2.000	628.304
\$46,000.00	\$11,500.00	TEMPORARY IMPACT ATTENUATOR, REDIRECTIVE, TL-2	EA	4.000	628.314
\$19,200.00	\$2,400.00	TEMPORARY IMPACT ATTENUATOR, REMOVED AND RESET	EA	8.000	628.4
\$420.00	\$28.00	HIGHWAY GUARD REMOVED AND RESET	FT	15.000	630.
\$16,800.00	\$8.00	HIGHWAY GUARD REMOVED AND DISCARDED	FT	2,100.000	630.2
\$510.00	\$255.00	GUARDRAIL POST - STEEL	EA	2.000	632.
\$255.00	\$255.00	W BEAM GUARD PANEL	EA	1.000	634.
\$70,000.00	\$50.00	48 INCH CHAIN LINK FENCE (PIPE TOP RAIL) VINYL COATED (LINE POST OPTION)	FT	1,400.000	645.148
\$2,820.00	\$235.00	48 INCH CHAIN LINK FENCE END POST	EA	12.000	652.048
\$64,800.00	\$96.00	TIMBER RAIL FENCE - TWO RAIL	FT	675.000	655.01
\$3,000.00	\$30.00	HAND RAIL REMOVED AND STACKED	FT	100.000	655.21
\$6,875.00	\$55.00	METAL PIPE RAIL REMOVED AND STACKED	FT	125.000	660.1
\$7,125.00	\$475.00	STEEL HANDRAIL	FT	15.000	660.25
\$660.00	\$22.00	CHAIN LINK FENCE REMOVED AND RESET	FT	30.000	666.
\$22,100.00	\$17.00	FENCE REMOVED AND STACKED	FT	1,300.000	669.

^{*} Non-Standard Item

Project # : 608095

Contractor : J H LYNCH & SONS INC Contract # : 131997

District : 4 Project Manager LAWRENCE CASH

Location : NORTH ANDOVER

Total	Unit Price	Item Description	Unit	Quantity	Item #	
\$540.00	\$180.00	FENCE GATE AND GATE POSTS REMOVED AND STACKED	EA	3.000	671.	
\$247,000.00	\$1,300.00	STONE MASONRY WALL IN CEMENT MORTAR	CY	190.000	685.	
\$919,800.00	\$146.00	STONE VENEER FOR CEMENT CONCRETE WALL	SF	6,300.000	686.1	*
\$18,750.00	\$1,250.00	STONE MASONRY WALL REMOVED AND REBUILT IN CEMENT MORTAR	CY	15.000	690.	
\$168,000.00	\$350.00	STONE MASONRY WALL WITH PARAPET REMOVAL	CY	480.000	690.2	*
\$48,750.00	\$325.00	BALANCE STONE WALL REMOVED AND REBUILT DRY	FT	150.000	691.01	*
\$89,100.00	\$33.00	BALANCE STONE WALL REMOVED AND STACKED	FT	2,700.000	691.1	*
\$2,660.00	\$190.00	LANDSCAPE BOULDER REMOVED AND STACKED	EA	14.000	691.2	*
\$2,650.00	\$265.00	GRANITE BLOCK WALL REMOVED AND STACKED	CY	10.000	692.1	*
\$20,000.00	\$20,000.00	BRICK PILLAR REMOVED AND REBUILT	EA	1.000	693.3	*
\$770.00	\$11.00	LANDSCAPE TIE WALLS REMOVED AND STACKED	FT	70.000	693.5	*
\$46,800.00	\$195.00	SILT SACK	EA	240.000	697.1	*
\$1,468.75	\$1.25	GEOTEXTILE FABRIC FOR SEPARATION	SY	1,175.000	698.3	*
\$5,440.00	\$8.50	GEOTEXTILE FABRIC FOR PERMANENT EROSION CONTROL	SY	640.000	698.4	*
\$648,000.00	\$80.00	CEMENT CONCRETE SIDEWALK	SY	8,100.000	701.	
\$156,000.00	\$130.00	CEMENT CONCRETE SIDEWALK AT DRIVEWAYS	SY	1,200.000	701.1	
\$394,875.00	\$135.00	CEMENT CONCRETE PEDESTRIAN CURB RAMP	SY	2,925.000	701.2	
\$462,250.00	\$215.00	HOT MIX ASPHALT SIDEWALK OR DRIVEWAY	TON	2,150.000	702.	
\$1,125.00	\$225.00	FLAGSTONE WALK REMOVED AND RESET	SY	5.000	705.1	*
\$22,500.00	\$30.00	CONCRETE PAVER FOR SEDIMENT FOREBAY	SF	750.000	706.7	*
\$750.00	\$750.00	TRASH RECEPTACLE REMOVED AND RESET	EA	1.000	707.21	*
\$42,000.00	\$525.00	BOUND - LETTERED GRANITE	EA	80.000	710.3	
\$23,000.00	\$460.00	BOUND - PLAIN GRANITE	EA	50.000	710.4	
\$8,700.00	\$580.00	BOUND REMOVED AND RESET	EA	15.000	711.	
\$1,900.00	\$380.00	BOUND REMOVED AND STACKED	EA	5.000	712.	*
\$10,150.00	\$290.00	RURAL MAIL BOX REMOVED AND RESET	EA	35.000	715.	
\$500.00	\$125.00	RURAL MAIL BOX REMOVED AND DISCARDED	EA	4.000	715.01	*
\$175,000.00	\$175,000.00	SCHEDULE OF OPERATIONS (TYPE A) - FIXED PRICE \$175,000	LS	1.000	722.1	*
\$288,000.00	\$4,800.00	ENGINEERS FIELD OFFICE AND EQUIPMENT (TYPE A)	MO	60.000	740.	*
\$1,390,000.00	\$1,390,000.00	MOBILIZATION	LS	1.000	748.	
\$356,250.00	\$95.00	LOAM FOR LAWNS	CY	3,750.000	751.1	
\$19,950.00	\$105.00	COMPOST BLANKET	CY	190.000	751.7	*
\$57,000.00	\$57,000.00	INLAND WETLAND REPLICATION AREA	LS	1.000	755.35	*
\$7,875.00	\$75.00	WETLAND RESTORATION	SY	105.000	755.45	*
\$15,000.00	\$15,000.00	COMPENSATORY FLOOD STORAGE AREA	LS	1.000	755.55	*
\$45,500.00	\$325.00	WETLAND SPECIALIST	HR	140.000	755.75	*
\$5,500.00	\$5,500.00	WETLANDS MONITORING REPORTS	LS	1.000	755.76	*

^{*} Non-Standard Item

Project # : 608095

Contractor : J H LYNCH & SONS INC Contract # : 131997

District : 4 Project Manager LAWRENCE CASH

Location : NORTH ANDOVER

Description: Corridor Improvements on Route 114, between Waverly Road and Willow/Mill Street

	Item #	Quantity	Unit	Item Description	Unit Price	Total
*	756.	1.000	LS	NPDES STORMWATER POLLUTION PREVENTION PLAN	\$165,000.00	\$165,000.00
	765.	34,000.000	SY	SEEDING	\$4.25	\$144,500.00
*	765.21	27.000	LB	ANNUAL COVER CROP FOR NATIVE SEEDING	\$290.00	\$7,830.00
*	765.415	25.000	LB	SEED - NATIVE SHORT GRASSLAND MIX	\$550.00	\$13,750.00
*	765.554	12.000	LB	WETLAND SEED - SEASONALLY FLOODED MIX	\$550.00	\$6,600.00
*	765.635	5,800.000	SY	NATIVE SEEDING AND ESTABLISHMENT	\$4.50	\$26,100.00
*	767.121	5,175.000	FT	SEDIMENT CONTROL BARRIER	\$5.50	\$28,462.50
	767.6	60.000	CY	AGED PINE BARK MULCH	\$95.00	\$5,700.00
*	767.9	800.000	SY	JUTE MESH	\$7.15	\$5,720.00
	769.	1,650.000	FT	PAVEMENT MILLING MULCH UNDER GUARD RAIL	\$19.00	\$31,350.00
*	774.51	7.000	EA	ELM - 'PRINCETON' 2-2.5 INCH CALIPER	\$900.00	\$6,300.00
	775.147	10.000	EA	LINDEN - LITTLE LEAF 2-2.5 INCH CALIPER	\$900.00	\$9,000.00
	775.437	11.000	EA	LOCUST - HONEY - 'SKYLINE' 2-2.5 INCH CALIPER	\$950.00	\$10,450.00
*	775.51	5.000	EA	MAIDENHAIR TREE - 'PRINCETON SENTRY' 2-2.5 INCH CALIPER	\$1,200.00	\$6,000.00
	776.557	13.000	EA	MAPLE - RED - 'RED SUNSET' 2-2.5 INCH CALIPER	\$900.00	\$11,700.00
	777.138	13.000	EA	OAK - PIN 2-2.5 INCH CALIPER	\$900.00	\$11,700.00
	777.328	11.000	EA	OAK - WHITE 2-2.5 INCH CALIPER	\$1,100.00	\$12,100.00
	777.442	7.000	EA	PLANETREE - AMERICAN 2-2.5 INCH CALIPER	\$900.00	\$6,300.00
	777.673	3.000	EA	SWEETGUM - FRUITLESS 2-2.5 INCH CALIPER	\$900.00	\$2,700.00
	778.383	6.000	EA	CHERRY - SARGENT COLUMNAR 1.5-2 INCH CALIPER	\$825.00	\$4,950.00
	781.263	5.000	EA	HAWTHORN - 'WINTER KING' 1.5-2 INCH CALIPER	\$775.00	\$3,875.00
	781.578	10.000	EA	LILAC TREE - JAPANESE IVORY SILK 1.5-2 INCH CALIPER	\$950.00	\$9,500.00
*	782.541	6.000	EA	REDBUD - EASTERN 1.5-2 INCH CALIPER	\$825.00	\$4,950.00
*	790.512	8.000	EA	DOGWOOD - 'GRAY' 2-3 FEET / #3	\$160.00	\$1,280.00
*	795.021	5.000	EA	VIBURNUM - 'BLACKHAW' 2-3 FEET / #3	\$160.00	\$800.00
*	797.01	10.000	EA	TREE - CONTINGENCY 2-2.5 INCH CALIPER	\$900.00	\$9,000.00
	801.32	80.000	FT	3 INCH ELECTRICAL CONDUIT - TYPE NM (DOUBLE)	\$140.00	\$11,200.00
*	802.433	110.000	FT	4 INCH TELEPHONE CONDUIT - TYPE NM (3 BANK)	\$140.00	\$15,400.00
*	804.22	10.000	FT	2 INCH ELECTRICAL CONDUIT TYPE NM - PLASTIC (UL) - SPLIT DUCT	\$110.00	\$1,100.00
	804.3	4,850.000	FT	3 INCH ELECTRICAL CONDUIT TYPE NM - PLASTIC - (UL)	\$98.00	\$475,300.00
*	804.33	320.000	FT	3 INCH ELECTRICAL CONDUIT - TYPE NM - PLASTIC - (UL) - LIGHTING	\$95.00	\$30,400.00
	804.4	80.000	FT	4 INCH ELECTRICAL CONDUIT TYPE NM - PLASTIC - (UL)	\$95.00	\$7,600.00
	806.4	40.000	FT	4 INCH ELECTRICAL CONDUIT TYPE RM - GALVANIZED STEEL	\$250.00	\$10,000.00
	811.22	45.000	EA	ELECTRIC HANDHOLE - SD2.022	\$1,800.00	\$81,000.00
	811.24	6.000	EA	ELECTRIC HANDHOLE - SD2.024	\$1,900.00	\$11,400.00

^{*} Non-Standard Item

Project # : 608095

Contractor : J H LYNCH & SONS INC Contract # : 131997

District : 4 Project Manager LAWRENCE CASH

Location : NORTH ANDOVER

Description: Corridor Improvements on Route 114, between Waverly Road and Willow/Mill Street

Tota	Unit Price	Item Description	Unit	Quantity	Item #
\$58,500.00	\$1,300.00	PULL BOX 12 X 12 INCHES - SD2.031	EA	45.000	811.31
\$9,600.00	\$3,200.00	LIGHT STANDARD FOUNDATION PRECAST	EA	3.000	812.09
\$60,000.00	\$60,000.00	ADAPTIVE TRAFFIC SIGNAL CONTROL	LS	1.000	814.
\$350,000.00	\$350,000.00	TRAFFIC CONTROL SIGNAL LOCATION NO. 7	LS	1.000	815.07
\$440,000.00	\$440,000.00	TRAFFIC SIGNAL RECONSTRUCTION LOCATION NO. 1	LS	1.000	816.01
\$275,000.00	\$275,000.00	TRAFFIC SIGNAL RECONSTRUCTION LOCATION NO. 2	LS	1.000	816.02
\$350,000.00	\$350,000.00	TRAFFIC SIGNAL RECONSTRUCTION LOCATION NO. 3	LS	1.000	816.03
\$390,000.00	\$390,000.00	TRAFFIC SIGNAL RECONSTRUCTION LOCATION NO. 4	LS	1.000	816.04
\$270,000.00	\$270,000.00	TRAFFIC SIGNAL RECONSTRUCTION LOCATION NO. 5	LS	1.000	816.05
\$435,000.00	\$435,000.00	TRAFFIC SIGNAL RECONSTRUCTION LOCATION NO. 6	LS	1.000	816.06
\$270,000.00	\$270,000.00	TRAFFIC SIGNAL RECONSTRUCTION LOCATION NO. 8	LS	1.000	816.08
\$340,000.00	\$340,000.00	TRAFFIC SIGNAL RECONSTRUCTION LOCATION NO. 9	LS	1.000	816.09
\$110,000.00	\$110,000.00	TRAFFIC CONTROL SIGNAL REMOVED AND STACKED	LS	1.000	816.80
\$21,000.00	\$7,000.00	HIGHWAY LIGHTING POLE AND LUMINAIRE REMOVED AND RESET	EA	3.000	823.70
\$5,100.00	\$1,700.00	HIGHWAY LIGHTING POLE AND LUMINAIRE REMOVED AND STACKED	EA	3.000	823.71
\$23,000.00	\$23,000.00	RECTANGULAR RAPID-FLASHING BEACONS SYSTEM (SOLAR)	LS	1.000	824.221
\$15,000.00	\$15,000.00	RADAR SPEED DISPLAY SIGN (SOLAR POWERED)	LS	1.000	825.10
\$80,000.00	\$8,000.00	ELECTRIC SERVICE RISER RELOCATED	EA	10.000	826.70
\$76,500.00	\$60.00	ROADSIDE GUIDE SIGN (MA-D1-XX) ALUMINUM PANEL (TYPE A)	SF	1,275.000	831.11
\$66,300.00	\$26.00	WARNING-REGULATORY AND ROUTE MARKER - ALUMINUM PANEL (TYPE A)	SF	2,550.000	832.
\$161,000.00	\$3,500.00	SUPPORT FOR GUIDE SIGN (MA-D1-XX) - 5 INCH TUBULAR - STEEL	EA	46.000	841.11
\$80,080.00	\$260.00	SIGN SUP (N/GUIDE)+RTE MKR W/1 BRKWAY POST ASSEMBLY - STEEL	EA	308.000	847.1
\$11,400.00	\$475.00	SIGN SUP (N/GUIDE)+RTE MKR W/2 BRKWAY POST ASSEMBLIES-STEEL	EA	24.000	848.1
\$159,500.00	\$110.00	ROADWAY FLAGGER	HR	1,450.000	850.41
\$10.50	\$0.01	TRAFFIC CONES FOR TRAFFIC MANAGEMENT	DAY	1,050.000	851.1
\$51,000.00	\$30.00	SAFETY SIGNING FOR TRAFFIC MANAGEMENT	SF	1,700.000	852.
\$70,000.00	\$35.00	TEMPORARY PEDESTRIAN BARRICADE	FT	2,000.000	852.11
\$22,000.00	\$1,100.00	TEMPORARY PEDESTRIAN CURB RAMP	EA	20.000	852.12
\$2,800.00	\$140.00	PORTABLE BREAKAWAY BARRICADE TYPE III	EA	20.000	853.1
\$22,000.00	\$55.00	TEMPORARY BARRIER (TL-2)	FT	400.000	853.2
\$24,000.00	\$20.00	TEMPORARY BARRIER REMOVED AND RESET	FT	1,200.000	853.21
\$13,500.00	\$45.00	TEMPORARY BARRIER - LIMITED DEFLECTION (TL-3)	FT	300.000	853.33
\$3,000.00	\$25.00	TEMPORARY BARRIER - LIMITED DEFLECTION (TL-3) REMOVED AND RESET	FT	120.000	853.34
\$132,000.00	\$1,100.00	TRUCK MOUNTED ATTENUATOR	DAY	120.000	853.403

^{*} Non-Standard Item

Project # : 608095

Contractor : J H LYNCH & SONS INC Contract # : 131997

District : 4 Project Manager LAWRENCE CASH

Location : NORTH ANDOVER

Description: Corridor Improvements on Route 114, between Waverly Road and Willow/Mill Street

	Item #	Quantity	Unit	Item Description	Unit Price	Total
	853.8	550.000	DAY	TEMPORARY ILLUMINATION FOR WORK ZONE	\$150.00	\$82,500.00
	854.016	106,000.000	FT	TEMPORARY PAVING MARKINGS - 6 INCH (PAINTED)	\$0.35	\$37,100.00
	854.036	9,000.000	FT	TEMPORARY PAVING MARKINGS - 6 INCH (TAPE)	\$1.50	\$13,500.00
	854.1	1,000.000	SF	PAVEMENT MARKING REMOVAL	\$4.75	\$4,750.00
	856.	3,200.000	DAY	ARROW BOARD	\$11.00	\$35,200.00
	856.12	1,700.000	DAY	PORTABLE CHANGEABLE MESSAGE SIGN	\$26.00	\$44,200.00
	859.	83,500.000	DAY	REFLECTORIZED DRUM	\$0.35	\$29,225.00
*	859.1	2,100.000	DAY	REFLECTORIZED DRUMS WITH SEQUENTIAL FLASHING WARNING LIGHTS	\$10.00	\$21,000.00
	864.02	800.000	SF	PAVEMENT ARROW AND LEGENDS - TAPE	\$25.00	\$20,000.00
	864.04	9,050.000	SF	PAVEMENT ARROWS AND LEGENDS REFLECTORIZED WHITE (THERMOPLASTIC)	\$8.00	\$72,400.00
*	864.41	1,500.000	SF	GREEN COLORIZED PAVEMENT MARKINGS	\$24.00	\$36,000.00
	866.106	50,000.000	FT	6 INCH REFLECTORIZED WHITE LINE (THERMOPLASTIC)	\$1.60	\$80,000.00
	866.112	26,600.000	FT	12 INCH REFLECTORIZED WHITE LINE (THERMOPLASTIC)	\$6.00	\$159,600.00
	867.106	39,500.000	FT	6 INCH REFLECTORIZED YELLOW LINE (THERMOPLASTIC)	\$1.60	\$63,200.00
	867.112	1,175.000	FT	12 INCH REFLECTORIZED YELLOW LINE (THERMOPLASTIC)	\$6.50	\$7,637.50
	874.	60.000	EA	STREET NAME SIGN	\$160.00	\$9,600.00
*	874.2	3.000	EA	TRAFFIC SIGN REMOVED AND RESET	\$110.00	\$330.00
*	874.41	350.000	EA	TRAFFIC SIGN REMOVED AND DISCARDED	\$55.00	\$19,250.00
	901.	3.000	CY	4000 PSI, 1.5 INCH, 565 CEMENT CONCRETE	\$4,000.00	\$12,000.00
	903.	350.000	CY	3000 PSI, 1.5 INCH, 470 CEMENT CONCRETE	\$250.00	\$87,500.00
	904.	105.000	CY	4000 PSI, 3/4 INCH, 610 CEMENT CONCRETE	\$1,400.00	\$147,000.00
	904.3	860.000	CY	5000 PSI, 3/4 INCH, 685 HP CEMENT CONCRETE	\$2,100.00	\$1,806,000.00
	905.2	100.000	CY	5000 PSI, 3/8 INCH, 710 HP CEMENT CONCRETE	\$4,300.00	\$430,000.00
	910.1	40,000.000	LB	STEEL REINFORCEMENT FOR STRUCTURES - EPOXY COATED	\$2.50	\$100,000.00
*	912.	2,780.000	EA	DRILLING AND GROUTING DOWELS	\$55.00	\$152,900.00
	952.	380,160.000	LB	STEEL SHEETING	\$3.49	\$1,326,758.40
*	953.01	1.000	LS	PERMANENT SUPPORT OF EXCAVATION - HEADWALL	\$120,000.00	\$120,000.00
*	953.11	1.000	LS	TEMPORARY SUPPORT OF EXCAVATION	\$210,000.00	\$210,000.00
*	953.12	1.000	LS	TEMPORARY SUPPORT OF EXCAVATION FOR WALL A	\$75,000.00	\$75,000.00
*	953.13	1.000	LS	TEMPORARY SUPPORT OF EXCAVATION FOR WALL B	\$55,000.00	\$55,000.00
	970.	5,710.000	SF	DAMP-PROOFING	\$2.25	\$12,847.50
	975.5	405.000	FT	ALUMINUM HANDRAIL	\$410.00	\$166,050.00
*	983.35	280.000	CY	STREAMBED MATERIAL REMOVED AND RELAID	\$140.00	\$39,200.00
*	986.2	500.000	CY	MODIFIED ROCKFILL	\$135.00	\$67,500.00
*	986.21	260.000	CY	MODIFIED ROCKFILL WITH GRAVEL PACKED VOIDS	\$235.00	\$61,100.00

^{*} Non-Standard Item

Project # : 608095

Contractor : J H LYNCH & SONS INC Contract # : 131997

District : 4 Project Manager LAWRENCE CASH

Location : NORTH ANDOVER

Description: Corridor Improvements on Route 114, between Waverly Road and Willow/Mill Street

	Item #	Quantity	Unit	Item Description	Unit Price	Total
*	991.1	1.000	LS	CONTROL OF WATER - STRUCTURE NO. N-15-021 (CBN)	\$250,000.00	\$250,000.00
*	995.011	1.000	LS	CULVERT STRUCTURE, CULVERT NO. N-15-021 (CBN)	\$550,000.00	\$550,000.00
*	996.011	1.000	LS	MODULAR BLOCK WALL REMOVED AND REBUILT	\$50,000.00	\$50,000.00
*	996.021	1.000	LS	SOLDIER PILE AND LAGGING	\$1,050,000.00	\$1,050,000.00

Contract Bid Estimate Grand Total: \$47,800,373.90

Page 11 of 11

^{*} Non-Standard Item

Letting: 20251015 10/15/2025 02:00:00 PM Proposal ID: 608095-131997 Call: 005

ADDENDA ACKNOWLEDGMENT COMMONWEALTH OF MASSACHUSETTS MassDOT 10 PARK PLAZA, BOSTON, MA

Proposal No: 608095-131997

Municipality: NORTH ANDOVER

Proposal Description: Corridor Improvements on Route 114- between Waverly Road

and Willow/Mill Street [NORTH ANDOVER]

The bidder acknowledges that the bid as submitted includes the following addenda:

Addenda 1	Number	Date Issued 09/05/2025	Addenda 2	Number	Date Issued 09/15/2025
3		09/24/2025	4		09/26/2025
5		10/08/2025	6		10/10/2025

Letting: 20251015	Commonwealth of Massachusetts	Proposal ID: 608095-131997
10/15/2025 02:00:00 PM	MassDOT	Call: 005

I AGREE THAT FAILURE TO ACKNOWLEDGE INCLUSION OF ANY ADDENDA ISSUED FOR THIS PROJECT MAY RESULT IN THIS BID BEING DECLARED NON-RESPONSIVE AND NOT ELIGIBLE FOR AWARD CONSIDERATION.

END OF DOCUMENT

Proposal ID: 608095-131997

Call: 005

Letting: 20251015 10/15/2025 02:00:00 PM

AFFIDAVIT OF NON-COLLUSION COMMONWEALTH OF MASSACHUSETTS MassDOT 10 PARK PLAZA, BOSTON, MA

Proposal No: 608095-131997

Municipality: NORTH ANDOVER

Proposal Description: Corridor Improvements on Route 114- between Waverly Road

and Willow/Mill Street [NORTH ANDOVER]

The bidder acknowledges that the bid as submitted includes the following addenda:

The undersigned certifies under penalties of perjury that this bid is in all respects bona fide, fair and made without collusion or fraud with any other person. As used in this paragraph the word "person' shall mean any natural person, joint venture, partnership, corporation or other business or legal entity. The undersigned further certifies that said Bidder has not, either directly or indirectly, entered into any agreement or otherwise taken any action in restraint of free competitive bidding in connection with this proposal.

The undersigned, under the pains and penalties or perjury, states that he/she is the sole owner, partner, president, treasurer, or other duly authorized agent or official of

J.H. Lynch & Sons, Inc.
(Name of Bidder as appearing in submitted proposal)

50 Lynch Place (Address of Bidder)

Cumberland, RI 02864 (City, State) (Zip Code)

508-756-6244 (Telephone Number of Bidder)

The Digital ID holder acknowledges that he/she is the signatory and submitter of this Affidavit of Non-Collusion.

 $\overline{\hspace{-1em}/}\hspace{-1em}$ By clicking this box, the Digital ID holder submitting the bid digitally signs this Affidavit of Non-Collusion.

FAILURE TO SIGN THIS AFFIDAVIT WILL RESULT IN THIS BID BEING DECLARED NON-RESPONSIVE AND INELLIGBLE FOR AWARD CONSIDERATION.

END OF DOCUMENT

Letting: 20251015 10/15/2025 02:00:00 PM Proposal ID: 608095-131997 Call: 005

FILE ATTACHMENTS COMMONWEALTH OF MASSACHUSETTS MassDOT 10 PARK PLAZA, BOSTON, MA

Proposal No: 608095-131997

Municipality: NORTH ANDOVER

Proposal Description: Corridor Improvements on Route 114- between Waverly Road

and Willow/Mill Street [NORTH ANDOVER]

Upload technical documents below.

Note: There is a 5MB file size limit per attached file:

Attachment #1 Description:

Bid Bond for Proposal 608095-131997 NORTH ANDOVER Bid Bond for Proposal 608095-131997 NORTH ANDOVER.pdf

Attachment #2 Description:

Attachment #3 Description:

Attachment #4 Description:

Commonwealth of Massachusetts MassDOT

Proposal ID: 608095-131997

Call: 005

BID BOND

▶ Paid by certified check / submitted paper bond / bond is not required for this bid

**Electronic Bid Bond #: Verify Clear

**Surety Registry Agency:

Surety Company:

** = Required

KNOW ALL MEN BY THESE PRESENTS THAT as principal, and , as surety, who is duly licensed to act as surety in the Commonwealth of Massachusetts, are held and firmly bound unto the Commonwealth of Massachusetts through as obligee, in the penal sum of DOLLARS (not to be less than 5% of the bid price), lawful money of the United States of America, for the payment of which, well and truly to be made, we bind ourselves, our heirs, executors, administrators, successors and assigns, jointly and severally, firmly by these presents.

The condition of the above obligation is such that whereas the Principal has submitted to the Obligee /Owner a certain Bid, attached hereto and hereby made a part hereof, to enter into a contract in writing for the:

Corridor Improvements on Route 114- between Waverly Road and Willow/Mill Street [NORTH ANDOVER]

Name of Contract

NOW, THEREFORE, THE CONDITION OF THE ABOVE OBLIGATION is such, that if the bid shall be rejected or if the principal shall be awarded the contract for which the bid is submitted and shall execute the contract and give bond for the faithful performance thereof within fourteen (14) days after the award of same to the principal, then this obligation shall be null and void; but if the principal fails to so execute such contract and give performance bond as required by MGL Chapter 30,\$39M, the surety shall, upon demand, forthwith pay to the obligee the amount set forth in the first paragraph hereof. The Surety for value received, hereby stipulates and agrees that the obligations of said Surety and its bond shall in no way be impaired or affected by any extension of time within which the Obligee/ Owner may accept the Bid and said Surety waives notice of any such extension. Provided further, that the bid may be withdrawn as provided by Section 2.07 of the Standard Specifications for Highways and Bridges latest edition.